


CLAMPTEK



EmBRERS| -

INDEX

Highlight CFP MEMGIMHE S CFPhydraulicpullclamp > 19-22
product series CVLECUN AR CVLBCYM hydraulic expansion locating pin_ b 23-30
=2 T CLG MEIRR (Bets) CLofydradlic sequencevalve Y 31-32
SV-AT1 BEIE=R SV-AT1 tim sequence valve 33
CWD-B EEIEFE CWD-B peumatic sequencevalve b 35-36
CCE Btth@minfe CCE high-power pneumatic leverage clamp > 37-40
clssmEEREE 000 CUSSspring accumulator b W44
CRAfEMEE (RARotaryjoint ) 45
CJRCHeizsE CRCrotaryjoint 47-52
CLLmEmEREGT 000 CLL hydraulic compact linear cylinder ~ » 53-66
cowsUEEE CSW pneumaticsupportclamp b 67-68
CSP EESTHAL (95) SR /B9 CSP hydraulic support clamp (low pressure) b 69-72
CSP B ZEII S BRI CSP hydraulic support clamp(High pressure) 73-74
OSF Lismpwmssssl CSFhydraulicsupportclamp 75-78
SP-AH EHEMBLSEN SP-AH peumatic-hydraulic support clamp ), 79-80
CHA HEREE T CHA hydraulic swing clamp 81-84
CHaPmmEgml ! CHA-P hydraulicswingclamp ¥ 85-86
CBTU KB REEE BT CBTU Hydraulic swing clamp 87-88
CLKABEY) & HERUAIMERLL  CLKAhydraulic leverageclamp b 89-92
CLKA-P 5811 & FLEBUTHHEEL  CLKA-P hydraulic leverage clamp 93-94
CBLU B! & SEMIHUMEL CBLU hydraulic leverage clamp ) 95-96
CLFSH BBl (SR ) CLF5H hydraulic leverage clamp ) 97-98
COLW SESEEATHUMMA (LW High pressure levery clamp~ » 99-100
CTC-K SMBOUNASHEESEIET CTC-K Hydraulic thread cylinder ) 101-102
CZL s (fRER) CZL Speed control valve (low pressure) ) 103-104
CVCFmEE CVCF Speed controlvalve ) 105-106
Pneumatic ASC R JEEEEATT ASC pneumatic swing clamp 109-111
/S:WEIII"Ig clamps PB e R EREE AT PB pneumatic swing clamp 113-114
GUEBBFEEIZE] ST
PSB Bk EEAEL PSB pneumatic swing clamp 115-116
Pneumatic CALC tatzURERRL CALC pneumatic leverage clamp 119-120
|@VEragE ClaMmIPS oo
ST R CPLCU SUEEFH#HEET CPLCU pneumatic leverage clamp 121-122
UCQ2 ERiEE T RAL UCQ2 thin-type pneumatic cylinder 125-130
Thin type ”””” A ST
aluminium SDA BEUSRE SR SDA thin-type pneumatic cylinder 131-135
alloy pneumatic pe mpstssasms DE pneumatic cylinder b 137-140
%!__5 %‘2\5\ g CTKERSE CTK clampingcylinder ) 141-142
Byl et T Grippers 143

Hydraulic
swing clamps

HEREEATI R

CHS/HSC jHE#E Tl CHS/HSC hydraulic swing clamp » 147-152
CPF T(TmEmAE CPFhydraulic swingclamp ) b 153-154
NFS BEEEE 0 NFS high pressure hydraulic swing clamp | > 155-158
030 EABAMWAE osohydraulicswingcamp ¥ 159-160

040 YMZIEEIEHEEATL 040 hydraulic swing clamp > 161-162
050 TEEpArRasEmmET 050 hydraulic swing clamp > 163-164
HPS SR HPS high pressure hydraulic swing clamp » 165-166
H\/d raulic CHLC tEf = HERRL CHLC hydraulic leverage clamp » 169-172
leverage clamps | e e
[ R\ IR LH raulic leverage clam -
mEEREIRY) T T SR S s
Hyd raulilc pUSh CHTB j&EYHERGT CHTB hydraulic push-pull cylinder » 177-183
SPUI CYHMOEES oo
SR EEA] 5| HBC 2 h/ERET HBC hydraulic block cylinder » 185-186
Hydraulic
Sing'e cylinders CTC 4MESUNESHERESENEL  CTC hydraulic thread cylinder » 187-188
EEELERT
Hydraulic
booster HB jHhEIgERES HB hydraulic booster > 189
BRI INES
. ShEEIE i » 190
Hydraulic coviEmmEE oVhydradicsequencevae 7T
valves CPRV SHEREERS CPRYV hydraulic pressure reducing valve » 191
HERREES
CFCV HEEREM CFCV hydraulic flow control valve » 192
CMO #SESHEREL CMO hydraulic cylinder » 193-197
CHO E2YHERRT CHO hydraulic cylinder » 199-205
CFO mIA4& & hERET CFO 14MPA adjustable cushioning hydraulic cylinder » 207-211
CRO [EIEYHJERGT CRO hydraulic cylinder » 213-218
H\/d raulic CMO/CHO/CRO/CFO jHIERET# MLt CMO/CHO/CRO/CFO hydraulic cylinder axis accessories ) 219-220
e 21228
N BUHER ie-rod hydraulic oil cylinder -
HEEETED) o ety
CHRO X EYHERGT CHRO 21MPA round hydraulic cylinder » 229-235
CHSG &= Bl CHSG hydraulic cylinder » 237-238
CHK U= AT CHK column-type hydraulic cylinder > 239-242
CPESMEL | CPsynchronousclamp ] b 243
BEIFERR Auto balance system > 245-246
Pneumatic
/[IﬂJmpS AHP REniBRRR AHP pneumatic pumps » 249-250
GUENERERD] o
. W2 Clamping screw » 253-257
ACCBSSONIeS
HeHEzRy [EEtR Block-clamp » 259-260
3= Clamping arm accessories » 261-262




005
(00])

VNI

SRRRIAERINSEE, SREEM7NEE, LERMRUNRR . BES2ANERNE. HiE.
SHERED, I RARERS T RERTESEFHRNRENZELEEE, BRSBTS
1, BRENTEEFZEFELEXRNER . =05 1974 FHRIBERIBE LRSS, 1999 FAR
FEEHRAREETH. 2013 FRBAEERE, THRBERERIZETXRIHHE. Z20Q
EMELEEREGR, ERRRARESHEERIMNBIL. RS, EiSERIRSRIEREIRIERSIEE
HERE . RISEEHA. SAREENES . RN EE HALDER Taek Ak,

* INTRODUCTION

The technical R&D of Clamptek originated in Taiwan where its headquarter is located. Clamptek
has its production base located in Dongguan. Due to its strong power in product development,
manufacturing and sales capacity, and gained the brand recognition and trust from clients. With
perseverance and hard work, Clamptek has made significant contribution in the industrial equipment
industry.

President Mike Tsung-Che Chiu Wei established Taiwan CLAMPTEK ENTERPRISE CO., LTD. in
1974 and set up the factory in Houjie Town of Dongguan in 1999, in order to expand the production
scale, the factories were transferred to the New Factory Area of Sangyuan Industrial Park of
Dongcheng District of Dongguan City in 2013.

Clamptek uses the clamps as the tools for clamping and fixting. It also efficiently organized the
system of manual toggle clamps, pneumatic/hydraulic clamps, hydraulic power units and precision
lock nut of Yinsh, precision bearing of TPI, WLT Spindles and Halder’s spring plungers all together.




(0074
008

TH E M PANV' FEmELH, ARCEIR T REHNmERE. EEER.
RESFESHENFLSETE—EXRNESEREL, THNSKSEAYNEETE, SR, LaEN

PRABNEHIFRTER, RRIASETREFEREENER, BT EEERNEREENEERES, SR

ST R E N G T H S RER R AR ES BT INAR T A R R AL RIS .

S RANITEERENER, Bl —EX0RTE, ERFERMERHASLIEH, BHARRERSEE
ﬁ-’&é— N HIAVER , BIERBETIEEE B EAEER, SERENIERERTESSRI ARG , S ISR ZE
- KIVEISSIEER] . RARSEMASIMATENNIN, PETFEHRMEERNREF T SHANEE,

/A

In the aspect of quality, the company has set up a perfected quality management system. Clamptek has
gradually set up a complete quality management system which works to perfect the production techniques and
procedures and to manufacture eminent products within reasonable costs. Knowing the high quality requirement
of clients, Clamptek not only demands the precision and quality of the production process, but reinforced the
inspection of half and finished products during production and before shipment.

R&D is the base for further development. Being the pioneering brand in the clamp industry in mainland china,
Clamptek devotes more energy to research and development, and the clients’ demands have actually led the
way for Clamptek. Clamptek not only imported the developed products from abroad, but strives to develop new
products with intellectual property right. After years of studies and development, Clamptek has won market
recognition and many patents. In the future, Clamptek will devote more time and energy to R&D, hoping to
provide multiple product options for the market, to bring growing profit for the company, to contribute to the

society and to benefit and share with employees.



(00}7
010

CLAMPTEK
QUALITY POLICY

SHIHImEEER ~

Full - staff operation
management

_
» EEKS

==n

Entirely quality
management

> THmME
» CLAMPTEK PRESIDENT
Mr. Mike TsungChe Chiu Wei

=MEE - ERERIR s



011
012

FOUR MAJOR S [

B U s I N E S S RUHER R B AIFTTH RS PNEUMATIC & HYDRAULIC CLAMP SERIES

RERISTTIER T Hydraulic clamp series
FIELDS OF CLAMPTEK 2
==z ML A7 A >
= 4 e Lt
0 @U EI/‘] Ilqj(%%a VEEJZ R R TR PRECISION NON-STANDARD EQUIPMENTS
_ 4 3 REE)HETT (KRB, ) Hydraulic powered unit
ERISIE R ER— Rt AGENT OF HI-TECH PRECISION PRODUCTS
> 4 =mIE (YINSH) BEmisn Precision locknut of YINSH (Taiwan)
=EEsts (Tpl) P T Precision bearing of TPI (Taiwan)
SARTRSBH2S HW Coupling
7 HALDER &#E(4 Standard products of HALDER(Germany)

TEEPE S WLT Spindles



Push-Pull

Clamps Force Calculation Formula

Leverage Clamp
Force Calculation Formula

Swing Clamp
Force Calculation Formula

THEORETICAL
CLAMPING
FORCE
CALCULATION
FORMULA

SEESEHEAT -

WHOF=PxA 5 F=Px(A-a)
F: #ERIEI355 (ko)
P: {EFRES (kgflcm?)
A SEEZNERE (cm?)
a: JEEFEHEE (cm’)

F=PxAxL1+L2

F: A TARELH5 S (kaf)

P: {$FAEES (kgflem?)

A EESHER (cm?)

L1 BRI OB EATIR SIS BEERE (mm)
L2: 1T 15 2L RS R B RE AR (mm)

F=PxA2 = Px(Al - a)
F: 8RR (kaf)

P: fEFEES (kgflom?)

A1 EEZHERE (cm?)

a: HEEEE (cm”)

A2: SEEZH NG HEE (cm?)

FEEI BB NI UB LIRRNHFEERFT L
ERZERY (—REFERLHRERL N
Z 60%~70% )

Pa bar kgf/cm?
1 Pa 1 0.00001 0.00001
1 bar 100000 1 1.01972
1 Kgflem?>  98066.5 0.98067 1
1 atm 101325 1.01325 1.033
9 98067 0.98067 1
1 Torr 133.3 0.00133 0.00136
immHo  9.8067 0.000098 0.0001
1 mmHg  133.322 0.00133 0.00136
1 Psi 6894.76 0.06895 0.07031

AL R TEREAEE .

atm
0.00001
0.9869
0.9678
1
0.9678
0.00132
0.0000968
0.00132
0.06805

Note:The swing direction is defining under clamping condition.

Push F = PXA Pull F=PX(Aa)
F: Push - pull force(kgf)

P: Operating pressure(kgf/cm?)

A: Piston force area (cm?)

a: Piston rod area (cm?)

F =PXAXL1=+L2
F: Leverage clamp force(kgf)
P: Operating pressure(kgf/cm?)

A1:Piston force area(cm?)

013
014

L1:The distance between piston rod centre point and leverage point (mm)

L2: The distance between Leverage point and clamp arm clamp point (mm)

F = PXA2 = PX(Al-a)

F: Swing clamp force(kgf)

P: Operating pressure((kgf/cm?)
A1:Piston force area (cm?)

a: Piston rod area (cm?)

A2:Piston pull force area (cm?)

The practical clamping force of work clamps is

60% - 70% of theoretical clamping force.

at Torr mmH20
0.00001 0.0075 0.10197
1.01972 750.062 10.1972
1 735.6 10
1.033 760 10.332
1 735.6 10
0.00136 1 13.6
0.0001 0.07356 1
0.00136 1 13.5951
0.07031 51.7149 703.07

0.0075
750.062
735.6
760
735.6
1
0.07356
1
51.7149

Psi
0.00014
14.504
14.22
14.7
14.22
0.01934
0.00142
0.01934
1



SINGLE
SIDE SWING CLAMP

EBiZENeErEE

a T EALRRETERERATG

DOUBLE
SIDE SWING CLAMP

EEE e EE

CLAMPING ARM
MOUNTING METHODS

BRREEEIRIE T »

CLAMPING ARM
REMOVING METHODS

BRI EMRIES T »

015
016



HIGHLIGHT
PRODUCT SERIES

SEEmMRY] -

CATALOGUE 2018



CFP HYDRAULIC
PULL STUD CLAMP

» EmiEte

(EFRTHAIBFLSIRAFL, THZES [12A2ATHEL .
BREEESS, —RERMAER S EINT (TFEON) .
KB (1 ~ 7MPa) E#=

» FEATURES
Pulling clamp using pull-bolt for workpiece through hole or screw hole.
Five sided surface machining is possible for workpiece.

(This drastically reduces the number of operations needed.)
Low pressure (1~7mpa) Single acting

) 5JB¥1Z/ ;% ORDERING INDICATION

CFP-39-G
%l Series CFP
. _ -39: ®D=39mm
SHETAME -55: ®D=55mm H |
Body Size -65: ®D=65mm
-75: ®D=75mm | ||, -®D
-90: ®D=gomm _‘ ‘G
¢ S

RS ?/ATTV %T T

Piping Method

7 7

S:MECEE (R ciBAX)

G: et iiy( i R IgA0EE )

PNEUMATIC & HYDRAULIC CLAMPS

» INERST

External Dimensions

#H0

(@ N

Nx

U

\<J
e

© 0
V4
o

G£0.005

S
l

03
015 B
H . 2-H4
v

#40 Jza\y @)
PTER \Y2/} >/

= < w
wmn/ || 7R\ R\
RET ( Qﬂ & R

¢ “HAB
FEEE

1. R BOUEBERISREERE 0 ~ 1.56mm AUEH,
X2, AEmMAMHREERE,
BRF2BS RYTIRIERES

Notes
1. The protrusion of R thread plug is between 0 to 1.5 mm

% 2. Mounting bolts are not provided.

Prepare mounting bolts according to the mounting height.Please
refer to S dimensions.

CYLINDER AREA
MODEL  FOR LOCKING
o2

CFP-39
CFP-55
CFP-65
CFP-75
CFP-90

CFP-39
CFP-55
CFP-65
CFP-75
CFP-90

6.0
9.9
15.7
23.3
36.4

STROKE
6.7
7.5
8.5
10
12

CLAMPING FORCE
(CALCULATION FORMULA) 1
KN
F=0.60xP-0.20
F=0.99xP-0.29
F=1.57xP-0.42
F=2.33xP-0.69

F=3.64xP-1.10

CLAMPING
STROKE

38 65 54 45
5 74 69 60
53 85 81 70
7 100 92 80
8.7 120 107 95

EBiThE

2i712

FULLSTROKE LOCKSTROKE ~ CYLINDER CA RELEASE SLEE
(M) MM PACITY (LOCK SIDE) SPRING FORCE SPR
™

6.7 3.8 4.0 116~215
7.5 5 7.4 198~318
8.5 5.3 13.4 306~475
10 7 23.3 459~763
12 8.7 43.7 733~1214

39 20 38 27 31522534 73 12 26 9 3
55 25 47 27 39 30 47 88 1233.5 12 3
65 30 57 28 46 35 55 10612395 15 5
75 38 68 32 52 40 63 116 16 45 16 5
90 47.5 83 37 59.547.5 75 136 16 52.518.5 5

» REEMMINTIRT

Machining Dimensions of
Mounting Area

Nx

O,

N
4

Fan Y

O

o
S

fan)
\V>)
L-CA /
D'}
%/ (06
\/

EE=E L]

%3.
®4.

EZ2.

EEE

019
(070]

ESRY, RERESEREREEEA CABLRE.

F2EFRY, WRIELESEREREREL ¢ DAURE.
5. AINTHERR G : RIVEEFAIER .
: HHET ISO MEFRA 1ISO-VG-32 —fRREH.

6. (EFmES

Notes

% 3. The CA thread depth for mounting bolts is to be decided
by the customer according to the mounting height using the S
dimensions as a reference.
¥4, The depth of diameter D for the mounting hole on the unit
should be decided by customer according to the mounting
height using the F dimensions as a reference
%5, This machining drawing shows G: Gasket option.
%6.Usable fluid: General Hydraulic Oil Equivalent to ISO-

VG-32

DR EHROE

VE RETURN ALLOWABLE

IN(ENI):DRCE OFFSET
6.1 +0.5
9.3 +0.7
11.3

18.0 1
21.6 1.2

9 55 185
11 6.8 16.5
1 68 17

14 9 19
175 11 21

EEEIE X1 EREN (FH8R) &, &5, F . LEH (KN). P HERE (MPa),
Note % 1. Clamping force (Calculation formula) symbols show F : Clamping Force (kN), P : Supply Hydraulic Pressure (MPa).

MAX. OPERATING MIN. OPERATING
PRESSURE RESSURI

7.0
7.0
7.0
7.0
7.0

3

1.0
1.0
1.0
1.0
1.0

M5X0.8 Rc1/8
MéX1 Rc1/8
MeéXx1 Rc1/8

M8X1.25  Rc1/4

M10X1.25 Rcl1/4

WITHSTANDING
PRESSURE
MPA
10.5
10.5
10.5
10.5
10.5

Rc1/8
Rc1/8
Rc1/8
Rc1/4
Rc1/4

WITHSTANDING
PRESSURE
PA

0.4~0.5
0.4~0.5
0.4~0.5
0.4~0.5
0.4~0.5

Rc1/8
Rc1/8
Rc1/8
Rc1/4
Rc1/4

ERRE

OPERATING
TEMPERATURE
T

0~70
0~70
0~70
0~70
0~70

CATALOCUE 2018

Unit:mm

B8

MASS
KG

0.7
1.5
2.3
3.5

6.0
Unit:mm

R1/8
R1/8
R1/8
R1/4
R1/4



» EFRCIE: FES|iEe

Accessories: Pull Bolt

CLZ -39 -CFP1

FNTHEL

Unit:mm
Y (i x M) 4

(Nominal x Pitch)

CORRESPONDING
PRODUCT MODEL

CLZ-39-CFP1 258 158 2 55 7.7 63 5 533000 77 R2 55 12 35 65 3 115 65 R2 M81.25 408
CLZ-55-CFP1 30 18 26 75 97 9175 6500 97 R25 8 5 12 4 82 35 135 82 R25 M10*1.5 48
CLZ-65-CFP1 355 215 3 8 1159175 8 5ne 115 R3 8 7 15 5 10 4 16 10 R3 Mi2.75 555
CLZ-75-CFP1 45 27 38105 14511.395 10902 145R3.75 10 85 3 2 7 135 5 21 135 R4 M16*2 71
CLZ-90-CFP1 56 335 5 125 185148122 12550,° 185 R476 13 11 4 25 85 17 7 17 RS M2025 89

EEEE
1. E3121 (CLZ-CFP1) MUsRsHiES M R me TR O (242) ~ 0.3mm A, | KBS Greaterthan  /Milessthan 2% Tolerance
2. BEBUEES IS, EEEAE. SAERIERNERAENERETMT

Notes :
1. When using CLZ-CFP1 pull bolt, the space between the top of the clamp and the bottom of the work piece must be O (firm contact) to 0.3 mm

2. Refer to this figure when manufacturing pull bolts. Dimensions for clamp mounting must be strictly followed. If tolerance is not specified,
dimensions should refer to the graph on the right.

PNEUMATIC & HYDRAULIC CLAMPS

021
022



023

CVL&CVM » BY5%ZR7"MODEL NO. INDICATION i

CVL 12 -D-S

BRI B AL EH

(V/Bl =71 Series

HYDRAULIC EXPANSION TR (REERLAR)  08: ¢8H8 mm 09: ¢9H8 mm 10: ¢10H8mm 12: &12H8 mm

LT3 \Workpiece Hole 13: $13H8mm 15: ¢15H8mm 16: ¢16H8mm 18 : ¢18H8 mm

LO CATl \ G PIN Diameter (Standard) 20 : ¢20H8 mm

D: sy (BEEMA)
C: =48 (1ERMAELA) "

D BES T ENS R

(=P IhEeH 4B D Cut Mark
> EERRFSIE i D : Datum (for Reference Locating) ©
-------------------------------------------------------------------------------------------------- C . Cut (for One Direction Locating)
$#E8H Datum EE Cut

SWEMBEE CVL/CVM: = 3um
EHET AL BERES o e A ED@
S: fZE#E Standard Diameter = S:IRRE HEIZHELR

coolant has been applied. [Reference values] (The relationship between locating force and the weight the workpiece is shown the graph below. )
% 3. The allowable thrust load means the maximum thrust load that can be applied to this product.

Model No. i
.................................................................................................. AOOO : i%ﬁ_tgi%ﬁ_/gé Substandard Diameter CelEl NG Standard Diameter SUbStandard
Diameter
» FEATURES X EeEERf) X Example _
_ - Bl1: [CVL12-D-A125 | k% CVLO8 orig 8.1H8 ~ 8818
Locating Repeatability: CVL/CVM: + 3pm » L THFLE: ¢ 12.6H8 ¥ CVL12-D g CVL09 9H8 8.9H8 ~ 9.9H8
Zero clearance between reference hole, locating pin with high accuracy HIE T AL Example 1: CVL12-D-A125
Applicable Workpiece CVL12-D with Workpiece Hole Diameter of ¢ 12.5Hg *°%  CVL10 10H8 10.1H8 ~ 11.3H8
''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''' Hole Diameter
o . 5 CVL12 12H8 11.4H8 ~ 12.7H8
» ZEFCIE Options #12: [CVLO9-C-A093 ] K5
THFLAR: $9.3H8 i CVL09-C #81& CVL13 13H8 12.8H8 ~ 14.2H8
[ A Example 2: CVL09-C-A093 _
' - ' ' CVL09-C with Workpiece Hole Diameter of ¢9.3Hg “°z  CVL19 15H8 14.3H8 = 15.7H8
. ' CVL16 16H8 15.8H8 ~ 16.9H8
Low ;E?isure ? 5 5 #13: [CVL18-D-S] B CVL18 18H8 17.0H8 ~ 17.9H8
; : : THAMR: ¢18H8 € CVL18-D &
MAX 7TMPa ; CVL CVM 5 Example 3: CVL18-D-S CVL18 18H8 18.1H8 ~ 18.4H8
: : CVL18-D with Workpiece Hole Diameter of ®18H8 "7/ CVL20 20H8 18.5H8 ~ 19.9H8
: : 7EEEI1E Note
BIEMER + 3um 5 +3um g 1. @@Ll 0.1mm BEBLETIEE. 2. THFEE ¢ 9.5H8 9 CVL-D i, BI2Es2 [ CVL09-D-A095 | . 3. i ERLUMOTHIVE, #Ri7em. (T
Locating i E PEFLIN THEREFELE HE LA )
; Repeatability ! : :
---------------------------------- : 1. Custom diameters are offered in increments of 0.1mm. 2. When workpiece hole diameter is ¢ 9.5H8 , Model No. is  “CVL09-D-A095” . 3. Please
: contact us if the above work hole diameter is larger or smaller than standard. (The accuracy of work piece holes diameter machining should be greater
f2) E&#)z{ Single Action # &)= Double Action : than H8.)
N (EBERE | SHEEFERY ) b (GHEERZE [ HERER) Unit:mm
Control : . S ) o
Method (Spring Lock/Hydraulic :(Hydraulic Lock/Hydraulic ; TH3UE
i Release) : Release ) : <picoe Holo Diameter TR 50 BEIAR  SSEREn SR
; ; : ; ) CATING OFFSET Loc ALLOWABLE CYLINDER MAX. MIN. OPERATING
e ameler Bamler! 1 REPEATASILTY | TOLERANCE : RIS et AEESIDE o P e o PRESSURE Hipa TEMPERATURE © ‘FLLTD:
(R E : CVL08 8H8 8.1-8.8 0.003 +0.05 260 1.5 0.06 7.0 25 0~70 omrigg 80
! Operating Pressure ! 2.5 ~ 7 Mpa 2.5 ~ 7Mpa CVL09 9H8 8.9-9.9 0.003 +0.05 260 1.5 0.06 7.0 25 0~70 yimespyy 80
: Range ! : CVL10 10H8 10.1-11.3 0.003 +0.10 260 2.0 0.06 7.0 25 0~70 ISO-VG-32 80
CVL12 12H8 11.4-127 0.003 +0.10 260 2.5 0.06 7.0 25 0~70 —RRIBIE 85
""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""" CVL13 13H8 12.8-14.2 0.003 +0.10 260 25 0.06 7.0 25 0~70 RUREEEEN s5
Hydraulic Ol
CVL15 15H8 14.3-15.7 0.003 +0.10 260 25 0.06 7.0 25 0~70 Equivalent 90
o CVL16 16H8 15.8-16.9 0.003 +0.15 290 3.0 0.15 7.0 25 0~70  t5150- 105
_ ECOMTHESR _ _ CVL18 18H8 17.0 - 18.4 0.003 +0.15 290 3.0 0.15 7.0 25 0~70 VE-22 110
About Locating Force and Workpiece Weight CVL20  20H8  18.5-19.9 0.003 +0.15 290 35 0.15 7.0 25 0~70 115
IDAF (Gt AEn (SR naisuns (3 L B Tor (F612) BEES (HEX) BEBNTH (ER) EERER FERERIE ¢ 1 EIRECAILL 0. A\mm BERHE(TIEE. THRINTRESREE H8 LI,
tieigiees (el gt CelellElien = Mool Aiuae Workpiece (Pallet) Weight Calculation - Vertical Attitude % 2. UG TR AT RS O FE T B A5 6] AR AUREN T4 S h BB R R S AR A RO o[ 2B | OB THERNBIRESBETE. )
ey e ¥ 3. BT E e I A E TR RS R AT E T .
: 1 EEVEIEN S v
: - Locating Force per One Piece of Expansion | THES <1 =EVEEND ) ) o ) ) -
P THES : Locating Pin P . . < ¢ * 1. Custom diameters are available in increments of 0.1mm. The accuracy of workpiece hole diameter machining should be greater than H8.
! Workpiece Weight < b Workpiece Weight < Locating Force per One Piece o i ) i ) : . ) , ,
' p gnt= . Expansion Locating Pin % 2. Locating force is the force with which the expansion locating pin pushes out (expands) against the workpiece.The value assumes that the
- : THAREER R R P P d

Friction Coefficient of Workpiece Seat Face

I PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018 I



» INERT

External Dimensions

¥ KB~ CVL-C RIRERGIARE (GRERELAARS )
¥ This drawing shows the released state of CVL-C.
(When supplying release hydraulic pressure )

TEEE
¥ 1. RE -C. SR LINER#IER . BFRRENSE.
% 2. M5 x 0.8 SR AN N EEFERY.

Notes

% 1. The identification mark is only found on C: Cut. Refer
to marking, locating direction

% 2. The M5 x 0.8 threads are used when removing the
datum cylinder

» T (3£88) B9ITRY
Workpiece (Pallet) Machining Dimensions

Installation Side

LAl A7 B FLE
D m
- m
| BD
(220D
T HFL1EHS T mm

(HAL

FEEIE
X5, BHEREE—EMPETERTENE, ERREYORER 1.6
Notes

%5. When the same object, such as a pallet, is to be repeatedly
positioned, the recommended surface correlation is 1.6

AHALEHS
GafLD

Workpiece Hole Diameter

S B
()
Ll- °
HL :
<« 0 U
—
= A
i Tk
i
oH 7 .
J PDn6
¢B %
» TEIMUITRY TEEE

Machining Dimensions of Mounting Area

G
4-M4
o0 D ~ ‘
)
22 AN a ]
>
L
J

PNEUMATIC & HYDRAULIC CLAMPS

1. PTG X EMUASEER BeafuzRmE 1.6 HOXNTER.

Notes
1. There should be no burrs at the intersection of processed
hole.The port size is not specified.

Workpiece Hole Diameter

TS
Workpiece Hole

EfUEHFLE

(R
(Standard

OFFSET
TOLERANCE

025
026

mm (CGCut) MM
CVLOo8 8H8 8.1~88 7.94 8.05 T T 0.6 +0.05
CVL09 9H8 8.9 ~ 9.9 8.94 9.05 Workpiece Hole Workpiece Hole 0.6 +0.05
Di -0. D +0.
CvL10 10H8 104 ~ 11.3 9.94 10.05 lameter = 0.06 iameter +0.05 0.6 £0.10
cvLi2 12H8 114~ 127 11.92 12.05 i - 0.7 +0.10
CVL13 13H8 12.8 ~ 14.2 12.92 13.05 Workpiece Hole  Workpiece Hole 0.7 £0.10
CVL15 15H8 143 ~ 15.7 14.92 15.05 Dizmetier =008  DEmeer 008 07 +0.10
CVL16 16H8 158 ~ 16.9 15.89 16.08 THE THE 1.0 +0.15
CVL18 18H8 17.0 ~ 184 17.89 18.08 Workpiece Hole Workpiece Hole 1.0 +0.15
cvL20 20H8 18.5 ~ 19.9 19.89 20.08 DiameterlO5l DI 1.0 +0.45

PAAX0.05
| 16n6
|
I
Q @ABHE 9 )5 .
= 16n6
& =
Lot —
< J \
19n6
PACI-

CVLO8 327 33 16n6 132 115 172 157 125 25274252026 48  THIE ASs68 | Assee- 161 jepsroon 16 185 3 20 12
CVL09 327 33 16n6 132 11.5 17.2 157 125 2.527#12.52026 58 v‘gl’;’;g‘eeggo‘; -014(90°)  005(7 O 16 135 3 20 12
CVL10 327 33 16n6 13.2 11.5 17.2 157 125 2527#42.51.828 6.8 i 16.1 16 135 3 20 12
CVL12 332 33 16n6 13.2 12 17.2 157 125 2527%251.63.2 87 T3 AS568 AS568- 16.1 . 16 185 3 20 125
j -014(90°) 005(70° ) 16H6 =001
CVL13 332 33 16n6 132 12 17.2 157 125 2527#251.63.2 9.7 Workpiece Hole 16.1 0 16 135 3 20 125
Diameter -3.3
CVL15 332 33 16n6 13.2 12 17.2 157 125 2.52.7#12.51.632 11.7 16.1 16 135 3 20 125
CVLi6 387 37 19n6 14.7 16 19.6 187 145 3 3 #4.22245 113 T 19.1 o 10 15 5 25 165
. + 0.
CVL18 387 37 19n6 147 16 19.6 187 145 3 3 #414.22245 133Workpiece Hole ~_ AS508 = ASSE8- 191 19HE (" 19 {5 5 25 15
Diameter -4.7 016(90%) 005(70%)
CVL20 387 37 19n6 14.7 16 19.6 18.7 145 3 3 #41422245 153 19.1 19 15 5 25 165
FE=EIE Note

*8. FEEAEZATLL 0. 1mm BELETIERE . FLRNI TRERZREE H8 LLL,

workpiece hole diameter machining should be greater than H8.

% 8. Custom diameters are available in increments of 0.1mm. The accuracy of

CATALOCUE 2018

N N N o g g g a g



) BUSEZEXMODEL NO. INDICATION EHIIIHEE

CVJM 12-D-S About Locating Force and Workpiece Weight
ERARO
Z3| Series T (5B ) kF22: (F&) £~ IHE (B8 ) EERTER
Workpiece (Pallet) Weight Calculation — Horizontal Attitude
THE (SRR ) 08: ¢$8H8 mm 09: ¢9H8 mm 10: ¢10H8mm 12: ¢ 12H8 mm = i@ § § 1 SEREIRIRERLA
Workpiece Hole 13: ¢13H8mm 15: ¢15H8mm 16: ¢16H8mm 18: ¢18H8 mm TS - Locating Force per One Piece of Expansion
Diameter (Standard) 20: ¢20H8 mm : = ‘ : Locating Pin
i Workpiece Weight <
: : THEREEEIRRE
Friction Coefficient of Workpiece Seat Face
D #H (BEERMA) oo ooossssoososssosososososesososooeosd
C: =R ( 1ER@ELR )
hBEs 4B EfSiER
IHeEN 48 D Cut Mark
Funﬁctio*ns D : Datum (for Reference Locating) c » IMERST
C : Cut (for One Direction Locating) . .
48 Datum - External Dimensions
: o AOOO ¥ KEF7R CVM-D RIRERUIRRE (THERMEASHS )
S: #R#EE Standard Diameter A st RIS f CVM-C
- Tl ol Model No. i *This drawing shows the released state of CVM-C.
ADOO : #E#ELE Substandard Diameter SEneE DiEmetsr Substandard .
Diameter (When supplying release hydraulic pressure )
X sCEiEEf X Example _
B1: [CVL12-D-A125 ] K CVMO8 8He 8.1H8 ~ 8.858
» o THFE: ¢12.5H8  HfE CVL12-D #Rig CVMO09 9H8 8.9H8 ~ 9.9H8
HETHARL Example 1: CVL12-D-A125
Applicable Workpiece GVL12-D with Workpiece Hole Diameter of ¢ 12.5H8 “°%  CVM10 10H8 10.1H8 ~ 11.3H8 4M5 T RusKE
Hole Diameter
CVM12 12H8 11.4H8 ~ 12.7H8 2-¢2 N 4L
#12: [ CVL09-C-A093 | B \ \ =
_ VM1 13H 12.8H8 ~ 14.2H i
THIME: $93H8 76 CVLO9-C i CYMITS o8 818 = da.2re D & 4 |
Example 2; CVL09-C-A093 CVM15 15H8 14.3H8 ~ 15.7H8 27462 J\ \
CVL09-C with Workpiece Hole Diameter of ¢9.3H8 7 N—— " — K
CVM16 16H8 15.8H8 ~ 16.9H8 (A??ow?ort) | o ‘ g
#13: [CVL18-D-S| B 18H8 17.0H8 ~ 17.9H8 J J i
THFAE: ¢18H8 & CVL18-D iRi& CVM18 00
Example 3: CVL18-D-S 18H8 18.1H8 ~ 18.4H8
CVL18-D with Workpiece Hole Diameter of ®18h8 ”]827 CVM20 20H8 18.5H8 ~ 19.9H8
y LA TR
AERZIA Note o B N o o Machining Dimensions of Mounting Area
1. BEEERRATLL 0.1mm BEADEITIEE . 2. THFERE ¢ 9.5H8 B9 CVM-D i, BUSRME [ CVMO09-D-A095 | . 3. B EELWMY THFLE, mRirER. (LT
HFINTRERE H8 L., )
1. Custom diameters are available in increments of 0.1mm. 2. When workpiece hole diameter is ¢ 9.5H8 , Model No. is “CVM09-D-A095” . 3. Please 4-MA G
contact us if above work hole diameter is larger or smaller than standard. (The accuracy of work piece hole diameter machining should be greater than A
H8.) = \
Unit:mm @ G
THE P . \\/}
/orkpiece Hole Dia {EFEE ERiRAE
LOCATING OFFSET ALLOWABLE  CYLINDER CYLINDER MIN OPERATING
rePEATILTY Toteance > LU (ofR AT v ne AEESIS cu e . PRESSLAE e TEMPERATURE C  ‘FLLT" S
CVMo8 8H8 8.1 ~ 8.8 0.003  +0.05 260 430 510 1.5 0.05 0.06 7.0 25 0~70 jowrigq 90
CVMO09 9H8 89 ~ 9.9 0.003  +0.05 260 430 510 1.5 0.05 0.06 7.0 25 0~70 wreremyy 90
CVM10 10H8 10.1 ~ 113 0.003  +0.10 260 430 510 2.0 0.05 0.06 7.0 25 0~70 ISO-VG-32 90 b X VBRI EEAE
CVM12 12H8 1.4 ~ 127 0.003  *010 260 430 510 25 0.05 0.06 7.0 25 0~70 —HRAEHE 95 Expanding Area Detail
CVMI3  13H8 128 ~142 0003 =010 260 430 510 25 0.05 0.06 7.0 25 0~70 H(;e”e;ra'o_‘ 95
CVM15 15H8 14.3 ~ 15.7 0.003  *0.10 260 430 510 25 0.05 0.06 7.0 25 0~ 70 Eyq:‘avl:‘zm' 100 FEEE
CVM16 16H8 15.8 ~ 16.9 0.003  *0.15 290 470 550 3.0 0.11 0.15 7.0 25 0~70 tolso- 115 ¥ 1. 1B -C: & LIE#IER. RRrREMNSE,
CVM18 18H8 17.0 ~ 18.4 0.003  *0.15 290 470 550 3.0 0.11 0.15 7.0 25 0~70 VG-32 120 ¥ 2. M5 x 0.8 1242 TEEN T e 8ErHERY
CVM20 20H8 18.5 ~ 19.9 0.003 +0.15 290 470 550 3.5 0.11 0.15 7.0 2.5 0~70 125 X 3. EEAEZIENG S 0S8, (HYD: SmtHa ,

BLOW: =RERAMEN)

EEEIR K 1 EEEERILL0.1mm BELETEE . THFLINTHEEBRETE H8 LIE.
# 2. B ORISR IR O EEE S0 L ELRIE THAD . RAHEREMSHIRISARE TN . (2568 ] (EUHEIHEENEFRFEZRE L. )
X 3. B RIS A Em PR ZAIRAIZE I .

% 1. Custom diameters are available in increments of 0.1mm. The accuracy of workpiece hole diameter machining should be greater than H8.3% 2.
Locating force is the force with which the expansion locating pin pushes out (expands) against the workpiece.The value assumes that coolant has been
applied. [Reference values] (The relationship between locating force and the weight of workpiece is shown the graph below. ) % 3. The allowable thrust
load means the maximum thrust load that can be applied to this product.

PNEUMATIC & HYDRAULIC CLAMPS

027
028

T4 ($588) EERY (#HEX) £RENTH (58) EE8EBR
Workpiece (Pallet) Weight Calculation — Vertical Attitude

THES <1 =EMINENH
Workpiece Weight < Locating Force per One Piece of
Expansion Locating Pin

TEEE
¥ 1. 1B -C: S LIER#IER . BERNEMSE.
# 2. M5 x 0.8 $ZARTEEN T B85 ERRY .

Notes

¥ 1. The identification mark is only found on C: Cut. Refer 4 p
to marking, locating direction 2. The M5 x 0.8 threads

are used when removing the datum cylinder

eS|
1. ITFAIRE XA AEE TR MEAANRER,

Notes
1. There should be no burrs at the intersection of processed
hole. The port size is not specified.

PAA+0.05
| |
I
Q BABHE \°¢\gg
E=
? A3
R \
BAC S,

Notes

% 1. The identification mark is only found on C: Cut. Referto 4 P
marking, locating direction.?¢ 2. The M5 x 0.8 threads are used
when removing the datum cylinder3* 3. The port name is imprinted
on the side.(HYD: Lock hydraulic port, BLOW: Air blow port)

CATALOCUE 2018



» T (3B8) BONITRY
Workpiece (Pallet) Machining Dimensions

/l
N7 2l &
- m
BD LS 1 [0.05
IR Ga) 1L

TAHEF £ Workpiece Hole Diameter
Installation Side J“i{%&% )HS _L 0.05 m I I

Workpiece Hole Diameter

(122

(Standard

CVMO08 8H8 8.1 ~88 7.94 8.05
CVMO09 9H8 89 ~99 8.94 9.05
CVM10 10H8 10.1 ~ 113 9.94 10.05
CVM12 12H8 1.4 ~ 127 11.92 12.05
CVM13 13H8 12.8 ~ 14.2 12.92 13.05
CVM15 15H8 143 ~ 15.7 14.92 15.05
CVM16 16H8 15.8 ~ 16.9 15.89 16.08
CvM18 18H8 17.0 ~ 18.4 17.89 18.08
CVM20 20H8 18.5 ~ 19.9 19.89 20.08

TEFIE: 5. HIERER—AMHETEREMS, EEREYR
ERB16

Notes: 5. When the same object, such as a pallet, is to be
repeatedly positioned, the recommended surface correlation is 1.6

y LIEIERBE
Mounting Distance Tolerance

AEEIE . X . BHEEEREAZEIBIEEEAREE +0.02mm LK

¥ 2. RERFER CYM-C BaEsiEcEE T CVYM-D 8 CVM-C B9iInELE
Note: % 1. Please ensure the distance tolerance between each locating
cylinder is better than +0.02mm.

% 2. Attach the CVM-C identification mark perpendicular to the line which
runs through the center of CVM-D and CVM-C.

Unit:mm

OFFSET

TOLERANCE
(C:CUT) MM
THIE THFE 06 +0.05
Workpiece Hole Workpiece Hole 0.6 +0.05
Diameter - 0.06 Diameter + 0.05
0.6 +0.10
THAE THAE B 0
Workpiece Hole Workpiece Hole 0.7 +0.10
Diameter - 0.08 Diameter + 0.05 0.7 £0.10
THAE THAE L0 20
Workpiece Hole Workpiece Hole 1.0 +0.15
Diameter - 0.11 Diameter+ 0.08 10 +£0.15

CVMo08 31.5 33 16n6 12 172 157 125 25 26 48 W fﬁﬂ&H | ASS68 AS568- 6.7 16.1 ket 16 125 5.5

CVMO09 315 33 16n6 12 172 157 125 25 26 58 ' OCCETOR -014(907)  005(707) 67 16.1 0 16 12555

CVMi0 315 33 16n6 12 172 157 125 23 28 68 i 67 161 16 125 55

CVMi2 32 33 16n6 125 172 157 125 21 32 87  THAR AS568 AS568- 6.5 16.1 16 13 55
: -014(90°)  005(70° ) 16HG+ 0.011

CVMi3 32 33 16n6 125 172 157 125 24 32 97 Workpiece Hole 6.5 16.1 0 16 13 55

Diameter -3.3

CVMi5 32 33 16n6 125 172 157 125 21 32 117 6.5 16.1 16 13 55

CVM16 36 37 19n6 165 19.6 187 145 27 45 1183  THAR 6.5 19.1 19 17 75
19n6 . 4 . . X . \/\/orkpiece Hole A55680 AS5680— 19H6+0.013

CVMi8 36 37 165 196 187 145 27 45 133 o et 0i8(90°)  ooB(0-) 65 19 o 19 17 75

CVM20 36 37 19n6 165 196 187 145 27 45 153 6.5 19.1 19 17 75

EEEIR 8. EERERAILL 0.1mm BEIEITIEE. AN THERZERBE H8 LIL.

Note *8. Custom diameters are available in increments of 0.1mm. Accuracy of workpiece hole

diameter machining should be greater than H8.

» ;FEZI5 NOTE

RETAEAYEEEIE CVL/CVYM 18R Notes for Design CVL/CVM common

1. HERAIE

©® (EFERTAER S ERATRIS .

CVL BUERRFFREEN, HERMEH.

CVM BUEmIRFMEEEN, B .

2. EfUHRIRE

© EERANEMN, WARBEREYRE, Fa1TRERE,

3. EEST RS ROERINESREE ¢ 6mm Lit.

4. BIRENEHZE @ (1807)
® -C: =¢84 (CVL/ICVM) 2L -D: E#8 (CVL/CVM) B
FEEITHEE S REA . FrIAREERW/ETE -C( /48 ) AUBNIL.

CVL/CVM B
L -C(EHH ) 5, 518 -C(EHEH ) MBS ISR EER -D( 24548 ).
(-C( =48 ) ABER0Em EHENEE S IRC: A, )

9. BERS Z 75 mAdfERt

© WIRTH (FERR ) FEMERMRRE FE(THRED, ESHERMESAM R THALEERIR NS
FREZEER T (1588 ) AOISE. FULTERE T (FE8R) 05, BT EEEMERERE
4/100 ~ 5/100(432 ~ 3° ) LUTF. @ T (F688) HFES, 1M (FB88 ) IERIAOMRRE
TERE (FFIRET) B, SEECEEEEE. BREGME (HEH) .

10. B T4 FLEEREE S
® NRTHAEEFEEEERS, EUEFZIEMTHAER, WEEENIFERER
. FRRAETRERR, SHHENEREERBSATHERRE,

5. BIRS Z e mpE R

© AREUSFERMEET ( Z#MARESER) .

BRTRE Z #sEE AR .

WIEEAARA0AR CEmETH (188 ) ZRRERR.

(H#EERIR: 0.5 ~ Tmm)

6. BIRNENEN S EERE

® ECENHNS B BEEENSERE, FTLEEMHE FTaREMEAEE N SE .

7. I (888 ) EEES (HEL) (£

© AEEIT(F (FB88) BasBnlE T (FE88 ) IFeaBRIRS . INRIEFRARRE MEITEN,
AT RS EANEE.

© ENE, T (1E88) BRI, BEIMRETRRRESR.

® Tif (1£88) EERS (H8) FRTSHE(HENEBEMARER.
EABE, MNRBLAFHE, BIBERRE.

HARERR.

fi
ils

8. BRI (FE8) WES
©® ST (FE88) KFES (F&) ERKNIH (1E8) E8RER

1 S=E(HAIERLD

THEEmAERRE

© JNRTE LB IMERES, BRITHAM.

PNEUMATIC & HYDRAULIC CLAMPS

» NOTE

029
(0X10)

1.Check Specifications

® Please use each product according to the specifications.
CVL locates with spring and releases with hydraulic pressure.
CVM locates and releases with hydraulic pressure.

2.Setting Up the Clamps
The datum cylinder is a positioning cylinder and has no clamping mechanism. A
clamp must be provided separately.

3.It is recommended to use the air flow path over ¢ 6mm.

4.Clamp Mounting Direction (Phase)

® The reference position (origin) is determined by CVL-D/CVM-D (Datum: for
Reference Locating). CVL-C/CVM-C (Cut: for One Direction Locating) locates in
one direction (Y-axis), so phasing is necessary.

In the case of VL/VM

When you mount it, make sure the VL-C/VM-C (cut) cut mark is perpendicular to
VL-D/N/M-D (datum).

(There is a cut mark ( A ) on top of the flange on the VL-C/VM~C unit that shows
the locating direction. )

7.When the workpiece (pallet) is the vertical position.

® \When the workpiece (pallet) is being set, ensure that it is in proper proximity and
square to the clamps.

® As the workpiece (pallet) may fall down during releasing, it is recommended to set
up the latching mechanism to prevent it from falling down.

® \When the workpiece (pallet) is used a vertical position (hanging on the wall), the
internal moving parts tend to wear out. Confirm the positioning precision in a regular
manner. In case the allowed range is exceeded, change the machine.

8.Workpiece (Pallet) Weight
® The Workpiece (Pallet) Weight Calculation - Horizontal Attitude:

5) Reference Surface towards Z-axis

® Datum cylinder has no seat face (Z axis datum face).

Please prpare for the seat separately for proper Z axis direction positioning.

Make sure there is clearance between the top of the flange on the datum cylinder and the
workpiece (pallet). ( Recommended clearance: 0.5 ~ 1mm)

6) Adjusting Height of Datum Cylinder
@ For applications where the seat face is high and the height of datum cylinder is not enough,
the height of datum cylinder is adjustable using a spacer block under the datum cylinder.

9) Incline in the Z-axis direction.

@ If workpiece (pallet) is loaded/unloaded on tilted condition, expanded part of datum cylinder
and workpiece hole can become stuck and damage the cylinder and workpiece is possible.
Workpiece (pallet) should be loaded and unloaded with less than 4/100 ~ 5/100 (approx. 2 ~
3° ) of tilt between workpiece and datum cylinder plane.

@ [f necessary, provide guide pins to keep the pallet level during loading and unloading. Please
prepare guide pin (rough guide) etc.

10) Thickness around the Workpiece Hole

@® In case that the material thickness is thin around locating hole, expansion force may deform
the hole. It may cause unsatisfied locating accuracy.Please do trial testing and adjust to proper
pneumatic pressure.

1 EEEHIERLD

THEEmAIERRE

® EiETH (FefR) EEES (8 EANIH (1B8) NESRER

H
ey
i
el
IIA

AR

©® IR BB TIMERN, FR1TM.

» ;£==18 NOTE

® LEtHEAYNEREIE CVL/CYM

1) B3RS CVLICVM SEfEEREEFLARIERSE

@ Fi% CVL/ICVM BSHLEALIRIEBERERE £0.02mm LK., SFmOE (-C:
EAE) EASERIERE + THFRIIERE (£0.02), B2E TR JIS B 0613 il
BERFE [ 28],

Notes for Design Regarding to CVL/CVM

1) Distance Accuracy of CVL/CVM

® Distance accuracy of the CVL/CVM's mounting hole should be within
+0.02mm. The distance accuracy of each workpiece hole (Pallet Hole) should
be within the allowable tolerance.Please refer to below table under JIS B 0613
Class 2.

1) HERRRERE

2) HeRRHIZRaE

© EEAMTERIRERE (SBESR 12.9) , WRIRTFREEN
ZEBETRE. BTBRREEN, SESHRERE.

B8 Model No.

CVL
CVM

3) IfED

© EFIFRIRRARA, ERIFRETITHGRE FEITIRED

© BT IR ABIGIRIRLERIRAANRE, SR THEIRAANRERERE
=1

4) SRRSO E

CVM: HYD ZEuAB4HO. BLOW : IEREZAHEN
EADHERHAEMAMHOEEHAS .

¥ CVL % HYD. BLOW ZIEDIERE

5) &8
® SHERIE

ERORRIMERTERE ¢ 6( RIE ¢4) LLE,
FBRAIRER, EEERIME ¢ 6( RIE ¢4) LIENEE.

LHLIRIEERE Thread Size

e

Center Di ation Center Dist

KF Greater than /NF or less 2 4k class 2
50 80 0.023
80 120 0.027
120 180 0.032
180 250 0.036
250 315 0.041
315 400 0.045
400 500 0.049
500 630 0.055
630 800 0.063
800 1000 0.070

1) Check the Usable Fluid

2) Mounting Cylinder

® Use all bolts with hex holes (grade 12.9) and tighten the body with a torque wrench as
shown in the table below.Tighten them evenly to prevent twisting or jamming.

ZX[EH%E Tightening Torque (N m)

3.2

3) Removing Cylinder

® Remove with torque wrench in a parallel fashion when detaching.

® Protect the screw parts with parallel pins as shared in the graph below in order for the
bolts used for jack not to damage the surface of mounting screws.

4) Port Location of Datum Cylinder

CVM: HYD : Hydraulic Lock Port. BLOW : Air Blow Port Hydraulic pressure is supposed to
be supplied from lock port

¥ CVL doesn't have a mark of HYD, BLOW.

5) Please use air blow circuit with outside diameter. ¢ 6 (inside diameter ¢ 4) or larger. ® To
do an effective air blow, it is recommended to use air piping with outside diameter ¢ 6 (inside
diameter ¢ 4) or larger.

CATALOCUE 2018



CLG

HEERR ( BIUARS )

CLG HYDRAULIC

SEQUENCE VALVE
(JAPAN SPECIFICATION )

> RS
SPECIFICATION

AU%E Model No.

|EyaEHEE
Actuating pressure range MPa
BB EEE

Operating pressure range MPa

TREIZETENEMUE  (MPa/ BE)

Adjusting screw turn ratio MPa/Rev

FEN

Cracking pressure MPa
FREE

Operating temperature C
ERmES

Useable fluid

» EEEIR

CLG-3A CLG-6A
1.0~6.0 5.0~18.0
2.0~35.0 6.0~35.0
1.0 2.8
0.01
0~70°C

1BET 150 $EEEEEARA0 150-VG-32 —IRREE
General hydraulic oil equivalent to ISO-VG-32

1RAHE B S BRS BN ERINETIEFEE,
B 1 REIBAAEZEAEEERMARERNRAE, & TRERE & TREEE .

» NOTE

If the flow volume of the incoming pressure side is too much, there is a possibility that the proper
sequential procedures would not work. In this instance, use a flow control valve to adjust flow

volume from the pressure source.

gL = GES
ORDERING INDICATION
CLG - 3 A(5.0MPa)

2%l Series
B iaEEEnE

Actuating pressure range

A SHERRES

REBRD (NeFEn1E
BEHRRER)

Set pressure(Set valve
for sequence operating
pressure)

CLG

3:1.0~6.0 MPa
6: 5.0~18.0MPa

A Manifold type
1. FRE LR EENRIBERR TR MPa LI L,

2. Z=|FFRFFET R ERR, BERRERES]
HOERZELE 1MPa LLE .

Provide a difference of more than 1MPa between
operating and setting pressure.

When using multiple CLG sequence valves in a parallel
fashion, provide each set pressure with a pressure
difference more than 1IMPa.

I PNEUMATIC & HYDRAULIC CLAMPS

031
032

CATALOGUE 2018 I



SV-AT1

IS IE RS

SV-AT1 TIME
SEQUENCE VALVE

» EmIFY

VIREMEREMAER, &8 7 IFEMERSMVELID TERHENRTES
B, EINEAREMIRENRE; (18 ¢20, BBEANE 2Mpa, &eaLIEFED
7Mpa;

iFREEE: 1S5-10S,.

R5REED

ASEENZRRE, BHNBIEFRERSEEE, AlERetIsEERE, ARt
e

BEIFISEE, SEIHREHEE,

BEER: BERIAREEREM .

(EFEiRES: HHET 1ISO HEFHRAY ISO-VG-32 —ARiREEH

» FEATURES

Based on the time of valve and the flow valve, combining with the characteristics of the
valve and discharge valve to reduce the use quantity and installation space, more use in the
installation of a complex environment;

Cylinder diameter phi 20, start-up
pressure 2 mpa, the highest working
pressure 7 mpa;

Time range:15to10s.

Time range will be adjust to the size of cylinder bore, stroke and the change of cylinder
pressure is different.

Will seal nut loosen
Adjusting the time sequence valve to the time required,
slow right-lateral regulating rod, left-handed regulating rod shorter time:

After adjust time, seal nut lock.
Warm prompt: please adjust the time when oil returns valve.

Usable fluid: General Hydraulic Oil Equivalent to 1ISO-VG-32

J 2

] B 55 BRI R

TH e k25 e

PNEUMATIC & HYDRAULIC CLAMPS

033
034



CWD-B

KENEFRE

CWD-B PNEUMATIC
SEQUENCE VALVE

» EmittE

HU5E Model No

E=ERED

Max. Operating Pressure Mpa" 0.6
=RERED 02
Min. Operating Pressure Mpa ’
fEE 15
Withstanding Pressure  Mpa

FEERERS *1 *2 *3 *4 1~10
Delayed Time *1*2*3* 4 sec

B/NBISHEE 4.0
Min.Passage Area m

FRRE 0~70
Operating Temperature™C

(RS DR RERESE B FRTR
Usable fluid: Oiled Dry Clean Compressed Air Dry air
B

Mass kg 02

» EEEIR

1. MR AR ERS R ) s M E RS IR -

2. A T inigRMHRE, 1BNaE, KEMEREERE.

3. MNRBBREILIERE 2 RIS TTTHDARENFRS, WA 1 RE
HHERBIERIE, REBETHERFE.

4. ST E I S A ST B IS R R e S B B R B B THERR

» NOTE

1. If unused for a long period of time, the delay is longer than initial set time

2. It can extend the time delay from the tank and its capacity increases by using T
port.

3. If actuators on outgoing side does not operate after the time delayed setting,
verify setting after pressure returns to zero.

4. Confirmation for delayed time should be done after fastening the lock nut of the
delayed time adjusting thread.

I PNEUMATIC & HYDRAULIC CLAMPS

2-935.5

035

036
(B 4% 755 @
ﬁ.
L&k P (R) #&+ { 2 KAMA B4
2N
N
¥ WVAFREIESEIRITERNSER
SR, LA EIE AN,
PT1/8¢A {4 1)
M8%0.75 | |
T T
i — BT - g
A= = B e S <
N = \‘\i\j\\,/\ o
mns | RN
6 [ [
4 50 20
6
Mo x102 TiwO: MissiEeE
RC1/8
30,5
55 14
M8%0.75 ‘ L8 Iy
HEx0zS O+ [
| |
I O R B (]
™

TEEIE

B REE EIRE AT AL o
PIVINC)NE E R IR D -t =
BRI CMERIIES

PT1/8CP 41D

Notes

The actual delay time owing to the different circuit conditions.
Don't delay time is too tight or unscrew adjustment bolts
Otherwise it may cause product damage

CATALOGUE 2018 I



037

038
c c E feE& =t Piping Method
Sae I REMEREL
G S
» EmiF
_______________________________________________________________________________________________________________ HR=CERED Gasket Option FoEThERER! Piping Option
1. BREN: seERRBEIERIIESNREN
2. BREN: EEBEREERIIER MRS OHE, BRSREHIGENFRSTH, AERENE :
FIERIRIRE, AKIHMET THERaIT6E M. i R I84yt55E RC 24RO
3. HETA: ABRE, BFKENF, AEGHEBRENEERE)\MIEZFH : with R Thread Plug Re Thread No Gasket Port
» :]##127~Z ORDERING INDICATION
CCE-060 G L
CCE %% Series
JE#x 7518 Lever Direction
060 SElmd  Cylinder Force
G Ei& 5=, Piping Method
L C R

L [E&tRJ51a  Lever Direction
1. |I%H Cylinder Force
060: SATEE 0.6kN( S 0.5MPa B ) Cylinder Force 0.6kN (Pneumatic Pressure 0.5MPa)
100: S&EIEIESD 1.0kN( &E 0.5MPa iF ) Cylinder Force 1.0kN (Pneumatic Pressure 0.5MPa)
160: SElEE S 1.6kN( &5 0.5MPa B ) Cylinder Force 1.6kN (Pneumatic Pressure 0.5MPa)
250: S|&lH77 2.5kN( &JE 0.5MPa i) Cylinder Force 2.5kN (Pneumatic Pressure 0.5MPa)
400: FELEES 4.0kN( &/E 0.5MPa i) Cylinder Force 4.0kN (Pneumatic Pressure 0.5MPa)
¥ Rl NEERNRIEFHAE, Unitmm

% Cylinder force differs from clamping force and holding force.

--------------------------------------------------------------------------------------------------------------- i ( A B ) 21772 (4% ) (Brea ) 4 2 r g % > (K3 i Jegzch] ()
2. B& A= Piping Method
ES 2 < EBED TR MAX. OPERATING MIN. OPERATING WITHSTANDING USABLE OPERATING

""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""" EZ?:_DS;RPZ)DR‘EE STRFDUKLELMM CLAMPING I EI WHEND/M/N SPRING FORCEN PRESSURE MPA PRESSURE 32 MPA  PRESSURE MPA FLUID TEMPERATURE C
G . iRTUEEE (EE R EMILTE ) Gasket Option (with R Thread Plug) S

: = TR CCE060 0.6 195 16 35 11.2 10.2 9.7 37.6~57.6 0.5 0.2 0.75 0~70

. sy %7 Y Pin i 1B B R
S: SMIREE (Re 8241 Piping Option (R Thread) CCE100 1.0 220 180 4.0 21.2 19.5 17.8 58.9~97.8 05 0.2 075 HEZHRE 4 29
--------------------------------------------------------------------------------------------------------------- CCE160 1.6 235 195 4.0 34.8 33 30.1 80.5~141.1 0.5 0.2 0.75 O“C?edanDW 0~70
3. EEt751a Lever Direction CCE250 25 275 235 40 55.2 521 482  142.8~219.2 05 0.2 075  Compiessed  g.70
"""""""""""""""" 0 CCE400 4.0 330 290 40 94.2 90.5 81.7 228.9~335.1 0.5 0.2 0.75 0~70
L: A Left ¥ T E O EMR SRR EIRS G
C: =4 Center 3 This images show the lever direction when the piping port is placed in —

. FEEE

R: A Right front of you. :

1. AEERETESEENRENER T, TeeRERiMERESD, REHESER (NAERENTIZEERNRE,
ASEEMERISE) .
2. ZFREEHNER MRS ErREIIREED .

I PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018 I



039
(0710]

==
> SMEZR<H EXTERNAL DIMENSIONS > EREFE PBD*0S  FBE03
¥ 1. AEMAMBEREER., FAPREXESELSR
s S RYB(TESE.
i _ X2, B & 4k B R EH E] 55 68 AR B A5 RO 85 2T (¢ ADfB.
MBUAGAE, RCL/BMGe2 — RRFRLE ¢ AEf6. HRCBO 18 ) - . o
et - A | _/ o
~ABW ) 2-ZA M +
; SR " EmEra® » NOTES 2 g
| 7 \l@ | ‘ M
| A | »*1.Mounting bolts are not provided.Customer should prepare based on m ‘
T i dimension "S"
O % 2.Please use the pin supplied (equivalent to NADf6NNAEf6N HRC60) for e
) g B mounting pin for lever. BK BN BA£0.02 %lm
: | . . fir 8
FREAMSO: RC1/8HRE<2 oL / TG
RI/BIRENE () E -

- ~ —— j:—‘— o
(BURF-ARI T e W S il > /\\_\. > ?%‘ZEB{MHDIR?
MACHINING DIMENSIONS OF MOUTING AREA
7 kac g
I G \ D |
S O eP«5 ul |
“ o h ¥
1 > 1
=z o
4
o T BG BH
=z
; |
= FREHLAOePss ‘ J ‘ ‘ ‘
ot~ v =3 —— = ‘
. [ o | o 3 A N
o AL ol
) EEEE [ 1 | |
tot X3.B/BESRY, REESERELEIZEN CABKRE.,
%4, 2% F RYIRBLZESERERNERE ¢ D HRE.
X5, RIENNTERT -G : tRtiEzE,
FRGMO: 0BMENE (HH)
[FVE D)
» NOTES
j A =T EEioans < . . . . . .
% 3. The CA thread depth of the mounting bolt should be decided based on the » *ﬁﬁ’i*&:&ﬂ'ﬁ_f% Calculatlon List Of Link Lever DESIgn Dimension
= mounting height with reference to S size.
% 4. The ¢ D depth of the body mounting hole should be decided based on the MODEL [HH ) CCE100 CCE160 CCE250 CCE400
FRAAD: OBIMMM () mounting height with reference to F size.
Cr/-62) . This process indicates -A/-G: Gasket option. BA 16 19.5 21 25 30
BB 125 12.5 16 20 25
. 0 0
Unitmm BC 10%, 109, 129, 1652 1903
( BD 5 +0.012 5 +0.012 6 +0.012 6 +0.015 8+0.015
MODEL Full Stroke &7 > iz BE 20.012 5 20.012 6 20.012 8 20.012 10 20.015
CLAMPING LOCK STROKE RECOMMENDED 5 0 0 0 0 0
FORCE STROKE BF 5 5 6 8 1 0
CCEO060 19.5 16 3.5 17.5 111.5 54 45 40 795 54.5 25 31.5 22.5 34 72 11 26 9 max. 3 9.5 BG 10 10 13 13 17
CCE100 22 18 4 20 123 60 50 46 88 63 25 35 25 39 79 11 28 10 max. 5 9.5 BH R2.5 R2.5 R3 R4 R5
CCE160 23.5 19.5 4 215 134.5 66 56 54 945 69.5 25 38 28 45 88 1 31 13 max. 5 9.5 BJ 10 10 13 13 17.5
CCE250 27.5 23.5 4 25.5 157.5 76 66 64 109.5 79.5 30 43 33 53 98 11 36 15 max. 5 11 BK R4.5 R4.5 R6 R6 R8
CCE400 33 29 4 31 184 87 78 77 1245 94.5 30 48 39 65 113 11 41 20 max. 5 11 BL 4.5 4.5 6 6 8
BM 2.5 2.5 35 6 7.5
Unit:mm BN 45 4.5 6 6 8
x L) ) =8 L 30-50 30-50 42-70 50-80 60-90
] x Pitch) n)
CCE060 5.5 155 285 10 31 24 205 11 19 C2.5 16 76.1 498 5 5 21.6° M5 0.8 C3 1BP5 0.5
CCE100 55 14 315 14 31 27 235 11 19 C25 195 72 469 5 5 265° M508 R5 1BP7 0.6 ETEHEIE "Notes
CCE160 55 135 36 16 325 30 26 13 21 C3 21 765 509 6 6 264° M508 R5 1BP7 0.9 1. BRETEBRRISTI @8 ERFENRIEHE, SRIREDFURISHE 1. If the link lever is not in accordance with the dimension shown
CCE250 68 16 40 18 87.5 34 325 16 28 s 25 %22 627 6 8 2617 Me R6 18P7 14 ERERISE, FHaIREER . KIL. EERERSHIE, above, performance may be degraded and damage can occur.
CCE400 6.8 15 50.5 22 405 425 395 18 37 C5 30 1057 747 8 10 25.2° Mé R6 1BP7 2.3 . N w » . .
2. R4 FASHETRAE FRRTIXAYSHET (¢ ADf6. ¢ AEf6. HRCBOHBESR ). 2.Please use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRCE0)
(B8 $AD. $AE RYBZBREEINERTE. ) as the mounting pin for lever.

(Please refer to each external dimension of CCE for the dimensions
¢ AD and ¢ AE.)

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



041

CJSS =

BT B RcES

> 4RI AR BIRORRE T R
£35S SPRING |

ACC U M U L ATO R BEEEEERNNENES, LIRS ESEREMERAE S

» HOW TO READ THE CHARACTERISTIC DIAGRAM

Accumulator absorbs the pressure fluctuation so that it prevents system pressure from variation due to the high or low abnormal pressure.

) ESHEM {EFEEL  Clamp Used i CHA-55x4 8 (1 ESHETsKRIHTHIAE : 26.7cm’)
anTs :
_________________________________________________________________________________________ = Piping ME $6x2m (1m AIFERTE : 28.3cm®)
BSRG[N PRRRROZIR  Valve Capacity 20cm’
_________________________________________________________________________________________ IREEMLE  Temperature Change : AT —20C
» FEATURES RS Operating Pressure : P 4.0MPa
Accumulator absorbs the pressure fluctuation so A . A : -4
that it prevents system pressure from variation due to the high or low abnormal pressure. RIRRE Thermal Expansion Coefficient : o : 8x10
» j2fIIE Options » EEGE » SELECTION METHOD
1. LEEESE (V) 95t& 1. Calculate Fixture Circuit Capacity (V)
: AN R EEN EaeRs LA + BEE RS + MBS Clamp Capacity + Pipe Capacity + Valve Capacity
classification Spring Accumulator for V= (26.7x4)+ (28.3x2) + 20 = 183.4 cm’ V= (26.7x4)+ (28.3x2) + 20 = 183.4 cm®

: Low Pressure :

e H 0. BMYETE (AV) HOSHE 2. Calculate Change in Capacity (AV)

| EmES . TEEBREE (V) x BERY (o ) x SEEKE (AT) Fixture Circuit Capacity (V) x Thermal Expansion Coefficient (i)x
; 'R ; Standard Operating Pressure  2/3/4/Mpa ; AV =1834 x (8x10 %) x (=20) =-2.93 cm® Amount of Temperature Change (AT) , AV =183.4 x (8x10™)

3. EALERRITEYIRT 3. Select Accumulator Mode
oo — WRIBEREES (P)= 4.0MPa , &% CJSS4 00O Operating Pressure (P)= 4.0MPa select CJSS4 00

» 2U5RZMODEL NO. INDICATION IRBELATE (AV)= —2.93cm3, EE CJSS405 (B AREBH N Change in Capacity (A V)= -2.93cm3 select CJSS4050. (If the required
CJSS-4 02 HSB R, EEEATEAR [ CUSSA10 | st Easee. ) discharge capacity is greater than showed on the graph, select larger

accumulator [e.g. CJSS4100].)
2%l Series

St A 4 BER B IINIET ( SRBEEETESR. ) 4. Check the Accumulator Characteristics (Graph on the right)
Standard Operating Pressure 2. 2.0MPa 3: 3.0MPa 4. 4.0MPa SBEEMY (-20°C ) BRIEES - 2.92MPa Pressure after Temperature Change (-20C ) : 2.92MPa
. PeRAt R ESIEFISSE - 2.07cm® Residual Oil Discharge Margin : 2.07cm®
iR , , . 5 2.
Amount of Discharge Oil 02 : 2.5cm 05: 5.0cm 10 : 10.0cm
5. EREsEsm. iie0. &g sME. 5. Select the Attachment and Piping Methods.
- H: Moz Vi i > ERFE > NOTE
S H—LF | | |
Mounting Direction H : Horizontal Mounting V : Vertical Mounting 1. BEEEENNEEER, TEENSEIERRE. 1. When marking your selection, calculate tolerance for the oil capacity
[ spEmERiEE. CJSSO02---0.50md. taking the spring force deviation into consideration.
CJSS 05 --1.0cm®. CJSS T 10---1.5cm?] [ Approximate amount of spare oil : CJSS O 02---0.5cm®.
N . CJSS 05 --1.0cm®. CJSS10---1.5cm?]
C: MR (G ¥24% ) Piping Option (BSPP Thread (G-Thread)
BLEA S YMEREERY (Rc 24X )Piping Option (BSPT (Rc-Thread)
Piping Method G : #RzLEREERY Gasket Option
. : tg) 47 ) FU ipi i -
GC : ﬂiﬁ u 9|\@E§i ( G E%X ) == Gasket + Plpmg Optlon (BSPP Thread (G Thread) STANDARD OPERATING ~ WITHSTANDING  p|SCHARGE OIL CAPACITY ABSORBING CAPACITY  coMPRESSION FACTOR( B) 1 OPERATING
GS : #al +YMECETY (Rc#24% ) Y Gasket + Piping Option (BSPT (Rc-Thread)) PRESSURE MPA  PRESSURE MPA o™ ™ MPA/CM? TEMPERATURE C
A b - . CJSS202 2.0 14.0 25 1.0 0.40 0~70 0.8
EeEAE (H: ERERZEER : Hﬁgai A - Top Piping CJSS205 2.0 14.0 5.0 2.0 0.31 0~70 1.0
i ST B: E&S B : Side Piping Bﬂ BEE N TERH ISO REEEEEARAY
8. C/S/GC/GS fERTF ) CJSS210 2.0 14.0 10.0 4.0 0.16 0~70 e P 1.7
Piping Direction Selected for both * V. EEERER, BB EIER Eﬁ ﬂ gj:zzgz 22 ::'2 :5 ;.g Z':z gzg General Hydraulic Ol ?.:3
HNHorizontal Mounting and Piping . ] 3 ey (Mfrererfiee s @ T : : -0 : : ~ SEEIRRIERIEE: :
MethodRC/5/GC/GS # ForV: - Vertical Mounting, Piping Direction is "Blanic”. A B CJSS310 30 14.0 100 40 0.17 0~70 EquvalenttolSOVG32 17
X H: ERRERERIMIEE: EEG, AR “EiEe . CJSS402 4.0 14.0 25 1.0 0.49 0~70 0.8
% ForH: Horizontal Mounting and Piping Method: G, Piping Direction is “Blank”. CJSS405 4.0 14.0 5.0 2.0 0.37 0~70 1.1
CJSS410 4.0 14.0 10.0 4.0 0.18 0~70 2.0

I PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018 I



043

044
» MR ~] EXTERNAL DIMENSIONS » LAESRATANT RS MACHINING DIMENSIONS OF MOUNTING AREA
cJsg102 -HOD cuss 105 -H[]
2-963
)-EX
I
Nl T M| —
S Ul ) -
! @\H I ! Y
-l maxG ~ 195
HT
B E D o il
uss (102 -HCA/HGCA:G1/8
- A - cuss (105 -HCA/HGCA:GL/8
cuss (102 —HSA/HGSA:PT1/4
cuss[105 —HSA/HGSA:PT1/4
TTT i IR
[
m 7]
] V3] U \ oS
16/ —
\ | | L
W ERE, o BEIBPE_—7 )Wl
cJs cJssOs - -\ LE 21 4%)
e T = 8 s
CJsS - _ cuss 105 -] :
AA EB;@T;X cJss []02 'HSB/ HGSBPTI/ 4
b5 cuss (105 ~HSB/HGSB: PT1/4
|Va | PanY |
) v/ [
Y
S O
K} |@\w I ‘ !
FrH BB
| maxl ~195]
383 _ o H2 | _HI_|
B i | D _
- A -
W
cuss (110 -HCA/HGCA:G1/8
csss []10 'HSA/HGSA!PTI/4 Unit:mm
LT 7T \ I
| x 2RI X IR Y
Mounting Bolt X Mounting Bolt Y
— — () = — ] CJSS202 CJSS302 CJSS402 985 40 36 — 43 555 5 15 20 — 20 32 45 34 M5x0.8x40 M4x0.7x50
ﬁ“ 16 — = CJSS205 CJSS305 CJSS405 136.5 40 36 — 55 81.5 5] 27 20 — 20 32 4.5 34 M5 x 0.8 x40 M4 x 0.7 x 60
’ ] CJSS210 CJSS310 CJSS410 241.5 40 38 36 79 162.5 5] 49 20 34 20 32 4.5 34 M5x0.8 x40 M4 x 0.7 x 85
2-wOE 85 EI=El]
- = ) cuss (110 HCB/HGCB:GL/8 %1, IETRRBEENEUTIEL . SRS hEREE R RIS TRIRAIEEE, LBt INTS .
EAE1BPE [ fesss 110 HG/HGC/HGS cuss 110 -HSB/HGSB-PT1/4 %2, G (RatilEn! ) MZRE (O FmHEEEE ) MEEHEREREE 6.35 1T,

1. EDBERAERETHE. HERRBNETES, BRFHTTZEHTHMEL, FEEk.

Notes

% 1. Indicator extends proportionally to pressure. Be aware not to interfere with other devices of max. extension dimension when designing.
%2. Roughness of mounting surface (O ring seal surface ) should be 6.3S or better.

1. Do not disassemble. Components include pressured spring parts. It is dangerous to disassemble.

I PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018 I



_ 045

046

fEFARES Usable fluid

CRA-2 CRA-4

] T
AT H T T
o | L B
| .15Jl |
i
| |
N 4-M6RI2
TiFle12 1.4
I 23 38
o o Iy 1.
11— & ——1 - ©E© ﬁjf
42 a8
30 30
-
200 116 44




CJRC

kL 3

CIJRC ROTARY JOINT

> EEmiFE

IEESEEREAICME / KRB / KBERAIRAIMES JRB
RASEFENEERESE, BN TREBE. |BISIEEEF. tEER
FRETSHIM/ STAY / SESHNERIA BB RSHIEEER. a0
HEREE? . 4. 6. 8O EBEEPREIEN X1,

..........................................................................................

$48 é Eehdfitiar]
! classification : No center Through Port
L sROEE
i The Number of i  2/4/6/8 #4501 Port
the Ports

L —RIREER: TMPallT

(s gGeneraI Hydraulic Oil: 7 mpa

Usable fluid S 1MPa AT :
Air:1Mpa or Less

lREEIE (%R )
iLow Rotary Torque:
(Compact Design)

$5EE
Features

..........................................................................................

» FEATURES

Apply for Hydraulic , Pneumatic&High Volume Coolant 31

It adopts the original developed low friction seal and low torque enables smooth rotation.
Each part of this rotary joint is highly durable and each seal provided by CLAMPTEK has
low torque, highly durable and high capacity design that allows for a longer life of the
component. You can select the number of ports from 2, 4,6,8 along with the center through
port.

» ZY37ZR7“MODEL NO. INDICATION
CJRCO020-S-A

2%l Series

A S

1he”NDu§%ﬁ of the Ports 02 . 2440 2ports 04 : 4450 4 ports 06: 6 450 6ports 08: 8 440 8ports
fECh Uil

gg,ffﬂ/,;,g'ufh Port 0: #EHRUOM4O No Center Through Port

1 RBIEES B: 4MEEET (G #84) Piping Option (BSPP Thread (G-Thread) )

Mounting Direction S . 4MNEEER (Rci24) Piping Option ( BSPT (Rc-Thread) )

A IREGEE IMNEEFFRT (% R IRESUEDE )
gmﬁgﬁa%s?gfc A: Both Gasket and Piping Options ( With BSPT Plug (R-Thread Plug) )
econaar iae
Pl Mached D iRetisiE SMNEEFFE (M2 G i)
D : Both Gasket and Piping Options ( With BSPP (G-Thread Plug) )

7EEZE1E Note
1. BB LB E R LYNER S IS, B51T40.
1. Contact us, if you need a piping option different than what is shown in model code of catalogue.

I PNEUMATIC & HYDRAULIC CLAMPS

047
048

0 | 1

8 CJRC080

6

L CJRCO60
) —
[—

gELhARE ($BiE: 2%EE) ]
PERFORMANCE CURVE 2 I s s e 115417
(ROTARY TORQUENREFERENCE VALUE) —— =

% 1 2 3 4+« 5 6 7

HUSE MODEL

WREA Fluid Pressure (MPa) CJRC020

1.5
1.4
1.4
1.3
1.2
.
1.1
1.0

o = N W OO N

EI=E L]

1. RNEFESEE (N m) ERRisED (MPa) ZRERIBIR

2. BREHHEERE HIRATHEEMNTRESE 2 FHER. MESEEERES
s 8L,

3. IER2EE.

hRftiE

B/NEBER Cent
i Ol ESAT GHADEE Number  Min. Passage Area S80S
mm

CJRC020 0 ~7.0 0~1.0 2 19.6 % Nothing
CJRC040 0 ~7.0 0~1.0 4 19.6 % Nothing
CJRC060 0 ~7.0 0~1.0 6 19.6 % Nothing
CJRC080 0~70 O0~1.0 8 19.6 % Nothing

EEEIE

¥ BIEERERISERSERES (HE 7TMPa) YA
1 MRIABR, SRR ARELLR, FEmOERER RO
2. EEEEESEHRE TN, FIHeeEEEE,

TREEE ] (MPa)

#5846 Rotary Torque (N - m)

CJRC040 CJRCO60 CJRC080
1.8 5.5 7.5
1.7 5.1 6.9
1.6 4.7 6.4
1.5 4.3 58
1.5 4.0 5.3
1.4 3.6 4.7
1.3 3.2 4.2
1.2 2.8 3.6

Notes

1. This graph shows the relationship between the rotary torque and
the fluid pressure.

2. The starting torque might be more than double of rotating torque
shown in graphic and may change according to the conditions of the
stationary down time. It varies according to the condition such as
stationary down time.

3. The rotary torque is a reference level.

Unit:mm
BIFIEESERE (TMPa BT )% 1 fERTeE
Allowable Rotar ; i
Speed (at 7MPa)3# 1 -1 Usable Fluid Tem%%%?gpeg ¢ Weight(kg)
280 -10 ~ 70 4.5
280 BEREHRES -10 ~ 70 55
General Hydraulic Oil Equivalent
200 0 1SO-VG-32 or Air AT=T B
200 -10 ~ 70 8.6

Notes

% 1. The allowable rotary speed is based on operating pressure of
maximum 7MPa.

1. Please prepare one circuit for drainage between them when

the oil slick leak from the hydraulic circuit to adjacent air circuit
becomes a problem.

2. Please avoid continuous operation as it will cause overheating
and damage to the internal packing.

CATALOGUE 2018 I



» SMNERT: CJRC020
External Dimensions: CJRC020

¥ KEZFRR CIRC020-S-A(2 [E11% )
% This drawing indicates CJRC020-S-A(2 Port Circuit)

1RAIftEE O 2 REMHEOHE G BG5S, F517#4H.

When G thread is necessary for a primary side or
secondary side port,please contact us separately

{218 Stop Side

[ -
] S 2-PT1/4

a0 L ekl | g
018 | A

hEEE{A) Rotating Side

LM TR

Machining Dimensions of Mounting Area

PNEUMATIC & HYDRAULIC CLAMPS

» BU5EZR~"MODEL NO. INDICATION
CJRC020-B-A
S D

B S 1 xIEES = Primary Side Piping Method
A D 2 xflfE = Secondary Side Piping Method

1. DERE RIS R IR B ARIER, (FLLAIFREIEE S & TEE -

2. BIRINECEBERINE .

3 MR, HEETERARBERIE, FEMEIIRERERRAREIE

4. BEEESEYANEIER, EEReEEEE,

5. FHAEIEE RECRS.

6. 2 )R{AMER Re1/4 IR AIMCE TS USRS, FEMAMTEI R1/8 124uETEE
ERzUEREO .. SEMRIUEROR, FRE O EIBEH R1/4 BRUEE.

1. The rotation side must be fixed the flange part with of bolt, and restrain
only the rotation direction of the stop side.

2. Please use hose for piping of stop side.

3. Please prepare one circuit for drainage between them when the oil slick
leak from the hydraulic circuit to adjacent air circuit becomes a problem.

4. Please avoid continuous operation as it will cause overheating and
damage to the internal packing.

5. Each port exhibits a port number.

6. When using Rc1/4 thread for a secondary side port, please attach the
attached R1/8 screw plug to the gasket port part. When using gasket
option, please attach O-ring and R1/4 plug.

1XREIEEDO Incoming Port
2-Rc1/4 ¥24X Rc-1/4 Thread

2 A0 Outgoing Port
2-Rc1/4 1242 2-Rc-1/4 Thread

R 1240588 (BF#5 ) With BSPT
Plug (R-Thread Plug)

4-M8 x 45 124e (MIEY)
4-M8 x 1.25 x 45 Bolt (Included )

2-Rc1/8 #24 2-Rc-1/8 Thread
R IRAUIETE (A5 ) With BSPT
Plug (R-Thread Plug)

2 % EI4A O Outgoing Port

2- #R=tiEE O 2-Gasket Port

O FEEim@. 1BP12( M%)
O-ring: 1BP12 (Included )

15
s
=
s
=

1. ABIREEE S HE IR T .

L ) 1. REH (O EHEREHH ) FIRE
% % AREEE 326,35 L.

R RS

% 1. Only in the case of a gasket
method, it is necessary. 1.
Roughness of mounting surface (O
ring sealsurface ) should be 6.3S or
less.

Mgk

» SMERT: CIJRCO40
External Dimensions: CJRC040

¥ AEFERR CJRC040-S-A (4 B3 )
*This drawing indicates CJRC040-S-A(4 Port Circuit)

1RBMAE O 2 XA OFE G 12405, BHT7:8:8.
When G thread is necessary for a primary side or
secondary side port,please contact us separately

1= 1H{8) Stop Side
- 81 -
— | I
T |
sl‘[ S _4-PT1/4
1 K s
9118 ml

hEEE{A) Rotating Side

REEMINTRT

Machining Dimensions of Mounting Area

049
050
» BUZEZR"MODEL NO. INDICATION
CJRCO40-B-A
S D

B S 1 xfEIEE S Primary Side Piping Method
A D 2 xEIEES= Secondary Side Piping Method

1. PESE RS RIRICEIE ARER, (FLAIEREEE S A& TEE .

2. FIHAINEEREERRE .

3 BRI, HEGERARERLE, FEMCEERER R

4 EEEESEH AT EN, RREREEEE,

5. FHEOEEREORR .

6. 2 XMAIER Re1/4 BORAINCE L TUEERS, s5EAMHRY R1/8 tREIRZE
(ERUEREO .. SEPRINEROR, F%d O EEHBEM R1/4 24UEE,

1. The rotation side must be fixed the flange part with of bolt, and restrain
only the rotation direction of the stop side.

2. Please use hose for piping of stop side.

3. Please prepare one circuit for drainage between them when the oil slick
leak from the hydraulic circuit to adjacent air circuit becomes a problem.

4. Please avoid continuous operation as it will cause overheating and
damage to the internal packing.

5. Each port exhibits a port number.

6. When using Rc1/4 thread for a secondary side port, please attach the
attached R1/8 screw plug to the gasket port part. \When using gasket
option, please attach O-ring and R1/4 plug.

1RAIBEED Incoming Port
2-Rc1/4 184 Rc-1/4 Thread

2 XBAI4EAO Outgoing Port
2-Rc1/4 #2427 2-Rc-1/4 Thread

R $2400#88 (7% ) With BSPT
Plug (R-Thread Plug)

4-M8 x 45 1244 (BIEs)
4-M8x 1.25x 45 Bolt ( Included )

2-Rc1/8 #24¢ 2-Rc-1/8 Thread
R IZAIEEE (BIAY ) With BSPT
Plug (R-Thread Plug)

2 XA O Outgoing Port

2- R=tiE8E O 2-Gasket Port

O W18 1BP12( Bi%s)
O-ring: 1BP12 (Included )

¢4 7H8 1. RERUEES UHEILENT .
1. 2EH (O PEHBRIZHE ) (EE

3585
=

HEKEE 12 6.3S 11T,

% % 1. Only in the case of a gasket

method, it is necessary. 1.
Roughness of mounting surface (O
ring sealsurface ) should be 6.3S or
less.

2-98

RRAEE R R

CATALOGUE 2018



» SMERT: CIJRCO60
External Dimensions: CJRC060

¥ KEZFRR CJRCO60-S-A(6 2l )
% This drawing indicates CJRC060-S-A(6 Port Circuit)

1REMEAE O 2 XA OFE G 12405, BR17:5: .
When G thread is necessary for a primary side or
secondary side port,please contact us separately

=1L Stop Side

9979

AT
SR . N T -] ::\j
R VAN D
_| L Vg

92

o~
‘ &

/4. il
b-Rel/k L —

i

T
I
I
-

Van (
SV G

IEN R

§-M8 |, #5207 |
$128

A

J/

T
I
I
I

—

e fHl Rotating Side

BEEMUINT RS
Machining Dimensions of Mounting Area

PNEUMATIC & HYDRAULIC CLAMPS

» BU5EZR~"MODEL NO. INDICATION
CJRCO60-B-A
S D

B S 1 xAIEE S Primary Side Piping Method
A D 2 xflfE = Secondary Side Piping Method

1. DERE RIS R IR B ARIER, (FLLAIFREIEE S & TEE -

2. BIRINECEBERINE .

3 MR, HEETERARBERIE, FEMEIIRERERRAREIE

4. BEEESEYANEIER, EEReEEEE,

5. SHAOIEERIEOMRR .

6. 2 XMAIER Re1/4 BORAINCE L TUEERS, BIEAMTHR R1/8 1R0dEIRZE
ERzUEREO .. SEMRIUEROR, FRE O EIBEH R1/4 BRUEE.

1. The rotation side must be fixed the flange part with of bolt, and restrain
only the rotation direction of the stop side.

2. Please use hose for piping of stop side.

3. Please prepare one circuit for drainage between them when the oil slick
leak from the hydraulic circuit to adjacent air circuit becomes a problem.

4. Please avoid continuous operation as it will cause overheating and
damage to the internal packing.

5. Each port exhibits a port number.

6. When using Rc1/4 thread for a secondary side port, please attach the
attached R1/8 screw plug to the gasket port part. When using gasket
option, please attach O-ring and R1/4 plug.

1XREIEEEO Incoming Port
2-Rc1/4 ¥24¢ 2-Rc-1/4 Thread

2 A0 Outgoing Port
2-Rc1/4 1247 2-Rc-1/4 Thread

R 12401#38 ( f# ) With BSPT
Plug (R-Thread Plug)

4-M8 x 45 124& (pI5s )
4-M8 x 1.25x 45 Bolt ( Included )

2-Rc1/8 #24 2-Rc-1/8 Thread
R 9240H5EE (B3 ) With BSPT
Plug (R-Thread Plug)

2 xAIftEAE 0 Outhrourd Port

2- iR=CiEREO 2-Plate Port

O FZEIE: 1BP12( M%)
O-ring: 1BP12 (Included )

1. AEREUER S HREIIENT .
1. 2EE (O FEHBRENE ) 9%\
HKEE % 6.3S 11T,

1. Only in the case of a gasket
method, it is necessary. 1.
Roughness of mounting surface (O
ring sealsurface ) should be 6.3S or
less.

PEARTCHER I

» MR CJRCO80

External Dimensions: CJRC080

¥ AKEZFRTR CJRCO80-S-A(8 [Ei&

)

¥ This drawing indicates CJRC080-S-A(8 Port Circuit)

1RAIE L 2 XA OFE G 80T,

DR

=== P
B TREH .

When G thread is necessary for a primary side or
secondary side port,please contact us separately

=18 Stop Side

991

‘Vr‘ﬁ

ar\lla o)
LETO 1O
EE

9|

an)
N\

an
A\

146£0.5

ij L #5291 _J b-M8

$128 (125]

A
hE#EAl Rotating Side

LEEMINTRT

Machining Dimensions of Mounting Area

2-¢8orless*1
(180° Pitch)

4-M8 % 1.25 Depth 16
(90° ormore)

051
052
» BUZEZR"MODEL NO. INDICATION
CJRCO80-B-A
S D

B S 1 xfEIEE S Primary Side Piping Method
A D 2 xEIEES= Secondary Side Piping Method

1. PESE RS RIRICEIE ARER, (FLAIEREEE S A& TEE .

2. FIHAINEEREERRE .

3 BRI, HEGERARERLE, FEMCEERER R

4 EEEESEH AT EN, RREREEEE,

5. FHEOEEREORR .

6. 2 XMAIER Re1/4 BORAINCE L TUEERS, s5EAMHRY R1/8 tREIRZE
(ERUEREO .. SEPRINEROR, F%d O EEHBEM R1/4 24UEE,

1. The rotation side must be fixed the flange part with of bolt, and restrain
only the rotation direction of the stop side.

2. Please use hose for piping of stop side.

3. Please prepare one circuit for drainage between them when the oil slick
leak from the hydraulic circuit to adjacent air circuit becomes a problem.

4. Please avoid continuous operation as it will cause overheating and
damage to the internal packing.

5. Each port exhibits a port number.

6. When using Rc1/4 thread for a secondary side port, please attach the
attached R1/8 screw plug to the gasket port part. \When using gasket
option, please attach O-ring and R1/4 plug.

1 R4 0 Incoming Port
2-Rc1/4 #24% 2-Rc-1/4 Thread

2 XAI4EA0 Outgoing Port
2-Rc1/4 8247 2-Rc-1/4 Thread

R 9240%TE ( BAS ) With BSPT
Plug (R-Thread Plug)

4-M8 x 45 124% (5 )
4-M8 x 1.25 x 45 Bolt ( Included )

2-Rc1/8 142 2-Rc-1/8 Thread
R #4335 (B9%5 ) With BSPT
Plug (R-Thread Plug)

2 x4 Outgoing Port

2- #R=CiERE O 2-Gasket Port

O LB 1BP12( M%)
O-ring: 1BP12 (Included )

1. REREERSAHBEMIENT
1. 2KH (O FFEHBRIEHHE ) (9RE

RS #26.3S ML,

% 1. Only in the case of a gasket
method, it is necessary. 1.
Roughness of mounting surface (O
ring sealsurface ) should be 6.3S or
less.

CATALOGUE 2018



CLL

HBREX =Y E AR ET

CLL HYDRAULIC
COMPACT LINEAR

CYLINDER

> EmIFY

R/ =EBREARTE, CLL/CLLR/CLLU AJLA 1mm
BEdsETE , N UESEEETETEE.

» FEATURES

Maximum stroke is available with minimum space.CLL/CLLR/CLLU
with 1 mm stroke increments and a variety of styles.

» 5881375 ORDERING INDICATION

CLL-048-CA-050

LRSI
Mounting Methods

ABERY BodySize

BEH
Piping Method

TEZERIIIAR
Shape of Piston Tip

712
Stroke

CLL: /AR T ahzaetY CLLR: AR L3RR CLLU: ‘=R AR ( EhE=fiE )
Top Flange Bottom Flange Bottom Flange (Compact)

P P P M= iE: oD SiHfIARIMERT
©36: D= OD= ‘dD= OD= I E]
SeiolD=ee (RUPR=D  DHEeID=he QeeieiD=el Note: ® D indicates the outer diameter

065:0D=65 075:0D=75 090:®D=90 105:®D=105 of the Cylinder

C: tRzbiEiEs (i G IRauEeE, ¥ CLL/CLLREY) C: Gasket Option (With G Thread Plug, Apply to CLL/CLLR)
S: ERERY (Rc 124X, ¥3/E CLL/CLLR &) S : Piping Option ( Rc Thread Port, Apply to CLL/CLLR )
G: RIVERER (HBARIAEHO, WECLLUEY) G : Gasket Option ( Gasket Port only, Apply to CLLU )

C(CLL) C(CLLR) S(CLL) S(CLLR) G(CLLU)

HestiEREa (CLL/CLLR) SR (CLL/CLLR) @R (CLLU)

Ac POIBIED B POEARE (HESHEEERSIERSAL) A B T
T, MBI P, s7liEeR

. Female Threaded

: Female Threaded (With Anti-Rotation Pinhole )
. Male Threaded

: Pin-Hole Option

PNEUMATIC & HYDRAULIC CLAMPS

053
054



C: RECERER (M7 G 12U )
P: $E7LiERER AEHE CLL-CP &

Air Bleed Port (Pull Side) : G Thread
(-C option only: Speed Control Valve Port)

Air Bleed Port (Push Side) : G Thread
-C option only: Speed Control Valve Port)

Hydraulic Pressure Port (Push Side) :
O-ring (Included) (-C option)

Hydraulic Pressure Port (Pull Side) :
O-ring (Included) (-C option)

Hydraulic Pressure Port (Push Side) : O-ring (Included)
(-C option)

Hydraulic Pressure Port (Pull Side) : O-ring (Included)
(-C option)

Tip Shape Refer P pinhole option dimension for
not mentioned size below

Chamfer HEFNSIIR snanRTEamTlisEn

Width

Spot Facinad O
Spot Facing ¢ Q

BLELI
S: SMNEEEER! (Rc) 84 ABER CLL-SP &

Piping Method
S: Re-Thread Piping Option
¥The drawing shows CLL-SP.

AT mElEE S HIIAE (FtERR) i et o
s @52 Cylinder Area (HEIAR) Cylinderforce  Cylinder Capacity EEITE BRERED  REIF T R
=5 cmt (Calculation Formula) KN (Calculation Formula) cm® -
v : " i Cylinder inside  Rod Operating Operating Withstanding Operating
MODEL Full Stroke  #EU Hifu M Fava(l] HEM Hifl ! ; > ! ; g
Ym  PushSide Pul Side PushSide PulSide  PushSide PullSide  amae Démeer  Pressure P e Pressure  Temperature C
CLLO36 1 ~ 50 4.5 2.5 P*0.45 P*0.25 Y*0.45 Y*0.25 D24 16 7.0 0.5 10.5 0~70
CLLO40 1 ~ 50 513] 2.8 P*0.53 P*0.28 Y*0.53 Y*0.28 D26 18 7.0 0.5 10.5 0~70
CLLO48 1 ~75 8.0 4.9 P*0.80 P*0.49 Y*0.80 Y*0.49 32 ®20 7.0 0.5 10.5 0~70
CLL055 1 ~75 9.6 5.8 P*0.96 P*0.58 Y*0.96 Y*0.58 »35 22 7.0 0.5 10.5 0~70
CLLO65 1 ~75 15.9 11.0 P*1.59 P*1.10 Y*1.59 Y*1.10 45 25 7.0 0.5 10.5 0~70
CLLO75 1 ~ 75 23.8 16.7 P*2.38 P*1.67 Y*2.38 Y*1.67 55 D30 7.0 0.5 10.5 0~70
CLLO9O 1 ~75 36.3 26.4 P*3.63 P*2.64 Y*3.63 Y*2.64 D68 ©35.5 7.0 0.5 10.5 0~70
CLL105 1 ~75 50.3 34.4 P*5.03 P*3.44 Y*5.03 Y*3.44 »80 D45 7.0 0.5 10.5 0~70

{FRREE: BET ISO MEZRM ISO-VG-32 —EREH
Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

PNEUMATIC & HYDRAULIC CLAMPS

Weight
kg
0.6 ~0.8
0.7 ~ 0.9
1.0~1.6
1.3 ~ 2.1
1.9 ~ 3.1
2.8 ~ 4.1
43 ~ 6.1
5.9 ~ 8.0

055
(057)
% Calculation formula is different between full
stroke: Y=1-14 mm and Y= more than 15 mm.EXx.)

CLLO36-P-010 [ Y=10, A=63, E=48, F=23]
CLL036-P-030 [ Y=30, A=78, E=63, F=38]

78 Y=1 ~ 14mm B, SMER I BE1T12 15mm KAl L
P: $57LiE#8 Pin—Hole Option E—#8(4)CLLO36-P -010 [Y=10, A=63, E=48,
F=23] CLL036-P-030 [Y=30, A=78, E=63, F=38]

mm

MODEL e vV W ff Chamfer

Full Stroke Y
CLLO36 1~14 | 15~50 63 | Y+48 49 40 36 48 | Y+33 23 |Y+8 25 29 20 314 66 11 235 8 75 45 16 15 6 6 7.5 c2
CLLO40 1~14 | 15~50 70 | Y+55 54 45 40 51| Y+36 26| Y+11 25 315 225 34 73 11 26 9 95 55 14 19 8 8 95 C3
CLL048 1~14 | 15~75 74 | Y+59 61 51 48 53 | Y+38 25| Y+10 28 355 255 40 83 12 30 1 95 5515521 10 9 105 C3
CLLO55 1~14 | 15~75 80 | Y+65 69 60 55 56| Y+41 28 |Y+13 28 39 30 47 8 12 335 12 1 6.8 13 24 11 10 12 C3
CLLO65 1~14 | 15~75 90 | Y+75 81 70 65 62| Y+47 32 |Y+17 30 46 35 55 106 13 395 15 1 6.8 155 28 13 12 14 C4
CLLO75 1~14 | 15~75 101 | Y+86 92 80 75 68 | Y+53 31 |Y+16 37 52 40 63 116 16 45 16 14 9 175 33 16 14 17 C5
CLLO90 1~14 | 15~75 114 | Y+99 107 95 90 77 | Y+62 37| Y+22 40 595 475 75 136 16 525 185 175 11 16,5 37 19 16 19 Cé
CLL105 1~14 | 15~75 127 | Y+112 122 110 105 81 | Y+66 36| Y+21 45 67 55 88 152 17 60 225 20 14 175 46 22 21 23 C6

He®mO Air Bleed Port
y

AB e [s5:: m] Hfd';iLllic Port O B8 O-ring
CLLO36 12 6+°6°‘2 6 5 M3*0.5 35 14 G1/8 RC1/8 1BP5
CLLO40 15 Ceit 8 4 M4*0.7 35 14 G1/8 RC1/8 1BP5
CLL0O48 17 80,015 9 6 M4*0.7 3.5 14 G1/8 RC1/8 1BP5
CLLOS5 19 Uk 10 4 M5%0.8 35 14 G1/8 RC1/8 1BP5
CLLOBS 22 e’ 2 12 6 M5*0.8 45 19 G1/4 RC1/4 1BP7
CLLO75 27 o 14 6 M6 45 19 G1/4 RC1/4 1BP7
CLLO%0 32 el 16 8 M6 45 22 G3/8 RC3/8 1BP7
CLL105 42 HURIE 21 10 M6 45 22 G3/8 RC3/8 1BP7
A: RIR4E EHNR BB P HILEER,
A:Female Threaded Refer P pinhole option dimension for not mentioned size below.
mm
MODEL AR T uA wA BB (o
CLLO36 57  Y+42 9 12 75 14 M6*12
CLLO40 61 Y+46 10 13 75 15 M8*16
CLL048 64 Y+49 " 14 8.5 17 M8*16
CLL055 68 Y+53 12 17 9 19 M10*20
CLL065 75  Y+60 13 19 10 22 M12*24
CLLO75 83 Y468 15 24 12 27 M16*32
CLLO90 93  Y+78 16 30 13 33 M20*40
CLL105 99 Y+84 18 36 15 42 M24*48
B: PORAEY ( BiFShEsErs LEEETL ) HEDHIR TR0 P SHFLIERR, A MIRgE!
B:Female Thread with Anti—-Rotation Pinhole Refer P pinhole option / A female thread option, dimensions not mentioned size in the chart below
mm
MODEL VB wB
CLLO36 2 5.5
CLL040 25
CLLO48 25
CLLO55 25 6.5
CLLO065 3 7
CLLO75 4 8.5
CLL090 5 9
CLL105 6 10.5
T: SMRAE EIUHNRTIEZ2E P $HFLERER,
T : Male Threaded Refer P pinhole option dimension for not mentioned size below
mm

CC(=F8 * 4285 )

MODEL AT i ur vt wr cB (Nornml x Piteh)
CLLO36 73 Y+58 25 12 16 75 14 M10*1.25
CLLO40 81  Y+66 30 14 20 75 17 M12*1.25
CLLO48 88 VY+73 35 17 24 8.5 19 M14*1.5
CLLO55 9  Y+81 40 17 28 9 21 M16*1.5
CLLO65 107 Y+92 45 19 32 10 24 M20*1.5
CLLO75 18 Y+103 50 24 35 12 29 M24*1.5
CLL090 139 Y+124 62 30 46 13 34.5 M30*1.5
CLL105 153 Y+138 72 36 54 15 42 M36*1.5

CATALOCUE 2018



057

058
C: fRetiBIRR (Fe%S G IR4UEE) C: Gasket Option (with G Thread Plug) e e Lo opton cmension for P:#53LiEER Pin—Hole Option
P: $H7LiE#ER AEZR CLL-CP P : Pin—Hole Option This drawing indicatesCLL-CP. HEEERTIEAR msR T AR
mm
MODEL F%jl—{r*gztroke v vV W ff Chamfer
- CLL036  51~100 Y+63 49 40 36 Y+48 Y+23 25 29 20 314 66 11 235 8 75 45 16 15 6 6 75 c2
Air Bleed Port (Pull Side) : G CLLO40  51~100 Y+70 54 45 40 Y+51  Y+26 25 315 225 34 73 11 26 9 95 55 14 19 8 8 95 c3
Thread(-C option only: Speed Control Chamfer
Valve Port) CLLO48  76~200 Y+76 61 51 48 Y+55  Y+27 28 355 255 40 83 12 30 11 95 5515521 10 9 105 c3
CLLO55  76~200 Y+81 69 60 55 Y+57  Y+29 28 39 30 47 88 12 335 12 11 68 13 24 11 10 12 c3
CLLO65  76~200 Y+91 81 70 65 Y+63 Y+33 30 46 35 55 106 13 395 15 11 6.8 15528 13 12 14 C4
Air Blosd Port (Pull Side) : G Width CLLO75 76~200  Y+107 92 80 75 Y474 Y437 37 52 40 63 116 16 45 16 14 9 17533 16 14 17 c5
Thread(~C option only: Speed Control CLL0O90  76~200 Y+121 107 95 90 Y+84  Y+44 40 595 475 75 136 16 525 185 175 11 165 37 19 16 19 C6
Valve Port) CLL105  76~200 Y+138 122 110 105 Y+92  Y+47 45 67 55 88 152 17 60 225 20 14 175 46 22 21 23 C6
Spot Facing ¢ Q
HRO Air'c:B;ed Port [:5c: ] Hi/grgulic Port O B8 O-ring
CLLO36 12 6 o012 6 5 M3*0.5 3.5 14 G1/8 RC1/8 1BP5
CLLO40 15 8 ;001° 8 4 M4*0.7 35 14 G1/8 RC1/8 1BP5
(il Stoke) CLLO48 17 8 oo 9 6 M4*0.7 35 14 G1/8 RC1/8 1BP5
CLLOS5 19 10 00" 10 4 M5*0.8 35 14 G1/8 RC1/8 1BP5
CLLOB5 22 12 008 12 6 M5*0.8 45 19 G1/4 RC1/4 1BP7
CLLO75 27 14 s0018 14 6 M6 4.5 19 G1/4 RC1/4 1BP7
CLLO90 32 16 ;0018 16 8 Mé 45 22 G3/8 RC3/8 1BP7
CLL105 42 20 ;002 21 10 M6 45 22 G3/8 RC3/8 1BP7
B: PItRAEY HEEHNRIERE P: LSRR,
B:Female Threaded Refer P pinhole option dimension for not mentioned size below.
CLLO36 Y+57 9 12 7.5 14 M6*12
CLLO40 Y+61 10 13 75 15 M8*16
CLL048 Y+66 " 14 8.5 17 M8*16
Hydraulic Pressure Port (Push Side) : CLLO55 Y+69 12 17 9 19 M10*20
©-ring (Included) - (-C option) CLLOB5 Y476 13 19 10 22 M12*24
CLLO75 Y+89 15 24 12 27 M16*32
CLL0O90 Y+100 16 30 13 33 M20*40
CLL105 Y+110 18 36 15 42 M24*48
Hydraulic Pressure Port (Pull Side) :
O-ring (Included) (-C option)
A PIIBATEY ( FtasheEsEns L8, ) EIOHNORIB2R P HFLERE, A NIRNE
A:Female Thread with Anti-Rotation Pinhole Refer P pinhole option / A female thread option, dimensions not mentioned size in the chart below
mm
MODEL VB wB
Hydraulic Pressure Port (Pull Side) CLLO36 2 5.5
(Ro-Thread) Fes CLLO40 25 5
S: JMEEER ( RC) 124y KER CLL-SP B CLLO48 25 6
CLLO55 25 6.5
Hydraulic Pressure Port (Push Side) zi:p‘;gfylig;jsmpmg Option CLLO65 3 7
(Ro-Thread) ¥ The drawing shows CLL-SP. CLLO75 4 8.5
CLL090 5 9
CLL105 6 10.5
P TS L) WA (FHEAR) — T: s ISR TSR b SIREE ned si
o Cylinder Area (H8AR) Cyinderforce  Cylinder Capacity  HEINE EEFE BSHEMEN SEDEED g N T : Male Threaded Refer P pinhole option dimension for not mentioned size below
cnt (Calculation Formula) KN (Calculation Formula) cm?® Max. Min. _— mm
FulStroke ¥l ff W M ) sy Ovipderinede (Rod - Qperaing  Qperating  Withstandng _ Operating - Wei MODEL AT i ur VT wr o8 (Normnatx Pich)
Ymm  Push Side Pull Side Push Side Pull Side Push Side  Pull Side mm mm Mpa Mpa Mpa P CLLO36 Y473 25 12 16 75 14 M10™1.25
CLL0O36 51 ~100 4.5 25  P*0.45 P*0.25 Y*0.45 Y*0.25 24 16 7.0 0.5 10.5 0~70 09~12 CLLO40 V81 30 14 20 75 17 M12*1.25
CLL040 51 ~100 5.3 28  P0.53 P*0.28 Y*0.53 Y*0.28 26 18 7.0 0.5 10.5 0~70 1.0~ 1.4 CLLO48 Y90 35 17 o4 85 19 M14*1.5
CLL048 76 ~200 8.0 49  P*0.80 P*0.49 Y*0.80 Y*0.49 032 20 7.0 0.5 10.5 0~70 1.7 ~ 3.0 CLLOS5 Y97 40 17 28 9 21 M16*1.5
CLLO55 76 ~200 9.6 58  P*0.96 P*0.58 Y*0.96 Y*0.58 35 22 7.0 0.5 10.5 0~70 2.3 ~ 4.1 CLLOGS Y4108 45 19 a0 10 o4 M20*1.5
CLLO65 76 ~200 15.9 11.0  P*1.59 P*1.10 Y*1.59 Y*1.10 045 ©25 7.0 0.5 10.5 0~70 32~54 CLLO75 Vai24 50 o4 a5 12 29 M24*1.5
CLLO75 76 ~ 200 23.8 16.7  P*2.38 P*1.67 Y*2.38 Y*1.67 55 30 7.0 0.5 10.5 0~70 44~ 741 CLLOO Viia6 62 30 46 13 345 M30*1.5
CLLO90 76 ~200 36.3 264  P*3.63 P*2.64 Y*3.63 Y*2.64 68 ©35.5 7.0 0.5 10.5 0~70 6.5 ~ 10.1 CLL105 Vai64 72 36 54 15 4 M36*1.5

CLL105 76 ~ 200 50.3 34.4 P*5.03 P*3.44 Y*5.03 Y*3.44 ®80 ®45 7.0 0.5 10.5 0~70 9.0 ~ 13.0

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



C: tr=Uidis (BLA G 184uEea )
P: $HFLIERE AERR CLLR-CP &

Air Bleed Port (Pull Side) : G
Thread(-C option only: Speed Control
Valve Port)

C: Gasket Option (with G Thread Plug)
P : Pin—Hole Option 3¢ This drawing indicates CLLR-CP.

oA,

Tip Shape Refer P pinhole option dimension for

not mentioned size below

HEFNRIZR meanRT

L2 g

SRR

P: $47LiEZR! Pin—Hole Option

21718
Full Stroke Y

MODEL

2171 Y=1 ~ 14mm B, JMER T ETIZ 15mm BFRYHELE
— # 89 ( ) ) CLLRO36-P -010 [Y=10, A=63, E=48,
F=23] CLLR036-P-030 [Y=30, A=78, E=63, F=38]

(0537
(010)

% Calculation formula is different between full
stroke: Y=1-14 mm and Y= more than 15 mm.Ex.)
CLLR036-P-010 [ Y=10, A=63, E=48, F=23 ]CLLR036
P-030[Y=30, A=78, E=63, F=38]
mm
WERRE
The Diameter of Mating Fit

-0.02

CLLR036 1~14 | 15~50 63 | Y+48 49 40 36 48 | Y+33 23 |Y+8 25 29 20 314 66 11 235 8 45 21 23 5%
CLLRO40 1~14 | 15~50 70 | Y+55 55 47 40 51 | Y+36 26| Y+11 25 315 235 36 73 11 26 9 55 21 25
CLLR048 1~14 | 15~75 74 | Y+59 62 53 48 53 | Y+38 25|Y+10 28 355 265 41 83 12 30 11 55 24 28 3%
CLLRO55 1~14 | 15~75 80 | Y+65 69 60 55 56| Y+41 28| Y+13 28 39 30 47 88 12 335 12 68 24 32 502
Air Bleed Port (Pull Side) : G CLLR065 1~14 | 15~75 90 | Y+75 70 65 62 |Y+47 32|Y+17 30 46 35 55 106 13 395 15 68 26 38 5oas
Thread(-C option only: Speed Control -0.025
Valve Port) CLLRO75 1~14 | 15~75 101 | Y+86 82 75 68| Y+53 31|Y+16 37 52 41 64 116 16 45 16 9 32 44 552
CLLRO90 1~14 | 15~75 114 | Y+99 108 97 90 77 | Y+62 37 | Y+22 40 59.5 485 76 136 16 525 185 11 35 50 33,064
CLLR105 1~14 | 15~75 127 | Y+112 122 110 105 81 | Y+66 36| Y+«21 45 67 55 83 152 17 60 225 14 39 60 Jom
MODEL |, Leirtai]wgoﬂfél\/’iting i W & Chamfer B HmO Ail‘(:Bged Port im0 Hilg;aéulic Port O(%ﬁ?g
CLLRO036 4 15 6 6 75 c2 12 6002 6 5 M3*0.5 35 14 G1/8 RC1/8 1BP5
CLLR040 4 19 8 8 95 C2 15 % 8 a4 M4%0.7 35 14 G1/8 RC1/8 1BP5
CLLR048 4 21 10 9 105 C3 17 B 9 6 M4+0.7 35 14 G1/8 RC1/8 1BP5
CLLRO055 4 24 11 10 12 € 19 190 4o 4 M5*0.8 35 14 G1/8 RC1/8 1BP5
CLLRO065 4 28 13 12 14 c4 op EO0E 4 g M5*0.8 45 19 G1/4 RC1/4 1BP7
CLLRO75 5 3 16 14 17 Cc5 27 908 14 6 M6 45 19 G1/4 RC1/4 1BP7
CLLR090 5 37 19 16 19 cs 32 %008 16 8 M6 45 22 G3/8 RC3/8 1BP7
CLLR105 6 46 22 21 23 cé 42 BT 21 q0 M6 45 22 G3/8 RC3/8 1BP7
A IREEY LCEHIRTB28E P fHfLiEER,

A:Female Threaded

Refer P pinhole option dimension for not mentioned size below.

BC( &7 * 5 )
(Nominal x Depth)
CLLR036 57 | Y+42 9 12 75 14 M6*12
CLLR040 61 | Y+46 10 13 7.5 15 M8*16
Hydraulic Pressure Port (Push Side) : CLLRO0O48 64 | Y+49 1 14 8.5 17 M8*16
©-ring (includec) (-C opfion) CLLRO55 68 | Y+53 12 17 9 19 M10%20
CLLRO065 75 | Y+60 13 19 10 22 M12*24
CLLRO075 83 | Y+68 15 24 12 27 M16*32
CLLR090 93 | Y+78 16 30 13 33 M20*40
CLLR105 99 | Y+84 18 36 15 42 M24*48

Hydraulic Pressure Port (Pull Side) :
O-ring (Included) (-C option)

B: POSRAE! (BHEhEEsRs LSl )

B:Female Thread with Anti—Rotation Pinhole

ECHARTAZR P SH7LERE. A EBRE

Refer P pinhole option / A female thread option, dimensions not mentioned size in the chart below

MODEL VB WwB
I(%lecd_rii\\;:;)essure Port (Pull Side) CLLRO36 2 55
BB CLLR040 25
S: SMEEEER! (Re) 84 AER CLLR-SP & -
CLLR048 225)
6.5
Piping Method ClLURTES 23
Hydraulic Pressure Port (Push Side) S: Ro-Thread Piping Option CLLRO65 3 7
(Re-Thread) *The drawing shows CLL-SP. CLLRO75 4 8.5
CLLRO90 5 9
CLLR105 6 10.5

REIETE
Cylinder Area
ot

T

(i+8A=X) Cylinder force
i (Calculation Formula) KN

LS S AR (GtEAR)
Cylinder Capacity
(Calculation Formula) cm?®

T: HMZAEY
T : Male Threaded

HELRE  ERE RRERESD REEEED

i [BR
Max. Min. I

ECHAIRIAZ2R P SHFLERE,

Refer P pinhole option dimension for not mentioned size below

mm

Full Stroke  #EM Hzfu HEM Eav)\] M EavZ(\] Cylinderinside _Rod _ Operating Operating  Withstanding  _ Operating _ Weight CC( ¥ * 4815 )

Ym  PushSide Pull Side PushSide PulSide  PushSide PullSide  Cameer Diemeter  Pressure Fimare  Pressure  Temperature C kg MODEL AT L ur vt wr cB (Nominal x Pitch)
CLLR036 1~50 45 25  P'0.45  P*0.25 Y"0.45  Y*0.25 024 @16 7.0 05 10.5 0~70 06~ 0.8 CLLR036 73 | Y+58 25 12 16 75 14 M10*1.25
CLLRO40 1~50 53 28  P053  P0.28 Y053 Y*0.28 26 ®18 7.0 05 10.5 0~70 0.7 ~ 09 CLLR0O40 81 | Y466 30 14 20 75 17 M12*1.25
CLLR048 1~75 80 49  P'0.80  P*0.49 Y*0.80  Y*0.49 032 ®20 7.0 05 10.5 0~70 1.0~ 1.6 CLLR048 88 | Y473 35 17 24 85 19 M14*1.5
CLLRO55 1~75 96 58  P'096  P0.58 Y096  Y*0.58 35 022 7.0 05 10.5 0~70 13 ~ 2.1 CLLR0O55 96 | Y+81 40 17 28 9 21 M16*1.5
CLLROB5 1~75 159 1.0 P59  P*1.10 Y1159 Y1110 045 25 7.0 05 105 0~70 19 ~ 3.1 CLLRO65 107 | Y+92 45 19 32 10 24 M20*1.5
CLLRO75 1~75 238 167 P'238  P*1.67 Y238 Y167 55 30 7.0 05 10.5 0~70 2.8 ~ 4.1 CLLRO75 118 | Y+103 50 24 35 12 29 M24*1.5
CLLROS0 1~75 363 264 P'363  P*264 Y363 Y264 ©68 0355 7.0 05 10.5 0~70 43 ~ 6.1 CLLRO90 139 | Y+124 62 30 46 13 345 M30*1.5
CLLR105 1~75 503 344 P'503 P*3.44 Y*5.03  Y*3.44 80 045 7.0 05 10.5 0~70 59 ~ 8.0 CLLR105 153 | Y+138 72 36 54 15 42 M36*1.5

PNEUMATIC & HYDRAULIC CLAMPS

CATALOCUE 2018



061

062
C: ir=UiEiEa (BLh G IRAUHEEE ) C: Gasket Option (with G Thread Plug) Tip Shape Refer P pinhole option dimension for
P: $HFLiEZE KEFR CLLR-CP P : Pin—Hole Option 3 This drawing indicates LL-CP. not mentioned size below
HEAIHRIR EcanRTH2mnlsss
M‘ ale 3 . .
P: $87LiE#ER Pin—Hole Option
Air Bleed Port (Pull Side) : G . >y
Thread(-C option only: Speed Control ‘ . W &Eﬂﬂ
Valve Port)
A :Female Threaded prme rem——
=17 BREEHE
Width MODEL Full Siiroke Y s The Diameter of Mating Fit
CLLR0O48 76 ~150 Y+76 62 53 48 Y+55 Y+«27 28 355 265 41 83 12 30 11 55 24 28 9028
Air Bleed Port (Pull Side) : G CLLROS5 76 ~150 Y+81 69 60 55 Y+57 Y+29 28 39 30 47 88 12 335 12 6.8 24 32 50
Thread(-C option only: Speed Control 70'025
Valve Port) CLLROB5 76 ~150 Y+91 81 70 65 Y+63 Y+33 30 46 35 55 106 13 395 15 6.8 26 38 50ae
5 CLLRO75 76 ~150 Y+107 93 82 75 Y+74 Y+37 37 5 41 64 116 16 45 16 9 32 44 5928
A= CLLRO90 76 ~ 150 Y+121 108 97 90 Y+84 Y+44 40 595 485 76 136 16 525 185 11 35 50 .55
3 i CLLR105 76~ 150 Y+138 122 110 105 Y+92 Y+47 45 67 55 8 152 17 60 225 14 39 60 35%
ERR
© PR (e L)
“ NN S v - BEERE x - HER O Air Bleed Port #8100 Hydraulic Port O BIZF1E
MODEL The Length of Mating Fit s B Chamfer  AB - -CH® -SH O-ring
B : Female Thread with CLLRO48 4 21 10 9 105 Cc3 17 8*'06015 9 6 M4*0.7 3.5 14 G1/8 RC1/8 1BP5
frirRomtenFnhole CLLR055 4 24 11 10 12 €3 19 008 40 4 M508 35 14 G1/8 RC1/8 1BP5
CLLR065 4 28 13 12 14 C4 22 120018 12 6 M5%0.8 45 19 G1/4 RC1/4 1BP7
CLLRO75 5] 33 16 14 17 C5 27 ‘4+%»018 14 6 M6 4.5 19 G1/4 RC1/4 1BP7
CLLR090 5 37 19 16 19 C6 32 16+%-015 16 8 M6 4.5 22 G3/8 RC3/8 1BP7
CLLR105 6 46 22 21 23 C6 42 20*%'021 21 10 M6 4.5 22 G3/8 RC3/8 1BP7
A: PIIRAEY EICHHIR B0 P $HFLERE,
A:Female Threaded Refer P pinhole option dimension for not mentioned size below.
BC(&18 * R )
(Nominal x Depth)
Hydraulic Pressure Port (Push Side) : CLLRO48 Y166 11 14 8.5 17 M8*16
O-ring (Included) (-C option)
CLLR055 Y+69 12 17 9 19 M10*20
CLLRO065 Y+76 13 19 10 22 M12*24
CLLRO75 Y+89 15 24 12 27 M16*32
CLLR090 Y+100 16 30 13 33 M20*40
CLLR105 Y+110 18 36 15 42 M24*48
Hydraulic Pressure Port (Pull Side) :
O-ring (Included) (-C option)
Rod Diameter
B: PUiRAE ( MizshEEEry LT ) EICHAIRTERRE P SHFLERD ., A WIRAE
B:Female Thread with Anti-Rotation Pinhole Refer P pinhole option / A female thread option, dimensions not mentioned size in the chart below
Hydraulic Pressure Port (Pull Side) — Ve WB
Rc-Thread o
(RerThrea) REH
S: MR BR (Re) 124 AES CLLR-SP & CLLR048 2.5 6
CLLRO055 25 6.5
. Piping Method CLLRO065 3 7
Hydraulic Pressure Port (Push Side) S: Ro-Thread Piping Option T . o5
(Re-Thread) #¥The drawing shows CLL-SP.
CLLR090 5 9
CLLR105 6 10.5
e OFEESARE P 447 JEiEE
SHETEIRE piiFALaf el ISR (FEAR) . . e o _ T: HMRAEY ﬁ:.ﬂ%iﬁﬁﬁ_‘_ha%ﬁﬁ P: iﬁ_?l,@}ngo _ .
Cylinder Area (IHEZA) Cylinder force Cylinder Capacity 3 & SEREN  RIEESMEEH HEE T : Male Threaded Refer P pinhole option dimension for not mentioned size below
cnt (Calculation Formula) KN (Calculation Formula) cm®
" " " i i At ; : CC( ¥ * 1215 )
Full Stroke ~ #:fll i =M Evl] M fufy  Cvlinderinside Qperating Qperating  Withstanding _ Operating  ~ Weight Nominal x Pitct
Ym  PushSide PullSide PushSide Pull Side  PushSide PullSide ~ ameter  Diameter  Pressure e Flggsure Temperatre © kg e
CLLR048 Y+90 35 17 24 8.5 19 M14*1.5
CLLR048 Y: 76 ~ 150 8.0 4.9 P*0.80 P*0.49 Y*0.80 Y*0.49 32 20 7.0 0.5 10.5 0~70 1.7 ~23
CLLRO055 Y+97 40 17 28 9 21 M16*1.5
CLLRO55 Y. 76 ~ 150 9.6 5.8 P*0.96 P*0.58 Y*0.96 Y*0.58 »35 22 7.0 0.5 10.5 0~70 21300341
CLLRO065 Y+108 45 19 32 10 24 M20*1.5
CLLRO65 Y: 76 ~ 150 15.9 1.0 P*1.59 P*1.10 Y*1.59 Y*1.10 45 ®25 7.0 0.5 10.5 0~70 3.2~ 441
CLLRO75 Y+124 50 24 35 12 29 M24*1.5
CLLRO75 Y. 76 ~ 150 23.8 16.7 P*2.38 P*1.67 Y*2.38 Y*1.67 »55 ®30 7.0 0.5 10.5 0~70 44 ~53
CLLR090 Y+146 62 30 46 13 345 M30*1.5
CLLRO90 Y. 76 ~ 150 36.3 26.4 P*3.63 P*2.64 Y*3.63 Y*2.64 D68 ©35.5 7.0 0.5 10.5 0~70 6.5~76
CLLR105 Y+164 72 36 54 15 42 M36*1.5
CLLR105 Y: 76 ~ 150 50.3 34.4 P*5.03 P*3.44 Y*5.03 Y*3.44 80 45 7.0 0.5 10.5 0~70 9.0 ~ 938

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



063
064

G: trziEREE G: Gasket Option P : Pin-Hole Option Tip Shape Refer P pinhole option dimension for
P: $H7LEER ABIZFER CLLU-GP B X This drawing indicates CLLU-GP. not mentioned size below

HERIRIA EERnRTE2BRILEER
21718 Y=1 ~ 14mm 8§, JMER T ETIE 15mm FRYHELZE % Calculation formula is different between full stroke:

P: $47LiERER! Pin—Hole Option —#A (/) CLLUO36-GP —-010 [Y=10, A=63, E=48, Y=1-14 mm and Y= more than 15 mm.Ex.) CLLU036-
_ _ _ F=23] CLLU036-GP -030 [Y=30, A=78, E=63, GP -010 [ Y=10, A=63, E=48, F=23 ]ICLLU036-GP
Air Bleed Port (Pull Side) : O Ring Gt 11 (F00) O %5 44 B (Bft12%) PR F=38] -030 [Y=30, A=78,E=63, F=38]
- mm
A Female Threaded 21712 Q (&1 *FE) O RIS
N ' N E & MODEL Full S{troke Y (Nominal x Depth) TU O-ring
S z
i [ = CLLUO36 1~14 | 15~50 63 | Y+48 36 48 | Y+33 23 | Y+8 25 23 30 45 17 M4*07'8 15 6 6 75 12 60012 g 5 M3*0.5 1BP5
$ -$~\ CLLUO40 1~14 | 15~50 70 | Y+55 40 51 | Y+36 26| Y+11 25 24 32 48 18 M5*0.8*10 19 8 8 95 15 8+06015 8 4 M4*0.7 1BP5
S BC CLLUO48 1~14 | 15~75 74 | Y+59 48 53 | Y+38 25| Y+10 28 27 36 53 20 M5*0.8*10 21 10 9 10.5 17 5+°6°‘5 9 6 M4*0.7 1BP5
24 CLLUO55 1~14 | 15~75 80 | Y+65 55 56 | Y+41 28 | Y+13 28 30 40 60 225 M6*12 24 11 10 12 19 ‘°+%-°15 10 4 M5*0.8 1BP5
7 - N N " 12+0.018 M5*0. 1BP7
Air Bleed Port (Pull Side) : O Ring x(I ;I CLLUO65 1~14 | 15~75 90 | Y+75 65 62| Y+47 32| Y+17 30 36 48 70 275 M6*12 28 13 12 14 22 =5 12 6 5%0.8
o . 1 CLLUO75 1~14 | 15~75 101 | Y+86 75 68 | Y+53 31 | Y+16 37 42 56 83 325 M8*16 33 16 14 17 27 140018 14 6 M6 1BP7
B é CLLUO90 1~14 | 15~75 114 | Y+99 90 77 | Y+62 37 | Y+22 40 54 64 100 39.5 M10*20 37 19 16 19 32 16+%.018 16 8 Mée 1BP7
HERR . 5 * 20+0.021 29 10 M6 1BP7
it 1 R O & 4 B (B CLLU105 1~14 | 15~75 127 | Y+112 105 81 | Y+66 36 | Y+21 45 65 65 116 46 M12*24 46 22 21 23 42 o
[B]: PSR (wmesens-ayzL)
B : Female Thread with =
~ Anti-Rotation Pinhole T N N N,
T " i ﬁ_/@@ﬂ Ju— FRMORTINENR P L,
(Full Stroke) Qo | ] N2 A:Female Threaded Refer P pinhole option dimension for not mentioned size below.
> <: ( \ sRAD \\_;:_-_/ mm
= S$AB ®Ve BC( &7 * 7% )
i’ MODEL AA TA UA WA BB (Nominal x Depth)
2 = ﬂ I_ = CLLUO036 57 | Y+42 9 12 75 14 M6*12
- i ) 10 «
; " CLLU040 61 | Y+46 13 7.5 15 M8*16
NSACH = = z
- - I CLLU048 64 | Y+49 i 14 85 17 M8*16
" CLLUO055 68 | Y+53 e 17 g 19 M10*20
v L . CLLUOBS5 75 | Y+60 13 19 10 22 M12°24
* P MR CLLUO75 83 | Y468 15 24 12 27 M16%32
< +
T': Male Threaded CLLU090 93 | Y+78 16 30 13 33 M20*40
w CLLU105 99 | Y+84 18 36 15 42 M24*48
$D
[V
] <9CB
W B: PORAE ( MAshesEps LEsEEL ) WREMNRTF2ER P LSRR, A IRAE
R —— AE-AF SR 2 %2 o = B:Female Thread with Anti-Rotation Pinhole Refer P pinhole option / A female thread option, dimensions not mentioned size in the chart below
< 2| |_|><|_l MODEL VB wB
i od Djameter CLLUO36 2 >
ERFFR CLLU040 25 5
CLLU048 25 6
CLLUO55 25 6.5
CLLU0B5 3 7
CLLUO075 4 8.5
CLLU090 5 9
CLLU105 6 10.5
T: HpiBsray HICHARIEZE P fHrliEsEE,
SHET RS piitaE R ewal HEIAE (FER) . N — - _ T : Male Threaded Refer P pinhole option dimension for not mentioned size below
4ITIR Cylinder Area (I&AX) Cylinder force Cylinder Capacity HIRE ERE BRREREN BEBEEN  pE N -
ot (Calculation Formula) KN (Calculation Formula) cm?® Max. Min. T
: i - MODEL AT 1T ut VT Wt CB i i
MODEL Full Stroke ~ #(Ul I HEM Eav2]l] HEM sy Ovinderinside W Rod — Operating Qperating  Withstanding __ Operating Weight (Nominal x Pitch)
Ym  Push Side Pull Side Push Side Pull Side  Push Side  Pull Side mm mm Mpa Mpa © yeswre  Temperature T kg CLLUO36 73 | Y458 25 12 16 75 14 M10%1.25
CLLUO36 1~50 4.5 243 P*0.45 P*0.25 Y*0.45 Y*0.25 24 D16 7.0 0.5 10.5 0~70 0.6 ~ 0.8 CLLUO040 81 | Y+66 30 14 20 7.5 17 M12*1.25
CLLUO040 1~ 50 5.3 2.8 P*0.53 P*0.28 Y*0.53 Y*0.28 26 18 7.0 0.5 10.5 0~70 0.7 ~ 0.9 CLLUO48 88 | Y+73 35 17 24 8.5 19 M14*1.5
CLLUO048 1 =73 8.0 4.9 P*0.80 P*0.49 Y*0.80 Y*0.49 32 20 7.0 0.5 10.5 0~70 1.0~16 CLLUO55 96 | Y+81 40 17 28 9 21 M16*1.5
CLLUO55 i =73 9.6 5.8 P*0.96 P*0.58 Y*0.96 Y*0.58 35 22 7.0 0.5 10.5 0~70 1.3 ~ 21 CLLUO65 107 | Y+92 45 19 32 10 24 M20*1.5
CLLUO65 1 =% 15.9 11.0 P*1.59 P*1.10 Y*1.59 Y*1.10 45 25 7.0 0.5 10.5 0~70 1.9 ~ 31 CLLUO75 118 | Y+103 50 24 35 12 29 M24*1.5
CLLUOQ75 i =73 23.8 16.7 P*2.38 P*1.67 Y*2.38 Y*1.67 55 D30 7.0 0.5 10.5 0~70 2.8 ~ 4.1 CLLU090 139 | Y+124 62 30 46 13 345 M30*1.5
CLLU090 IRSN75 36.3 264 P*3.63 P*2.64 Y*3.63 Y*2.64 68 ©35.5 7.0 0.5 10.5 0~70 43 ~ 6.1 CLLU105 153 | Y+138 72 36 54 15 42 M36*1.5
CLLU105 i =73 50.3 34.4 P*5.03 P*3.44 Y*5.03 Y*3.44 80 D45 7.0 0.5 10.5 0~70 5.9 ~ 8.0

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



065

066
G: *&ﬁ@}%ﬂ Tip Shape Refer P pinhole option dimension for
P: $HFLiEER KEZFRx CLLU-GP & not mentioned size below
HERGRIR seanRTEsRslssn P: $57LE3E8 Pin—Hole Option

< * Q (B~ RE T O BizEiME
Full Stroke Y (Nominal x Depth) O-ring

Air Bleed Port (Pull Side) : O Ri

1 leea Port (Pul S0 Rno CLLUO48 76 ~ 150 Y+76 48 Y+55 Y+27 28 27 36 53 20 M50.8*10 21 10 9 105 17 80015 9 6 M407 1BP5
CLLUO55 76 ~ 150 Y+81 55 Y+57 Y+29 28 30 40 60 225 M6*12 24 11 10 12 19 10+0015 10 4 MS'08 1BP5
CLLUOB5 76 ~150 Y+91 65 Y+63 Y+33 30 36 48 70 275 M6*12 28 13 12 14 22 120018 12 6 MS'08 1BP7
CLLUO75 76 ~ 150 Y+107 75 Y+74 Y+37 37 42 56 83 325 M8*16 3 16 14 17 27 VL 14 6 M6 1BP7
CLLUO90 76 ~ 150 Y+121 90 Y+84 Y+44 40 54 64 100 39.5 M10*20 37 19 16 19 32 U 16 8 M6 1BP7
CLLU105 76 ~ 150 Y+138 105 Y+92 Y+47 45 65 65 116 46 M12*24 A s s Mé 1BP7

Air Bleed Port (Pull Side) :0 Ring
A RIRAEY HCHIIR AR P $H7LEER,
A:Female Threaded Refer P pinhole option dimension for not mentioned size below.

BC(&/* FE)
(Nominal x Depth)

CLLU048 Y+66 1 14 8.5 17 M8*16
CLLU055 Y+69 12 17 9 19 M10*20
CLLU065 Y+76 13 19 10 22 M12*24
CLLUO75 Y+89 15 24 12 27 M16*32
CLLU090 Y+100 16 30 13 33 M20*40
CLLU105 Y+110 18 36 15 42 M24*48
B: PUiRAYEY ( MiAshEsEry e ) EOHNRIBE2EP: HFLEEE, A RIRgE
B:Female Thread with Anti-Rotation Pinhole Refer P pinhole option / A female thread option, dimensions not mentioned size in the chart below i
MODEL VB wB
CLLU048 25 6
CLLU055 25 6.5
CLLU065 3 7
CLLU075 4 8.5
CLLU090 5 9
CLLU105 6 10.5
T: JMRAEY HEICHORTHBEMR P HFLEEE, . '
y— s ST (HIA) T : Male Threaded Refer P pinhole option dimension for not mentioned size below mm
w@iTe Cylinder Area (HEIAR) Cylinder force  ~ Cylinder Capacity HEIRE  REFE ?ﬁ%ﬁﬁﬁ@ﬁ BREBEED mym ; ETET)
cnt (Calculation Formula) KN (Calculation Formula) cm® ax. Min. (Nominal x Pitch)
PO puah Side Pulokle Puoh Side PulSide  Puen&ide  PullSide Cy‘;‘?%”:}}%gs'me P %?g%-;g’l;g %?52;;&?3 Wg%%zﬁgg Temparsre 'k CLLU48 490 % 17 24 2E 19 M14*1.5
CLLU048 76 ~ 150 8.0 4.9 P*0.80 P*0.49 Y*0.80 Y*0.49 ®32 ®20 7.0 0.5 10.5 0~70 1.7~2.3 g::tﬂgzz ;: :902 :: 1; zz 190 zl mlil:
CLLUO55 76 ~150 96 5.8 P*0.96 P*0.58 Y*0.96 Y*0.58 »35 ©22 7.0 0.5 10.5 0~70 2.3~3.1 ST V154 o o4 35 12 29 M24,1'5
CLLUO65 76 ~150 159 11.0  P*1.59 P*1.10 Y*1.59 Y*1.10 »45 ®25 7.0 0.5 10.5 0~70 3.2~4.1 S 146 = 30 46 13 345 M30*1.5
CLLUO75 76 ~ 150 238 16.7 P*2.38 P*1.67 Y*2.38 Y*1.67 ®55 »30 7.0 0.5 10.5 0~70 4.4~53 CLLU105 v 70 36 54 15 42 M36*1'5
CLLU090 76 ~ 150 36.3 26.4 P*3.63 P*2.64 Y*3.63 Y*2.64 ®68 »35.5 7.0 0.5 10.5 0~70 6.5~7.6 ’
CLLU105 76 ~ 150 50.3 344  P*5.03 P*3.44  Y*5.03 Y*3.44 »80 45 7.0 0.5 10.5 0~70 9.0~9.8

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



CSW

RUBESIEHL

CSW PNEUMATIC
SUPPORT CLAMP

> EMmiFE

£ 4~10kgflom? TR T IEREEE | SATTEES 10kgf/cm?,
RIEFREETIMY , o B SR BERs,
TRER LS /N ,0.2~0.6kaf SBEIM , FFRIERAISER T,

SXIREEH: 10 kgflom?
S/NMREBS: 4 kgf/lem?

EEIH: EF

AR SHESTE , TEIAER | SUSIRAEMRREEIMER TR R LR , TIERMK
SEIMME THRNEN TEIFREZREET , ELARZINE S E LS
LET™ T, SFEAEIE T | IIRBME IS IIHIEAE T HR Mg =1 1E T,

BE: EfTXIF, EANRVER , IFBRMUNER N, THBIFE , AXIFMNa
B IFEE FAT , ERE THEFSFRRT ZIE 1E T I EEINER =T | B
FIEHAESRIUES THHRIESHET BZLE,

» EEEIA

S EE EARERINR OB
TEEFEIEE &
SHTERRE T GEE ) 2R

» FEATURES

Compact structure, reasonable design, long service life. In 4-10 kgf/cm® working conditions for
stable performance.According to the different thickness of the work piece, replaceable piston
rod out of the spring strength.The piston rod piece out of contact force is small,0.2-0.6 kgf
range, especially suitable for thin work piece.

Max. operating pressure: 10 kgf/cm?
Mix. operating pressure: 4 kgf/cm?
Single acting

Type A: Supporting with a spring , the spring is used to control a clamping force when the
knocking-out rod (piston rod) extends to a highest knocking-out position and clamps the work
piece.

Type B: Supporting with air pressure, it is operated by means of air pressure and is knocked
out when being filled with oil and clamp the work piece.

» NOTE

Columns fortress can not exert eccentric load.
Can not exert overloaded.
Can not turn the piston rod when it's locking state.

.

» :]88127~X ORDERING INDICATION

CSW-26 AL
[($Y'"B =71 Series CcsSwW
FEIHME

26 Cylinder external diameter ~ M26x1.5 M30x1.5 M36x1.5 M45x1.5

A A=, Type

L [E23& Pressure L: {FG/EE Low pressure

PNEUMATIC & HYDRAULIC CLAMPS

XA (kaf)

CSW-26AL
CSW-26BL
CSW-30AL
CSW-30BL
CSW-36AL
CSW-36BL
CSW-45AL
CSW-45BL

MODEL

CSW-26AL
CSW-26BL
CSW-30AL
CSW-30BL
CSW-36AL
CSW-36BL
CSW-45AL
CSW-45BL

CSW- KI5 E
TFENESHENRR

HERsE

TAEEA (kgflom?)

CLAMPING FORCE
AT 10 kgf/cm?(kgf)

68.5
62
75.5
69
81
73
95
87

28
28
65
65
90
90
150
150

22
22
24
24
30
30
36
36

o

-
o o

© © © © © ©

EBRsE

CLAMPING FORCE
AT 4 kgf/cm?(kgf)

M26x1.5
M26x1.5
M30x1.5
M30x1.5
M36x1.5
M36x1.5
M45x1.5
M45x1.5

stroke

e (um)

54.3
54.3
60
60
62.5
62.5
76
76

5.6
5.6

N NN N o

41.2
412
46
46
46.5
46.5
57.8
57.8

1MPa SR

067

AT (kgf)

CYLINDER
CAPACITY(cm?)

1.20
1.20
1.80
1.80
2.70
2.70
4.80
4.80

®10
®10
@10
10
10
®10
12
12

9.8
$9.8
9.8
9.8
9.8
©9.8
®11.5
®11.5

068
fug (um)
¢
°
FIELEvES
_r
EF
_
EE-)
RERT
HEA
Unit:mm

PISTON USABLE
AREA(cm’) FLUID
0.64
0.64 188 Z 8%
0.64 BRYEES
0.64 Oiled Dry
0.79 Clean
0.79 Compressed
1.13 Air
1.13
EE EF EX EG
10 8 M8 3
10 8 M8 @3
12 10 M8 3
12 10 M8 ®3
12 10 M8 3
12 10 M8 ®3
19.7 17.7 M8 D4
19.7 17.7 M8 P4

CATALOCUE 2018




069

CSP i

JHEESZ 5401 ({iEJEE )
SRS / ATRIE

CSP HYDRAULIC SUPPORT
CLAMP (LOW PRESSURE)

CLAMPTEK SPECIFICATION / JAPAN SPECIFICATION

CSP- X745t hAE(E
TAREAESHENRR

> EEDEI#%TE 700 TMPa IEE5E a8y s ( um )
"""""""""""""""""""""""""""""""""""""""""""""""""" 600
FIsRE R R TIEIRN 20~70 kgflom? 8T8, LISREiRERHEH 500
(20 ~ 70 koffcm? ) BNRIESEES  SATIEA 7TMpa. SIS TS = =
F2/0 (0.3-0.87kgf AR ) « EARSIEERIN T4, 2 400 e
BEEE/INIG (M26~M45) TURE, AOISER, LIEHBEY, TRESENbEE B a0 <
TE) , EEXEREERNRY, ERNIEEEERS ., RERTHEEFHE # &
HEESABIER, FEE, 200
100

SAIRIEES: 70 kgflom?
B/NRIEEA: 20 kgflom? 0
fEENS=: ESED

#fer (kaf)

TEEEA (kgflem?)
ABL FEHE | TEADIAGI ERS | SIEREENEREEAER MR TR i , TIERHK
FILHETHRSNEN TEZFHEEZELOT , A THEZRAE R L
LT, SIFEEIE T, ITRBME SIS HAE T HRMSE IS IHET .

» S BBIRNA

B & L1748, TR ER  SUEE T & Nin , THRBIFE | (435t I0HhE ORDERING INDICATION
374508 H1T , ERE TR SIETE 2E 1E HTITEE NN =T | SRS I5EE
MR BS THHRMSIE T BELL ., CSP-26 AL-L-C

» EEZEIE

STIEHE FRESEIIR O ET
FECENBE AR
N P N o

7 Series csp

{EEEZ%  Low pressure

M26x1.5 M36x1.5
M30x1.5 M45x1.5

HEISME

Hydraulic cylinder external diameter

___________________________________________________________________________________________ Az Type A:Type A B:TypeB

» FEATURES JEZ5: Pressure L: {i;B2 Low pressure

The working pressure of the supporting cylinder is from 20 to 70 kgf/cm?, with clamp cover

and double acting piston, taking the low pressure on the oil to gain high supporting pressure.

The contact strength between piston rod and the work pieces is small ( 0.3-0.87kgf/cm?), and sEzEeaES] Plunger spring force L: 59382 Lowspring  H: 3BIEBEE High spring

it can be applied on the various types of work pieces. -

The size is small ( four kinds, M26-M45). Large caliber, high supporting strength, can work

steadily within the low pressure.) No need to change the size of the fixture plate, and can hR= Version: C/P/K C: B=t8#& Japanspecification P/K: (;E: 57 P B/ K BUZE5RE &)

be installed in a small space.Mouting dimensions compatible with commercially available
products,can be interchangeable.

Type A: Supporting with the spring, the spring is used to control a clamping force when the
piston rod extends to a highest support position, then clamps the work piece and lock the
piston in a supporting condition.

B
Type B: Supporting with oil pressure, it is operated by means of air pressure and is keeping in a (20kgficm
supporting condition when being filled with oil and clamp the work piece. CLAMPING FORCE AT CLAMPING FORCE AT OIL CAPACITY PISTON AREA USABLE
. ) 70 kgf/cm? (kgf) 20 kgf/cm? (kgf) CLAMP(cm’®) (cm?) FLUID
Max.operating pressure: 70 kgf/cm
Mix. operating pressure: 20 kgf/cm® CSP-26AL 230 39 5.5 0.30 0.79
Single acting CSP-26BL 230 39 55 0.30 0.79 1 E T ISO#h
B A 410 A4 —
------------------------------------------------------------------------------------------- CSP-30AL 270 60 8 0.50 1.13 VE(;%E’J_I?QO@
CSP-30BL 270 60 8 0.50 1.13 s
» NOTE General
CSP-36AL 370 120 8 0.60 1.54 N
. Hydraulic Oil
Columns fortress cannot exert eccentric load. CSP-36BL 370 120 8 0.60 154 Equivalent to
Can't exert overloaded. CSP-45AL 680 210 10 1.30 2.01 1ISO-VG-32
Can't turn the piston rod when it’s locking state. CSP-45BL 680 210 10 1.30 2.01

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



071

072
» CSP {REZZ! ( Z MRS ) CSPLOW PRESSURE-CLAMPTEK SPECIFICATION EEEIZH
CSP-AL CSP-BL
[~ ] -] H
EF & 2 AL 7K N .
CSW R mESAE IR T S EE B b ETREIE L
oD, D, LEG ORDERING INDICATION
oD, ®D,
g g . D CSW-26FB
& g v — o ‘ &
: . i &
& Ll i, 91 P
P ol Mg A | J CSW-26FB M26x1.5 50 35 95  ©55-09x55D
Il ‘ "’ CSW-30FB M30x1.5 50 35 1 055-09x5.5D
S 0 g | V. T CSW-36FB M36x1.5 55 40 14 O7-011x6.5D
3] ( CSW-45FB M45x 1.5 60 45 175 o7-011x6.5D
©w < 6w < L N L
0-Ring P5
AEHFL
& . & - oil port
- D D
» CSP {REZRZ ( BE#RH& ) CSPLOW PRESSURE-JAPAN SPECIFICATION ElSEIRIE
- - SrhER<L i St e iz
Cep AL Ceo el CSP-C RBUHE ST IR 225 > STESIETRE
- ORDERING INDICATION
= @ O . EF b CSP-26CFB
>
B ‘ Y
| i A
EG
3 oD, i} op, ] g -+ — CSP-26-CFB M26x1.5 50 35 95 ©055-09x55D
3 . < EX | i CSP-30-CFB M30x1.5 50 35 115 07-011x6.5D
5 i z 2odE o<t LT ( CSP-36-CFB M36x1.5 55 40 14  ©7-011x6.5D
i £ 3 (s CSP-45-CFB M45x1.5 60 45 175 ©7-011x6.5D
L X bl
D 0-Ring P7
o wn
O w < O w < NN
- . HEEL el
° 0 CSP R HER S Z TR 4L e b ETEIETE
P IH== ES I\ E= aJd BBIs=7IN)
HEIRE (SRR Unit:
CSP SHEESZIFHL ( MR ) nit:mm ORDERING INDICATION
MODEL A B c D E F 6 H D1 D2 EE EF EX EG CSP-26FB
D
CSP-26AL 73 22 9 M26x1.5 57 5 455 48 ®10 ®9.8 132 102 M8 4 |
CSP-30AL 796 24 10 M30x1.5 60 6 47 5 12 ®11.5 13 10 M8 4 Y =
CSP-30BL 716 24 10 M30x1.5 60 6 47 5 o12 o115 13 10 M8 4 T 1 7 17 CERERE W 35 ©5.5-09x5.5D
CSP-36AL 80 30 12 M36x1.5 62 6 48 36 ®14 ®135 134 104 M10 4 i SRS RS G 35 ©7-011x6.5D
CSP-36BL 72 30 12 M36x1.5 62 6 48 36 P14 ©135 134 104 MI0 o4 CSP-36FB M36x15 55 Al ©7-011x6.5D
CSP-45AL 92 36 14 M45x1.5 71 6 57 45 P16 P155 15 12 M10 o4 S E N SRS MRl (0 45 ©7-011x6.5D
CSP-45BL 82 36 14 M45x1.5 71 6 57 45 >16 d155 15 12 M10 4 M
CSP HEEHET ( Bt ) Unit:mm ‘
MODEL A ] c D E F 6 H D1 D2 EE EF EX EG
CSP-26AL 71.5 22 9 M26x15 57 5.6 43.9 36 10 9.8 10 8 M8 4
CSP-26BL 66 22 9 M26x15 57 56 43.9 36 ®10 9.8 10 8 M8 4
CSP-30AL 81 24 10 M30x15 62 6 48 5.1 12 D115 10.9 8.9 M8 D4
CSP-30BL 73 24 10 M30x1.5 62 6 48 5.1 12 P11.5 10.9 8.9 M8 P4
CSP-36AL 77 30 12 M36x15 58 6 44 47 D14 ®135 103 8.3 M0 4
CSP-36BL 69 30 12 M36x15 58 6 44 47 D14 ®135 103 8.3 M0 b4
CSP-45AL 92 36 14 M45x15 71 7 54.8 46 16 ®155 134 1.4 M0 4
CSP-45BL 82 36 14 M45x15 71 7 54.8 46 »16 ®155 134 1.4 M0 D4

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



_ 073

074

CLAMPING FORCE CLAMPING FORCE

AT 250 kgf/cm? (kgf) AT 100 kgf/cm? (kgf)

HET 1ISO MEFRN 1ISO-VG-32 —f&i&REEH
General Hydraulic Oil Equivalent to ISO-VG-32

I PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018 I



075

CSF 7

EIARREIHERSTIFEL /

S E A Ch SRS 5T Ry ——
o0
CSF HYDRAULIC 0
SUPPORT CLAMP 00 .
0 £
% i1] @
En
L 0o
o0
[ 2 FQIEE?:I&I%TE 00
''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''' 00
A (kaf)

HRIIERGHEE BRI AE , EAEHE , £ 20-70kgfom’ T

TR TH¥88% (ot
IRETRIEE T, TR SRR e,

BRI/ 0.4-0.8KG TEEI , IR ESEEL T,

AERIHENK , BRI S R THED. > HIEFFRRS *AL-G &

LRI REAHEHEERAS , TEK.

L G B
(75H) im0 O HEHE
(G Bfi#s)
BOIR{EEN: 70 kflom?
BMRVEES: 20 kgflom?
{Faps: BEt
X2
AR SRS, TENISAITERS | SIBTRIE RSB0 E Rl PR S iR G iy R e (15%)
TR T PSS PR AEM T, E TR A 9Q i
BOMTER R RS LTS | STISTRGIEIL T, IR IS 5 N
> REFTRE *AL-S B
S TR ST . 2
o - ‘ ‘ BRA G T G 12
B L4730 IEMAIERRS  SISTRIIAR Tk, THMITE 1432 ()
S ELIGEEESTISTE (T , BRI T (S sR T U L AT gD
FEESRST, , ST A S TR B I,
"""""""""""""""""""""""""""""""""""""""""" X 424
X 424
4-gR RFL #Q
- L G #2A
» FEATURES AL PT 4288 RS

This series of products with the compact structure, reasonable design, long service
life, in 20-70kgf/cm® working conditions, can keep stable performance.
According to the different thickness of work piece, which can adjust the piston rod

) > STEEIE S . )
glllttSPflﬂ% Stf'-:ﬂgfth- tact fi i I 8k itable for all kinds of D]—(\%ﬂ_a—\/% Skt 7%= T i SR
iston rod out of contact force is small,0.4-0.8kg range, suitable for all kinds o - (ZOkgf/cm") === == = HIbE=
the work piece.This product support power is large, can eliminate mechanical load ORDERING INDICATION
and working vibration in the cutting process. CSF-040 B L-G %’;’;"Eg}‘ﬁ;??kcg% E#ég"@‘fc;?'ﬁfg% STROKE(mm) Ol CoracTY PISTON AREA(crm?) USABLE FLUID
Max. operating pressure: 70 kgf/cm? CSF 7| Series CSF CSF-040AL 320 50 8 0.6 1.77
Mix. operating pressure: 20 kgf/cm’ i 1 e CSF-040BL 320 50 8 0.6 1.77
Single acting 040 ARPEHME 040=$40, 048=h48, 055=P55
Body external diameter _ _ _ CSF-048AL 480 60 10 1.3 2.01 . o
Y 065=965, 075=P75, 090=P90 HEFISOMES
CSF-048BL 480 60 10 1.3 2.01 4% [ 1SO-VG-32
Type A: Supporting with the spring, the spring is used to control a clamping force A: SEEETEHEY Spring extended piston CSF-055AL 900 80 12 2 3.14 Gen;'ﬁjﬁi!%cfau\ic
w'hen the piston ror'i extelnds toa higll'lest supP?rt position, then clamps the work B B: jH/EATEH BY Hydraulic extended piston CSF-055BL 900 80 12 2 3.14 Oil Equivalent to
piece and lock the piston in a supporting condition. D: #EE2E12 1= No hollow piston rod CSF-065AL 1800 95 14 33 3.80 1S0-VG-82
Type B: Supporting with oil pressure, it is operated by means of oil pressure and = CSF-065BL 1800 95 14 3.3 3.80
is keeping in a supporting condition when being filled with oil and clamp the work L L: {FE/E2 Low pressure CSF-075AL 2300 130 16 57 4.91
piece. .
G G: B G 247 With G thread plug CSF-075BL 2300 130 16 5.7/ 4.91
S: Fg=t (PT 4242 ) Line type,with PT thread port CSF-090AL 3000 155 20 9.1 7.07
.............................................................................. CSF-090BL 3000 155 20 9.1 7.07

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



(4
078

> AREPRR *BL-G B > FEFE " DL-G B
}ﬁe%nitti(g S@zy #5000 O R
e

(G B )

XX 8241
G 1240 B 4-¢R 377,90
THE PISTON PART IS PREPARED
REAgiZe BY CUSTOMER.
i 120
Im)
p REF7RE ***BL-S B "
1 > RKEFTRE ***DL-S B
Rl G R4 7l G
() RFLOE
XX 24y .
XX 124y (
4-9R
HEHFL G 124X FL B 3 45
Al #Q AT PT 4241 4$R 7L 40
Unit:mm

CSF-040AL 75 54 45 40 56 31 225 [134 68 11 26 5 95 55 145 19 15 6 13 M10x11
CSF-040BL 67 54 45 40 56 31 225 [134 68 11 26 5 95 55 145 1 15 6 13 M10x11
CSF-048AL 85 61 51 48 64 39 255 [140 73 11 30 0 95 55 135 21 16 6 13 M10x11
CSF-048BL 75 61 51 48 64 39 255 [140 73 1 30 0 95 55 135 11 16 6 13 M10x11
CSF-055AL 97 69 60 55 70 45 30 [147 80 11 335 0 11 68 115 27 20 8 17 Mi12x13
CSF-055BL 85 69 60 55 70 45 30 [147 80 11 335 0 1 68 115 15 20 8 17 M12x13 LI A
CSF-065AL 115 81 70 65 8 56 35 [155 94 1 395 0 11 68 145 30 22 9 19 M12x13 &@ o T o T o Tw T = rﬁ@
CSF-065BL 101 81 70 65 85 56 3 [155 94 11 395 0 11 68 145 16 22 9 19 Mi2x13 won 07 76 T o T e e MODEL | BB | EF | BG | BM | B | BX
CSF-075AL 142 92 80 75 107 72 40 [Je63 106 13 45 0 14 9 17 35 25 9 22 M16x20 J N son 12 1 5 1ersl wo w \ ‘blm CSFO75 | 20 | 12 | @6 | °13 | 18 | M6
CSF-075BL 126 92 80 75 107 72 40 [1e63 106 13 45 0 14 9 17 19 25 9 22 M16x20 “ sroms | 12 o | ess | CSF090 ] 20 12 | o6 [e1L6] 18 | M6
CSF-090AL 169 107 95 90 128 88 475 [175 126 13 525 0 175 11 18 41 30 105 24 M16x20 £G e | 12 | o % | e { j £G
CSF-090BL 149 107 95 90 128 88 475 175 126 13 525 0 175 11 18 21 30 105 24 M16x20 T Br’
Unit:mm P
7L,
0-RING
HYDRAULIC PORT (-GTYPE)  VENTPORTBSPT GSCREW PLUG
JB ST HYDRAULIC PORT
CSF-040AL 25 8 c1 14.5 5 13 35 8 14 PT1/8 G1/8 P5 PT1/8 G1/8
CSF-040BL 25 8 Ci 145 5 13 35 8 14 PT1/8 G1/8 P5 PT1/8 G1/8 CSF-040DL 40 56 31 45 54 34 68 11 26 5 95 55 145 15 225 25 8 Cit 35 14 8 PT1/8 G1/8 P5 G1/8
CSF-048AL 28 1 c3 15.5 5 14 35 10 14 PT1/8 G1/8 P5 PT1/8 G1/8 CSF-048DL 48 64 39 51 61 40 73 11 30 0 95 55 135 16 255 28 11 C3 35 14 10 PT1/8 G1/8 P5 G1/8
CSF-048BL 28 1 C3 15.5 5 14 3.5 10 14 PT1/8 G1/8 P5 PT1/8 G1/8 CSF-055DL 55 70 45 60 69 47 80 11 335 0 11 6.8 115 20 30 31 13 R40 35 14 12 PT1/8 G1/8 P5 G1/8
CSF-055AL 31 13 R40 17 7 17 3.5 12 14 PT1/8 G1/8 P5 PT1/8 G1/8 CSF-065DL 65 85 56 70 81 55 94 11 395 0 11 68 145 22 35 37 14 R47 35 14 14 PT1/8 G1/8 P7 G1/8
Celmesda s el AR e iy 4 7 &5 i L4 PUTE e 7 PUe Eilis CSF-075DL 75 107 72 80 92 63 106 13 45 0 14 9 17 25 40 425 15 R53 45 19 16 PT1/4 Gi/4 P7 G1/8
CSF-065AL 37 14 R47 20 7 19 35 14 14 PT1/8 G1/8 P7 PT1/8 G1/8
e & 1 Y 00 7 75 °E 14 14 =7 e b7 . i CSF-090DL 90 128 88 95107 75 126 13 525 0 175 11 18 30 475 50 15 R63 45 19 20 PT1/4 G1/4 P7 G1/8
CSF-075AL 425 15 R53 24 8.2 22 45 16 19 PT1/4 G1/4 P7 PT1/8 G1/4
CSF-075BL 425 15 R53 24 8.2 22 45 16 19 PT1/4 G1/4 P7 PT1/8 G1/4
CSF-090AL 50 15 R63 26 8.5 24 45 20 19 PT1/4 G1/4 P7 PT1/8 G1/4
CSF-090BL 50 15 R63 26 8.5 24 45 20 19 PT1/4 G1/4 P7 PT1/8 G1/4

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



079

SP-AH =

B BT FE T

SP'AH PNEUMATIC‘ /B Hydraulic
HYDRAULIC
SUPPORT CLAMP

SJE Pneumatic

2 2
R R
L Bl
# i
x i
P STEBIRTNA
SP-AH18 R A
SP 7| Series
AH ZSHEMIFIE!  Pneumatic-hydraulic type
18 JEIREHE  Diameter of the extended piston rod BIEEH P 1BIEEH P
R R&M, LZ™ Tum right R, Turmn leftL Operation pressure(kgf/cmz) Operation pressure(kgf/cmz)
A AGEETEHA!  A:Spring extended piston
BiHBIEHEY  B:Hydraulic extended piston
A HEERE, FRAERE, A: Spring extended piston rod-adjust inward.
B: HARIELE, FIMNEEE, B:Hydraulic extended piston rod-adjust outward.
> Bf AB BUUHEERIRAK With A and B type adjusting screw.

FERMEE: HET ISO MEZHRM ISO-VG-32 — R HIBE BIREETR
Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32 or Oiled Dry Clean
Compressed Air

» (A TEHHFL Extending port
JBElH7L Retracting port

I PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018 I



081
CHA
SRS 5T Single side swing clamp Double side swing clamp

/ =+F

. TERERO0° REARE

Je Je
CHA HYDRAULIC K L K
SWING CLAMP " =
P gy A\ D ©
=g NN /® \\ o =g N ®
i 1l L%H'J i 43 N =
= e 7] AR = e = ! B
| / Al /
(55 A [L=E 5
(NZ w Lé Dt )
)3 AR B
JEFTR I

» EmiFE

IR ERERHRARENR, FREENRE, R TEMRRE.
EiRA 7 SRR, B T HENEDY , BIR T sE5t.
EniEERstEasiuielt, BIRT7TamAL.
P
RARIEESD: 70 kgflcm?
S/IMRIEEH: 15 kgflom?
egp=: WER
» TEEIE
[
T IR R AR . \
- = 4 A A - 21 a1
FHBEERENES MBBIEEREMN 1.5, J>
BEIrEREERLERISN, F2RE 138,
5] 37 7,2 | , “uh‘[’j;/_ﬁa IN= :L\éa N < . =3 .
AT, BDSRAARIE » (A seiFimFl Clamping port mExiFL Unclamping port
5 — PSS = = =\ 2R =z
» FEATURES » AT ~ . RASE R
ORDERING INDICATION MODEL CLAMPING FORCE  SWING CLAMPING TOTAL  OILCAPACITY OILCAPACITY  EFF.PISTON AREA EFF.PISTON AREA  RANGE OF
This series product with the optimal design, so made more impact and AT 70 kgf/cm® (kgf) STROKE (mm) STROKE(mm) STROKE(mm) CLAMP(cm’®)  UNCLAMP(cm®) CLAMP(cm?) UNCLAMP(cm®) TEMPERATURE(°C)  FLUID
strength can be improved. CHA-040S5S L X 930G M CHA-0! 220 55 8 1 4.24 6.63 3.14 4.91 1 °C
Product with special dust proof design, dust proof and sealing have been a080 . & ' . . . -10~+70 HETF ISO #
improved, so it has high sealing performance. Z7 Series CHA CHA-040 316.4 6.5 8 14.5 6.55 10.24 452 7.07 -10~+70°C  EEHRN EQP/{:Q
Design of product structure with high anti torque, realize hing durability. o -10~+70° VG_32‘_\ 1
e 036: Ol =36 040: ®l-40 048: Ol -48 CHA-048 407.4 43 8 15.5 9.02 14.91 5.82 9.62 10~+70°C B
Body size 055: ®l-55 065: ®l-65 075: ®l 75 CHA-055 770 85 10 185 20.35 29.42 1 15.91 -10~+70°C oo
Max. operating pressure : 70 kgf/cm?’ 090: ®l =90 105: ®l =105 CHA-065 880 10 10 20 25.14 38.60 12.57 19.63 -10~+70°C Hydraulic Oil
Min. operating pressure : 15 kgf/cm? R S EBEEE Single sid CHA-075 1489 12 12 24 51 74.78 21.27 31.16 -10~+70°C Equivalent to
Double acting ER=jisis (EEEE  Single side arm ISO-VG-32
" S . CHA-090 1978 14 12 26 73.48 114.82 28.26 4416 -10~+70°C
Clamping arm type  D: #5282 Double side arm .
CHA-105 2789 16 16 32 127.5 203.50 39.84 63.59 -10~+70°C
""""""""""""""""""""""""""""""""""""""""" T (0) L: & LiLeft
Rotating direction R: 75 R:Right
» NOTE ST:Swi T y———— prare
N T:Swing/ A1 FABSIRRE A2 FABDIRRE A3 FARHiRAR [T =paw::Im) :
EAAE EAEFE Standard angle 90°(22°) MODEL Clamp U:lcl’;mp u;clzmp U;nlzmp B C D1D2D3 D4 K @ popr wirn une Tvpe 0-RiNG
The acting speed of clamping-unclamping should be slowed down. Rotating angle BIEJAE Orderangle 30°(£2°),45°(¢2°),60°(+2°) CHA-036 13.5:55/8 80 104 102 64525 14 25 21 9 M14x1.5 ®6 7 ®36 4049 290131.4P4507.5x5D 16235 ®15 ®13.5  2-PT1/8 P5
g, ; 11 ] !
For customized clamp arm,please don't exceed 1.5 times of the original ‘ ZE. B Bl L e CHA-040 14.5:6.5/8 88 115 113 71525 16 25 24 M16x1.5 ®6 8 P40 4554 315134 P55-P9x6D 18 26 ®18 P16 2-PT1/8 P5
length and weight. itk G ISR G: Manifold type CHA-048 155:7.5/8 96.5 1285 1265 79 28 19 2927.5 12 M20x1.5 ®8 10 ®48 51 61 355(140 ®55-09x6D 22 30 ®22 B20 2-PT1/8 P5
Type R o : _ g } N
The methods to mount & remove and the rotation diagram of the clamp vp C. SHESHRZLHIIEE  C: Manifold with flow control CHA-055 18.5:8.510 1095 1455 143.5 89 30 22 3331.5125 M22x1.5 P10 12 ©55 6069 39 (147 P68-O11x7D 24335 25 P23 2-PTI/8  P5
arm, please refer to page 13. CHA-065 20:10/10 116 156 156 94 31 25 4038.516.5 M27x1.5®13 14 P65 7081 46 [155 D6.8-P11x7D 3039.5 ®30 D28 2-PT1/4 P7
ERER. =H (12#) Blank(Standard 4 : y .
Orders with customized request are available, welcome to reach us. Mfiﬂl/:1; ;g;;—t+§) -, ( ) CHA-075 24:12/12 135 181 181 109 38 31 4543.5 19 M30x1.5®P13 16 ®75 8092 52 [163 @®9-®14x9D 32 45 D35.5 P33.5 2-PT1/4 P7
N ) iﬂ;fﬁi;ﬁt{;}’f; CHA-090 26:14/12 146 203 203 120 46 38 54 52.523.5 M39x1.5 P16 22 ®90 95107 59.5(1 75 ®11-®17.5x11D 37 52.5 ®45 P43 2-PT3/8 P7
----------------------------------------------------------------------------- e e e CHA-105 32:16/16 178 240 238 144 56 44 60 58.525.5 M48x1.5 D20 26 ®105110122 67 (188 ®14-020x14D 45 60 B55 ®53 2-PT3/8 P7

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



083
084

. = [N N \ = NN
piE: ARELLCHA-M BUEREIARE piE: ANELL CHA-N BLFRRIRRS
EQ R 7Y
J P A ) e Bt
Hekt 77 W ek 7 1
U LA
=3y
® JeFEmAL
® A AL
= ® KL
T - | I > N
. ‘\ l| Al [ gye ! ® ﬁﬂ’& YEE ?L
Al o | 7
Vs SERONT R 0| —
Q !(7) ‘ (%) ‘
! \ +0.3 ;
- #l o = I l | ~
}—_ ' = L |
L L] J\%) ol [l ! |
ol [ | ¥ [ i
[H} ¥ ppZ4 ! &
17 Il au L PMAHs ~ O-Ri T e
- i ke L % | <T = > o <« 1in L | N
0-Ring << > g S m
" ! m - =| H ‘ H
NG I L W
| T oy = g1 @|‘
@1 = L= | = \
2| 0] | ‘ =l
T [ N
= JF=:e~:—— ‘ 2-NGHE&L
| O]
_ _ ﬁ o1t | P O . ®"=Hi 3
)| T *éﬁﬂlﬁﬂﬁ)\ﬁ D _‘_1 QjMC ~ m [ W’ PTI/S (é/‘:‘\‘) O\u
ey . @ML ] zZ .
m _.:_:.:_:_/ (= =0 = ﬂF%D =z '(\};; \_\ j{ﬂ%ﬁﬁ A D
=|3-0 %t JeBmI O >z£ % | PT1/8 (270
() = G5 i
i . PP S ot
HUT - amare
N
MODEL MAf8 MAHS MB mc mMD ME MF MG MH mJ MK ML MM MODEL ONA NB NC ND NE NF (A1 x RE) G(,..,,,.i,,a..,,,,,.,.,
CHA-036-M 345 5% 34.5 7% 32 35.7 49.4 62.4 40 4.9 9 4 6.5 73.4 11 CHA-036-N 355 32 98 "7 17 25 M3x0.5x5
CHA-040M 38 0@ a8 Y 33 39.2 57.5 70.5 47 6 9 4 6.5 81.5 15 CHA-040-N 39.5 33 9 13 19 29 M3x0.5x5
CHA-048M 45 02 45 % 38.5 46.2 65.4 78.9 53 7.9 9 45 8 91.4 15 CHA-048-N 45 38.5 il 14.5 2l 29 LEPEFE
CHA-055-M 45 0% 45 0 38.5 46.2 73.4 86.9 61 7.9 9 45 8 99.4 15 CHA-055-N 45 385 11 14.5 21 29 M3x0.5x5
CHA-065-M 45 0% 45 " 405 46.2 79.4 92.9 65 9.9 9 45 8 105.4 15 CHA-085-N 45 40.5 1 14.5 21 29 M3x0.5x5
CHA-075M 53 2% 53 *°% 49 54.2 86.5 106 74 7.5 10 9.5 11 122 15 CHA-075-N 53 49 i 20.5 25 o8 LA
CHA-090-M 53 oo 53 % 49 54.2 89.5 109 77 7.5 10 95 11 125 1.5 CHA-090-N 53 49 13 20.5 245 38 M4x0.7x6
CHA-105-M 53 003 53 %" 57.5 542 106.5 126 94 75 10 95 16.5 1475 15 CHA-105-N 53 57.5 17 24 245 38 M4x0.7x6

-0.07

ST:Swing/
[H]

amp

A1 FRBSARRE
Unclamp

A2 FRBEIRRE
Unclamp

=i m]
PORT WITH LINE TYPE

ST:Swing/
(HETT)

A1 FRBEIKRE
Unclamp

A2 FRRIRRE

Unclamp

[hi=g=vz:]m]
PORT WITH LINE TYPE

CHA-036-M 13.5:5.5/8 80 104 645 25 14 M14x15 52 ®36 40 49 29 [131.4045-07.5x5D 16235 P15 2-PT1/8 P5 CHA-036-M  13.5:5.5/8 80 104 64.5 25 14 M14x15 7 @36 40 49 29 [131.4945-07.5x5D 1623.5 P15 2-PT1/8 P5
CHA-040-M 14.5:6.5/8 88 115 715 25 16 M16x1.5 54 ®40 45 54 315 [134 @55-P9x6D 18 26 P18 2-PT1/8 P5 CHA-040-M  14.5:6.5/8 88 115 71.5 25 16 Mi16x15 8 @40 45 54 315 [134 ®55-09x6D 18 26 P18 2-PT1/8 P5
CHA-048-M  15.5:7.5/8 96.5 128.5 79 28 19 M20x15 55 ®48 51 61 355 [140 ®55-09x6D 22 30 P22 2-PT1/8 P5 CHA-048-M  15.5:7.5/8 96.5 128.5 79 28 19 M20x1.5 10 @48 51 61 355 [140 ®55-09x6D 22 30 @22 2-PT1/8 P5
CHA-055-M  18.5:8.5/10 109.5 145.5 89 30 22 M22x15 70 ®55 60 69 39 [147 ®6.8-P11x7D 24335 @25 2-PT1/8 P5 CHA-055-M  18.5:8.5/10 109.5 145.5 89 30 22 M22x15 12 @55 60 69 39 [147 ®6.8-®11x7D 24335 ®25 2-PT1/8 P5
CHA-065-M  20:10/10 116 156 94 31 25 M27x15 80 ®65 70 81 46 [155 ®6.8-¢11x7D 3039.5 P30 2-PT1/4 P7 CHA-065-M  20:10/10 116 156 94 31 29 M27x15 14 @65 70 81 46 [155 ®6.8-®11x7D 3039.5 O30 2-PT1/4 P7
CHA-075-M  24:12/12 135 181 109 38 31 M30x1.5 81 ®75 80 92 52 [163 @9-014x9D 32 45 P35.5 2-PT1/4 P7 CHA-075-M  24:12/12 135 181 109 38 25 M30x15 16 ®75 80 92 52 []163 ®9-®14x9D 32 45 ®35.5 2-PT1/4 P7
CHA-090-M  26:14/12 148 203 120 46 38 M39x1.5 102 ®90 95 107 59.5 [175d11-®17.5x11D 37525 P45 2-PT3/8 P7 CHA-090-M  26:14/12 148 203 120 46 31 M39x1.5 22 ®90 95 107 59.5 [175P11-017.5x11D 37 52.5 d45 2-PT3/8 P7
CHA-105-M  32:16/16 178 240 144 56 44 M48x15 120 @105 110 122 67 [188 P14-020x14D 45 60 P55 2-PT3/8 P7 CHA-105-M  32:16/16 178 240 144 56 44 M48x1.5 26 ®105 110 122 67 [188 ®14-®20x14D 45 60 D55 2-PT3/8 [F7

PNEUMATIC & HYDRAULIC CLAMPS

CATALOCUE 2018



086

CHA-P HYDRAUL

HHETF ISO #4
EERIY ISO-
VG-32 —&i&
[
General
Hydraulic Oil

Equivalent to
ISO-VG-32

p Bt EECHEERE CZL K7

I PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018 I



_ 087
088

CBTU HYDRAULI(

HETF ISO ¥
EERY 1ISO-
VG-32 —#iR
R
General
Hydraulic Oil
Equivalent to
ISO-VG-32

p Bt EECEEERE CZL 77!

I PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018 I



089
090

CLKA

S & ZETUEEL

CLKA HYDRAULIC O i e
LEVERAGE CLAMP

Only C type able to mount speed control valve

> EmiFE

\

IRV ERBHRBRENRE , BERERIBREEIIRST . |
EEMSIFREEMUEIRT RS R — (S8 (BRI IILE RS T EMEE. £
|

\

o0
ER

EmFRTERMERE , RS THEMEST  8RTs%HMH. "
EERER TR AR/ MURET , RBEREERAIEZ RSN

SAIRIEEA: 70 kgflem?
B/NRIEEEA: 10 kgflom?

» FEFEIH

RERHREFENRE R EELE
AESETH, BUEANRE .

» FEATURES
Product with optimal design,so the clamping capacity is better than others clamps. Lever Direction
Product with the integrated structure on support site and cylinder body,so made product will Eg%ﬁ-%ﬁﬁ:ﬂ

be more impact,and strength will be improved.
Product with special dust proof design,to make sure a high sealing performance.
Product with lower flange design,more suitable for compact and light fixture.

Max. operating pressure: 70 kgf/cm’
Min. operating pressure:10 kgf/cm?

mer  IBATIED — N— g

........................................................................................... BU5R (70 Kgf/cm") REATIZ o T [HIT8 ERRE
> NOTE MODEL CLAMPING FORCE SWING CLAMPING CYLINDER CAPACITY LINDER CAPACITY EFF.PISTON AREA EFF.PISTON AREA RANGE OF

AT 70 kgf/cm? (kgf) STROKE (mm) STROKE(mm) CLAMP(cm®) UNCLAMP(cm?®) CLAMP(cm?) UNCLAMP(cm?®) TEMPERATURE(°C) FLUID

The acting speed of clamping-unclamping should be slowed down.

Orders with customized request are available, welcome to contact us. CLKA-036 207 16 185 708 557 3.80 301 110~+70°C HE T ISO#4
CLKA-040 274 175 205 10.07 7.75 4.91 3.78 10~+70°C EESHRA91SO-
''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''' CLKA-048 452 205 23.5 18.89 15.28 8.04 6.5 40700 | VOSe B
» FIBBIENE CLKA-055 649 23 26 32.66 27.43 12.56 1055 10~+70°C
ORDERING INDICATION CLKA-065 1073 26.5 29.5 57.91 48.65 19.63 16.49 -10~+70°C Hy?f:jirf‘on
CLKA-075 1779 32 35 109.06 95.76 31.16 27.36 10~+70°C Equivalent to
CLKA-036 CML CLKA-090 2135 38 41 141.37 132,55 34.48 32.33 10~470°C g2
— CLKA-105 3094 46 49 246.18 199.04 50.24 40.62 10~+70°C
=3 eries CLKA
s~ 036: ®I=36 040: ®I=40 048: PI=48
Body size 055: ®I=55 065: ®I=65 075: PI=75 Unit:mm
090: ®I=90 105: PI=105 —
PORT WITH
N e =H: BER Blank: line type LINETYPE 0-RING HOLE
is| MEiSE O SHERRL ——— CLKA-036 785 49 40 36 48 23 10 20 31.4 66 125 6 235 16 7.545 155 30 20 1119 145 5 5 37 196 17 19 ®10 2-PT1/8  P5
Port type C;;Haﬁgff)ﬁwﬁ%%@ c;manifold V;/ith flow type CLKA-040 87.5 54 45 40 54 29 12225 34 72 14 8 26 18 9 55 15 305 22 1321 16 6 6 40 202 175 205 ®12 2-PT1/8  P5
CLKA-048 99 61 51 48 60 32 12255 40 8 16 8 30 22 9 55 16 345 26 1324 185 6 6 47 189 215 235 ®14 2-PT1/8  P5
RIS mmgeE. & (12E) M BERSaERR R CLKA-055 1105 69 60 55 65 37 16 30 47 88 20 12 335 24 11 68 135355 30 1628 21 6 8 55 193 25 29 @16 2-PT1/8 BS
Lever direction N RS G iERmce s CLKA-065 127.5 81 70 6573.5 43519 35 55 106 25 17 395 30 11 6.8 16 39 355 1937 245 8 10 615 20 265 32 ®20 2-PT1/4  P7
CLKA-075 151 945 85 75 84 47 22 425 63 116 32 24 45 32 14 9 175 48 435 2540 30 10 12 725214 30 375 ®22 2-PT1/4  P7
1575%%%7?@ fiElE 7%% ~ E'EZ;({ ;taRni:E;d CLKA-080 180 109.5100 90 101 61 25 50 75 136 38 30 525 37 17511 17 52.5 52.5 28 49 36 12 15 82.522.4 325 415 28 2PT38  P7
ever direction N . H H

CLKA-105 209 127 120105115 65 32 60 88 152 45 37 60 45 20 14 23 64 64 3264 44 15 18 100 23.1 40 51 @35 2-PT3/8 P7

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



091

092
»iF: KELL CLKA-GM BUFIEHIRRE piF: KRELL CLKA-GN BUFIEARRE
B RILPQ + RILOQ hCI,KA*ZZ

J1
oK
M
|
S
|
|
A
+
4‘4
-+

|

|

|

[ ‘

|

[ISmm—— i LT e
|

|

|

|

/
b v
NV 1 W2 g \
— + + !
| T T
1
N I VA N YA
e L J
Je
JeE Gk

Gl
o4 T R R, FEBT LA HIL DIBDRA R N
- P A KU, NHERZLGb R 22 R, AT 1194 5
8 WAL . (R, NI,
2-D1 307
T S i
O
E 5
3 Ef
(G
N
E 15° = 1
N o HE S '
¢ - PiE: REIMUINTRYT =
<
Z | T BT B
&/ |
m| I '
i | i, N
o === N m
& 30 L ‘ p
b #MAHe | L]
130+ ] =
| ) A ‘ s b~
: 1 g WAL | g i ¢
I - &0 g i o tj
| ! S FTEHINI O =)
. T : Rel/8(27) =N =
g i R 2 | BETY
) L e l +
! \ = 2 i L % | g
g \i\ E ; \ spip Rel/B(FR) N “‘
- | m NE NE
HAD = . Ll
3.6 oMAre = .M LL;— - "
= #MC \w
NG
MODEL MAf8 MAHS MB mc MD ME MF MG MH ] MK ML (8 % R raminaitepth
CLKA-036-M  34.500° 345 %% 31 35.7 325 455 235 45 9 4 6 56 CLKA-036-N 35.5 31 9 12.5 - 17 25 M3x0.5x6
CLKA-040-M 38 2% 38 %" 36 39.2 40 56.5 30.5 5 9 7.5 7 68 CLKA-040-N 39.5 36 8.5 17.5 1 18.5 29 M3x0.5x6
CLKA-048-M 45 00 45 0% 40 46.2 43 63.5 335 5 9 11.5 7 75 CLKA-048-N 45 40 12 18 2 20 29 M3x0.5x6
CLKA-055-M 45 5o 45 "o 40 46.2 50.5 71 41 5 9 11.5 7 82.5 CLKA-055-N 45 40 12 18 2 20 29 M3x0.5x6
CLKA-065M 45 2% a5 " 40 46.2 60.5 81 51 5 9 15 7 925 CLKA-065-N 45 40 12 18 2 20 29 M3x0.5x6
CLKA-075-M 53 2% 53 00 59.5 54.2 61 93.5 495 5.5 12 20.5 11 1105 CLKA-075-N 53 59.5 20 29.5 3 24 38 M4x0.7x7
CLKA-090-M 53 5o 53 % 59.5 54.2 79 1115 67.5 55 12 20.5 11 128.5 CLKA-090-N 53 59.5 20 295 3 24 38 M4x0.7x7
CLKA-105-M 53 9% 53 %" 59.5 54.2 91 1235 79.5 55 12 20.5 11 140.5 CLKA-105-N 53 59.5 20 29.5 3 24 38 M4x0.7x7
Unit:mm Unit:mm

EEEO O LS REED S 0 T

®U  portwith (C/GE)

lexill
®U  portwith (C/IGE)
LINE TYPE O-RING HOLE

LINE TYPE O-RING HOLE

CLKA-036-M 785 49 40 36 48 23 10 20 314 66 125 6 235 16 7545 155 30 20 11 19 145 5 5 37 196 17 19 ®10 2-PT1/8 P5 CLKA-036-N 78.5 49 40 36 48 23 10 20 314 66 125 6 235 16 7545 155 30 20 11 19 145 5 5 37 196 17 19 10 2-PT1/8 P5
CLKA-040-M 885 54 45 40 55 30 12225 34 72 14 8 26 18 9 55 15 305 22 1321 16 6 6 40 202 175 205 ®12 2-PT1/8 P5 CLKA-040-N 885 54 45 40 55 30 12225 34 72 14 8 26 18 9 55 15 305 22 1321 16 6 6 40 202 175 20.5 P12 2-PT1/8 P5
CLKA-048-M 100 61 51 48 61 33 12255 40 81 16 8 30 22 9 55 16 345 26 1324 185 6 6 47 189 215 235 ®14 2-PT1/8 P5 CLKA-048-N 100 61 51 48 61 33 12255 40 81 16 8 30 22 9 55 16 345 26 1324 185 6 6 47 189 21,5 235 ®14 2-PT1/8 P5
CLKA-055-M 114 69 60 5568.5 40516 30 47 88 20 12 335 24 11 68 135355 30 1628 21 6 8 55 193 25 29 d16 2-PT1/8 P5 CLKA-055-N 114 69 60 55685 40516 30 47 88 20 12 335 24 11 6.8 135355 30 1628 21 6 8 55 193 25 29 @16 2-PT1/8 P5
CLKA-065-M 134.5 81 70 6580.5 50519 35 55 106 25 17 395 30 11 6.8 16 39 355 19 37 245 8 10 61.5 20 265 32 ®20 2-PT1/4 P7 CLKA-065-N 1345 81 70 65805 45 19 35 55 106 25 17 395 30 11 6.8 16 39 355 19 37 245 8 10 615 20 26.5 32 ®20 2-PT1/4 P7
CLKA-075-M 153 945 85 75 88 49 22 425 63 116 32 24 45 32 14 9 175 48 435 2540 30 10 12 725214 30 375 ®22 2-PTi/4 P7 CLKA-075-N 153 945 85 75 86 49 22 425 63 116 32 24 45 32 14 9 175 48 435 2540 30 10 12 725214 30 375 ®22 2-PT1/4 P7
CLKA-090-M 186 109.5 100 90 107 67 25 50 75 136 38 30 525 37 17511 17 525 525 28 49 36 12 15 825224 325 415 ®28 2-PT3/8 P7 CLKA-090-N 186 109.5100 90 107 67 25 50 75 136 38 30 525 37 17511 17 525 525 28 49 36 12 15 825224 325 415 ®28 2-PT3/8 P7
CLKA-105-M 223 127 120105129 79 32 60 88 152 45 37 60 45 20 14 23 64 64 3264 44 15 18 100 23.1 40 51 ®35 2-PT3/8 P7 CLKA-105-N 223 127 120105129 79 32 60 88 152 45 37 60 45 20 14 23 64 64 3264 44 15 18 100 23.1 40 51 @35 2-PT3/8 P7

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



I PNEUMATIC & HYDRAULIC CLAMPS

P L. IBECEEER CZL &Y

HETF ISOMES
B9 1SO-VG-32
—ARIGEEH

General
Hydraulic Oil
Equivalent to ISO-
VG-32

093
094

CATALOGUE 2018 I



CBLU -

TR &

REBIATIR VBT

CBLU HYDRAULIC
LEVERAGE CLAMP

» EmiFE

RV ERBHRARENRE  BERERIEREENIRST .
EEMSTFREMUARMIREIR B —RE S  (EITEEMRE RS T EMEE.
EmRATBRMERE , B THhENEIT  ERTs%EHMT.
ERFRASIRERS , TERMERETSE.

BAIBEES: 70 kgflom?

S/NBIEEES: 10 kgflem? @

» EEFIR
SRR PR E TR .

» FEATURES

This series product with the optimal design, so the clamping capacity is better than the
traditional product.

Product with the integrated structure on support site and cylinder body, so made more
impact,and strength can be improved.

Product with special dust proof design, dust proof and sealing have been improved, so it has
high sealing performance.

Product with the box-type design,do not need to block the installation, is convenient.

Max.operating pressure :70 kgf/cm?® » (B 57, Clamping port hg&imFL Unclamping port

Min.operating pressure :10 kgf/cm®

RS eyl
» NOTE L5R (70 kgflom?
The acting speed of clamping-unclamping should be slowed down. CLAMPING FORCE ~ CLAMPING CYLINDER CAPACITY  CYLINDER CAPACITY EFF.PISTON AREA EFF.PISTON AREA  RANGE OF
------------------------------------------------------------------------------------------- AT 70 kgf/cm? (kgf) STROKE(mm) STROKE(mm) CLAMP(cm?) UNCLAMP(cm?) CLAMP(cm?) UNCLAMP(cm®) TEMPERATURE(°C) FLUID
. . CBLU-25 218 175 20.5 10.00 5.69 491 278 A0~+70°C  {EET ISO HES
ST T Y
» ATRBIA CBLU-30 310 205 235 16.60 13.00 7.07 553 10~+70°C %&ET&%};@ £
ORDERING INDICATION CBLU-35 382 23 26 25.00 21.00 9.62 8.08 -10~+70°C
L 40~ o General
CBLU-30 C L CBLU-45 649 26.5 295 46.90 41.00 15.90 13.90 10~+70°C o
CBLU-55 1014 33 36 85.50 71.80 23.75 19.95 110~+70°C Equivalent to
Il =50 Series CBLU CBLU-70 1553 42 45 173.10 145.40 38.47 32.32 -10~+70°C ISO-VG-32
B Unit:mm
Eﬂp\]ﬁi—f . ®25,D30,P35, P45 BRESHO 57,0
30 Hydraulic cylinder ¢, g5 g, 70 MODEL A B c2ec3C4 D D1 F G1 Y0 TRINRE o rmcHoe

inside diameter

CBLU-25 97 60 67.5 12 14 21 6 ®6 ®6 48.5 36.5 165 24 55 3 6 45 55 35 ®55 P95 20 22 25 16 42 49 22.5 M6x25 69° 11 ®12 PT1/8 P7

=H: EREX

. ChOst N Blank: line type CBLU-30 108 66 755 12 16 21 6 ®6 ®6 54 42 185 26 65 5 6 50 60 40 ®5.5 095 22 24 28 17 48 54 25 Mex25 71° 13 14 PTi8  P7
Port type O pt =ty CoManifold type CBLU-35119.571 81.5 16 20 28 8 ®6 ®8 64 50 21 30 8 6 8 57 66 46 ®6.8 ®11 26 2830517 51 57 285 M8x30 70° 15 ™14 PTi/8  P7
1 (=} Aol . H H
oot e sitie CBLU-45 140 83 95 19 25 37 10 ®8 ®10 73.5 56.5 24.5355 9.5 7.5 1070 82 56 ®9 ®14 30 36 36 22 565 66 35 M10x40 70° 19 ®16 PTi/4  P7
s Pup . g .
L [RE 25 =H; B8 Blankzstandard CBLU-55 166 95 109.522 31 46 11®12P14 90.5 69.5 30.5 44 12.5 9.5 1186 96 68 P11 P17.5 38 45 42 23 64.573.5 43 M12x50 69° 25 P22 PT1/4  P7
Lever direction L: 2 R: A L:Left R:Right

CBLU-70 199 112 130 32 38 56 16P14P16 115.5 87.5 37.5 53 16 9.5 15108120 88 d14 P20 50 50 57 28 80.5 83 54 Mi6x60 72° 32 ®28 PT3/8 P7

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



097
098

CLF5H

EEARHERET ( AREStetl )

CLFSH HYDRAULIC
LEVERAGE CLAMP

> EEmiFit
IEERIIE muar et PR FIEIRIENS | FERRRRICITINRERS | BB R R ST AL
B, ROHTHERERTY , RItRESfE , IR A—iemi.

EmBMFEIIRE/ , BESRRERT /AR AR LSS EIRIER IS LUER] 5
FHER , WrTLUR DR E MR AR T2 | ERIEE TIF=RIrER.

EREATEABESR, BLETIHRSTREA  SETSEEE | EItE
HR B RS Rt ASEA. . , . .
CRESMRE TR » (® gl Clamping port HEREIL Unclamping port

SXIREEH: 70 kgflom?

BR/NRIEBES 10 kgfiem?
LINE TYPE EcE=U G: MANIFOLD TYPE G jHighRE!

» FE=EIE
B R F R T EE .

» FEATURES

Operate conveniently,this series products design with connecting rod structure,at the time of
termination holding state,clamping arm can be put lower than holding position, and reduce
the interference with loading and unloading operation.

Clamping arm of the products is very flexible. It can hold more capacity than swing clamp and
leverage clamp,and can reduce the interference of the surrounding equipment,so it can save
working space.Product with special dust proof design and high sealing,can prevent the cutting
chips and coolant to infiltration. So it can be used in more severe conditions.

. 2 AR

Max.operating pressure: 70 gf/cm # I gecr mer s RASE  EHSEEE  ASEEE  ERRERE

Min. operating pressure: 10 kgf/cm? ( gfiem?)
oDEL CLAMPING FORCE  CLAMPING TOTAL  CYLINDER CAPACITY CYLINDER CAPACITY EFF.PISTON AREA EFF.PISTON AREA  RANGE OF

------------------------------------------------------------------------------------------- AT 70 kgf/cm? (kgf) STROKE(mm) STROKE(mm)  CLAMP(cr?) UNCLAMP(cm®) ~ CLAMP(cm?)  UNCLAMP(cm?) TEMPERATURE(C)

» NOTE CLF5H-25 290 315 34 16.69 11.46 491 3.37 40~470°C BT ISO *EEZ4RA 1SO-
CLF5H-32 441 355 38 30.55 25.08 8.04 6.60 10~470°C Ve‘gegfff@"m

The acting speed of clamping-unclamping should be slowed down. CLF5H-40 709 41 44 55.26 46.46 12.56 10.56 10~+70°C Hydraulic Ol
CLF5H50 1136 47 50 98.15 82.45 19.63 16.49 Ao SOV DISOSESEE

Unit:mm

y FIEBREIRE

ORDERING INDICATION CLF5H25 70 59.5 14 47 21 40 50 25 25 50 30.5 11.5 135 12 12 5 6 565 13 55 95 PT1/8 22 12 8 19 23 88 13 135 18 4 20 12
CLF5H- 32 G CLF5H-32 75 705 14 55 21 47 59 29.5 29.5 59 30.5 11.5 155 16 14 5 8 60 13 6.6 11 PT1/8 28 16 12 215 28 95 15 15 20 4 23 11
CLF5H-40 89.5 79.5 16 65 25 55 69 34.5 34.5 69 37.5 13.5 20.5 20 20 6 10 72 16 O 14 PT1/4 36 19 14 245 31 117518 175 28 4 28 18

cLFsH eI CLF5H CLF5H-50 101.5 865 20 80 28 67 84 42 42 84 435 155 225 24 21 6 12 83 17.5 11 18 PT1/4 42 22 16 30 37132522 19 31 4 34 15
EY) Rﬁ{fﬂﬂ%cy“nderinsidediameter ©25, 32, 40, D50 MODEL GA GBC D EF G GH | GIGKGLGM N O ST GU WO-RNG Y Z AA AB AC AD AE AF AG AH GAI AJ AK AL AM AR GAT
CLF5H-25G 70.5 59 14 47 21 40 50 35 25 60 31 12 18 12 12 4 6 57 13 S4 29 39 5595 G1/8 22 12 8 19 23 885 13 135 18 4 20 2

G SO =H: BEX  Blank line type CLF5H-32G 75.5 70 14 55 21 47 5937.5 29.5 67 31 12 17 16 14 5 8 605 13 S4 32 43 6.6 11 G1/8 28 16 12215 28 955 15 15 20 4 23 3
Port type G: HEEHRZ  G:Manifold type CLFSH-40G 90 79 16 65 25 55 60455 34.5 80 38 14 21 20 20 6 10725 16 S4 37 51 9 14 G1/4 36 19 14 245 31 118 18 175 28 4 28 7

6

CLF5H-50G 102 86 20 80 28 67 84 51 42 93 44 16 23 24 21 6 12 83 175 P5 44 57 11 18 G1/4 42 22 16 30 37 133 22 19 31 4 34

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



PNEUMATIC & HYDRAULIC CLAMPS

MODEL A B1

CCLWO04 100 50
CCLWO06 122 60
CCLW10132.570
CCLW16 162 86

AF

B2B3C D E F GH J KIK2 L M1 N

60 25
69 30
77 35
96 43

CCLW25 197 108 110 54

40 26.5 35?02 31555 10 17 11 27.512.5 G/1/8 52.5 20.5

47 31 459, 42568 12 17115 30
54 325 500,425 9 15 17 13 33
65 40 605, 51 1118520 15 40

85 47 70°

%, 63 1420521 20 43

15
15
17
17

G1/8 59.5 23

G1/8 65 26.5

G1/4 80
G1/4 96

33
42

21
28
37
46
56

32 12 106 7 36 26
345 14 126 7 41530
405 18 158 9 45355
49 224 201110.8 54.5 44
61.5 28 2613145 65 53

P9
P9
P9
P9
P9

13 6;0.012
15 8 50.012
19 1 05()'015
25 14;0.015

+0.018
32 16;

099
100

HETF ISO #MESR
9 1SO-VG-32 — &

TRIEEH
General
Hydraulic Oil

Equivalent to ISO-

VG-32

AC AD AE AF AG BA BB BC BD BG BHBJX3

680.012
6 50.012
8 50.012
1230.015

+0.018
140

W OwWw W W w

Cc25 - - 185235 6

C25 43 10 21 29
C3 48 10 245 32
C3.5 57.5 12 30.5 39
C5.5 67.5 12 375 50

8
10
1

15

16 92.5 £171° 670}
20 107.9 £170° 837
25 117.4 £70° 103
31 144.7 £969° 1151
38 189.2 4172° 167

CATALOCUE 2018



_ 101

102

HETFISOESR
9 1SO-VG-32 — #&
TREEH
General
Hydraulic Oil
Equivalent to 1ISO-
VG-32

S/M/L

I PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018 I



CZL

EEESIRE ((REER )

CZL SPEED CONTROL
VALVE(LOW PRESSURE)

» #51% SPECIFICATION

HU2%E Model No CZL1o-A CZL20o-A CZL30-A CZL1o-B  CZL20-B CZL30-B
e EAED

Max. operating pressure MPa 7
i
Withstanding pressure  MPa

=50 EEHESA Meter-in EIHERR Meter-out
Control method

GBS RT
G thread size
FIREIEE )
Cracking pressure MPa 0.04 0.12
BRARMEEE

Max. passage area mm
FFae TEETF 150 #EEZEHRAY 150-VG-32 —AREEH
Useable fluid General hydraulic oil equivalent to ISO-VG-32
fERRE )

Operating temperature  “C 0~70°C

ZREEHERSERED%E N.m

Recommend tightening 10 25 35 10 25 35
for main body N.m

10.5

G1/8 G1/4 G3/8 G1/8 G1/4 G3/8

2 2.6 5.0 1.6 2.6 5.0 10.2

1. EHIRISE 2RSS/ NRBERE RS AOREEBEES
2. WIREARIEEEE R EREEHN . HERHMRARSBEIEE, EENETESEL

3. TS BERBNIREEFIREARET R . BRIDTRES RN G BAURmAREZSMm
HeBEHIRE, {HMESETRERE,
» NOTE

1. Minimum passage area when fully opened is the same as the maximum passage area in the table above.

2. It must be mounted with recommended torque. Because of the structure of the metal seal, if mounting
torque is insufficient, the flow control valve may not be able to adjust the flow rate.

3. Don't use used speed control valve(CZL) to other clamps. Flow control will not be made because the bottom
depth difference of G thread makes metal seal insufficient.

i

» STEBIERA
ORDERING INDICATION

CZL - 10-B
CzZL %l Series CczZL
10: B240UR Y G1/8 Thread part G1/8 thread
(1] G IR R 20: BAURYF G1/4 Thread part G1/4 thread

G thread size Thread part

30: $24YRYJ G3/8 Thread part G1/8 thread

B b= yhan AYERERR Meter-in
Control method B [Ol’HERE Meter-out

PNEUMATIC & HYDRAULIC CLAMPS

» EEFEIE

1. VVVENRBESE, 8258,

2. VV VENERE CZL inEEBESm, TEBI2ZE. (ZEREIE)
3. INTARESMDRERIB . ERIERD .

4. (ERRBRENTR, 1 P1IHRARERSMERGA, 1§ P2 HORERRER,
5. NLEEHI5 EHER G IZAGRISHOEEERIERRE, BISRTRMAT “x1”
RER 12.5,

Model No.

CZL10 14 155 15 12 8.5 1.6  G1/8 3 3.5 10
CZL20 18 20 16 13 9.5 15.1 G1/4 3 3.5 10
CZL30 22 24 19 16 1 176 G3/8 3 5 13

103
104

» NOTE

1. Asthe V V'V areais sealing part, pay attention not to damage it.

2. As the V'V area is the metal sealing part at the CZL side, pay attention
not to damage it.(Notes for deburring).

3. Pay attention to have no cutting chips and burring at the tolerance part
of the machining hole.

4. As shown in the drawing, P1-port is used as hydraulic supply and P2-port
as the clamping supply.

5. If using a common plug and fitting with G thread specificaiton are
considered to be mounted," 31" in the table should be 12.5.

Unit:mm

Méx0.75 11.5 8.5 9 16 10 8.7 G1/8 2~3 25~5
Méx0.75 15 197 1.5 205 13.5 115 G1/4 3~4 35~7
M8x0.75 17.5 13 13 24.5 17 15 G3/8 4~5 45~9

CATALOCUE 2018



106

I PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018 I



PNEUMATIC

SWING CLAMPS
[UESEBEIRS -

CATALOCGUE 2018



ASC

RUBREE ]

ASC PNEUMATIC
SWING CLAMP

P STBBIENA
ORDERING INDICATION
ASC-MF 32 S RX90-E-P

Z7% Series ASC

=H: BEEX
Blank: Line type

#87! Type

SUELAE Cylinder inside diameter ® 25 32
S: BEiEEMR

v :
BEtRASY Clamping arm type S: Single side arm

R: IERSEt A3

#8fa75a) Rotating direction R: Turn right

#EfAEMAE Rotating angle

{TFENNE Stroke extension

¥SZRE(IBY Precision position

i AR MBI ESH

PNEUMATIC & HYDRAULIC CLAMPS

MF: SR FLELBT R
MF: Manifold with flow control MS: Magnetic type FA: Flange type TB: Threaded body

® 40 50 ® 63

fEZAEFHE  Stardard angle 90°  (2°)

FERBRAREETHEMEN MCIGE, ReEENERERTF.

FEREBRBIIEERE, EE FETREPBERSIEEIRANAE, BIREER
EETEERERRE TS,

EHERREEML, BNERSEEE, BeREeiR, UNERITED, 52
FRS T, SEUSIRITRER BTG

s ERmitas, FEMEERE, NBRRENE, FRE0R.
BXIREES: 7 kgflom?

B/INRIEBEN: 4 kgflom?

fEEns=: WE

» FEEIE
BRI R R R EE .
BHBEEERESNMSBBEEFEN 1.5,
BT EsERTIEREST, B2RE 138,

» FEATURES

This machine with MC clamp is exclusively to mass-produce spare parts.It is a big helper to
raise production efficiency.

The clamping arm of this clamp will swing around the angle when the piston traveling
down,and then keep straight on until the clamping arm clamps the work-piece tightly.

You had better install a flow control valve to adjust the acting speed,and don't clamp the
workpiece when the clamp is running,Otherwise will be easy to damage the body and the spare
parts.

The material of the cylinder body is made of aluminum metal alloy, the surface is processed
with the hard membrane and the inside of it is smooth.It is long -lived to use.

Max. operating pressure: 7 kgf/cm?
Min.operating pressure: 4 kgf/cm?
Double acting

» NOTE

The acting speed of clamping-unclamping should be slowed down.
For customized clamp arm, please don't exceed 1.5 times of the original length and weight.

The methods to mount & remove and the rotation diagram of the clamp arm, please refer
to page 13.

MS: RuEesy FA: KR TB: 27!

D: E£EE R

D: Double side arm

L: st e N:0° s
L: Turn left N:0° No swing

sT{#fE Orderangle 0° | 45° (£2°) , 60° (£2°)

IBINEHRET, RSEAEIEE

Add locating pin design,to improve the repeat precision of rotation angle

AALESEEE - MF-S

=k LineType-S &= ) LineType-D

Double side swing clamp
i TEREA 90° FZBHIRRE

Single side swing clamp Single side swing clamp Double side swing

109
110

RFLEIMTRIE MF-D

clamp

x: TERERM 0° RREIARE

» (® FeiFmFl Clamping port (B) st & 4L Unclamping port

MODEL ST: Swing/ FAFaikRE B

Clamping A Unclamp

ASC-25  22:913 89 65 23 (16 - Mex1.0 - 6 35 : - ®35 38 30 46 M5x0.8 =
26:11/15 108 78

ASC-32 [l las o3 28 119 119 Mx125 @8 8 50 140 9  ®46 50 40 ®56 PTi8 .
26:1115 108 78

ASC-40 Ul iss 93 28 19 (19 M8x125 @8 8 55 140 9  ®55 60 48 ®68 PTi8 .
30:13/17 124 2

ASC50 004 1ss jo7 31 025 22 Mi0x15 ®8 10 60 160 10  ®65 70 57 ®68 PTiB .
30:13/17 124 )

ASC-63 42 nes  qsg qo7 31 25 [J22 Mi0ox15 ®8 10 70 160 10  ®78 83 67 ®9 PTIB -

ASC-MF32 26:11/15 108 78 22 [J19 [J19 M8x125 @8 8 50 140 9 46 50 40 ®56 19 P7

ASC-MF40 26:11/15 108 78 22 19 19 M8x1.25 &8 8 55 140 9  ®55 60 48 ®68 23 P7

ASC-MF50 30:13/17 124 9 25 [125 (122 Mi0Ox15 ®8 10 60 160 10  ®65 70 57 ®68 28 P9

ASC-MF63 30:13/17 124 90 25 [25 [122 Mi0x15 ®8 10 70 160 10 ©78 83 67 09 32 P9

LTRSS A

e i e = : P oREE N\ RS FH RS

Gty wEiTE 3 @ fett T HAEEEE  EEEE

MODEL CLAMPING FORCE AT SWING CLAMPING TOTAL CYLINDER CAPACITY CYLINDER CAPACITY EFF.PISTON AREA EFF.PISTON AREA RANGE OF .

7 kgf/cm?® (kgf)  STROKE (mm) STROKE(mm) STROKE(mm) CLAMP(cm?) UNCLAMP(cm?) CLAMP(cm?) UNCLAMP(cm?) TEMPERATURE(’C)

ASC-25 24 9 13 22 7.41 12.28 3.37 4.91 -10~+60°C
ASC-32 42 1 15/30 26/41 15.68/24.72 20.9/32.96 6.03 8.04 -10~+60°C
ASC-40 74 1 15/30 26/41 27.43/43.26 32.66/51.5 10.55 12.56 -10~+60°C
ASC-50 116 13 17/34 30/47 49.47/77.5 58.89/92.26 16.49 19.63 -10~+60°C
ASC-63 196 13 17/34 30/47 84.06/131.69 93.48/146.45 28.02 31.16 -10~+60°C

CATALOCUE 2018

Unit:mm

P14

D16

D16

®20

®20

D16
16

20

B8 Z 5 IR R
Oiled Dry
Clean
Compressed
Air



e MS25S g, > MS325-63S

Single side swing clamp Single side swing clamp

» (® FFRFL Clamping port () %% 7L Unclamping port

EH#E ) FA-S i=#Z » FA-D 278 ) TB-S

Single side swing clamp Double side swing clamp Single side swing clamp

E: TERERM 00° AR

» (A FEFL Clamping port & FL Unclamping port

ST: Swing/ A%lf’fmﬁ‘p B C1 C2 E2 F Gl G2 H ot OR

Clamping

ASC-FA32 ;
ASG-TB32 26:11/15 108 78 22 12 119119 M8x1.25 ®8 8 50 140 9 P46 M50x1.5 50

ASC-FA40 o
ASG-TB40 26:11/15 108 78 22 12 [119[119 M8x1.25 ®8 8 55 140 9 ®55 M55x1.5 60

ASC-FA50 ]
ASG-TB50 30:13/17 124 90 25 15 [J25[122 M10x1.5 ®810 60 16010 ®65 M65%1.5 70

ASC-FA63 30:13/17 124 90 25 - []25([122 M10x1.5 ®810 70 16010 ®78 = 83

ST: Swing/ FAB9iKAR

RfE=l » MS32D-63D

Double side swing clamp
i TEREMA 0° FARIKRE

=78 ) TB-D

Double side swing clamp
T TEREM 90° FPREKRE

40 P5.6-P9x5.5D PT1/8

48 ©6.8-010.5x6.5D PT1/8

57 ©6.8-®10.5x6.5D PT1/8

67 ®9-®14x9D

PT1/8

Unit:mm
N T1x2PCS T2

32 11 ®70 @16
40 11 75 @16

50 12 85 20
63 = - ®20

Clamping A Unclamp
ASC-MS25 22:9/13 94 70 60 J16 - M6x1.0 = 6 35 -
ASC-MS32 26:11/15 113 83 28 19 019 M8x1.25 @8 8 50 140
ASC-MS40 26:11/15 113 83 28 019 019 M8x1.25  ®8 8 55 140
ASC-MS50 30:13/17 129 95 31 025 022 M10x1.5 @8 10 60 160
ASC-MS63 30:13/17 129 95 31 025 22 M10x1.5 @8 10 70 160

PNEUMATIC & HYDRAULIC CLAMPS

®35
D46
®55
®65
®78

38
50
60
70
83

30
40
48
57
67

46 M5x08 P14
®56 PT1/8  ®16
®6.8 PT1/8 D16
®6.8 PT1/8  ®20

®9 PT1/8  ®20

CATALOCUE 2018

111
112



113
114

PB PNEUMATIC
SWING CLAMP

» (A sHFEFL Clamping port
KE&&FL Unclamping port

E2

> EmiF

HESE, SERE, B8, SnRURKSHESNETHE—IE=EN®RE,

AERBRTENMETEMNENIREE LA M ETE,

EZERRTEEENM, AIal: BRSBRKE . Miats E THRREmE, DREERKE

=

BIREEN: 7 kgflom?

B/NREEES: 4 kgflem? L
EEI S HaEn

» FEEIE

B B R TR A
EREEEERERTERBEEEEN 1.5,
BEEREERTERS, F2EE 135,

M®

» FEATURES

This product is perfect, design in a brief,the structure is compact,the weight is light,the service life is long R M
and holding capacity is strong.

Two types available---long stroke and short stroke .

Fixing from top , base or the side of the cylinder is ok.Fixing from top , base or the side of cylinder is ok.

Be applied in industial automatization,such as clipping of fiol,clipping and transporting of the work piece

on the conveyer belt,mainly used for packing pipelining.

Max. operating pressure: 7 kgf/cm?
Min. operating pressure: 4 kgf/cm?
Double acting

» NOTE
The acting speed of clamping-unclamping should be slowed down.
For customized clamp arm, please don't exceed 1.5 times of the original length and weight. AU fm sTie (FEEEHE
The methods to mount & remove and the rotation diagram of the clamp arm, please refer to page 13. --
----------------------------------------------------------------------------------------------------- CLAMPING FORCEAT _ SWING  CLAMPING TOTAL LINDER CAPACITY CYLINDER CAPACITY EFF.PISTON AREA EFF.PISTON AREA RANGE OF USABLE
srpetian — s 7kgf/cm® (kef) ~ STROKE (mm) STROKE(mm) STROKE(mm)  CLAMP(cm’) UNCLAMP(cm?) CLAMP(cm?) UNCLAMP(cm?) ~ TEMPERATURE(°C ) FLUID
> STBBIRNA PBS-25 24 95 10 195 6.57 9.57 3.37 4.91 -10~+60°C
ORDERING INDICATION PBL-25 24 9.5 20 29.5 9.94 14.48 3.37 4.91 -10~+60°C B8 = B I B
PBS-32 42 15 10 25 15.05 20.10 6.02 8.04 10~+60°C AR
PB-S 40 RX90-S2-P 2l Olled Dry
PBL-32 42 15 20 35 21.07 28.14 6.02 8.04 -10~+60°C Clean
Z7| Series PB PBS-40 74 15 10 25 26.40 31.40 10.56 12.56 -10~+60°C Compressed
PBL-40 74 15 20 35 36.96 43.96 10.56 12.56 -10~+60°C Al
e = Vit d=} .
7tz RoEL L L?]ng Stmkle PBS-50 116 19 20 39 64.35 76.56 165 19.63 -10~+60°C
S6LE FigES  SHEuienc PBL-50 116 19 50 69 113.85 135.45 165 19.63 10~+60°C
SET R
RELPAE P25, ®32 , D40, D50
Cylinder inside diameter
75 AEREL ST: Swing/ A FZR3
Rotating direction Turn right or turn left Clamping
A Tt fafE Standard angle 90° (£2°) '? FES25 1959510 109 8 3 (16 Me M8 7 32 40 42 28 O5509x9D M5 165 14 014 026 025 11
Rotating angle ST A E Order angle 0°, 45° (£2°) ,60°(£2°)
PBS-52 251510 134 B0 5 155 Mg M0 10 45 45 495 34 O5509x9D PTi8 165 16  ®16  ©30 029 148
RIERDREE S1: 1{& S11pcof S1 — PBL-32 35:15/20 154 90 - . : .
Sensor switch S2: 2@ S2:2 pcs of S2 ) 5
ggf_ig gg}ggg ]gi:g gg 3 []22 M8 M10 10 45 52 57 40 ®55-®9x12D PT1/8 19 16 »16 »30 ®29 148
e o7 EINEIERET, IEnEAmEREE R
<ion nositi Add locating pin design,to improve the repeat ’ ; : 2 35 (125 MIO M2 10 65 64 71 50 06.6-d11x13D PTi/4 24 17 ®20 ©37  ®3 20
Precision position precision of rotation angle — PBL-50 69:19/50 2465 1315 S d x

TR A

PNEUMATIC & HYDRAULIC CLAMPS

CATALOCUE 2018



PSB

BRI ]

PSB PNEUMATIC
SWING CLAMP

» EmiEt

RETHEE, R, E8K, SnRUMBSHHRIFHFTHRE —E=ERE.,
AEREAMNERES:  AIZEE FEMNTEAAERE.

BXRIREEN: 7 kgflom?

BNRIEEA: 4 kgflom?

EEISC: HaEnd

» F==EIE

BRI FE R R EE .
BHBEEERESNSBEEEREN 1.5,
EErEREERTIEREST, B2RE 138,

» FEATURES

This product is perfect , design in a brief,the structure is compact, the weight is light,the
service life is long and holding capacity is strong.

You can install an inductor on this product if you need.Fixing from top , base or the side of
cylinder is ok.

Max.operating pressure: 7 kgf/cm?
Min.operating pressure: 4 kgf/cm?
Double acting

» NOTE

The acting speed of clamping-unclamping should be slowed down.
For customized clamp arm, please don't exceed 1.5 times of the original length and weight.

The methods to mount & remove and the rotation diagram of the clamp arm, please refer to page 13.

» STEEENA

ORDERING INDICATION

PSB -L 40 X90-51-P

%7 Series PSB

750 A8 R /e |

Rotating direction Turn right R or turn left L

RELPSE ®25, ©32, D40, D50, D63

Cylinder inside diameter

S IZ#ERE Standard angle 90° (£2°)

Rotating angle S FBE Order angle 0°, 45° (+£2°) ,60°(£2°)

EAERRE S1: 118  Su1pcofS
Sensor switch S2: 2 1@ S2:2 pcs of 52

SEINENISNRE, IR B
Add locating pin design,to improve the repeat
precision of rotation angle

BEEuE
Precision position

£ X TR
EENEE=EE

PNEUMATIC & HYDRAULIC CLAMPS

B3R

PSB-25
PSB-32
PSB-40
PSB-50
PSB-63

PSB-25
PSB-32
PSB-40
PSB-50
PSB-63

» Swing stroke 13mm Clamping stroke 14mm
» (A x#F&7FL Clamping port &&= FL Unclamping port

ERAST
( 7kgf/lcm?)

CLAMPING FORCE AT
7 kgf/cm? (kgf)

24
42
74
116
196

ST: Swing/

[HETTTTT]
27:13/14
30:16/14
30:15/15
32:17/15
30:15/15

FE5IA

E2

SWING CLAMPING TOTAL
STROKE (mm) STROKE(mm) STROKE(mm)
13 14 27
16 14 30
15 15 30
17 15 32
15 15 30

A Unclamp B
109 78 [116
126 90 (119
126 90 [119
137 100 [J 25
137 100 [J 25

M8 6
M8 9
M8 9
M10 10
M10 10

50
60
70
80
90

35
45
55
65
80

RNBE

HHETE

ANZEEE EHSEEE

CYLINDER CAPACITY  CYLINDER CAPACITY EFF.PISTON AREA EFF.PISTON AREA
CLAMP(cm?) UNCLAMP(cm®) TEMPERATURE(°C)

CLAMP(cm?)

9.10
18.06
31.68
52.80
84.06

56 15 20
60 20 30
70 25 37
85 30 46
100 37.5 60

40
45
52

80

UNCLAMP(cm?)

13.26
24.12
37.68
62.82
93.48

11 145
12 21
15 22
175 25
18 20.5

475
51.5
49
53.5
56.5

35
45
40
40
35

3.37 4.91

6.02 8.04
10.56 12.56
16.5 19.63
28.02 31.16

©6.8-®11x7D 6.8
©6.8-®11x7D ®6.8
®8.5-®14x9D ®8.5
®8.5-®14x9D 8.5
$10.5-916.5x10.5D P10.5

(EFIREEE

RANGE OF

-10~+60°C
-10~+60°C
-10~+60°C
-10~+60°C
-10~+60°C

M5
PT1/8
PT1/8
PT1/8
PT1/8

pc}

C

M8x20D
M8x25D
M10x20D
M10x30D
M12x25D

CATALOCUE 2018

115
116

FLUID
82 B IR B

Oiled Dry
Clean
ompressed
Air

Unit:mm

D14
16
16
@20
20



117
118

PNEUMATIC

LEVERAGE CLAMPS
QUEEILET T »

I PNEUMATIC & HYDRAULIC CLAMPS CATALOGUE 2018 I



119
120

CALC

HEIRTURIBREL

CALC PNEUMATIC
LEVERAGE CLAMP

» (B sHEEFL Clamping port
K& 7L Unclamping port

» EmiStE o
A RERET, IRFIRERIBMIARLL, MNEER AT, EEELRRER

fE, TEMBTORENIRING, ZEE, "’V

RS ERARES, NEREUE, MEER, FRSHR, SOTHIBRIOR 0

FRMS SIS R R, BREIMIA -

KRG EIERSEI A A RERDRD .
BAEBRIEES: 7 kgflom?

S/NRIEEH: 3 kgflem?
EEhs=: HEN

4 /E%%IE J
RERKMEAFENRERBEEE . I
» FEATURES ‘

Applied Standardized fixture clamp in this series of product, and fitted with levertype holding
structure. Piston push out for clamping. Main spare parts of this product be installed outside
of the body for convenient maintenance.

The material of body is aluminum alloy. The surface of internal is smooth, and has a
long service life. Clamping spare parts material is carbon steel which used for mechanical
configuration, firm and wear-resistance.

All models of this series equipped with magnetic induction are available.

CLAMPING FORCE AT ~ CLAMPING TOTAL EFF.PISTON AREA  CYLINDER CAPACITY  EFF.PISTON AREA EFF.PISTON AREA RANGE OF

Max. operating pressure: 7 kgf/cm? MODEL 7kef/cm® (kgf) ~ STROKE(mm) STROKE(mm)  CLAMP(cm?) UNCLAMP(cm?) CLAMP(cm?) UNCLAMP(crm?) TEMPERATURE(°C )
Min. operating pressure: 3 kgf/cm’ CALC-25 20 17 20 9.82 8.24 491 412 -10~+60°C
Double acting CALC-32 31 20 23 18.49 15.89 8.04 6.91 10~+60°C @Eéfﬂgg@
------------------------------------------------------------------------------------------- CALC-40 56 22 25 31.40 26.40 12,57 10.56 -10~+60°C Oiled Sry
» NOTE CALC-50 91 27 30 58.89 49.47 19.63 16.49 -10~+60°C Clean

© d

CALC-63 169 32 35 109.06 98.00 31.16 28 -10~+60°C Omg_resse

The acting speed of clamping-unclamping should be slowed down. CALC-80 279 40 43 216.03 195.22 50.24 45.4 -10~+60°C "
........................................................................................... CALC-100 469 45 48 376.80 338.4 785 70.5 -10~+60°C

» ETESIRNA
MiEAR AR

£ Series CALC
v Standard type Standard type With magnetWith magnet ¢

Blank Z#EA) Standard type A1 B A1 B

MS s With magnetic induction CALC-25 655 41 755 51 [J13 6 ®5 25 50 45 14 17 3 40 - 28 M5x08 105 M5x08 8  75° ®10

SHTRE 25, $32 , D40, D50 | CALC32 78 49 93 64 [116 8 ®6 31 60 53 17 20 3 44 50 34 M5x08 11 PT1/8 9 70° @12

Cylinder inside diameter ®63, P80, 100 CALC-40 82.5 51.5 97.5 66.5 [116 8 ®6 32 65 58 20 22 3 52 58 40 M6x1.0 95 PT1/8 10 65° ®16
CALC-50 96.6 58.6 106.6 68.6 [119 10 ®8 35 75 66 23 27 3 62 71 48 M6x1.0 11 PT1/4 11 70° @20

AR S1: 1{& S pcof S CALC-63 1155 725 1255 825 [122 10 ®8385 85 76 29532 3 7584560 M6*1.0 11 PT1/4 11 65° @20

sensor switch 52: 2f@ s22 pes of 52 CALC-80 138 84 148 94 [122 10 ®10 47 105 94 37 40 3 94 104 74 M8 15.5 PT1/4 14 65° @25
CALC-100 163.5 99 173.5 109 [125 12 ®12 53 125 110 45 45 3 114 124 90 M10 15 PT1/4 18 60° @32

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



121
122

CPLCU

RUBMEARHL

CPLCU PNEUMATIC
LEVERAGE CLAMP

» EEmiFit

FRSRIMEIRAiR G  BERMER 4540, AyRIE  REERK.
FERERTSERESE, BT RIMNME, BHEHR.
ERTERRE, FIHEZKE, 5,

BRABRIEEA: 7 kgflom?
B/NRIEEAS: 3 kgflem?
EEIS: HaEnd

» FEEIE

REN W PENEEFTHEAE .

» FEATURES

Body material:Aluminum alloy 6061T6 hard coat. Piston: S45C, Hard Chromed.
Use high-quality seal to avoid leakage and keep long operation. .
Leverage structure design, the fixture can clamp easily, perform efficiently. > @ FERFL Clamplng port

EEEFL Unclamping port

Max. operating pressure: 7 kgf/cm?
Min. operating pressure: 3 kgf/cm’
Double acting

HLZBREE L= fEFRREEE
» NOTE
CLAMPING FORCE AT~ CLAMPING TOTAL CYLINDER CAPACITY  CYLINDER CAPACITY  EFF.PISTON AREA EFF.PISTON AREA RANGE OF USABLE
) ) X 7 kgf/cm? (kef) STROKE(mm) STROKE(mm) CLAMP(cm?) UNCLAMP(cm?®) CLAMP(cm?) UNCLAMP(cm?) TEMPERATURE(°C) FLUID
The acting speed of clamping-unclamping should be slowed down
........................................................................................... CPLCU-25 27 20 24 11.78 8.09 4.91 3.37 -10~+60°C BIE T BIRE
CPLCU-32 42 28 32 25.73 19.30 8.04 6.03 -10~+60°C YRR
N — o Oiled Dry
= C:i] N CPLCU-40 67 30 33 41.45 34.82 12.56 10.55 -10~+60°C
4 u]—,ﬁ\%%?/_.l—\/i * Clean
CPLCU-50 107 30 33 64.78 54.42 19.63 16.49 -10~+60°C Compressed
ORDERING INDICATION CPLCU-63 170 30 33 102.83 92.47 31.16 28.02 -10~+60°C Air
CPLCU - 40 R- W
CPLCU SIS CPLCU Unit:mm
& &
a0 [ERRE ©25, 332, D40 , D50 , D63

Cylinder inside diameter

CPLCU-25 1285 865 25 16 17 6 ®6 50 55 41 18 26 6.5 4.5 M40x1.5 50 37 ®5.5-09x5.5D M5 7 23 o114 M6 70°
r RS N CPLCU-32 1495 975 25 18 20 8 ®6 57 68 52 22 33 8 5 M50x1.5 60 45 ®©65-®11x65D PT1/8 8 23 ®16 M8 75°
Lever arm direction R: 5 LZE Blank:ZH CPLCU-40 1575 975 25 20 25 8 ®8 60 75 56 24 33 13 4 M55x1.5 65 50 ®65-011x65D PT1/8 10 26 ®16 M8 78°

M65x1.5 75 58  ®8.5-014x85D PT1/8 14 32 ®20 M12 70°
M80x1.5 90 70 ®8.5-P14x85D PT1/8 14 35 @20 M12 60°

CPLCU-50 174 104 25 22 30 10 ®10 65 875 635 275 44 11 10

. ATES | = E SRR
W W SR L= BRRE R CPLCU-63 179 105 25 22 30 10 @10 69 98 74 32 48 11 10

W W w s~ N

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



THIN TYPE
ALUMINIUM
ALLOY PNEUMATIC
CYLINDERS

e A0 A N[
ﬁ—ﬁfrﬂiamiﬁ_&bfﬁl v




125

126
P ETHBIETRE
ORDERING INDICATION
UC-D Q2w B 20 10 S M D-A73 x2
27l Series uc
UCQ2 THIN-TYPE e
PNEUMATIC e . SORAMRIAS D: OMIBIERRE  NilNomagnet D:With magnet
CYL | N D E R EE Q2: B8dl  Q2W: &5 Q2: Single end rod Q2W: Double end rod
Piston rod
TERGE - . 5
Mounti;lg method A: IRAIIEAY B: @7l (1Z#) A:Female thread B:Hole
» EmiF
ERANANTEY
””””””””””””””””””””””””””””””””””””””””””””””””””” ;L. W{. . ®12 , P16, P20 , P25, P32 , P40 , P50 , P63 , P8O , D100
; ; Cylinder inside
SEIHE ( mm) P P12 P16 ©20 P25 D32 P40 P50 D63 P8O D100 diameter
ZHEETEE (mm) 5,10,15,20,25,30,35,40,45,50
1286 ( ) | Max30 1 Max50 1712 5,10,15,20,25
TAzatE (mm) | Max30 | ax Stroke 30, 35,40, 45, 50
FAIRESE (°C ) 10 ~ +60 °C
‘ —. . 8E)
BXIRIEEN: 10 kgflom? fﬂﬁiﬂ S: &) (E[[O) Nil: Double acting ~ S: Single acting(Retracted) T: Single acting(Extended)
BR/NRIEEED : 1 kgf/lem? g T. 258 (EL)
”””””””””””””””””””””””””””””””””””””””””””””””””””” #fiHEZ Rod end M NF M: 98F Nil: Female M: Male
=z N
» FREIE JFE#239%9 Rod end D-A72:AC220V 5-10mA  D-A73:DC24V 5-40mA AC100V 5-20mA
UCQ2 RZInTMit e ( BESE)ARIREIERE ) (& OQuantity l:dpcs  2:2pcs
17727E 50mm LA BRI ES! N N, -
s AL AR BRSBTS
——————————————————————————————————————————————————————————————————————————————————————————————— Usable fluid: Oiled Dry Clean Compressed Air
» FEATURES
— : UCQ2A/UCDQ2A M PR
s @12 ®16 @20 ®25 @32 40 ©50 63 P8O 100
i Unit:mm
Stroke(mm) 3 5,10,15,20,25,30,35,40,45,50 EE (mm)
i ‘ DIAMETER 12 16 ] 25 32
R f i i
strgl?g(emom) P Max30 Max:50 o) M4x0.7 M4x0.7 M6x1.0 M6x1.0 M6x1.0
? ; : ‘ R 7 7 10 10 10
ange o i o
temperature(°C) ! -10 ~+60 °C — )
I (mm)
DIAMETER 40 50 63 80 100
Max. operating pressure: 10 kgf/cm®
Min. operating pressure: 1 kef/cm” o M6x1.0 M8gx1.25 M10x1.5 M12x1.75 M12x1.75
R 10 14 18 22 22
» NOTE
Magnetic piston(optional). UCQZA/U(:quA
B T B e e i MEET
» EFEESE)SEE] DOUBLE-SINGLE ACTING CYLINDERS
Eiﬂﬁj\ﬂ (J%@ ) - o Unit:mm
Single acting-normally retracted ~ JCQ2-S ﬂ:lTAlillE‘:Sll) 12 16 2 25 2
piston rod type
BEEHE (EL) c 9 10 12 15 20.5
Single acting-normally extended ucQ2---T IZQ:M X 10.5 12 14 17.5 23.5
piston rod type oD 6 8 10 12 16
HEE BT HHE AR H M5x0.8 M6x1.0 M8x1.25 M10x1.25 M14x1.5
Double acting-single ucQ2--- :%]j L 14 15.5 185 225 285
end rod type K 5 6 8 10 14
EeE) ES Y BT M R p
Double acting-single end rod UCDQ2- ﬂ;fm(ﬁgg) 40 50 63 80 100
type(piston with magnet)
gyt agm C 20.5 26 26 325 325
Double acting- UCQ2W :g:%: X 235 28.5 28.5 35.5 35.5
double end rod type @D 16 20 20 25 30
N H M14x1.5 M18x1.5 M18x1.5 M22x1.5 M26x1.5
ST BRI e R . . . . v
Double acting-double end rod UCDQ2W:--- I:g%: L 22 250 530 o e
K 14 17 17 22 27

type(piston with magnet)

PNEUMATIC & HYDRAULIC CLAMPS CATALOGUE 2018



127

128
UCQ2A.. STYPE
Bore @12~@25 Bore @32~@100
S s - Bore ®32~®50
H 24 7R C H 8245 3R C Bore ®12~d25
U 4-@N 1BFL
8-00 FRiEFL
> Pl
(Vp]
N = W
« 2-@N jEBFL
_ N K
O, y 4-@0 L
S
E . M
ezl :
FiRa ] 2-p
S
, Q
1R 2-p O
Q F
o =
1S
2-P L
Q F & B+Stroke
L B+Stroke
A+Stroke
A+Stroke
Unit:mm
DIAMETER Iﬁiﬁﬁ A Unitmm

EIAR
DIAMETER

12 530 205315 17 28 ®6 32 6 6 M3x05 6 - - 5 35 22 ®35 ®6.5;F3.5 M5x0.8 M5x0.8 65 65 355 195 25 -

16 530 22 34 185305 ®8 38 6.5 6.5 M4x0.7 8 - - 6 3.5 28 ®35 D6.5;F3.5 M5x0.8 M5x0.8 7 7 415 225 29 -

20 550 24 36 19.531.5 ®1046.86.5 6.5 M5x0.8 7 - - 8 45 36 ®55 @IF7 M5x08 M5x08 8 8 48 245 36 - 12 255 305 @ - 22 27 - @6 32 6 6 M3x05 6 - - 53522 ®3.5 ®6.5;%3.5 M5x0.8 M5x0.8 - 65 65 25 -

25 550 27.537.5225325®12 52 7 7 M6x1.0 12 - - 10 5 40 ®55 ®9iF7 M5x0.8 M5x0.8 10 10 535 275 40 - 16 27 32 - 235 285 - ®8 38 65 65 M4x0.7 8 - - 6 3528 3.5 P6.53F3.5 M5x0.8 M5x0.8 - 7 7 29 -

32 150-50 30 40 23 33 ®16 45 8 8 M8x1.2513 60 45 14 7 34 @55 O9F7 Mé;%s G1/8 95 95 585 315 - 18 20 29 34 : 245295 01046865 65 M5x08 9 - - 8 4536 055 ‘Dg;i7 M5x0.8 M5x08 - 8 8 36 -
25 325 375 - 275 325 - ®12 52 7 7 Méx1.012 - - 10 5 40 ®55 ®9;F7  M5x0.8 M5x0.8 - 10 10 40 -

40 5-50 36.5 46.529.539.5 ®16 52 9 9 M8x1.2513 69 5 14 7 40 @55 O9F7 G1/8 G1/8 105 10.5 66 35 - 18 32 35 40 : 28 33 . ®16 45 8 8  M8x1.2513 ®604.5 14 7 34 P55 OIF7 M5x08 Gi/8 - 95 95 - 18

50 10-50 38.5 48.5 30.5 40.5 ®20 64 11 11 M10x1.515 8 7 17 8 50 ®6.6 ®11;x8 Gi/4 G1/4 1 11 80 41 - 22 40 M5 465 - 345 395 - @16 52 9 9 M8x12513 D69 5 14 7 40 P55 DIR7 Gis  Gie - 105 105 - 18

63 10-50 44 54 36 46 ®20 77 11.511.5M10x1.5 15 103 7 17 8 60 @9 ®D14;8105 Gi/4 G1/4 15 15 93 475 - 22 50 . 485 585 . 405 505 ®20 64 11 11 M10x1515 ®86 7 17 8 50 066 1158 ) G4 G4 11 11 - 2

80 10-50 53.5 63.5 43.5 53.5 ®25 98 14 14 M16x2.0 21 132 6 22 10 77 @11 ®17.5;813.5 G3/8 G3/8 15 15 1125 575 - 26 S LLEARBRRTEEATEEE Remark: Above Aand B size contains stroke length .

100 10-50 65 75 53 63 ®30 117 16.516.5M20x2.5 27 1566.5 27 12 94 @11 ®17.5;813.5 G3/8 G3/8 22 22 1325 675 - 26

B Y SERMMEREIRY Remark: With “*” mark is for magnetic cylinder dimensions.

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



129
130

UCQ2B.. T TYPE UCQ2W...B.../UCDQ2W.. B.. TYPE

UCQ2A._T TYPE UCQ2W. A _/UCDQ2W. A_TYPE

Bore ®12~®25 Bore ®32~®50

Bore ®12~®25 Bore ®32~®100

Unit:mm

EfE  fTiREEE

DIAMETER  (mm)

unitmm 12 530 322 394 255324 ®6 32 65 65 M3x05 6 - - 535 22 35 0653535 M5x0.8 M5x08 65 65 355 195 25 -

1S =
DIAMETER Qsst Q10st 16 530 33 43 26 36 ®8 38 7 7 M4x07 8 - - 6 35 28 B35 O65iF35 M5x0.8 M5x0.8 7 7 415 225 29 -
20 550 35 47 26 38 P10 468 8 8 M5x08 9 - - 8 45 36 ®55 GIR7 M5x0.8 M5x0.8 8 8 48 245 36 -
B mE aE . m m an e T 7 MBI B - - B G5 WE . es BT Ne0R Wemn . 6F BE 55 - 25 550 39 49 29 39 ®12 52 {0 10 M6x1.0 12 - - 10 5 40 ®55 GIR7 M5x0.8 M5x0.8 10 10 535 27.5 40 -
16 32 42 - 235 285 - ®8 38 65 65 M4x07 8 - - 6 85 135 - 2835 ®65IF35 M5x08 M5x08 - 7 7 29 - 32 1050 445 545 30.5 405 O16 45 9.5 9.5 MBx.25 13 ©60 4514 7 34 @65 O09FT ‘g GUB 95 95 585 315 - 18
O I I O L e e IO 40 550 54 64 40 50 ®16 52 105 10.5M8x1.25 13 ®69 5 14 7 40 ®55 097 Gi/s  Gl4 105 105 66 35 . 18
25 375 475 - 275 325 - 12 52 7 7 Mex1.012 - - 10 10 15 - 40 55 O9FE7 M5x0.8 M5x0.8 - 10 10 40 - P i G5 G 405 598 GE @ T ieaE B em 7 0 @ 69 Gah eieE em @E W @ 4 o
32 40 50 28 33 ®16 45 8 8 M8x1.2513 P60 4514 12 17 34 55 O9R7 M5x0.8 G1/8 95 95 - 18 o W £ G5 (B 8 G o 15 B0 B ome 7 6 0 o8 OLmns e @0 @ 0 ®  @e .
40 465 565 345 395 ®16 52 9 9 M8x12513 969 5 14 12 17 40 55 mg’?‘_ Gie a1/ 105105 - 18 80 1050 71 81 51 61 ®25 98 15 15 M16x2.0 21 ®132 6 22 10 77 O1 O17.5F135 ga)g G338 15 15 1125 575  _ 26
0 - 585 785 - 405 505020 64 11 11 MIOX1515%86 7 17 - 18 28 5066 OINK : G4 GUa 1t 11 22 100 10-50 84.5 945 60.5 70.5 ®30 117 22 22 M20x25 27 ®1566.5 27 12 94 @11 O17555135 Ga)g G3/8 22 22 1325 675 26

= = S < k<= ) . .
I LEARBHRIEEAITIERE Remark: Above A and B size contains stroke length . S EEATAMEIIRT  RemarkWith " " mark is for magnetic cylinder dimensions

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



131

132
1R MELL
PN E U MATI C Bore ®12~®d16 Bore ®20~®100
» EmiFlt
SHRE (mm) |12 ¢>16‘ 20 ‘ ©25 32 40 D50 P63 D8O D100
ZATIE (mm) 5,10 ,15,20,25,30 ,35,40, 45,50
1TiEEE (mm) Max:60 ‘Max:loo‘ Max:100
FRRERE (°C) -10 - +60°C
BABREES: 10 kgflom?
S/NRIEEH: 1 kgflem?
E&n =0 HEnl
» EEFEIH
17727E 50mm LA EBtEHE
""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""" ) ETEEIE S
» FEATURES R BBISNE
ORDERING INDICATION
Cylinder inside
diameter(mm) ®12 P16 20 ©25 P32 P40 D50 P63 D8O D100 SDA-D S-20-10-B
Stroke(mm) 5,10 ,15,20,25 ,30, 35,40, 45 , 50 5 Serles R e
Range of TEER oo -
stroke(mm) Max:60 | Max:100 Max:100 Pioton rod o EBEh D: g8 J: EEhnTH Nil: Single end rod D: Double end rod J: Double rod of adjustable stroke rod
Range of °
temperature(°C) -10~+60°C } ] )
BRI EIEIRAE S BIRLIE/EE  Nil: No magnet S: With magnet
Max. operating pressure: 10 kgf/cm® Magnet
Min. operating pressure: 1 kgf/cm’
Double acting ERANATEY
"""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""" Cylinder inside D12 , D16, P20 , P25, P32 , P40 , D50 , P63, P8O , D100
» NOTE diameter
Stroke in more than 50 mm belongs to special custom.
— 52
» EE)SFET DOUBLE ACTING CYLINDERS Stroke >, 10,15,20,25, 30,35, 40,45, 50
BN RS ERY SDA %:Ij .
Double acting-single 2 T . . i, ,
end rod type Rod end /. NI B: 9 F Nil: Female B: Male
ﬁééﬂfﬁiﬂiﬁéﬂﬁﬁ%ﬁﬁi@ﬂ? ) SDAS %]] FRRE. BRTRIERESR
oubE acting-ingie end ro Usable fluid: Oiled Dry Clean Compressed Air
type(piston with magnet) ry P Unit:mm
D)= Tt — DIAMETER £I/& B2 3 F G H J K2 L M v w
Double acting-double SDAD L 1 | ]
end rod type L [T 12 17 16 4 1 10 4 M5x0.8 10.2 2.8 5
ﬁééﬂ%iﬂ]ﬁéﬁﬁﬁ%{'&@% 16 17.5 16 4 1.5 10 4 M5x0.8 11 2.8 5
Double acting-double end rod SDADS L I ] 20 20.5 19 4 1.5 13 5 M6x1.0 15 2.8 8 6
type(piston with magnet) 25 23 21 4 2 15 6 M8x1.25 17 28 10 8
SEE T TR 32 25 22 4 3 15 6 M10x1.25 22 28 12 10
AtdjukSt?Able strokBe cyIinde)r(adjustabIe SDAJ :g:%mj 40 35 32 4 8 25 8 M14x1.5 28 2.8 16 14
stroke:A:25mm,B:50mm
! 2 £ 50 37 33 5 4 25 1 M18x1.5 38 2.8 20 17
)=t Ry A e g i 63 37 33 5 4 25 1 M18x1.5 40 2.8 20 17
Adjustable stroke cylinder
stroke:A:25mm,B:50mm) 100 50 45 7 5 35 13 M26x1.5 55 4 32 27

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



133
134

SDA/SDAS TYPE SDAD/SDADS TYPE

Bore ®12~®d16 Bore ®20~®100
Bore ®12~®P16 Bore ®20~®100

Unit:mm Unit:mm

4@
DIAMETER  (BEERY

RS
DIAMETER 1EHERY FREL

12 2 5 17 3 5 27 - 6 6 4 1 M3x0510228 63 6 M5x0.8 &5 :06.55 M5x0.81BF, P4.2 12 45 - 251622316 6 5 - - 12 27 5 17 37 5 27 - 6 4 1 M3x0.510.2 28 6.3 6 M5x0.8 &8 :06.5F M5x0.8 7, P42 12 45 - 25 16223 16 6 5 - -
16 24 55 185 34 55 285 - 6 6 415M3x05 11 2.8 7.3 6.5 M5x0.8 &% :06.5 F M5%0.8 i#f, 4.2 12 45 - 291982816 6 5 - - 16 295 55 185 39.5 55 285 - 6 415 M3x0.5 11 2.8 7.3 6.5 M5x0.8 58 :06.5 F M5x0.8 {7, 4.2 12 45 - 29 19828 16 6 5 - -
20 25 55 195 35 55 205 36 8 8 415M4x07 15 28 75 - M5x0.8 &5 :06.55F M5<0.8 1BFL P4.2 14 45 2 34 24 - 21 8 6 11310 20 30.5 5.5 19.5 40.5 5.5 29.5 36 8({TAIZ =555 6.5) 4 1.5 M4x0.7 15 2.8 7.5 - M5x0.8 % :06.5 F M5x0.8 BFL P42 14 45 2 34 24 - 21 8 6 11.3 10
25 27 6 21 37 6 31 42 10 10 4 2 M5x08 17 28 8 - M5x0.8 £ :08.2 5 M6x1.0#F ®4.6 15 55 2 40 28 - 3.110 8 12 10 25 33 6 21 43 6 31 42 10({Ti2=5ME7) 4 2 M5x0.8 17 2.8 8 - M5x0.8 &8 :08.2 7 M6x1.0 B, P46 1555 2 40 28 - 31 108 12 10
32 315 7 245 415 7 345 50 12 12 4 3 M6x1.0 22 28 9 - PT1/8 &2 :98.2 7 M6x1.0 BFL P46 16 55 6 44 34 -2.151210 18.3 15 32 385 7 245 485 7 345 50 8 12 4 3 M6x1.0 22 28 9 - PT1/8 £42:08.2F M6x1.0i@F,. D46 16 55 6 44 34 - 2151210 18.3 15
40 33 7 26 43 7 3 58512 12 4 3 M8x1.2528 28 10 - PT1/8 £42:010 7 M8x1.25 B, ®6.5 20 7.56.552 40 -2.251614 21.3 16 40 40 7 26 50 7 36 585 9 12 4 3 M8x1.2528 28 10 - PT1/8 ##2 :010F M8x1.25 @F, ®6.5 20 7.56.5 52 40 - 2.251614 21.3 16
50 37 9 28 47 ) 38 71515 15 5 4 M10x1.538 28 105 - PT1/4 #52:011 7 M8x1.25 i@F ©6.5 25 8.59.5 62 48 -4.152017 30 20 50 46 9 28 56 9 38 715 11 15 5 4 M10x1.5 38 2.8 10.5 - PT1/4 #%:011 7 M8x1.25 &@FL ®6.5 25 8.59.5 62 48 - 4152017 30 20
63 41 9 32 51 9 42 84515 15 5 4 M10x1.540 28 11.8 - PT1/4 #2:011 7F M8x1.25 BF ¥6.5 25 8.59.575 60 -3.152017 28.7 20 63 50 9 32 60 9 42 845 11 15 5 4 M10x1.5 40 2.8 11.8 - PT1/4 #i%:011 F M8x1.25 &L ®6.5 25 859.5 75 60 - 3.152017 28.7 20
80 52 11 41 62 11 51 104 15 20 6 5 M14x1.545 4 145 - PT3/8 #2014 7F M12x1.75 18| ©9.225 10.510 94 74 -3.652522 36 26 80 63 11 41 73 11 51 104 14 20 6 5 M14x1.5 45 4 145 - PT3/8 #58:014 7F M12x1.75 187, #9.22510.510 94 74 - 3.652522 36 26
100 63 12 51 73 12 61 124 18 20 7 5 M18x1.555 4 205 - PT3/8 #iE :017.5F M14x2 i@f ®11.330 13 10114 90 -3.653227 35 26 100 75 12 51 85 12 61 124 18 20 7 5 M18x1.5 55 4 205 - PT3/8 &2 :D17.5F M14x2 1B7, ®11.330 13 10 114 90 - 3.653227 35 26

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



135
136

Bore ®12~®16 Bore ®20~®100

Unit:mm

DIAMETER

712 <10 | 1722 >10

12 40 5 17 50 &5 27 - 6 4 1 4 M3x0.5 10.2 2.8 6.3 6 M5x0.8 #2:16.5F M5%0.8 iEF, P42 1245 - 251622316 6 5 - -
16 425 55 185 525 55 285 - 6 4154 M3x0.5 11 2.8 7.3 6.5M5x0.8 &2 :d6.5F M5%0.8 iBF, P42 1245 - 291982816 6 5 - -
20 475 55 195 57.5 55 29.5 36 8({Ti2=5M5F6.5)4 1.55 M4x0.7 15 2.8 7.5 - M5x0.8 £2:16.55 M5x0.8 [EF, P42 1445 2 34 24 - 21 8 6 11.310
25 55 6 21 65 6 31 4210(f7fE=55E7)4 2 6 M5x08 17 28 8 - M5x0.8 #% :08.2 F M6x1.0 B, P4.6 1555 2 40 28 - 3.1 10 8 12 10
32 615 7 245 715 7 345 50 8 12 4 36 M6x1.0 22 28 9 - PT1/8 &2 :18.27F M6x1.0 EF, P4.6 16 55 6 44 34 - 2.15121018.315
40 65 7 26 75 7 36 585 9 12 4 3 8 M8x1.25 28 2.8 10 - PT1/8 % :®10 5 M8x1.25 @7, 6.5 20 7.5 6.5 52 40 - 2.25 16 1421.316
50 73 9 28 83 9 38 715 11 15 5 4 11 M10x1.5 38 28105 - PT1/4 #52:011 ZF M8x1.25 j@f P6.5 25 8.5 9.5 62 48 - 4.15 20 17 30 20
63 77 9 32 87 9 42 845 11 15 5 4 11 M10x1.5 40 2.811.8 - PT1/4 #52:011 ZF M8x1.25 j@f P6.5 25 8.5 9.5 75 60 - 3.15 20 1728.7 20
80 94 11 41 104 11 51 104 14 20 6 513M14x1.5 45 4 145 - PT3/8 &2 :P14 7F M12x1.75 iE7l, $9.22510.5 10 94 74 - 3.65 2522 36 26
100 105 12 51 115 12 61 124 18 20 7 513M18x1.5 55 4 205 - PT3/8 &2 :®17.5 F M14x2 @7F ®11.330 13 10 114 90 - 3.65 3227 35 26

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



137

. _. 138
D E P ATEBIZTRA
ORDERING INDICATION
DEN-50 N 125 B FA-Y LNOIE X 2
271 Series DEB / DED / DEN
RELPEE ®32 , ©40 , P50 , D63
Cylinder inside ®80 . D100
diameter ’
M RRIE N: EEMIRLIERHE  Nil: No magnet
Magnet M: PB4/ D: With magnet
{552 Stroke 25, 50,75 ,100, 125, 150 , 175 , 200 , 225, 300 , 350, 400 , 450 , 500
GCIECrar A: BI58 256mm B: AJF 50mm C: @I58 76mm
Adjustable stroke  A:Adjustable 25mm B:Adjustable somm C: Adjustable 7smm
» EmIFE
FA: 85i%RI Front flange CA: EEE Male pivot Y: Y BU59E Rod clevis
SETRR 32 40 50 63 80 ®100 ' d @ P @ @
=TI 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500 Bt ~ FB: f&%M After flange :qgl CB: #EFE Female pivot @ G: ffR#EEE Oscillating eye @
FRRESRE -10 ~ +60 °C Accessories

TC: =hRJEMES Intermediate pivot :.qgﬂﬂ LB: 3728 Axial foot @ K: ¥&#£88 Compensating joint ;@

BAIREES: 10 kgflcm”

= \B I EE T - 2
=/MRIEBEST: 1 kgflom JFIZBIRI Sensor switch

........................................................................................... 2& Quantity 1:1pcs 2:2pcs
) SEESEIE AR BRZHIEBETR

Usable fluid: Oiled Dry Clean Compressed Air
DEB R aJ Myt e

REHZBELFFS 1SO 6430 fRA% DEB TYPE

» FEATURES
Cylinder inside
diameter(mm) ®32 ®40 ®50 »63 ®80 ©100
Stroke(mm) 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500
Range of .
temperature(°C) -10 ~ +60 °C

Max. operating pressure: 10kgf/cm?
Min. operating pressure: 1 kgf/cm?

........................................................................................... ~oeorvee |
» NOTE

Magnetic piston(optional).
DE series cylinders according to 1SO 6430 (Bore size & 32-®100)

» #F)FEL DOUBLE ACTING CYLINDERS

S =]
Double acting-single end rod type DEB

EENES BRI RE

Double acting-single end rod type(piston with magnet) DEB--M

s i ==
Double acting-double end rod type DED Unit:mm

DIAMETER £I7& A1

eI EY IR I R E

Double acting-double end rod type(piston with magnet) DED--M :%: 32 187 140 47 93 28 32 15 275 22 17 6 M10x1.25 M6x1 95 13.75 Gi1/8" 35 75 7 45 33 12 10
e e s 40 191 142 49 93 32 34 15 275 24 17 7 Mi2x125 Mex1 95 135 G1/4" 6 82 9 50 37 16 14
SEENEERER] S TH DEN--N--A :%:Zﬁ 50 207 150 57 93 38 42 15 275 82 23 8 Mi6x15 Mex1 95 135 GI4' 85 82 9 62 47 20 17
Adjustable stroke cylinder(adjustable stroke:A:25mm,B:50mm) DEN:-N---B 63 210 153 57 96 38 42 15 275 32 23 8 Mi6x1.5 M8x1.25 95 135 G38" 7 82 85 75 56 20 17
BT TR N R e DN A 80 258 183 75 108 47 54 21 33 40 2 10 M20x15 Mi0x15 115 165 GIB' 10 95 14 %4 70 25 2
Adjustable stroke cylinder (piston with magnet) SV :%ﬂ' 100 264 189 75 114 47 54 21 33 40 26 10 M20x1.5 M10x15 11.5 165 Gi/2"° 11 95 14 112 84 25 22
(adjustable stroke:A:25mm,B:5omm)

E BRI RIHEE Remark:The dimensions of magnetic type are same as no-magnetic type.

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



139
140

DEN TYPE - SN
G £ ARIZT8 OSCILLATING EVE G ;¥E){Z#55 COMPENSATING JOINT

Unit:mm Unit:mm

DIAMETER &[S A2 DIAMETER £11Z G fafRfEE K i ZEhizaE

32 182 47 93 28 32 15 275 22 17 6 M10x1.25 Mex1 95 1375 G1/8" 35 75 7 45 33 12 10 21

40 185 49 93 32 34 15 275 24 17 7 MI2x1.25 Meéx1 95 135 Gi/4" 6 82 9 50 37 16 14 21 32 10 14 1 26 43 56 M10x1.25 21 17 58 22 7 M10x1.25 12 26 17

50 196 57 93 38 42 15 275 32 23 8 M16x1.5 M6x 1 95 135 G1/4" 85 82 9 62 47 20 17 23 40 12 16 12 30 50 65 Mi12x125 24 19 58 22 8 Mi2x1.25 12 28 19

63 199 57 96 38 42 15 275 32 23 8 M16x1.5 M8x1.25 95 135 G38" 7 82 85 75 56 20 17 23 50 16 21 15 38 64 83 Mi6x1.5 33 22 90 27 10 Mi6x1.5 14 45 27

80 243 75 108 47 54 21 33 40 26 10 M20x15 M10x1.5 115 165 G38" 10 95 14 94 70 25 22 29 63 13 21 o £ C& E L. 22 ) 2 0 Pk 16 e 24

100 249 75 114 47 54 21 33 40 26 10 M20x15 M10x1.5 115 165 G1/2" 11 95 14 112 84 25 22 29 80 20 25 18 46 ” 1007 M20x1.5 40 %2 102 29 187 M20x1.5°18 23 %
100 20 25 18 46 77 100 M20x15 40 32 102 29 13 M20x15 18 53 33

T MERELEERMIREL 2 RJHERE Remark:The dimensions of magnetic type are same as no-magnetic type.

TCTYPE CA TYPE

LEFFRT  ACCESSOVRIES

FA TYPE FB TYPE

TC - MTYPE Y $#58 Y ROD CIEVIS(WITH PIN)

CB TYPE LB TYPE

Unit:mm
DIAMETER EI1E FABUERE FB 1&i%RE8 Unit:mm
DIAMETER fI7E TC ARfEénsE
32 283 10 47 33 72 58 65 105 65 7 33 10 47 33 72 58 65 105 65 7 33
40 323 10 52 3 8 70 65 105 65 7 37 10 52 3 8 70 65 105 65 7 37 40 113 63 37 63 25 25 30 455 110 80 455 22 109 86 815 50 23 2 12 12
50 383 10 65 47 104 8 65 135 85 9 47 10 65 47 104 8 65 135 85 9 47 50 126 76 47 76 25 25 30 555 110 80 555 22 122 99 88 50 23 2 12 12
63 383 12 76 56 116 98 85 135 85 9 56 12 76 5 116 98 85 135 85 9 56 63 138 88 56 88 25 25 30 685 110 80 685 22 134 111 94 50 23 2 12 12
80 473 16 95 70 143 119 105 166 105 12 70 16 95 70 143 119 105 166 105 12 70 80 164 114 70 114 25 25 30 875 120 80 875 22 160 137 127 70 23 2 14 14
100 473 16 115 84 162 138 105 166 105 12 84 16 115 84 162 138 105 166 105 12 84 100 182 132 84 432 25 25 40 1075 120 80 1075 22 178 155 136 70 23 2 14 14
DIAMETER £ €B S DIAMETER £T/E CA EEEE
32 19 3 12 13 16.3 32 41 335 48 33 153 134 95 50 33 205 28 9 3.2 32 48 33 34 14 12 14 16 19 10 40  M10x125 10 20 50
40 19 3 14 13 203 44 518 455 50 37 169 140 145 57 3 235 30 12 3.2 40 50 37 34 14 14 14 20 254 12 48 Mi2x125 12 24 62
50 19 5 14 15 203 52 603 54 62 47 173 149 12 68 47 28 365 12 3.2 50 62 47 34 15 14 15 20 30 16 64 M16x1.5 16 3o 83
63 19 5 14 15 203 52 603 54 75 56 184 158 13 80 56 31 41 12 3.2 63 75 56 34 15 14 15 20 32 16 64 M16x1.5 16 a2 83
80 32 8 20 21 323 64 738 655 94 70 200 168 16 97 70 30 49 14 4 80 04 70 48 20 20 20 3o 444 20 80 M20x1.5 20 40 105
100 32 8 20 21 323 64 738 655 112 84 210 174 18 112 84 30 57 14 4 100 112 84 48 20 20 20 32 444 20 80 M20x1.5 20 40 105

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



CTK

S -extill

CTK CLAMPING
CYLINDER

> EmiSE

RELRESEAIRE MR, KRAIRERE, EEMERMEILE.
RAESRIANTEEHRERSHR.
ZEREMETHEE,

MR R D] A RURAE TR Z i g2

MR MR A P A AR PR EE A

BAIRIEBEA: 10 kgflcm?
BNBIEES: 1 kgflom?
EEISC: HaEh

» FEATURES

The body of the cylinder is made of aluminum alloy, after the vaporization of aluminum
processing, it is more wear resistance and corrosion resistance.

With the no oil bearing and wear-resisting sealing ring, the cylinder has a long service life.
Multiple piping position to choose.

The cylinder with the buffer action can effectively slow speed and weaken the impact force on
the cylinder head.

The cylinder with a magnetic ring can match with magnetic reed switch.

Max. operating pressure: 10 kgf/cm’
Min. operating pressure: 1kgf/cm’
Double acting

> STREIRNA
ORDERING INDICATION
CTK - 50 - 100(M) Y

£l Series CTK
RELPIFR
Cylinder inside diameter 50, ©63
(EL 50 , 75, 100 , 125 , 150
Stroke ' , ) '
2] . \IA  Nil without magnet
With magnet M: e Nil: without magnet
o i3 Nil: no accesso
SOER o ry
Accessory Y. Y R Y: Y joint

| . |3Z88 I: Ijoint

SRR BRZHRBETS
Usable fluid: Oiled Dry Clean Compressed Air

I PNEUMATIC & HYDRAULIC CLAMPS

RESEEET

fIE DIAMETER ®A

50
63

60 58
74 72

58
69

25
25

40
50

36 19
36 19

10
10

29
29

141
142

B8 ©1/8"x3/4"L

48 97 46 205
48 97 46 205

CATALOGUE 2018 I



143
144

HE AR TT

GRIPPERS

4-M16

» EmiFit

F R =B BRI E R BEE) 5
R SRS .
FImElast, PTEHERAITIH .

v i P E=REN (bar) L: ZWEAZEEEE (mm)

EEMRARIE FERFEEE (mm) RAMMHRE (mm)

AF30-125 70 70 PF(G)1/8

EEmARIE B () Baats (B) SREER / F8 cm’

AF30-125 848.57P/(1+0.003L) 830.917P/(1+0.003L) 987.6

*This product be sold temporary in Mailand China.

RS BREZHRBETS
Usable fluid: Oiled Dry Clean Compressed Air

I PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018 I



HYDRAULIC

SWING CLAMPS
SRS -

CATALOCGUE 2018



CHS/HSC

B A ]

CHS/HSC
HYDRAULIC
SWING CLAMP

» EmiFlt

TR MEILFENS, EE MR TIRTBIRSEEIRENAE, B8
EEGEETRERIBRRE T,

R FHEBEAEL, FNERSEER, BREEaR, IkEmRfTRES,
FEAESENRLE

TIRSH EE IR PR IS AR AT, MBHISIAIN LRIE , REEB , (EASm R

BABRIEES: 70 kgflem?
S/NBIEEED: 15 kgflom?
EEhE: HEn

» FEEIE

RENMERFENEEFHE SRR .
BHBERENESENMSBEIREREN 1.5,
BEREREENZERIL, F2RE 18H.

» FEATURES

The product is ideal for mass production on a special purpose machine and jig in
machining center. It will greatly upgrade the production efficiency.

When the hydraulic clamp actuate, and the piston moves downward, the clamping arm
will swing to a rated angle. Then it lowers until the workpiece is clamped securely.

To avoid too fast motion, a flow control valve is suggested to connect to the hydraulic
swing clamp cylinder. Do not clamp the work piece while the clamp is swinging to avoid
damaging the cylinder barrel and internal parts.

The cylinder body is made from structural carbon steel.Inside surface is especially
treated for maximum smoothness and long service life.

Max.operating pressure: 70 kgf/cm?
Min.operating pressure: 15 kgf/cm?
Double acting

» NOTE

The acting speed of clamping-unclamping should be slowed down.

For customized clamp arm, please don't exceed 1.5 times of the original length
and weight.

The methods to mount & remove and the rotation diagram of the clamp arm, please
refer to page 13.

PNEUMATIC & HYDRAULIC CLAMPS

P STBRIETNA
ORDERING INDICATION (CHS - MF 25 S Rx90-E-P

Precision position

x ATREEEVAERE LS

EECDSEYS)

FULE )
= (70 kgf/cm®)

BRiTE REEETE INREETE 1 ZEQRTE  IRETRE

MEITE HUAZE
i)

CLAMPING FORCE SWING STANDARD EXTENDED STANDARD EXTENDED OIL STANDRAD OIL EXTENDED OIL STANDARD OIL EXTENDED EFF.PISTON EFF.PISTON
AT 70 kgf/cm® STROKE ~ CLAMPING CLAMPING TOTAL STROKE TOTAL STROKE CAPACITY CLAMP  CAPACITY

(kgf) (mm)  STROKE (mm) STROKE (mm) (mm) (mm) (cm?) CLAMP(cm?)
CHS/HSC-25 166 9 13 - 22 o 5.21
CHS/HSC-32 343 11 15 30 26 41 12.74 20.09
CHS/HSC-40 603 11 15 30 26 41 22.41 35.34
CHS/HSC-50 943 13 17 34 30 47 40.41 63.31
CHS/HSC-63 1488 13 17 34 30 47 63.78 99.92

(FRARES  HET ISO MEZSRN ISO-VG-32 —i&REEH
Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

RANGE OF
CAPACITY CAPACITY AREA CLAMP AREA UNCLAMP TEMPERATURE
UNCLAMP(cm®) UNCLAMP(cm®)  (cm?) (cm?) (°C)
10.80 2.37 4.91 -10~+70°C
20.90 32.96 4.9 8.04 -10~+70°C
32.66 51.50 8.62 12.56 -10~+70°C
58.89 92.26 13.47 19.63 -10~+70°C
93.48 146.45 21.26 31.16 -10~+70°C

CATALOCUE 2018

147
148

7 Series CHS/HSC
=H: =50 Line type B: 278 Threaded body
ERY Tune MF: SHEEHRMIFEE  Manifold with flow control ~ FAM: [ERIESHISHR Flange with manifold
A== Typ M: SRR Manifold type FAMT : ARIEUHMESIRMIFEER  Flange with flow control
FA: AREY Flange type
AL PIFEE ®25, 32, P40, P50, P63
Hydraulic Cylinder inside diameter
BB S: EIERIR S: Single side arm
Clamping arm type D: #58[E D: Double side arm
£ 8 3 . .
iz;ﬂ;zii?direction R: EsEt A8 L: Rt Aed N:0° Fheds R: Turn right L: Turn left N:0° No swing
HERfAE {EHEFBE Standard angle 90°  (£2°)  ET{SIfBEE Orderangle 0°, 45° (+2°),60° (£2°)
Rotating angle
TREE E TREMmREE Stroke extension
”%EE1E;FU [ Y PN T g = = . . . . P .
= = ENNE(/iHEET, IEeEAEEEE Add locating pin design,to improve the repeat precision of rotation angle




149
150

[T =gy LINE TYPE-S feE= LINE TYPE-D SRR TR MF-S

Single side swing clamp Double side swing clamp Single side swing clamp
E: TERES 0° AR

HESREIEEE > MF-D

Double side swing clamp
1. TERERS 0° FREIRRE

JRIETREY M-S

Single side swing clamp

HEERE » M-D

Double side swing clamp
T TEBER 00° RS

~ (B ##Hm7L Clamping port HEzimFL Unclamping port

~ (A &¥Hm@7L Clamping port Kegzm7L Unclamping port

Unit:mm

ST: Swing/ A1 A2
Clamping Unclamping Unclamping

CHS/HSC-MF25 22:9/13 104 101 127 124 76 22 16 27 [119 M10 @8 M14x1.5

-

0 50 140 9 @46 55 42 @peg 19 P7 @18

: g 26:11/15 118 115 144 140 85
Unit:mm CHSHSC-MF32 “2 020 148 145 175 170 100 25 18 381 [122 M10 ®8 M16x1.5

—-

0 55 160 10 ®50 57 44 @eg 21 P7 @20

ST: Swing/ Al A2

Clamping  Unclamping  Unclamping CHS/HSC-MFa0 2611715 123 1B 1% 1% M 25 18 31 (22 M10 ©10Mi8x15 10 60 160 10 ®54 63 48 g 23 P9 d224
CH R ISC B THS 1T 3011317 137 134 167 166 100
CHS/HSC-25 22:9/13 104 101 127 124 76 27 16 27 [119 M10 ®8 M14x15 10 50 140 9 @46 52 40 O6.8PT1/8 8 17 46 18 CHSHSCMFS0 ot oy 171 168 201 200 117 30 20 87 [J25 M12 ®12M20x15 12 65 180 12 ®66 72 57 @9 28 P9 @28
26:11/15 118 115 144 140 85 52 .
CHsHsc-a2 501118 18 115 151 190 B85 30 18 31 122 M0 ®8 M16x15 10 55 160 10 50 56 44 O68PTIB 10 19 25 B0 CHSHSC-MFes 301317 142 139 177 175 105 o0 o5 4s 3 Mis 15 M24x2 15 75 200 15 80 88 70 11 32 P9 (355

47:13/34 176 173 211 209 122

CHS/HSC-40 26:11/15 123 120 150 148 90

4111/30 153 150 180 178 105 SO 18 31 [J22 M10 ®10 M18x1.5 10 60 160 10 @54 63 48 @9 PT1/8 12 19 72 ®22.4

3011317 137 134 167 166 100 35 MODEL g Unciamping  Unclamping 0-Ring  Q

13 3 67 166 63.

CHS/HSC-50 =15y 171 188 201 200 117 34 20 37 [125 M12 @12 M20x1.5 12 65 180 12 ®66 72 57 @9 PT1/4 15 215 gop 28

CHS/HSC-63 ig}ggz 1% 132 g? ;gg 123 34 23 48 [132 Mi6 ®15 M24x2 15 75 200 15 &80 88 70 11 PTi/4 17 22 gg ®35.5 CHS/HSC-M25 22:9/13 104 101 127 124 76 16 27 [119 M10 ®8 M14x15 10 50 140 9 55 42 06.8-910.5x6.5D 18 20 P7 P18
: CHS/HSC-M32 26:11/15 118 115 144 140 85 18 31 (122 M10 ®8 M16x1.5 10 55 160 10 57 44 ©6.8-910.5x65D 22 22 P7 20

CHS-80 30:15/15 142 - 187 - 105 34 28 52 [134 M16 ®16 M30x2 20 85 220 16 @100 110 87 13 PT1/4 17 25 65 @40 CHS/HSC-M40 26:11/15 123 120 150 148 90 18 31 [J22 M10 ®10 M18x1.5 10 60 160 10 69 52 ®9-O135x9D 26 26 P8 D224

CHS/HSC-M50 30:13/17 137 134 167 166 100 20 37 [J25 M12 ®12 M20x1.5 12 65 180 12 75 58 ®9-®13.5x9D 32 30 P8 28
E: CHS-80 AR LR

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



151

152
AREEY FA-S A RRELHIETR FAM-S
Single side swing clamp Single side swing clamp
AR FA-D SREEIR FAM-D
Double side swing clamp Double side swing clamp
E: TERES 0° FREIIRRE 1 TEREA 00 FARIKRE
Expipit TB-S BURIRIRMIEEER » FAMT-S
Single side swing clamp Single side swing clamp
ERESRIRRIIFER > FAMT-D
S oFAE TB-D Double side swing clamp
i TEREM 90° 5K
Double side swing clamp
1 TEREM 00° RRBIIRRE
~ (B FFmelL Clamping port Kzm7L, Unclamping port _—

ST: Swing/ Al A2 ) .
Clamping Unclamping  Unclamping B ¢ D1 D2 D3 E1 E2 M N o-Ring Q
N . N . CHS [ HSC [l CHS [} HSC
> S lampin r 59 Unclamping port
@ sl Clamping port MR pingp Unit:mm CHS/HSC-FAM25 22:9/13 104 101 127 124 76 2216 27 [119 M10 ®8 M14x1.5 10 50 140 9 ®45 55 64 42 ©6.8-P10.5x6.5D 20 28 P6 D18
g}amslrllllll;u/ Unclggﬂpi“g u"clé\:wing B C1C2D1 D2 D3 E1 E2 Mi M2 NTix2PCST2 Q CHS/HSC-FAM32 26:11/15 118 115 144 140 85 2518 31 [J22 M10 ®8 M16x1.5 10 55 160 10 ®50 57 65.5 44 P6.8-P10.5x6.5D 22 29 P6 D20
CHS/HSC-FAM40 26:11/15 123 120 150 148 90 2518 31 []22 M10 ®10 M18x1.5 10 60 160 10 ®58 69 79 52 @9-O135x9D 26 34.5 P9 ®22.4
CHSHSFA o cs s CHS sc ; B T o e T T TS . . ® CHS/HSC-FAM50 30:13/17 137 134 167 165 1003020 37 [J25 M12 ®12 M20x1.5 12 65 180 12 ®68 75 87 58 @®9-®13.5x9D 30 39 P9 @28
/HSC-FA25 22:9/13 104 101 127 124 76 22 - 16 27 4x15 50 14 4 - 534 .8-010.5%6.5D 4 - 2 - - 18
8 3 6 0:5%6.3 CHS/HSC-FAM63 30:13/17 142 139 177 175 1053023 48 [132 M16 ®15 M24x2 15 75 200 15 ®81 90 104.570 ®11-O17x11D 32 46 P9 ®355
CHS/HSC-FA32 26:11/15 118 115 144 140 85 25 - 18 31 [122 M10 ®8 M16x1.5 10 55 160 10 ®50 - 57 44 $6.8-P10.5x6.5D PT1/4 - 32 - - ®20
CHS/HSC-FA40 26:11/15 123 120 150 148 90 25 - 18 31 [J22 M10 ®10 M18x1.5 10 60 160 10 ®58 - 69 52 9-P13.5x9D PT1/4 40 - - ©224 e Qui
St Swing A1 A2 B CD1D2 D3 Ef
CHS/HSC-FA50 30:13/17 137 134 167 166 10030 - 20 37 [J25 M12 ®12 M20x1.5 12 65 180 12 ®68 - 75 58 P9-B13.5x9D PT1/4 - 50 - - 28 Clamping Unclamping Unclamping
CHS/HSC-FA63 30:13/17 142 139 177 175 10530 - 23 48 [132 M16 P15 M24x2 15 75 200 15 P81 - 9070 ®11-O®17x11D PT1/4 - 63 - - ©355
CHS/HSC-TB25 22:9/13 104 101 127 124 76 - 12 16 27 (119 M10 ®8 M14x1.5 10 50 140 9 - M45x15 - - - PT1/828 10 @65 ®18 CHS/HSC-FAMT25 22:9/13 104 101 127 124 76 22 16 27119 M10 ®8 M14x1.5 10 50 140 9 @45 55 64 42 ©6.8-P10.5x6.5D 20 28 P6 d18 27.5
CHS/HSC-TB32 26:11/15 118 115 144 140 85 - 12 18 31 [122 M10 ®8 M16x1.5 10 55 160 10 - M50x1.5 - - - - PT1/832 11 @70 ®20 CHS/HSC-FAMT32 26:11/15 118 115 144 140 85 2518 31122 M10 ®8 M16x1.5 10 55 160 10 ®50 57 65.5 44 ®6.8-P10.5x6.5D 22 29 P6 20 285
CHS/HSC-TB40 26:11/15 123 120 150 148 90 - 15 18 31 [122 M10 ®10 M18x1.5 10 60 160 10 - M55x1.5 - - - PT1/8 40 11 ®70P22.4 CHS/HSC-FAMT40 26:11/15 123 120 150 148 90 25 18 31 [122 M10 ®10 M18x1.5 10 60 160 10 ®58 69 77 52 @9-P13.5x9D 26 34.5 P6 B22.4 345
CHS/HSC-TB50 30:13/17 137 134 167 166 100 - 15 20 37 [125 M12 ®12 M20x1.5 12 65 180 12 - M65x1.5 - - - - PT1/850 12 @85 ®28 CHS/HSC-FAMT50 30:13/17 137 134 167 165 100 30 20 37 [125 M12 ®12 M20x1.5 12 65 180 12 ®68 75 87 58 9-P13.5x9D 30 39 P9 28 37.5
CHS/HSC-FAMT63 30:13/17 142 139 177 175 105 30 23 48132 M16 ®15 M24x2 15 75 200 15 ®81 90104570 ®11-O17x11D 32 46 P9 ®d35.5 45

CATALOCUE 2018

PNEUMATIC & HYDRAULIC CLAMPS



153
154

CPF

TR AL

CPE HYDRAULIC | CPF-XXU__ | CPF-XXD__
SWING CLAMP

> EEmiTlE

IRFIEREIHRARENRT , EIEENRE  BE T ERRE.
ERRATEREBELT  BRETWENEE , BRTSEHE.
ERFTHmR S TS, BEAKATRNEEL.

BAIRIEES: 45 kgflem?

BNRIEES: 20 kgflom?

e HaEn

» FEEIE

REN R EENRE R R EEE .

RS RENESMSBIBIZERERN 1.5,
BEREREELTERIASR, F2RE 13E.,

» FEATURES

This series product with the optimal design,so made more compact,and strength can be
improved.

Product with special dust proof design,dust proof and sealing have been improved,so it has
high sealing performance.

Product parallel angle clamp design saves space,more suitable for compact fixture.

Max. operating pressure: 45 kgf/cm’
Min. operating pressure: 20 kgf/cm?
Double acting

» NOTE

The acting speed of clamping-unclamping should be slowed down.
For customized clamp arm, please don't exceed 1.5 times of the original length and weight.
The methods to mount & remove and the rotation diagram of the clamp arm, please refer to page 13.

» AIBBIERE
ORDERING INDICATION CPF-35D Lx390 G-P

Z7%) Series CPF
E’E:jﬂ%cylinder ® 35, d 40 » ® =$EmFlL Clamping port (B) Hgxm?L Unclamping port

inside diameter

TR U: J:‘Zf%ﬁi%éfé On flange installation 2N e/ 2o RERE s
Installation D: NEBILEE Base flange installation e

MODEL CLAMPING FORCE ~ CLAMPING TOTAL OIL CAPACITY OIL CAPACIT EFF.PISTON AREA EFF.PISTON AREA RANGE OF USABLE FLUID
w5 s R o | AT 45 kgf/cm? (kgf) STROKE(mm) STROKE(mm) CLAMP(cm’®) UNCLAMP(cm?) CLAMP(cm?) UNCLAMP(cm®) TEMPERATURE(°C)
=3 < N5 =

Rotating direction Turn right R or turn left L CPF-35 291 10 10 6.47 6.47 6.47 6.47 10~470°C Eiiji*i’%iﬁ%;T‘;ﬁj:gfifﬁf
CPF-40 424 10 10 9.43 9.43 9.43 9.43 10~+70°C T
EEAE KE#EFAE Standard angle 90°(+2°)
Rotating angle 5] FBE Order angle 0°,45°(+2°),60°(+2°) Unit
nitmm
}ﬂiﬁ ZH: BEsl Linetype r REA MUnulan’?;
vpe G: JHEEIREL Manifold type
R oL CPF-35U 10 114 141 96 28 19 38 M6 Mi6X1.5 6 465 350 59 72 47 @68 24 34 PT1/8 16 295 ®20 P6

(R iﬁe‘?ﬂﬂfﬁfﬁﬁ%_ﬁ%ﬁ _}E%'?%%%’rﬁ*%ﬁ CPF-40U 10 123 150 109 28 19 38 M8 M16X15 8 555 @60 67 82 55 ®68 30 40 PT1/8 16 335 ®20 P9
Precision position aodliocatinsipifdesien folimpigvejthelrapeat CPF-35D 10 114 141 96 28 19 38 M6 MI6X15 6 465 @50 59 72 47 68 24 34 PT1/8 16 295 ®20 P6

preciSioniaf rtation Angle CPF-40D 10 123 150 109 28 19 38 M8 M16X1.5 8 555 60 67 82 55 68 30 40 PT1/8 16 335 @20 P9

E: ATEEEALEIREREE

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



155
156

[SIESEV=Ehal
NFS HIGH PRESSURE b ETBSIE R
H Y D RA U L I C SWI N G ORDERING INDICATION
CLAMP NFS-L 25 AX90F-P
Z3l Series NFS/NDS/NFT/NDT
#8775 [a) Rotating direction ¥ R 882 L Turnright R or turn left L
1
g Enn#ﬂ E SEETPNYE Hydraulic cylinder inside diameter  ®25, ®32, ®40
Qs O aheiEEER NRERIFEEN. EEAEL  Acting type A: B8, Single acting B: #5&h= Double acting
ZEBRE 0 E, Al MAE 30 E. 45E. 60 E,
#AFAE Rotating angle EAEFIE Standard angle 90°(+2°)  3JfMA/E 30°%2°,45°+2°, 60°+2° Order angle30°(+2°),45°(+2°),60°(+2°)
IEESREIm S | REEEE,
SR A S st B oA R (BiGR (B e
NHOBEINEERSEGIM |, =5EmRE | BRgHEE, ZHERIZ Mounting type 25, BT Line type F. SEERIRE Manifold type ( SMETFEHE R )
N ER AR AL e /:\ 1752 A/\/R\ .
PEEESE , IICER{TRPIS LA FEZEBY Precision position ENNE/EERET, I2SiEMmEERSE  Add locating pin design,to improve the repeat precision of rotation angle

R ETIER B U REEREETRIME_ FRSEERYD |, B TORER AR
S

BAIREED: 210 kgflom?

S/NRIEEES: 70 kgflom?

IEERAEE P P - L e ok S o O e
EENST. SEFEER (zilﬁomég/gjﬂz) BT RESTIE HINBHE HEHEE I BEE L FRRESE
""""""""""""""""""""""""""""""""""""""""""""""""""" CLAMPING FORCE AT SWING CLAMPING A OIL CAPACITY OIL CAPACITY EFF.PISTON AREA EFF.PISTON AREA RANGE OF
> :I%$IE 210 kgf/cm®(kgf) ~ STROKE (mm) STROKE(mm) STROKE(mm) CLAMP(cm?®) UNCLAMP(cm?) CLAMP(cm?) UNCLAMP(cm®)  TEMPERATURE(°C)
1IT= 5=

RENMFRFENREFEE IR .

NFS-25A

BHEBERERESTSRBIEEREN 121, NDS.25A 420 12 » »s 5.45 i 237 i 70
BB REERTERIET, #2R% 138, DT oo
NFS-32A
NDS-32A
» FEATURES NFT-32A 760 12 11 23 9.75 - 4.24 - -10~+70 C
NDT-32A
Clamping arm swing right or left ,then clamping on straight line to hold the workpiece.
Standard angle go degrees,available angle 30,45,60 degrees.
The cylinder body material is carbon steel,the surface is hard mebrane treated.
Suggested to add a flow control valve to the hydraulic inlet to control the motion of the swing NFS-40A
angle in order to prevent the inertial impaction. NDS-40A 1450 12 ) )
A workpiece should be clamped within up-down clamping stroke,not swing stroke. NFT-40A U 23 lode w2 -10~+70 C
When load and unload the workpiece,it is necessary to use an air gun to clean the piston and the NDT-40A
seal for removing iron slag or other junk. In order to prevent the junk enter into the seal to cause oil
leakage.
NFS-25B
Max. operating pressure: 210 kgf/cm? NDS-25B 495 15 16.20 4.91
Min. operating pressure: 70 kgf/cm? NFT-25B gs 33 =2 : e : -10~+70 C
Single acting and double acting NDT-25B
'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''' NFS-32B
NDS-32B
NFT-328B 890 15 1 1 26.53 4.24 8.04 .
» NOTE NDT.32B 8 33 3.99 : -10~+70 C
The acting speed of clamping-unclamping should be slowed down.
For customized clamp arm, please don't exceed 1.2 times of the original length and weight.
The methods to mount & remove and the rotation diagram of the clamp arm, please refer to page 13. mggigg
NFT-40B 1600 15 18 25.25 41.25 7.65 125
33 b J -10~+70 C
NDT-408B "

FARE: HET ISO MEERA 1SO-VG-32 —ARRERH
Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

PNEUMATIC & HYDRAULIC CLAMPS CATALOGUE 2018



PO 75 FERERY
Flange type

NFS-25A
NDS-25A

NFS-32A
NDS-32A

NFS-40A
NDS-40A

NFS-25B
NDS-25B

NFS-32B
NDS-32B

NFS-40B
NDS-40B

Single side swing clamp Double side swing clamp

E: TERER 00° FEHARE

» (A 3&$55m7L Clamping port HEzAfL Unclamping port

SMRINFEY
Threaded type

NFT-25A
NDT-25A

NFT-32A
NDT-32A

NFT-40A
NDT-40A

NFT-25B
NDT-25B

NFT-32B
NDT-32B

NFT-40B
NDT-40B

Unit:mm

ST:Swing/ A FxRIikRE
Clamp Unclamp

B T (opes) 72 0 O-Ring

23:12/11 131 102 66 19 38 [J 19 M12 ®8 M14x1 45100 9 M45x1.5 46 64 30 50 ®6.5 35 23 PT1/8 10 ®65 P18 P7

23:12/11 127 97 70 19 38 [122 M12 ®8 M18x1.550 120 10 M50x1.5 54 68 34 54 ®8.5 40 27 PT1/8 11 ®70 ®22 P7

23:12/11 127 98 72 19 38 [J25M12®10M18x1.550 140 12 M60x1.5 64 84 40 66 ®8.5 50 32 PT1/8 11 ®80 ®25 P7

33:15/18 136 102 66 19 38 (119 M12 ®8 M14x1 45100 9 M45x1.5 46 64 30 50 6.5 35 23 PT1/8 10 ®65 P18 P7

33:15/18 136 97 70 19 38 122 M12 ®8 M18x1.550 120 10 M50x1.5 54 68 34 54 ®8.5 40 27 PT1/8 11 ®70 ®22 P7

33:15/18 136 98 72 19 38 [125M12®10M18x1.550 140 12 M60x1.5 64 84 40 66 ®8.5 50 32 PT1/8 11 ®80 ®25 P7

PNEUMATIC & HYDRAULIC CLAMPS

NFT

Single side swing clamp

Double side swing clamp
E: TERES O0° RERRE

CATALOCGUE 2017

157
158



030

JERER AR R AL

030 HYDRAULIC
SWING CLAMP

» EEmitFE

H/RTRESL. EERBIEKEAIEEN TIF=E, IRNEERELFER
£, FIRERENIH, RFrBRH9sT,

HETUER, | R REREERMERRIES, IRRIREIRAYS DR ERIESE A
FTAOSREANRRENTIE, BB SEHEIERE .

EE)TSE: NERRULLEEE, REHHRER, MHREEEL TR
712, IMEPEIRRIRSPINMIHELD, FEERMRILEDEE , AIFH0BERS
BEmESESS

RSB LR, KBRENERE, TEHES, (IRAEEESIES.

BAIRIEES: 250 kgflem?
B/INRIEEES: 70 kgflom?
fEEnS=: EEEFnEER

» EEEE

RER A FENEE BB EMAE -
FHEBERENESENMSBEIREREN 1.5,
BB EENRLERILY, F2R%E 138,

» FEATURES

It is not necessary to manufacture a hole for the installing and you just need to use
bolt to fix the swing clamp on the fixture plate. It is helpful for you to clamp thick
workpiece because the main structure of the cylinder body is on the fixture plate.

Feature of the doubling acting type:Qil circuits control clamping and unclamping, you can
control the clamping and unclamping by changing the direction value.

Feature of the single acting type: The design of the interior system is simple. It is not
necessary to design for unclamping. It can return back to the original position by spring
and the system design is simple because of few accessories.

The material of the cylinder body is carbon steel and treated by nicarbing. The hardness
of the outside and inside surface of the cylinder is high and the cylinder is antiabrasive.

Max. operating pressure: 250 kgf/cm’
Min. operating pressure: 70 kgf/cm’
Single acting and double acting

» NOTE

The acting speed of clamping-unclamping should be slowed down.

For customized clamp arm, please don't exceed 1.5 times of the original length and weight.

The methods to mount & remove and the rotation diagram of the clamp arm, please refer
to page 13.

PNEUMATIC & HYDRAULIC CLAMPS

» ATBEIRNE

ORDERING INDICATION 030-L D 92X90-P

%1 Series
EE75E

Rotating direction

{rEn75=0
Acting type

BUSE Type

EHmE
Rotating angle

= vEd
Precision position

E: SRR EAEREEE

030
A R AR L
Turn right R or turn left L

S: BB&Efj; Single acting
D: #iZh=, Double acting

22,52,92,121, 202

TE2AEME Standard angle go°(+2°)
FTMAE 30°(+2°),45°(+2°),60°(+2°)

IBINEMHHRET, REEAEREE
Add locating pin design,to improve the repeat
precision of rotation angle

159
160

030-22/52/121 030-92/202

Unclamp
Unclamping port PT1/4"

® Clamp

Model No.121=PT1/4"
Model No.22.52=PT1/8"

® Clamping port PT1/4"

Model No.92=®3.3
Model No.202,352=P4.0

Model No.22=P3.3
Model No.-52.121=04.0

FEIRAEHFST (250 kgf/cm?) - - N
i VA {=] (=] 7‘?/ =3
CLAMPING FORCE AT 250 kgf/cm? (kgf) L RNAR

HEEREEE  (ERRESE

2 S I SWING CLAMPING TOTA OIL CAPACITY OIL CAPACITY EFF.PISTON AREA EFF.PISTON AREA RANGE OF

SINGLE ACTING DOUBLE ACTING STROKE(mm) STROKE(mm) STROKE(mm) CLAMP(cm®) UNCLAMP(cm®)  CLAMP(cm?) UNCLAMP(cm®) TEMPERATURE(°C)
030-22 173 180 8.5 8 16.5 1.24 2.52 0.75 1.53 -10~+70°C
030-52 380 445 12.6 10 22.6 4.05 8.57 1.79 3.79 -10~+70°C
030-92 710 780 10.1 12 221 6.92 17.75 3.13 8.03 -10~+70°C
030-121 970 1060 15.4 13 28.4 12.04 22.81 4.24 8.03 -10~+70°C
030-202 1830 1960 13.9 14 27.9 21.93 44.33 7.86 15.89 -10~+70°C

fFRES: BT ISO HMEZERN ISO-VG-32 —RIRERH
Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

ST: Swing/ A FRBHHRRE

Clamping Unclamp
030-22 16.5:8.5/8 118 78 25 16 M6 6 40 P28 472 45 - D55-09x6.5D - - 155  ®40 60° 14 10
030-52 22.6:12.6/10 145.2 91 25 22 M8 13 49 P35 541 57 - P7-911x7D - - 191  ®50 110° 14 P16
030-92 22.1:10.1/12 155 101.5 25 25 M10 11 45 P48 70.1 54 42 ®6.8-®11x7D 23.6 28.7 26.9 = = 12 ®25
030-121 28.4:15.4/13 171 110.9 25 30 M10 12 51 P48 668 73 - D8.5-P14x9D 32 - 254 64 110° 16 22
030-202  27.9:13.9/14 175 110 25 32 M12 15 55 ®63 851 70 55 Pd8.5-P14x9D 29 35.1 35.1 - - 12 32

CATALOCUE 2018



040 HYDRAULIC
SWING CLAMP

> EmiSE

HMESELREPTLUMEIRIR S M ] IR R A TRARBNTR £, IWRIIEHEH
LAEED iR

HEIUSRL: REERETTERMIIES, RIRRERTS R AR
FRERERRENBIZ o

BESR: NERRULREE, REHHRR, MHEEEDHTHRET
12; JMEPEIRIRIPIN R, (R EFRMILREE . SHrILI=HOE.
RSB LR, KBRENERE, TEEES, (IRAEEESHESR.

BAIRIEEH: 250 kgflom?
S/NRIEEH: 70 kgflom?
B BBt

» i EEFIE

RENMER PR E T EEMAE -
HHBERENESTSBBIEEREN 1.5,
BEREREERRERIL, F2R%E 188,

» FEATURES

Threaded body can help you to use the screw of cylinder body and locknut to fix swing clamp
on fixture plate. It has single and double acting type.

Feature of the doubling acting type: Oil circuits control clamping and unclamping, you can
control the clamping and unclamping by changing the direction value.

Feature of the single acting type: The design of the interior system is simple. It is not
necessary to design for unclamping. It can return back to original position by spring and the
system design is simple because of few accessories.

The material of the cylinder body is carbon steel and treated by nicarbing. The hardness of the
outside and inside surface of the cylinder is high and the cylinder is antiabrasive.

Max. operating pressure: 250 kgf/cm®
Min. operating pressure: 70 kgf/cm’
Single acting and double acting

» NOTE

The acting speed of clamping-unclamping should be slowed down.
For customized clamp arm, please don't exceed 1.5 times of the original length and weight.

The methods to mount & remove and the rotation diagram of the clamp arm, please refer to

page 13.

PNEUMATIC & HYDRAULIC CLAMPS

b STEIBIENA

ORDERING INDICATION 040-L D 92X90-P

Z7| Series
RS mE

Rotating direction

(= TDSE:M
Acting type

BUSE Type

ERmE
Rotating angle

e
Precision position

040
A8 R A L
Turn right R or turn left L

S: BB&fj; Single acting
D: #3)={ Double acting

22,52,92,121, 202

EAEFE Standard angle 90°(2°)
FIFBRE 30°(22°),45°(+2°),60°(+2°)
IBINENIHRET, ReEAEERE
Add locating pin design,to improve the
repeat precision of rotation angle

040-22

040-52

040-92
040-121
040-202

040-22/52/121

IRFRAHRFSD (250 kef/cm?’)
CLAMPING FORCE AT 250 kgf/cm® (kgf,

EEe]l EBRI|
SINGLE ACTING DOUBLE ACTING
173 180
380 445
710 780
970 1060
1830 1960

| BT

SWING

STROKE(mm)

8.5
12.6
10.1
15.4
13.9

161

162
040-92/202
Unit:mm
HELBEE RIS RS HEZEEE (FRREHE
CLAMPING TOTAL  OIL CAPACITY OIL CAPACITY EFF.PISTON AREA EFF.PISTON AREA RANGE OF
STROKE(mm)STROKE(mm) CLAMP(cm®)  UNCLAMP(cm?) CLAMP(cm?) UNCLAMP(cm®) TEMPERATURE(°C)
8 16.5 1.24 2.52 0.75 1.53 -10~+70°C
10 22.6 4.05 8.57 1.79 3.79 -10~+70°C
12 22.1 6.92 17.75 3.13 8.03 -10~+70°C
13 28.4 12.04 22.81 4.24 8.03 -10~+70°C
14 27.9 21.93 44.33 7.86 15.89 -10~+70°C

FERRES: HET ISO MESERN ISO-VG-32 —RiKREEH
Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

040-22

040-52

040-92
040-121
040-202

ST: Swing/
Clamping

A FRRIAT
Unclamp

16.5:8.5/8 118 78
22.6:12.6/10 145 91
22.1:10.1112 143 93
28.4:15.4/13 171 11
27.9:13.9/14 167  103.9

25
25
25
25
25

16 M6 6
22 M8 13
25 M10 1
30 M10 12
32 M12 15

40 M28x1.5 39.4 33
49 M35x1.5 47.5 38
45 M48x1.5 62.5 48
51 M48x1.5 60.5 51
55 M65x1.5 75.9 65

10 15.5 10
10 19.1 16
13 23.9 25
10 25.4 22
13 32.5 32

CATALOCUE 2018



163
164

050

BB AR R EE AL

o050 HYDRAULIC
SWING CLAMP

Unclamp Unclamping port PT1/4"

® Clamp ® Clamping port PT1/4"

» EEmiFtE

ExHEAERENE, 060 RINERR/I\NRESE ; (E/RFAREILNEEHE; 1
BREARUREELFEE, RME, RA=NEZREMEEE, 8
AR EE AR A=A MEERRETBEE . 050 S REHIEE
M
AR, RERRDTEEMKEEY, RRBIREBSERERIEEE
FRRIAYFR R ELRR AR o
BEFISE: NEERULBREE, REHHERE, HESREEERN5MH
RREMTIZ; SMPERAOMPIRIHERD | FEERGHERGE . BERTUT
EAEITER

BB LR, K2REWEE, REEES, (EAEREESMERS.

Model No.121=PT1/4"
Model No.22.52=PT1/8"

BRIREEAS: 250 kgflom?
B/INRIEBES: 70 kgflom?
EEh5: ESENFIEN

» FEEIE

RERHEREFIEREFEELE .

BHESRERBERTSBRIBEREN 15, Model No.92-03.3
BEREREERLERNLN, B2RE 138, Model No.202,352=94.0

» FEATURES

050 series owns the smallest height for mounting when space is limited, but it is
necessary to manufacture a hole for installing swing clamp on fixture plate and the
cylinder body can be inserted into the fixture plate. Installing is very simple. You just
need 3 or 4 PCS of bolts to fix your swing clamp cylinder. It has the single acting and

) o et 2
double acting type. B ) SO GIN) WAGR T SR HABE HWESE  DASEER  ReSEEE  SRREeE
Feature of the doubling acting type:Qil circuits control clamping and unclamping, you 250 kef/em® (kg
can control the clamping and unclamping by changing the direction of the valve. b ETEEIE L EE T HENZS SWING CLAMPING  TOTAL  OIL CAPACITY OILCAPACITY EFF.PISTON AREA EFF.PISTONAREA  RANGE OF
Feature of the single acting type:The design of the interior system is simple.It is not R ARSlEss M SINGLE ACTING DOUBLE ACTING  STROKE(mm) STROKE(mm) STROKE(mm) CLAMP(cm®) UNCLAMP(cm®)  CLAMP(cm?) UNCLAMP(cm®) TEMPERATURE(°C)
necessary to design for unclamping. It can return back to original position by spring and 050-L D 92x90-P
the system design is simple because of few accessories. It can return back to position ORDERING INDICATION 050-22 173 180 8.5 8 16.5 1.24 2.52 0.75 1.53 -10~+70°C
under free load. . 050-52 380 445 14.6 8 226 4.05 8.57 1.79 3.79 -10~+70°C
The material of the cylinder body is carbon steel and treated by nicarbing. The hardness 050 Z35 Series 050 N
of the outside and inside surface of the cylinder is high and the cylinder is antiabrasive. = = SE—- 050-92 710 780 14.1 8 22.1 6.92 17.75 3.13 8.03 -10~+70°C
Max. operating pressure: 250 kgf/cm® L E"%Eﬁ . . L REEEQ" L 050-121 970 1060 18.4 10 28.4 12.04 22.81 4.24 8.03 -10~+70°C
N!m. operz-.ltlng pressure: 70 I.<gf/cm Rotating direction  Turn right R or turn left L 050-202 1830 1960 17.9 10 279 21.93 4433 786 15.89 10~+70°C
Single acting and double acting
D EEns0 S: EEE={ Single acting fEREREE: HET ISO MESFRM ISO-VG-32 —iKEH
''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''' Acting type D: 4 ; Double actin ) . .
gtyp HER g Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

» NOTE 92 ISR Type 22,52,92,121, 202 Unit:mm

. ST: Swing/ FRBIARAE B
The acting speed of clamping-unclamping should be slowed down. 90 BHRAE 1ZAEAE Standard angle 90°(+2°) Clamping Unclamp
For customized clamp arm, please don't exceed 1.5 times of the original length and weight. Rotating angle FTFE 30°(£2°),45°(£2°),60°(+2°) 05022  16.5:85/8 118 78 25 16 M6 6 40 28 472 45 - O©55-09x6.5D - . 155 ©40 60° 11 ®10
The methods to mount & remove and the rotation diagram of the clamp arm, please T 050-52 22.6:12.6/10 145 91 25 22 M8 13 49 @35 541 57 -  O7-O11x7D - - 191 ®50 110° 11 »16
refer to page 13. P BEEAE BIERLRREET, IRSMMEIIEE 050-92 22110112 153 935 25 25 M0 11 45 @48 701 54 42 O068-O11x7D 236 287 269 - . 12 025

Precision position ~ Add locating pin design,to improve the -

e G G 6 e A 050-121 28.4:154/13 1715 1109 25 30 Mi0 12 51 48 668 73 - B85014x9D 32 - 254 064 110° 12 022

------------------------------------------------------------------------------------- . SRR 050-202 27.9:13.914 169 104 25 32 M2 15 55 ©63 851 70 55 085®14x9D 202 356 351 - - 13 032

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



HPS

SRR

HPS HIGH PRESSURE
HYDRAULIC SWING
CLAMP

» EEmiFtE

LEAECHRERRLE AR 38 THBEBRIFHS , B LABS R .

BRI ISEMER NEX, SEIRE TR (BT IH ) UNREE TETR.
TERERBLHHMENSTM, IINEISTHRINTRIEREDGE , RERMENS.
BRARHEREBSEHMEEN, BSOERRATHEE, LIen@EEir, nEhiErEeE,
BREREEHN, BETHRE,

BXIRIEEEA: 250 kgflom?
S/NBIEEES: 70 kgflom?
fEEnst: EEEEi

» EEHIE

SR A PR E TR .
BHEEREREETSBBIEEEEN 15,
EEIRTEERTERSR, B2RE 13H.

» FEATURES

The series of swing clamp cylinder is ideal for workpiece clamping which requires a sufficient space for
convenient workpiece loading and unloading and high pressure clamping.

It provides swing motion (do not clamp workpiece) and vertical holds down motion.

The swing clamp cylinder employs Germany oil seal and imported parts.The inside surface of cylinder
barrel is specially treated,featuring maximum smoothness, high performance and long service life.

For maximum oil feeding speed, refer to specifications.Do not exceed oil feeding speed to avoid too high
swing speed.In case improper swing speed occurs,it is suggested to equip with an additional oil flow
control valve to reduce oil feeding speed.

Max. operating pressure: 250 kgf/cm’
Min. operating pressure: 70 kgf/cm’
Single acting and double acting

The acting speed of clamping-unclamping should be slowed down.
For customized clamp arm, please don't exceed 1.5 times of the original length and weight.
The methods to mount & remove and the rotation diagram of the clamp arm, please refer to page 13.

> STERIRNA
ORDERING INDICATION HPS-25S A RX90-P

%%l Series HPS

JHET PO 6
Hydraulic cylinder inside diameter @25, ®32, ®40, 5o, D63
&5 S: &=, Single acting

Acting type D: #&)={, Double acting
Rt A £5F8! Threaded type

B Bc=2Y Line type
C JHERHREY Manifold type

750 A REAEL
Rotating direction Turn right R or turn left L

Mounting type

ZEFHE Standard angle 90°(22°)
Rotating angle ST HIFBIE 30°(+2°),45°(£2°),60°(£2°)

Y o IBINE(EHRET, ReEBAEHIEE
BN . . . n
Precision position Addllolcatmg pin ?Ie5|gn,to improve the repeat
precision of rotation angle

BEmE

PNEUMATIC & HYDRAULIC CLAMPS

165
166

Single-Acting Double-Acting

THREADED TYPE FLANGE TYPE THREADED TYPE FLANGE TYPE

N1 N2
» (A gl Clamping port B Hi&FL Vent port » (B gL Clamping port B) Kizim?L Unclamping port

IB:HAIF T (250 kgf/cm?)

Cres ) T Pt i) 7= oefE N TS =R 8 e
CLAMPING FORCE AT 250 kef/cm* (kef) TR RETE BERE RAZEEE L EEE FRREEE

BENERT R SWING CLAMPING LCAPACITY  EFF.PISTON EFF.PISTON RANGE OF

SINGLEACTING  DOUBLE ACTING  STROKE(mm) STROKE(mm) STROKE(mm) CLAMP(cm?) UNCLAMP(cm?) AREA CLAMP(cm?) AREA UNCLAMP(cm?) TEMPERATURE(°C)
HPS-25 380 440 8 11 19 3.18 8.83 1.77 4.9 -10~+70°C
HPS-32 650 780 9 13 22 6.9 17.7 3.13 8.04 -10~+70°C
HPS-40 940 1100 9 13 22 9.95 27.65 452 12.56 -10~+70°C
HPS-50 1580 1760 12 15 27 18.38 51.05 7.07 19.63 -10~+70°C
HPS-63 2560 2880 12 15 27 27.69 74.81 11.54 31.16 -10~+70°C

FEFRTEE: HET ISO MEFRMN ISO-VG-32 —RRERH
Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

mopeL  ST: Swing/ A1 ERSARAR A2 FRBSARAR

Clamping  Unclamp Unclamp N1 N2 0-Ring
HPS-25 19:8/11 107.5 129 87 22 M10x1.5 M18x1.5 ®235 27.7 9 10 50 M45x1.5 P43 45 65 30 50 P65 15 13 13 P7
HPS-32 22:9/13 120.5 146.5 97 22 M12X1.75 M22x1.5 ®28.5 33.5 10 12 65 M52x1.5 ®50 53 73 37 57 @9 20 145 16 P7
HPS-40 22:9/13 123.5 152.5 100 22 Mi6x2 M28x1.5 ®355 41.6 10 15 75 Me0x1.5 ®58 63 85 44 65 @9 28 16 195 P7
HPS-50 27:12/15 142 177 113.5 22 M16x2 M35x1.5 ®455 53.1 12 15 95 M80x2.0 ®78 80 100 60 80 P13 31 19 265 P9
HPS-63 27:12/15 148 190 119.5 22 M20x2.5 M43x1.5 ®54.5 63.5 14 18 120 M90x2.0 ®88 90 115 68 90 P15 375 255 34 P9

CATALOCUE 2018



HYDRAULIC

LEVERAGE CLAMPS
HEERIIRY ~

CATALOCGUE 2018



169
170

CHLC

a2 TUIHBREL

CHLC HYDRAULIC EZETt  LINETYPE
LEVERAGE CLAMP

> EmiSE

IEBSECIHERET | B RRIRRIE | (R RREIRE | S5 R EmEI, =
BB LIETEIIEEIND , SR
LRSI R IR RS E R, BREMIA, (ERSHR.

TREEMEIRA 45 i, PRI | REHEE. - 8 o 8
BAIRIEES: 70 kgflom? i § } %
B/INRIEEEA: 10 kgflom? L 5 L z
Eehs=: HEn ¥ i
___________________________________________________________________________________________ -0~ -0~

» ERFIE
SR R FR R T A .

» FEATURES

The clamp structure of this model is based on the lever principle: it will be tightened as piston
pushing out. The clamping force is stronger than the swing clamp cylinder's. The parts are
installed outside the cylinder barrel for maintaining easily.

The cylinder barrel and clamp structure are made of carbon steel. It is firm , durable and long-
lived to use

The material of the piston is 45# steel, heat treatment, chrome plated.

Max. operating pressure: 70 kgf/cm®
Min. operating pressure: 10 kgf/cm’

» (B F#FimFL Clamping port

Double acting MEzm7L Unclamping port
> NOTE B
HEEE RN BEE HEH 2 RERE (FRRESE
The acting speed of clamping-unclamping should be slowed down. CLAMPING FORCE AT CLAMPING AL OIL CAPACITY OIL CAPACITY EFF.PISTON EFF.PISTON RANGE OF
------------------------------------------------------------------------------------------- 70 kgf/cm? (kgf) STROKE(mm) STROKE(mm) CLAMP(crm?) UNCLAMP(cm?)  AREA CLAMP(cm?) AREA UNCLAMP(cm?) TEMPERATURE(C)
» TEBIETNE CHLC-25 252 22 25 593 12.28 237 491 10~4+70°C
ORDERING INDICATION CHLC-M 25 R A CHLC-32 412 22 25 12.25 20.10 4.9 8.04 -10~+70°C
CHLC-40 618 26 30 25.86 37.68 8.62 12.56 40~+70°C
(LU 551 Series CHLC CHLC-50 981 30 34 45.80 66.74 13.47 19.63 10~+70°C
[ B Line type CHLC-63 1482 40 44 85.04 124.64 21.26 31.16 40~+70°C
M: JHEEIREL Manifold type EFEAR: AT 1SO KEEESHRAY 1ISO-VG-32 —ME
M AUt Type MF: SHESARZUSIFEER Manifold with flow control

FA: S5 Flange type Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

FAM: ;XREESHISHR Flange with manifold

Unit:mm

FAMT : JABEELHTFEIR Flange with flow control MODEL M A2 B O N4 0-Ring
CHLC-25 ] .

N 025, 032, G40 SHLC25 103 122 76 )19 11 9 ®8 25 64 55 22 24 3 55 42 ©68-0105x65D PTI8 18 17 33 20 P7 61° 4 018
25 Hydraulic cylinder

S i @50, ©63 GHLC82 112 131 85 (119 11 9 ®8 25 64 55 22 24 3 57 44 ®68-0105x65D PT1/8 22 19 38 22 P7 61° 5 0
R BEEEE R R & L E . SRR SHLCi05, 122 144 90 (122 13 10 ®10 30 77 66 26 29 4 69 52 ®YDI4x9D  PTI/4 26 19 40 26 P8 61° 55 0224

Lever arm direction ’ ’ :
A —BBLER) A integrated GHLC20 ) 137 162 100 (125 15 11 ®12355 90 77 30 33 4 75 58  ®9-®14x9D  PT1/4 32 215 45 29 P7 61° 75 028

8Et8:f\3/|363 155 187 111 [132 19 15 ®15 43 110 94 36 39 4 9% 75 ®11-018x11D PT1/4 38 22 52 38 P9 66° 2 ®355

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



171

172
THESIRBIFELE » CHLC-MF B9 » CHLC-FA TARIESHISHR » CHLC-FAM ARIELNIEEE » CHLC-FAMT
- Q -
— 0 -
» (B Fi5m3l Clamping port
HF&iHFL Unclamping port
» (B F#5im7l Clamping port KE&iHFL Unclamping port

Unit:mm Unit:mm

N O-Ring « N O0-Ring «

CHLC-MF25 112 131 85 19 11 9 ®8 25 64 55 22 24 3 - 55 42 O68-0105<650 - 19 P7 61° 4 @18 CHLC-FAM25 49 122 54 [119 11 9 ®8 25 64 55 22 24 3 B45 55 64 42 ©68-0105x65D 20 28 P6 61° 4 018
CHLC-MF32 115 134 88 19 11 9 &8 25 64 55 22 24 3 - 57 44 ®680105<650 - 21 P7 52 11 ©20 CHLC-FAM32 52 131 60 [119 11 9 ®8 25 64 55 22 24 3 ®50 57 655 44 068-010.5x65D 22 29 P6 61° 5 @20
CHLC-MF40 130 152 98 122 13 10 ©10 30 77 66 26 20 4 - 69 52  ©9-014x9D - 23 P9 58° 75 ®224 CHLC-FAM40 57 144 65 [122 13 10 ®10 30 77 66 26 29 4 ®58 69 79 52 ®9-0135x9D 25 345 P9 61° 55 d22.4
T G hESh A T C0E DeE B T i GRS &5 7T en 58 & . 7m oE s T —— CHLC-FAM50 67 162 70 [125 15 11 ®12 35590 77 30 33 4 ®68 75 87 58 ®9-®135x9D 30 39 P9 61° 7.5 a2g
CHLC-MF63 163 195 119 [132 19 15 ©15 43 110 94 36 39 4 - 95 75 ®11-018x11D - 35 P9 66° 2 ®355 CHLC-FAM63 74 187 81 [132 19 15 ®15 43 110 94 36 39 4 ®82 98 114 75 ®11-018x11D 40 495 P9 66° 2 355
CHLC-FA25 49 131 63 [119 11 9 ®8 25 64 55 22 24 3 ®45 55 42 ©6.8-D10.5x6.5D PT1/4 25 . 61° 4 @18 CHLC-FAMT25 49 122 54 [J19 11 9 ®8 25 64 55 22 24 3 P45 55 64 42 P6.8-P10.5x6.5D 20 28 P6 61° 4 18
CHLC-FA32 52 134 63 [119 11 9 ®8 25 64 55 22 24 3 ®50 57 44 0680105650 PT1/4 32 - 61° 5 @20 CHLC-FAMT32 52 131 60 [119 11 9 ®8 25 64 55 22 24 3 ®50 57 655 44 ©6.8-0105x65D 22 29 P6 61° 5 2
CHLC-FA40 57 152 73 D122 13 10 ©10 30 77 66 26 20 4 ©58 69 52  $o-014x0D PTi/4 40 - 61° 55 ®224 CHLC-FAMT40 57 144 65 (122 13 10 ®10 30 77 66 26 29 4 ®58 69 79 52 @9-D135x9D 26 345 P9 61° 55 024
CHLC-FAS0 67 170 78 D125 15 11 ®12 35590 77 30 33 4 ©68 75 58  ©9.014x9D PTi/4 50 - 61° 75 ©28 CHLC-FAMT50 67 162 70 (125 15 11 ®12 35590 77 30 33 4 ®68 75 87 58 ®9-P135x9D 30 39 P9 61° 7.5 @28
CHLC-FA63 74 196 90 (132 19 15 ®15 43 110 94 36 39 4 ®82 98 75  O11-018x11D PTi/4 63 - 66° 2 ®355 CHLC-FAMT63 74 187 81 D132 19 15 @15 43 110 94 36 39 4 P82 98 114 75 O1-O18x1D 40 495 P9 66" 2 B355

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



173
174

LHCO1

1EIRTUIH/EREL

LHCo1 HYDRAULIC
LEVERAGE CLAMP

» (B 457, Clamping port
HeE&ifm#L Unclamping port

» EmFE

IWWERFERE AR HIBZANEE: 025,032,040,050,063,

AERERTSHENEEE, B T Hilits, BESHRE. 0 —~ -~
ERTEERE, FTHEZRE, 258X,

TTREFRFRRIMEE R 45 i), /EEMEBR 45 i, MERIE, RMEES,

TTRE—R8RIEL.

BXRIRIEES: 70 kgflom?
S/NRIEES: 20 kgflom?
sl HEn

» FEATURES

Five available bore diameter :®25,P32 ,040,P50,P63.

Use high-quality seal to avoid leakage and keep long operation

Lever principle design is applied on this hydraulic cylinder. Clamping work piece easily and
improve efficiency.

The material of the cylinder body and the piston is 45# steel, heat treatment,chrome plated.

Max. operating pressure: 70 kgf/cm’ 5 BRI (70kgflem?) Tz “wiTE ELBEE FINE
Min. operating pressure: 20 kgf/cm*
Double acting CLAMPING FORCE AT CLAMPING OIL CAPACITY  OIL CAPACITY EFF.PISTON EFF.PISTON RANGE OF
___________________________________________________________________________________________ 70 kgf/cm? (kgf) STROKE(mm) STROKE(mm) CLAMP(cm?) UNCLAMP(cm®) AREA CLAMP(cm®)  AREA UNCLAMP(cm?) TEMPERATURE(°C)
> NOTE LHCO01S8-25 158 22 24 - 11.78 - 4.91 -10~+70°C
LHC01D-25 268 22 24 8.09 11.78 3.37 4.91 -10~+70°C
The acting speed of clamping-unclamping should be slowed down. LHC01S-32 243 28 31 = 24.92 = 8.04 -10~+70°C
------------------------------------------------------------------------------------------- LHCO01D-32 412 28 31 18.69 24.92 6.03 8.04 10~+70°C
N —s LHC01S-40 388 30 33 - 41.45 - 12.56 -10~+70°C
» FTEIENE LHCO01D-40 659 30 33 34.82 41.45 10.55 12.56 -10~+70°C
ORDERING INDICATION LHCO1 -D-40CRA W LHCO1S-50 618 30 33 - 64.78 - 19.63 -10~+70°C
LHCO1 LHCO01D-50 1049 30 33 54.42 64.78 16.49 19.63 -10~+70°C
| .
5 Series LHCon LHC015-63 980 30 33 - 102.83 . 31.16 -10~+70°C
b (EBN5 =t D: #i&fzt Double acting LHCO1D-63 1662 30 33 92.47 102.83 28.02 31.16 10~+70°C
Acting type S: B8&fz, Single acting . . e N,
fFRMEE: HETF ISO MEFRM ISO-VG-32 —RikENH
plERANANEEY Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32
40 Hydraulic cylinder ®25, @32, D40, ®50, O63 Unit
nimm

inside diameter

W C: HESIRMEE BELHO M N 2 o 0-Ring 0

LHC01S-25 o
S 1285 865 25 16 17 ®6 50 55 41 18 26 6545 7 2 M40x1.5 50 60 (137 55-09x55D 2-PT1/8 23 26 25 M6 75° P7 B14

R E\%ifnygir?ction R,L,Blank R:#A, L: Z&£, Bank: =H LHCO1D-25
HHC01S32 149 97 25 18 20 ®6 57 68 52 2233 8 5 8 3 M50x15 60 70 (145 ®65-®11x65D 2-PT1/8 23 305 30 M8 75° P7 ®16

A f182—B2REY  Cylinder body molding
_ N LHC01S-40 .

B T = e EE T, HHC01S40 157 97 25 20 25 ®8 60 75 56 24 33 13 4 10 3 MS5x15 65 75 (150 ®65-011x65D 2PT1/8 26 33 325 M8 75° P7 P16
. —EERAieE WA HHCO1SS0 174 104 25 22 30 ®10 6587.563527.544 11 10 14 3 Me5x1.5 75 88 [158 ©85-014x9D 2-PT1/8 32 38 37.5M12 65° P7 ®20

tﬁgg]g:gg 179 105 25 22 30 ®10 69 98 74 32 48 11 10 14 3 M80x1.5 90 108170 ®8.5-®14x9D 2-PT1/8 35 48 45 M12 60° P7 ®20

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



175
176

HYDRAULIC

PUSHPULL CYLINDERS
HALHEBATIRYY |

I PNEUMATIC & HYDRAULIC CLAMPS CATALOGUE 2018 I



177

c 178
EEFR =y
» STEBIENA
ORDERING INDICATION
CHTB-SD 3220 N
CHTB 7 Series CHTB
SD:  BhESEhZAERY Axial single end rod type
SW:  EhE e ATy Axial double end rod type
» EmAFE e ' SDMA: ﬁﬂ]ﬂ?ﬁfﬂﬂﬁ%ﬁ?& Ax.ial front man‘ifold type
SD ZAERIH,  Mounting type SDMB: Efo){& HigiREL Axial back manifold type
'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''' LA: {Bre) ES B2 A AU Lateral single end rod type
B, HESY, RESHERAINRERE. Lw: e Lateral double end rod type
5 — — . . (BIMERH R BS s e S Y i i
SRR, EETE, TEHTEM, BERE. LAM: - RUEEESREGHEZERS  Lateral manifold single end rod type
P e o i o nt W LWM:  fAl[a) iR etz g my Lateral manifold double end rod type
TIESH EE R PR MBS PO RN, MBERARIN T RIR, REDLE,
fFRSmR, Mo, AIEhRREREE, RHEEEE.
BXIRIEEED: 140 kgflom? 32 SHELPSYE  Hydraulic cylinder inside diameter @20, @25, ®32, ®40, ®50, ®63, P80
B/NBIEED: 5 kgflom?
fEEns=t - HER
20 1Z#EfTRE  Standard stroke E2ETIEMIEEE Please refer to the <stroke specification>
» EEFIH
] #HZ, Rod end type N: MNZF Femalethread N  W: 4N Male thread W
OIEESEZRTH, ENERANENE.
CHTB-LAM 1 CHTB-LWM K71, 1752 10mm HETHIE R T8, {7I2E#8 3= Stroke
__________________________________________________________________________ TYPE DORE $D SOM SW LA LW LAM LWM
20 25 32 40 50 P63 80 32 40 50 P63 D32 40 50 63
» FEATURES 5 ° ° ° ° ° ° ° ° ° ° ® ° ° ° °
10 [ J [ J [ ] [ [ J [ J ([ ] [ J [ J [ J [ J [ J [ J [ J [ J
Compact construction for space saving. Ideal for application in a restricted 15 ° ° PY Py ° ° PY ° Py Py ° ° ° ° °
space.Standardized specifications. Direct installation without need of any
further accessories for saving cost. 20 S C < 9 o C < @ o S O L o S O
The cylinder barrel is made of structural carbon steel. Internal surface is 25 [ ] [ ] (] [ ] [ [ ] ([ ] [ [ [ [ [ [ [ [
specially treated. Smoothness and long service life. 30 PY P ° PY PY PY PY PY PY PY PY PY PY PY PY
Axial and side manifold type without upgrading pipe , made the
cylinder appearance look better. 40 L4 b b L4 e b b L s b L e e L L
50 ° ) ° ° ° ° ° ° ° ° ° ° ° ° )

Max. operating pressure: 140 kgf/cm?
Min. operating pressure: 5 kgf/cm?
Double acting

SHELARE TREEMFR SRS FRREEHE
4
NOTE HYDRAULIC CYLINDER PISTON PRESSURE Range of
. INSIDE DIAMETER(mm) DIAMETER(mm) AREA(Cm?) temperature(°C)
You are welcome to order the special strokes under request.
CHTB-LAM and CHTB-LWM type,the stroke is 10mm without key.
F1 F2 F1 F2 F1 F2 F1 F2 F1 F2 F1 F2 -10~+60°C
.......................................................................... 20 D12 3.14 2.01 31 20 110 71 220 141 314 201 440 281 -10~+60°C
»25 D14 4.91 3.37 49 34 172 118 344 236 491 337 687 472 -10~+60°C
32 ®20 8.04 4.9 80 49 281 172 563 343 804 490 1126 686 -10~+60°C
40 25 12.57 7.66 126 77 440 268 880 536 1257 766 1760 1072 -10~+60°C
»50 ®30 19.64 1257 196 126 687 440 1375 880 1964 1257 2750 1760  -10~+60°C
D63 D35 31.17 21.55 312 216 1091 754 2182 1509 3117 2155 4364 3017 -10~+60°C
»80 45 50.27  34.37 503 344 1759 1203 3519 2406 5027 3437 7038 4812  -10~+60°C

FERREE: HET I1SO #MESFRM 1ISO-VG-32 — K EEH
Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



179

180
SDMA-N  BhEEnHEERZ smp 78
SD-N dho Bl dhim M o B SD-w Hhio) BE gl Ze e 2 Bhims T Y
SDMB-N #ha)
» (® #eHilmFL Push out
FIN#EL Pullin
SW-N  #fioEEeh=eas >~ dhin 75 SW-w Hho) L 2 dims A B
SDMA-W  Bfi[a)gimigtR < #finsh o Bl
T= ki ™
ST=Stroke SOMB-W  Bio)ia iapaiR 2 g} F
» (A) #eHilFL Push out
PIERL Pullin
CHTB Hydraulic axial mounting type SD&SW Unitmm CHTB Hydraulic manifold type SDMA & SDMB. Unit:mm

Pt R1 Ot P2 R2 02

®20 51 71 - - 43 - 8 6 12 10 42 30 55 56 9 M8x1.25x12D M10x1.25 20 22,5 11 — 5 1/8 o0 51 7 a3 E R I R R R R MBx1.25%12D  M10%1.25 .
d x1.25% x1.
©25 53 75 - - 45 - 8 6 14 12 48 36 55 56 9 M10x15x15D Mi2x1.25 22 23 12 = 5 1/8 o2 53 75 45 g TR 5'5 0 RS 20 165 13 P3 18 1 P5
i x1.5x x1.
®32 64 89 89 139 54 69 10 7 20 17 62 47 65 68 11 Mi12x1.75x15D M16x1.5 25 28 14 13 10 1/4 R R 6'5 TR o 22195 18 P4 1613 !
4 X1./9% x1.
®40 65 95 90 150 55 70 10 7 25 22 70 52 9 9 14 Mi16x2.0x20D  M22x1.5 30 28 15 14 10 1/4 ® & o5 55 10 7 25 22 7 s é B It e SN RN B
40 x2.0x x1. 2 P9
®50 71 106 97 167 60 75 11 8 30 27 80 58 11 11 18 M20x2.5x25D  M26x1.5 35 29.5 18 16 10 1/4 80 27 26 Pe 24 20
®50 71 106 60 1 8 30 27 80 58 11 11 18 M20x2.5x25D  M26x1.5 35 32 27 P6 29 20 P9
®63 80 120 108 188 67 82 13 10 35 32 94 69 13 13 20 M27x3.0x35D  M30x1.5 40 31 20 20 10 3/8
®63 80 120 67 13 10 35 32 94 69 13 13 20  M27x3.0x35D M30x1.5 40 38 3 P8 35 26 Pif
©80 95 140 127 217 78 93 17 14 45 41 114 8 15 15 22 M30x35x35D  M39x1.5 45 33 27 27 15 3/8
®80 95 140 78 17 14 45 41 114 8 15 15 22  M30x3.5x35D M39x1.5 45 47 45 P11 44 30 P11

®100 105 165 140 260 88 106 17 14 56 50 134 102 175 18 26 M36x4.0x40D M48x1.5 60 39 28 28 15 3/8
X NFEREFRE, 5KEEA  Remark: For speed contral valve installation ,welcome to contact us.

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



LA-N RIS i i b

LW-N Az e him M o 2

LA-W (A= B8 2 e B b o B

CHTB Hydraulic side mounting type LA & LW.

BORE A AL AN AW B BB C CL D SW EA EB

®32 64 89 89 139 54 69 10 7 20 17 70 56 25
®40 65 95 90 150 55 70 10 7 25 22 80 64 29
®50 71 106 97 167 60 75 11 8 30 27 94 74 34
®63 80 120 108 188 67 82 13 10 35 32 114 89 42

PNEUMATIC & HYDRAULIC CLAMPS

i 17TE < 20 RO i

RNk

(BT E R S B 2 2 < Bl P S B

Bl AR R BE BT 2 2 B o Y

Bl ER TR e BT 2 2 Bl o B

(e sz e Bhim s/ 7 2L

CHTB Hydraulic manifold type LAM & LWM.

P1 P2 P3 R PT KW KT KL

32 9 9 14 M12x1.75x15DM16x1.5
32 11 11 18 M16x2.0x20D M22x1.5
35 13 13 20 M20x2.5x25D M26x1.5
42 15 15 22 M27x3.0x35D M30x1.5

25 28 14 13 10 1/412 8 63 28 4.5
30 28 15 14 10 1/412 8 70 28 4.5
35 29518 16 10 1/414 9 80 29 5
40 31 20 20 10 3/8 16 10 100 31 5.5

CATALOCUE 2018



183
184

» ST
ORDERING INDICATION
CHTM-SD 32 20 N S1

Z7%| Series CHTM

fresgitiay SD: #h[EESEhZEERY Single end rod type
Mounting type SW: #f[o)&EshZ2ER) Double end rod type
SRS

Hydraulic cylinder ®32, ®40, ®50, P63, P8O

inside diameter

R TRE

Standard stroke 10,20,30,40,50

o N: R Female thread N

Rod end type W: 4h5F Male thread W

15 —{[& S1,2 1@ S2 1Pcs of 51, 2Pcs of S2

Senj:; switch EEJ8% DC 4-24V AC 4-120V Pressure DC 4-24V AC4-120V
ZER 5-40mA Electricity 5-40mA

i EREN> 10 MPa, fI8EHERAEEH

SD-N ) BS B 22 2 B P S 2 SD-W  BHe) B BiEr e Bl b op B

SW-N eSS ik 5 SW-W o) &z i 2 #imsh o 2L

CHTM Hydraulic magnetic type SD & SW.

Unit:mm

®32 83 108 104 154 73 84 10 7 20 17 62 47 65 68 11 M12x1.75x15D  M16x1.5 25 27 29 30 10 1/4
®40 80 110 101 161 70 81 10 7 25 21 70 52 9 9 14 M16x2.0x20D M20x1.5 30 27 27 27 10 1/4
®50 86 121 109 179 75 87 11 8 30 27 80 58 M 11 18 M20x2.5x25D M24x1.5 35 28 31 31 10 1/4
®63 97 142 120 210 84 94 13 10 35 32 94 69 13 13 20 M27x3.0x33D M30x1.5 45 30 36 34 10 1/4
®80 112 167 140 250 95 106 17 14 40 37 114 8 15 15 22 M30x3.5x33D M36x1.5 55 35 38 36 15 3/8

F: FAEH= 10Mpa B, FIEERRATHRE

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



HBC

1R B R E]

HBC HYDRAULIC
BLOCK CYLINDER

> EmiFE
ARIHEEERR T | RAEEERETE S | Bk,
RIS EE | BIEWRE , (EE5T B R \ B

BARIEES: 300 kgflem?
B/IN2IEEEH: 100 kgflom?
fEENS - EERFIEEIR

» FEEIE
THESETAL (300 < P < 500), ENDEAATIAN

» FEATURES

This series of hydraulic cylinder complies with Germany specifications. Employ imported oil
seal for outstanding pressure resistance. Standardized specification and full interchangeability
axial and side mounting type available. Single and double acting available.

Max. operating pressure: 300 kgf/cm?
Min. operating pressure: 100 kgf/cm’
Single acting and Double acting

> IR
ORDERING INDICATION

HBC - 32 S 20
%7 Series HBC
pETANESEES
Hydraulic cylinder inside diameter IR Rl
eSS S E5&f) Single-acting
Acting type D £ Double-acting
EHEITIE BEEERYE
Standard stroke Refer to the dimension table

PNEUMATIC & HYDRAULIC CLAMPS

185
186

» F1: #EHE Pushout F2: A Pullin

it aZ%E  CLAMPING FORCE

JRELPIAE EEE ZEREE

HYDRAULIC CYLINDER PISTON . .
INSIDE DIAMETER (mm) DIAMETER(mm) PRESSURE AREA(crm’) OPERATION PRESSURE(kgf/cm’) USABLE FLUID

1HEF ISO #EFARRY ISO-

Fi F2 F1 F2 Fi B2
16 10 2.01 1.22 201 122 603 366 VG-32 —fRARIEEH
25 16 4.91 2.9 491 290 1473 870 General Hydraulic Oil
32 ®20 8.04 49 804 490 2412 1470 Equivalent to ISO-VG-32
40 25 1257 7.66 1257 766 3771 2208

DIMENSION TABLE Unit:mm

SINGLE ACTING DOUBLE ACTING

STROKE B STROKE A

16 8 62 56 16 62 56 6 10 M6x1.0 12Deep 8 60 35 40 22 30 30 65 68 11 165 11
16 20 97 91 50 97 91 6 10 M6 1.0 12Deep 8 60 35 40 22 30 3 65 68 11 165 11
®25 8 71 64 20 71 64 7 16 M10x1.5 15Deep 13 65 45 50 30 50 33 9 9 14 18 M
®25 20 101 94 50 101 94 7 16 M10x1.5 15Deep 13 65 45 50 30 50 33 9 9 14 18 11
32 10 85 75 25 85 75 10 20 M12Xx1.75 15Deep 17 75 55 55 3 55 38 11 11 18 22 M
®32 20 110 100 50 110 100 10 20 M12x1.75 15Deep 17 75 55 55 3 55 38 11 11 18 22 M
®40 10 89 79 25 89 79 10 25 M16x2.0 25Deep 22 85 63 63 40 63 40 11 11 18 24 M
®40 20 114 104 50 114 104 10 25 M16x2.0 25Deep 22 85 63 63 40 63 40 11 11 18 24 1

CATALOCUE 2018



CTC

R B

HYDRAULIC
THREAD CYLINDER

» EEmiFtE

MRSV EBEFIIREEEE LT, BRRE, EFRKRHER), SEMkE
PRISRIEBAEE.

HMZE/ BB BRI BSTE/ )N, (EAERRE L, BETER/\IO=MHIER.
IBECHBLERRIERISS, EEIRMl, WBAFERRHIES
LERISRUEEEN LFE, BR788 10°.

TR EAP R BN — RIEERELE .

BRAIRIEEES: 250 kgf/lcm?2
B/MBIEES: 20 kgf/cm?2
EEG - B

» FEATURES

The Thread-body single acting hydraulic cylinder use imported oil seal and accessories to
guarantee the quality . No oil leakage while clamping in high pressure for a long time.The
volume of the thread-body single acting hydraulic cylinder is small. It can be utilized in a small
space in the fixture.This hydraulic cylinder is used to extend out, and when spring returns, but
it can't be used for pulling back.

The angle degree between the cylinder and workpiece could not be larger than 10°while
installing.

The bottom of the cylinder barrel needs a leakage-proof gasket.

Max. operating pressure: 250 kgf/cm2
Min. operating pressure: 20 kgf/cm2
Single acting

> STHEIR A
ORDERING INDICATION
CTC- 16 A

27 Series

TEIEHTE
Piston diameter

$85 Type

CTc

$12,016,920,925

PEA. BWiE
Divide A type and B type

PNEUMATIC & HYDRAULIC CLAMPS

xR = ZEEAE x TIFE] - BB

o0 44

SEEE

Model No.

CTC-12A
CTC-16A
CTC-20A
CTC-25A
CTC-12B
CTC-16B
CTC-20B
CTC-25B

MODEL

CTC-12A
CTC-16A
CTC-20A
CTC-25A
CTC-12B
CTC-16B
CTC-20B
CTC-25B

CLAMPING FORCE AT
250 kgf/cm? (kgf)

247.5
375
765

1210

2475

375

1210

38
46.5
57.5
58.5

45

52
64.5
67.5

PRFEE SR AIERE

36
44.5
51
55
36
445
51
55

(mm)

10
12
15
16
10
12
15
16

o

®@ o

-

o o

Mounting Dimension

EBERICRERIR

RNZEEE SEEME
STROKE OIL CAPACITY CLAMP  EFF.PISTON AREA CLAMP  SPRING FORCE(kgf)

(cm?) (cm?)

2.14 1.13 35

4.24 2.00 25 BETF ISO M EFRA ISO-

229 & 20 VG-32 —RiREEH

11.85 4.90 15

A e = General Hydraulic Oil

4.24 2.00 25 Equivalent to ISO-VG-32

7.29 3.14 20

11.85 4.90 15

Unit:mm

D F G H N ST
M22x1.5 12 16 6 10
M26x1.5 16 20 7 12
M30X%1.5 20 24 7 15
M38x 1.5 25 28 10 16
M22x1.5 12 16 6 M6x1.0 10
M26x 1.5 16 20 7 M6x1.0 12
M30x% 1.5 20 24 7 M8 1.25 15
M38x 1.5 25 28 10 M8 1.25 16

-

CATALOCUE 2018



HB

JHER IR BRRS

HB HYDRAULIC
BOOSTER

) EERSERIEEES 50kgf/cm?
Max.operation Pressure sokgf / cm?

A3

HB-9X 6 9 6¢cc 157 107
HB-8x 22 8 22cc 210 139
HB-5%35 5 35¢cc 210 139
HB-3.8 X 45 3.8 45cc 210 139

fERRES: HET ISO MEFRN ISO-VG-32 —fRikEEH
Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

PNEUMATIC & HYDRAULIC CLAMPS

50
71
71
71

> EmiSE

FEREBRNTREIRTRR, FRETSIERESASFatlzTimg, ERTasRE
ZBS, NEFRSENE, BIPIES(SEUEE.

BREKNHEZRAE, MCaEREBRET, SMrhBIlEsBREZSES, EF—
REMIRENERS, BIRRIE HB 1BEE, ri¢MhEE B HE,

==
IEEETSER

SARIEES: 50 kgflom?
S/NRIEES: 20 kgflom?

» IFEEHIE
HREEEE 30 kgf/lem?.

» FEATURES

A hydraulic sequential valve is attached to this booster .When operating , it oils cylinder and
makes it be at the dual pressure and let the sequential valve act, and then it will have multiple
boosting pressure .

It's fit for hydraulic special purpose machine and MC clamp in low pressure circuit. It needs
a solenoid valve installed in the circuit, and then it will be able to operate HB super-charger.
The super-charger may be converted automatically low oil- pressure into high oil-pressure and
obtain a high pressure clamping.

Max. operating pressure: 5o kgf/cm?
Min. operating pressure: 20 kgf/cm?

» NOTE

Pressure set at 30 kgf/cm” before shipment.

» [EI&E Circuit diagram

Pressure Gauge
EhZE

Unit:mm

®46 58 72 43 56 55 7 o7 D11 71
®58 82 95 62 80 70 9 ®9 14 96
@58 82 95 62 80 70 9 9 14 96
®58 82 95 62 80 70 9 9 14 96

cSv

JHIERIE = RE

CSV HYDRAULIC
SEQUENCE VALVE

» FIEEIRRA
ORDERING INDICATION
CSV-A CLSV-A CSV-B CLSV-B

THEEREL 25-250 kgf/cm?
Manifold type 25-70 kegf/cm’
=5 25-250 kgf/cm?
Line type 25-70 kgf/cm?

S 1HETF 1ISO MESRRY 1SO-VG-32 —RIKEEH

Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

> CLSV-A HigtRE  fEREHEEH]

CLSV-B @&  25-70kgflem?

189
190

» EREFE

ICRECHERIRRRRS , SRl EMR AR, HEIRERBILZIEFEE, 8850,
MSEE, LEREET, FHEEMES, BRSBTS FEEZHR.
FEDREA: HIRRE B: EERMERR, AR RS RESAFEF

BEEE,

BAIRIEES: 250 kgflem?
B/NRIEEA: 25 kgflom?

y EEEIR

Z{EIBFRI GRS AR, BERIRERNZERS/I 10 kgflem?s
TEBHTRERDEEXER 10kgf/em? LAL.
BIRBERES, ERGEFEEE.

» FEATURES

This series of hydraulic sequence valve is especially ideal for your fitting on the circuit of the
fixture. The hydraulic cylinder motion sequences are decided by the pressure .The sequence
value features type and Pressure Range compact construction and high pressure resistance .It
requires no further control when fitting on the circle, and provides a positive sequential motion
control.

This series provides two types of mounting type for choice. A type is a manifold mounting type
and B type are a line mounting type. You get a flexible choice of mounting types to suit your
fixture design.

Max. operating pressure: 250 kgf/cm®
Min. operating pressure: 25 kgf/cm®

» NOTE

You should set the pressure difference not be less than 10 kgf/cm® when multiple sequence
valves used in parallel circuit .

Setting the pressure difference and working pressure must be exceeded 10 kgf/cm®.

Please choose the appropriate actuation spring according to the working pressure.

) [Ei&E CIRCUIT DIAGRAM

P6

CATALOCUE 2018



CPRV

iss B YRz

CPRV HYDRAULIC
PRESSURE
REDUCING VALVE

» CIRCUIT DIAGRAM

» BRI

ORDERING INDICATION
CPRV - M 02 1
%%l Series CPRV
E4=Pak" FeES=L Blank :Line type
Piping method SHESHRZU M:Manifold
BU5E Model 02
1 5-30
B3R E 2 10-50
Pressure range 3 20-120
(kgf/cm?) 4 30-240
5 50-380

fEFREE: BET ISO MESRN ISO-VG-32 —RIREEH
Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

I PNEUMATIC & HYDRAULIC CLAMPS

Max. operating pressure: oo kgf/cm®

CFCV

B ERS

CFCV HYDRAULIC
FLOW CONTROL
VALVE

MODEL A ]
CFCV-01 35 19
CFCV-02 45 225

fERTREE: HET ISO MESRN ISO-VG-32 —REEH
Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

[115.9
119

PT1/8
PT1/4

Max. operating pressure: 210 kgf/cm’

DE F1
®12 41
®15 45

191
192

Unit:mm

445
48.5

CATALOGUE 2018 I



193

CMO
Y| ECESRERET
P ETHBIETRIE
ORDERING INDICATION
CMOBR D-63/25*100 LB +Y
7)) Series CMOB 1Z#£8) CMOD &7
Standard type Double Rods type
» BCRSHERET4E/8E Inside Structure
TR E EE T AN ) Blank: No magnet
Magnetic R: R#Aa R:Magnet
ElEiEERR 058 #  Blank: No cushion D: #f8I42%& cushions on both ends
Flxed Cushioning Type F: BiZ1{8I481& cushion on head cover B: &Z A48/ cushion on end cover
;EE?WI@ T Tl ®30 , P40 , P50 , D63 , ®80 , ®100, D125
CMOB CMODR yaraulic cylinder inside alameter
B0 Rod & #E Standard 16 ®20 ®20 ®25 ®30 ®35 ®s5o mipYs. FEHEESRL)
A Max = ®25 ®30 ®35 D40 ®so ®60 Blank: standard rod
F{43 Part name = Quantty  NO T3 Part name 2(E Quantity NO F43 Part name (& Quantity
1 JEZEFT Piston rod 1 8 MRS Rod nut 1 15 #-RIR Half snap ring 2 $fE Steel barrel ( ®30-®125) BAITE: 4K Maxi4m
2 BsEEiHEs Dustproof seal 1 9 Al E Rod cover 1 16  $@iE2E Copper piston 1 1712 stroke B Iron barrel ( ®40-®100)  H&A{TEE: 2.8°K Max:2.8m
T i & HESTFE Standard stroke: 5o, 100, 150, 200, 250, 300, 350, 400, , , 600, , 800, . .
3 #hAiMES Oil seal for shaft 1 10 #1f3 Cylinder tube 1 17 ##3= Magnet ring 1 i oKe: 5 > 20 3 350, 400, 450, 500, 500, 700, 800, 300, 1000
4 O BYE Gasket 2 11 H#F Tie rod 4 18 O B8 Gasket 2
5 SEFEMES Piston seal 2 12 O A& Gasket 1 19 &R Baffle ring 1 FA BIERIEY Front flange CA BEZ Single trunnion
: E——— e . _
6 SEMEEVE Spring washer 1 13 7EEE Piston 1 20 hARERE Washer on shaft 1 FB #:9 Rear flange CB $E% Double trunnion
N ) i 1t
7 926 Nut 1 14 &%z End cover 1 21 FIFEMRE Adjustable nut 1 HIBSE R _ -
Accessories LB MIEERY Foot mount CBP CB+Pin CB with pin
TC EHi#hE Trunnion type CAB CA+P+CB
b ECESHERRTF SR Specification
JHELAIAE Hydraulic cylinder inside diameter(mm) ®30 ®40 ®50 ©63 ®80 ®100 ®125
Power Flutd Y Y BUEEE Y joint PHS A AREESE Rod-eye joint
! LUgiE > IR B Filtered Ol
g e YP Y+Pin Y with pin T T BY4EEE T joint
Wi Carbon steel STKM-13c/ B#& Stainless tubes SUS 304/AL Tube AB063TDS-T5 s EER
0.3-7.0 MPA(3-70kg/Cm?) Accessories I | 2208 | joint H {24258 Welding sleeve joint
8~300(mm/sec) KG FE1ZEE Floating joint A ARG Adjustable nut
-10~+60 (C)
30 30 30 30 35 50 50
5] Hl{T72TF 1501-2500mm BEERE (PM)
Piston length when the stroke is between 1501-2500 mm 60 60 60 60 70 100 100
FTH4TRETF 2501-4000mm RFERE (PM)
Piston length when the stroke is between 2501-4000 mm 120 120 120 120 140 150 150

I PNEUMATIC & HYDRAULIC CLAMPS CATALOGUE 2018 I



195
196

» CMOB E A CMOB BASIC TYPE » CMOB+FA BJ;AESEY CMOB+FA FRONT FLANGE TYPE

» CMOD #£#HZ) CMOD DOUBLE-END ROD
» CMOB+FB 1&;%#5%. CMOB+FB AFTER FLANGE TYPE

» CMOD-A #8Ha]zF%) CMOD-A ADJUSTABLE DOUBLE-END ROD

» CMOB+TC A E#fHY CMOB+TC MIDDLE TRUNNION TYPE

Unit:mm

CMOB-CMOD TYPE

BORE DA

®30 30 16 M14x1.5 50 34 28 13 15 25 25 75 75 1/4" M8x1.25 8 85 50 22 8 128 181 156 25 15 20 30 30
®40 40 20 Miex1.5 64 45 28 17 20 30 30 80 80 3/8" M8x1.25 8 85 50 235 8 147 209 184 25 15 30 35 35
®50 45 20 Miex1.5 70 50 28 17 20 30 28 79 80 3/8" M10x1.2510 10550 235 8 147 209 184 25 15 30 35 35
®63 55 25 M22x1.5 8 60 40 20 30 31 31 81 81 3/8" M10x1.2510 10550 32 13 {12 247 212 35 20 35 45 40 Unit:mm
®80 62 30 M26x1.5106 74 40 20 32 37 35 91 92 1/2" M12x1.2510 13 55 35 13 {79 268 233 35 20 40 50 40 CMOB TYPE FA+FB TYPE TC TYPE

®100 78 35 M30x1.5122 89 45 20 32 37 37 117 117 1/2" M14x1.5 10 14580 41 13 206 298 258 40 25 45 60 45 i :
®125 85 50 M40x2.0 147 110 55 25 31 40 40 120 120 1/2" M16x1.5 10 17 80 55 15 21 322 272 50 30 60 80 55

BORE A § D FT FR ; L

R Note: ®30 30 16 M14x1.528 13 15 25 17 25 75 75 1/4" 50 8 | 111 189 9 11 80 34 105 | 52 78 8 55 25 16 16

©40 40 20 M16x1.528 17 20 30 26 30 80 80 3/8" 50 8 | 121 158 12 11 93 50 115 | 72 92 127 69 25 18 29
1 BOIAIAEIIRER I8, REAASHRESTIT. 1. For rods extending processing, if the length is not specified,then it should follow our ®50 45 20 M16x1.528 17 20 30 26 28 79 80 3/8" 50 8 | 119 156 12 11 93 50 115 | 72 92 153 83 28 20 35
2.CMO Z51{712:4818 1500mm B, iEEEEE( PM A, sTHITIZAEB 1500mm B, company's stipulation for processing. ©63 55 25 M22x1.540 20 30 31 36 31 81 81 3/8" 50 13 | 126 176 14 14 117 60 140 | 90 106 170 98 32 25 36
EERESEISIEANR. 2. For the CMO series whose stroke s less than 1500mm, the length of piston is shown ©80 62 30 M26x1.540 20 32 37 32 35 91 92 1/2' 55 13 | 147 199 14 20 152 75 180 | 106 1165 194 124 35 28 35
3.CMO FBU{TH2iBi8 2000mm( & ) B, ZniuiFePRIBIER: in the affiliated table,for those customized stroke . which is more than 1500mm, the ©10078 35 M30x1.545 20 32 37 32 37 117 117 1/2' 80 13 | 174 226 16 20 158 90 200 | 125 129 222 142 38 30 40
4.CMO FRUSTIE 40-50 HELZ{THAEIB 500mm (&) LIEK, #OFHEM18P1.5,  length of piston conforms to characteristic table. ©12585 50 M40x2.055 25 31 40 36 40 120 120 1/2" 80 15 | 180 236 18 20 184 110 225 | 153 136 255 175 40 32 40
5 AST BEPisE s aHTE. 3.Middle rod holder must be installed for those CMO series whose stroke is equal to or

more than 2000mm.

4. Rod thread should be changed into M18*P1.5 for CMO series bore size 40-50 bore size
whose stroke is equal to or more than soomm.

5. AST stands for the adjustable stroke designated by customers.

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



197
198

» CMOB+CA BEEZAY  Single Trunnion Mounting Type

» CMOB+CB #H7A! Double Trunnion Mounting Type

» CMOB+LB Bi{ZHIEERY Front & Rear Foot Mounting Type

Unit:mm
CMOB TYPE ‘ CA+CB TYPE ‘ TB TYPE

CV 2CB BM ; T X LY

®30 30 16 M14x1.5 28 13 15 25 25 75 1/4"50 8 |159 10 10 11 20 16 162 12 22 16 48 | 156 9 60 35 18 28 10 5 34 53
©40 40 20 M16x1.5 28 17 20 30 30 80 3/8"50 8 |183 12 13 11 25 22 187 14 26 22 62 | 186 9 77 4522538 12 6 45 68
®50 45 20 M16x1.5 28 17 20 30 28 79 3/8" 50 8 |181 12 13 12 24 22 185 14 26 22 68 | 184 11 81 46 21 38 12 6 50 73
®63 55 25 M22x1.5 40 20 30 31 31 81 3/8" 50 13 |21220 24 19 31 30 212 18 32 30 81 | 188 11 96 53 23 38 12 6 60 88
®80 62 30 M26x1.5 40 20 32 37 35 91 1/2"55 13 |247 30 30 18 50 30 247 18 50 31 61 | 199 13 113 60 23 36 14 6 74 105
®100 78 35 M30x1.5 45 20 32 37 37 117 1/2" 80 13 |27935 35 18 55 35 279 18 55 36 76 | 250 16 139 78 33.548 27 9 89 127
®125 85 50 M40x2.0 55 25 31 40 40 120 1/2" 80 15 |28935 35 18 55 35 289 18 55 36 76 | 262 18 161 87 32 51 24 9 110150

PNEUMATIC & HYDRAULIC CLAMPS CATALOCGUE 2018



199
200

CHO

5\ BB AT

CHO SERIES
HYDRAULIC CYLINDER

> ERIENA
ORDERING INDICATION CHOB R D - 63 /35*100 LB + Y

25| Series CHOB 128 CHOD £é7!
. - Standard type Double Rods type
» BESHRII4EEE Inside Structure
R o9k LA Blank: No magnet REFEA ©40- 0100
Magnetic R: AK#EEA (EE ©40-0100) With magnet apply to bore ®40-®100
EERI SR | Blank: No cushion D: #@I%&% cushions on both ends
Fixed Cushioning Type F: BUEAI%E1& cushion on head cover B: %145 cushion on end cover

TR

. , .. X ®40 , 50 , 63, ®80 , ®100, D125 , 150 , D180 , D200
Hydraulic cylinder inside diameter

=

t&Z#E Standard ®25 ®30 P35 P40 Oso0 P60 D80 D100 D100 fEE0TE . L)

#i(> Rod '
K Max -®35 ®40 ®50 ®60 ®8o d100 ®120 D120 Blank: standard rod
F4Z Part name 8 Quantit NO THZ Part name & Quantity NO F43 Part name 22 Quantit
= Q Y R Q Y R Q Y $M%E5 Steel barrel ( ® 40-®125) BAITIZ: 4K Max:i4m
N 17%Z Stroke F$MES Iron barrel ( ®40-®100 ) BAITIZ: 2.8 2K Max:2.8m
B B 18 12 =
1 AT Piston rod 1 9,11 O Gasket 3 R nut 8 1E#E/TFE Standard stroke: 50, 100, 150, 200, 250, 300, 350, 400, 450, 500, 600, 700, 800, 900, 1000.
2 SHEIRA | ocking nut 1 10 4113 Cylinder tube 1 19 B EAE Spring washer 3
3 Fp28RES Dustproof seal 1 12 MiyEEER Wearing ring 1 20 HIFF Tie rod 4
4 MAAET Oil seal for shaft 1 13 SEZEHES Piston seal 2 21 K18 Half snap ring 2
5 [EZ Gland 1 14 SEZE Piston 1 22 B4¥= Magnet rin 1 O oo . .
' Y 2 FA  BIZEREIE! Front flanget ype CA BHA Single trunnion type
6 EEE Guide sleeve 1 15 9283 Nut 1 23 &% Baffle ring 1
TN FB &% Rear flange type CB EHEA Double trunnion type
7 O Casket 1 16 @A Springwasher 1 24 WA Rod baffle ring 1 A ity = gebp 2
Accessories REFY + P i ;
8 iz Rod cover 1 17 1&ifZ End cover 1 25 AJFAIZE} Adjustable nut 1 LB BHEEEL Foot type CBP  CBIff Pin CB with pin
TC  E&#HE Trunnion type CAB  CA+P+CB

h[Ex = VA N ] .
» BESHRRITFMEE R Specification T e

SEEL YL Hydraulic cylinder inside diameter(mm) ®40 ®50 ®63 ®80 ®100 125 ®150 180 ®200

LUBIEZ 12 #E R B Filtered Ol
Fx#ME Carbon steel STKM-13c/ B#i& Stainless tubes SUS 304

Y Y BUEEEE Y joint PHS fR#ZEE Rod-eye joint
0.3-14MPA(3-140kg/Crm? o
o/ Clp - YP  YEPIn Y with pin T TE4EEE T joint
8~300(mm/sec) i\ E EET
i RUEEE | ioi JEES ing ioi

10~ +60(C) Accessories | | BU288 | joint H JEEH288 Welding joint

KG 72 Eh#£5E Floating joint A AJFFLRNE Adjustable nut
25 25 25 30 35 40 45 50 55
30 35 35 50 60 70 60 70 70
I HfTHES 1501-2500mm ESEEESE (PM) 60 70 70 80 100 100 100 140 140

Piston length when the stroke is between 1501-2500 mm

T HI{TI2TF 2501-4000mm BHEERE (PM) 120 140 140 150 180 180 180 200 200
Piston length when the stroke is between 2501-4000 mm

I PNEUMATIC & HYDRAULIC CLAMPS CATALOGUE 2018 I



201
202

ball
> CHOB EZRZE CHOB BASIC TYPE b CHOB-FA B3%RI% CHOB-FA FRONT FLANGE TYPE

-

» CHOB-FB 1&;%£F5%Y CHOB-FB AFTER FLANGE TYPE
» CHOB ££&H{%) CHOB DOUBLE END ROD TYPE &ixE

> CHOD-A &EEYKIFI#EIE CHOD-A ADJUSTABLE DOUBLE END ROD TYPE > CHOD-FA &£#7T;%M35 CHOD-FA DOUBLE END FRONT FLANGE TYPE

Unit:mm

A( BJ 31742 )TYPE CHOB-CHOD TYPE

CHOB-CHOD-TYPE FA-FB TYPE

28 76 74 3/8" 50 22 128 175 12 93 17 50 115 75

D40 40 25 M22xP15 65 45 40 20 17 33 28 76 74 3/8" M10x1.5205 22 50 13 32 148 195 230 35|20 30 45 40 ®40 40 25 M2xP15 40 20 17 33

®50 50 30 M26xP1.5 80 56 40 20 17 38 30 85 85 3/8" Mi2x1.5 23 22 55 13 35 160 210 250 40 | 25 37 55 45 ®50 50 30 M26xP15 40 20 17 38 30 8 85 38" 55 22 140 190 | 14 110 17 56 150 85
©63 55 35 M30xP1.5 90 63 45 20 17 38 30 85 85 3/8" Mi4x1.5245 22 55 13 41 160 210 250 40 | 25 42 60 45 ®63 55 35 M30xP15 45 20 17 38 30 8 85 38" 55 22 140 190 | 14 126 17 68 155 95
®80 60 40 M30xP1.5 110 80 45 20 20 38 35 107 105 1/2" Mi6x1.5 27 25 75 13 41 188 236 281 45|30 47 70 50 ®80 60 40 M30xP15 45 20 20 38 3 107 105 4/2' 75 25 168 216 | 18 152 20 75 190 120
100 80 50 M40xP2.0 131 95 55 25 20 41 37 1235 120 1/2" M18x1.5 29.5 25 90 15 55 213 267 312 45|30 57 90 55 ®100 80 50 M40xP20 55 25 20 41 37 1235 120 1/2' 90 25 188 242 | 20 180 20 100 220 140
®125 90 60 M50xP2.0 162 122 70 35 30 57 47 143 140 3/4" M22x1.5335 35 100 15 65 269 349 399 50 | 35 68 100 70 Sl e I I T O S L U L R I R U
®150 110 80 M70xP2.0 195 144 80 35 30 60 50 135 130 3/4" 1"8UNC 46 35 90 20 90 265 345 405 60 |40 90 120 75 CED Tl G0 AED B0 ge 20 HE el TER Y gt B e &0 S0 E A 80 e S A
®180 135100 M90xP2.0 235 175 100 35 40 65 55 172 170 1" M30x20 59 45 120 20 110 315 405 470 65 |45 110 150 75 U U e U R R N L N U T IO U R TR
©200 135100 M90xP2.0 262 193 100 40 40 65 60 175 170 1" M33x20 59 45 120 20 110 325 415 480 65|40 110 150 80 CEID e9 it LemieEl  Je0 4p  co B @) 8 e T 3D o 2 98 | & ek 40 B s A
(= 4 Note: w BT v Note: w

1 BOINARMKREBRRERTE, KBAXSRESTINT.

2. CHO R5fTi2sRiBi8 1500mm B, JEERE (PM) 10, ATHITI2A0EE 1500mm B,
BERE (PM) #2695t ERZE.

3. ARGVTIZER 2000mm( & ) B, BNNRIATPREIEIEEE .

4. RRIUTIZBCRIERRE ME0mmM( & ) LIRS, ESMEEER .

5. AST BREFIBEZ AT,

PNEUMATIC & HYDRAULIC CLAMPS

1. For rods extending processing,if the length is not specified,then it should follow our
company's stipulation for processing.

2. For the CHO series whose stroke is less than 1500mm,the length of the piston
is shown in the affiliated table,for those customized stroke . Which is more than
1500mm,the length of piston conforms to characteristic table.

3.Middle rod holder must be installed for those CHO series whose stroke is equal to or
more than 2000mm.

4. The external diameter would be round when the size of red nut is equal to or more
than Mgomm.

5. AST stands for adjustable stroke designated by customers.

1 BOINKMNFEBRERTE, KEBAXSRESTINT.

2. CHO RJfTi2sRiBiB 1500mm B, JEZERE (PM ) 1R, FTHITIZA0EER 1500mm B,
EERE (PM) B2EFHENE.

3. AR CMZIERRE MEOMmM ( BLALRS) , EYMEEER .

1. For rods extending processing,if the length is not specified,then it should follow our
company's stipulation for processing.

2. For the CHO series whose stroke is less than 1500mm,the length of piston is shown
in the affiliated table,for those customized stroke . which is more than 1500mm,the
length of piston conforms to characteristic table.

3.The external diameter would be shound when the size of rod nut is more than
Msomm.

CATALOCUE 2018



203

204
» CHOB+TC R E#HE! CHOB+TC MIDDLE TRUNNION TYPE » CHOB+CA E2EIZ%Y CHOB+CA SINGLE EARRINGS
» CHOB+TA gyE#HZE! CHOB+TA FRONT TRUNNION TYPE » CHOB+(B #E1=7%J CHOB+C(B DOUBLE EARRINGS
Unit:mm Unit:mm
CHOB TYPE TC TYPE TA TYPE CHOB TYPE CA+CB TYPE
: : OTUA TLA :

®40 25 M22xP1.5 40 20 17 33 28 76 3/8" 50 13 148 95 20 115 75 28 20 20 109 69 20 535 40 25 M22xP1.5 40 20 17 33 28 76 3/8" 50 13 173 190 16 42 17 25 15 22 23 47
®50 30 M26xP1.5 40 20 17 38 30 85 3/8" 55 13 160 1025 25 140 90 33 25 25 134 84 25 56 ®50 30 M26xP1.5 40 20 17 38 30 85 3/8" 55 13 195 212 20 52 17 35 20 22 23 47
®63 35 M30xP1.5 45 20 17 38 30 85 3/8" 55 13 160 1025 32 166 102 40 32 30 154 94 30 56 P63 35 M30xP1.5 45 20 17 38 30 85 3/8" 55 13 205 222 25 62 17 45 25 30 31 59
®80 40 M30xP1.5 45 20 20 38 35 107 1/2" 75 13 188 1155 32 184 120 43 32 30 174 114 30 59 80 40 M30xP1.5 45 20 20 38 35 107 12" 75 13 238 258 30 70 20 50 30 35 36 76
®100 50 M40xP2.0 55 25 20 41 37 1235 1/2" 90 15 213 131 40 220 140 53 40 35 205 135 35 655 ®100 50 M40xP2.0 55 25 20 41 37 1235 1/2" 90 15 273 293 35 80 20 60 35 40 41 81
®125 60 M50xP2.0 70 35 30 57 47 143 3/4" 100 15 269 172 50 275 175 58 50 45 258 168 45 935 d125 60 M50xP2.0 70 35 30 57 47 143 3/4" 100 15 339 369 50 100 30 70 50 55 56 106
®150 80 M70xP2.0 80 35 30 60 50 135 3/4" 90 20 265 170 60 326 206 73 60 50 300 200 50 95 ®150 80 M70xP2.0 80 35 30 60 50 135 3/4" 90 20 345 375 60 110 30 80 60 60 61 121
®180 100 M90xP2.0 100 35 40 65 55 172 1" 120 20 315 200 80 403 243 98 80 »180 100 M90xP2.0 100 35 40 65 55 172 1" 120 20 415 455 80 140 40 100 80 80 81 161
®200 100 M90xP2.0 100 40 40 65 60 175 1" 120 20 325 205 90 452 272 108 90 ®200 100 M90xP2.0 100 40 40 65 60 175 1" 120 20 435 475 90 150 40 110 90 90 91 171

f&iE: 2% CHOB+TA BIFIEE ©40- 150, Note: Bore size of "CHOB+TA" type: ®40- ®50mm

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



CHOB TYPE

M22xP1.5 40 20 17 33

M30xP1.5 45 20 17 38

®100 50 M40xP2.0 55 25 20 41

®150 80 M70xP2.0 80 35 30 60

®200 100 M90xP2.0 100 40 40 65

» CHOB+LA ZEA ) EERY CHOB+LA FEET SEAT TYPE

» CHOB+LB Fi{ZH/ZE CHOB+LB COURSE OF A TYPE

28 76 3/8"

30 85 3/8"

37123.5 1/2"

50 135 3/4"

60 175 1"

ZA Z AN

A

LA TYPE

50 13|80.5 148 37 69.5 535 14 90 112 | 203

12
14

H
55 13| 89 160 50 95 56 19 128 156 |228
90 15(129 213 70 1355 655 21 27 178 210 |320
90 20| 145 265 113 208 95 28 35 270 325 | 390

12020'182.5 325 161

PNEUMATIC & HYDRAULIC CLAMPS

292

112 35 50 360 430 '475

LB TYPE

11 37.5 235 125 6 45

16 44 26 22 8 62

20 66 455 24 15 100

28 80 53 30 20 144

35 95 735 40 25 193

Unit:mm

205
206



207

CFO
= 337 /) '\\ =y
P o] s @ REREL
CFO SERIES 14MPA
» FTESIENE
ORDERING INDICATION
CFOBR D-63 /35*%100 LB + Y
27 Series CFOB 1Z#8! CFOD &z
S ar— . Standard type Double Rods type
» AR EHEII4E#8E Inside Structure
T RRE . A Blank: No magnet ~ AZEZI@EA ®40-®100
Magnetic Z: AMfgHA (EE ©40-0100) Z: With magnet aapply to bore ®40-® 100
Bl ER HEEOSE | L2 Blank: No cushion D: #1814 cushions on both ends
Fixed Cushioning Type F: B1Z{BI421& cushion on head cover B: &Z/I1481& cushion on end cover
RIS
HVE’:“J!C CV”t“E'Ef ©40, ©50, 63, @80, ®100, ®125
Insiae dlameter
CFOBD CFODD
ECeR: 2EEO
B Rod @20 ®30 ®35 ®40 ®50 ®60 Blank: standard rod
F43 Part name & Quantity  NO THZ Part name E Quantity NO F3 Part name 212 Quantity S8 Steel barrel ( ®40-®200) B35 4% Maxam
1772 Stroke BHfE Iron barrel ( ®40-®100)  FAfTFE: 2.8 K Max:2.8m
1 FEZEHT Piston rod 1 10 #1f8 Cylinder tube 1 19 BIFA2E Adjustable nut 1 e o e () s, 0T, B, SmT. SEm, SO SES, AT, 4R SR, Gom, TR GET, S, s
2 $HEMZRY | ocking nut 1 I #2/&%E Cushion collar 1 20.21 O B Gasket 2
3 FEEiES Dustproof seal 1 12 O #i[E Gasket 1 22 NAIEH Hexagon nut 1
4 #hFHES Ol seal for shaft 1 13 fifEEEE Wearing ring 1 23 FIERAAHT Adjustable lead screw 1 EA BU;ERIR Front flange type 1I' ' LA BIEERS Foot type — =
S 1 14 SEZEMES P 2 SR Ti - ‘ ; = —
B B2 Gland EEMES Piston seal 24 FIFF Tie rod 4 kB #5585 Rear flange type | | | o - -
6  WME Guide sleeve 1 15 %2 Piston 1 25 B Half snap ring 2 FTE Rt E= [T
=R LB FEEERY Foot type j 7
’ o e 1 b R cove 1 - FE Setie o 1 e CB EEIZT Double trunnion type L i ESEA Single trunnion type m
8 BilixZ Rod cover 1 17 1253 Nut 8 27 #FEHEE Rod baffle ring 1 Z£HIRE Dou u yp t
9 O R Gasket 2 18 SEEEE Spring washer 8 28 AR Adjustable nut 1 CBP CB Hf Pin CB with pin CAB CA+P+CB ﬂ

» AIBAEEMERTASIEE R Specification

SHELAITE Hydraulic cylinder inside diameter(mm) ®40 ®50 63 ®80 ®100 ®125

Y Y BUEEE Y joint :q:i:':l PHS fARERE Rod-eye joint 0'” ‘ —‘
YP Y+Pin Y with pin ﬂﬂ:u T T RUESE T joint

LIRS Z IR ER B Filtered Ol
ixifE Carbon steel STKM-13c/ Bi#& Stainless tubes SUS 304

EHOEEBLT
.3-14MPA(3-140kg/CM? i . _ ) _ l
03 (3-140kg/CM') Accessories | BUE598 | joint H JEEHEEE Welding sleeve joint -_( U
8~300(mm/sec) -
10-+60(T) KG SFENEEE Floating joint A ATHEHEIE Adjustable nut
25 25 25 25 30 30
30 32 36 40 59 59
ATHIATIETF 1501-2500mm ELEEEE (PM) 60 65 65 80 120 120

Piston length when the stroke is between 1501-2500 mm

I PNEUMATIC & HYDRAULIC CLAMPS CATALOGUE 2018 I



209

210
» IZ#E CFOBD+FA BY Bi;ARSEY Front Flange Mounting Type » 1E#E CFOBD+LA BY AHBIEEEY Right & Left Foot Mounting Type
Unit:mm Unit:mm
ABER Y dimension Z4E48RIR T mounting dimension
D40 20 Mi8x1.5 30 20 11 36 26 54 50 13 M10x1.5 143 65 45 1/4" | 11 40 95 118 46 1 69 D40 20 Mi8x1.5 30 20 11 36 26 54 50 13  M10x1.5 40 65 45 1/4" | 143 81 13 90 112 1 65 325
»50 30 M26x1.5 35 30 13 42 34 68 50 13 M10x1.5 169 75 52 3/8" | 13 45 115 145 58 13 85 »50 30 M26x1.5 35 30 13 42 34 68 50 13 M10x1.5 45 75 52 3/8" | 169 88 15 109 132 13 75 375
63 35 MB30x1.5 40 35 15 42 34 75 50 15 M12x1.75 176 90 63 3/8" | 15 55 132 165 69 15 98 63 35 M30x1.5 40 35 15 42 34 75 50 15 M12x1.75 55 90 63 3/8" | 176 88 18 128 154 15 90 45
80 40 MB35x1.5 45 35 18 46 40 79 50 17 M16x1.5 189 110 80 1/2" | 18 55 155 190 87 18 118 D80 40 M35x1.5 45 35 18 46 40 79 50 17 Miex1t.5 55 110 80 1/2" [189 93 20 152 184 18 110 55
®100 50 M45x1.5 55 40 20 50 40 90 69 19 M18x1.5 219 135 98 1/2" | 20 65 185 224 109 20 145 ®100 50 M45x1.5 55 40 20 50 40 90 69 19 M18x15 65 135 98 1/2" |219 114 24 178 210 20 135 675
®125 60 M50x2.0 65 45 24 58 48 104 69 21 M22x1.5 244 165 122 3/4" | 24 75 224 272 132 24 175 ®125 60 M50x2.0 65 45 24 58 48 104 69 21 M22x1.5 75 165 122 3/4" [244 122 28 211 250 24 165 825
» 2 CFOBD+FB B 1&)ARIEY Rear Flange Mounting Type » 1E4E CFOBD+LB 2! FifEREEEY Front & Rear Foot Mounting Type
Unit:mm Unit:mm
~ mounting dimension AREER T dimension Z#EABBIR T mounting dimension
®40 20 Mi8x15 30 20 11 36 26 54 50 13 MIOX15 40 65 45 14" |11 154 95 118 46 1 69 D40 20 Mi8x15 30 20 11 36 26 54 50 13 M10xi.5 40 65 45 1/4"| 187 8 45 13 32 11 755 43
DD B0 ERME o5t o am omeoGm oS n R = TR ®50 30 M26x15 35 30 13 42 34 68 50 13 MiOx15 45 75 52 3/8"| 209 8 52 15 35 13 875 50
©63 35 M30xi5 40 35 15 42 34 75 5 15  MI2x175 55 90 63 38" |15 191 132 165 69 15 98 ®63 35 M30xi5 40 35 15 42 34 75 50 15 Mi2x1.75 55 90 63 3/8"| 225 10 63 18 42 15 105 60
TRD 0 EEAlE b mm . m dm o T® En R [ e e R S ®80 40 M35x15 45 35 18 46 40 79 50 17 Mi6xi5 55 110 80 1/2" | 254 12 80 20 50 18 127 72
©100 50 M45015 55 40 20 50 40 90 69 19 M18x1.5 65 135 98 1/2" |20 239 185 204 109 20 145 ®100 50 M45x1.5 55 40 20 50 40 90 69 19 Mi8x15 65 135 98 1/2"| 289 12 98 23 55 20 1525 85
[T 4
1. BOINAUIARTARER TR, KBALSRREBTINT. 1.For axis extending processing,if the length is not specified,then it should follow
2.CFO RATREAKIBIB 1500mm B, SEZERE (PM) ki, :THATIZA0EIE 1500mm B, our company's stipulation for processing.
TEERE (PM) B2BHEERIER, 2. For the CFO series whose stroke is less than 1500mm,the length of the piston
3. RZRFTIZANEBB 2000( & ) mm B, BIATPREEREE. is shown in the affiliated table,for those customized CFO whose stroke is more
4, REFEOIRIEARAE ME0mm (&) LLER, EIMSEER . than 1500mm;the length of piston conforms to product specification.
5.AST BEFIEEZoI#{TiZ. 3. Middle rod holder must be installed for those HO whose stroke is equal to or

more than 2000mm.

4.The external diameter would be round when the size of rod nut is equal to or
more than M50mm.
5.AST stands for the adjustable stroke designated by customers.

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



» {Z% CFOBD+CAZY EBEHZA! Single Trunnion Mounting Type

Unit:mm

40 20 Mi8x15 30 20 11 36 26 54 50 13
50 30 M26x1.5 35 30 13 42 34 68 50 13
63 35 M30x15 40 35 15 42 34 75 50 15
80 40 M35x1.5 45 35 18 46 40 79 50 17
®100 50 M45x1.5 55 40 20 50 40 90 69 19
®125 60 M50x20 65 45 24 58 48 104 69 21

M10x1.5 65 45 1/4" 181 38 16 25 16

M10x1.5 75 52 3/8" 214 45 20 31.5 20
M12x1.75 90 63 3/8" 239 63 31.5 40 31.5
M16x1.5 110 80 1/2" 261 72 31.5 40 31.5
M18x1.5 135 98 172" 303 84 40 50 40
M22x1.5 165 122 3/4" 307 63 50 53 50

» IEAE CFOBD+TC 22 H#4ZY Trunnion Mounting Type

Unit:mm
244889 < mounting dimension

40 20 Mi8x15 30 20 11 36 26 54 50 13
®50 30 M26x15 35 30 13 42 34 68 50 13
63 35 M30x15 40 35 15 42 34 75 50 15
80 40 M35x15 45 35 18 46 40 79 50 17
®100 50 M45x1.5 55 40 20 50 40 90 69 19
®125 60 M50x2.0 65 45 24 58 48 104 69 21

(=T 4

1. EOINASAE NI R ERRER IR, KERANEMEEETINT.

2. CFOA0 RZ5I{7724818 500mm LALEs, #OFIIKRE M18xP1.5,

3.CFO RPfTi2RiBIA 1499mm B, EERE (PM) KigRBLE, Ti2UBR
1500mm LLERS, JEERE (PM) 2 ERE.

4. BUERNE ((©J) ERECMEIE (W) FRIEKTF M50 B, EAMSBER, W, JIEEIME,
5. AST BEFEEZ T,

PNEUMATIC & HYDRAULIC CLAMPS

M10x1.5 65 45 1/4" 143 | 72 69 109 20 20 28
M10x1.5 75 52 3/8" 169 | 80 85 135 25 25 33
M12x1.75 90 63 3/8" 176 | 82 98 161 315 315 40
M1i6x1.5 110 80 12" 189 | 89 118 181 315 315 43
M18x1.,5 135 98 1/2" 219 | 1045 145 225 40 40 53
M22x1.5 165 122 3/4" 24411165 175 275 50 50 58

1. For rods extending or reducing processing,if the length is not specified,then it should

follow our company's stipulation for processing.

2. Rod thread tooth should be extending into M18*P1.5 for CFO series bore size 40 whose
stroke is more than 500mm.

3. For the CFO series whose stroke is not exceeding 1499mm,the length of piston conforms
to specification table for assembling,For those whose stroke is more than 1500mm,the
length of piston conforms to characteristics table.

4. The external diameter should be round when the size of rod cover nut ( ®J) and rod nut
(®W) is more than M50,W,J refer to its external diameter.

5. AST stands for adjustable stroke designated by customers.

CATALOCUE 2018

211
212



CRO

Z5\[ERYHEART

CRO SERIES 14MPA
ROUND HYDRAULIC
CYLINDER

» BIBYHBRET 4518 Inside Structure

F4Z Part name £= Quantity
1 JEZEM Piston rod 1
2 FrEEHES Dustproof seal 1
3 hAiME  Oil seal for shaft 1
4 BEE  Guidance tape 1
5 OBz  Gasket 1
6 OZE  Gasket 1
7 OBz  Gasket 1
8 yEZEHE]  Piston seal 2
9 MEEE  Wearing ring 1

» BEIESHERF SR Specification

SHELAITE Hydraulic cylinder inside diameter(mm)

5] Hl{T72TF 1501-2500mm BEERE (PM)
Piston length when the stroke is between 1501-2500 mm

FHI{TFETF 2501-4000mm BEERE (PM)
Piston length when the stroke is between 2501-4000 mm

NO T Part name 2= Quantity NO Z{HZ Part name #& Quantity
10 BB Spring washer 2 18 HFFE  Halfsnapring 2
11 o Nut 1 19  $EZE  Copper piston 1
12 BMEE  Rod nut 1 20 iz Magnet Ring 1
13 AliiE  Rod cover 1 21 OEHE Gasket !
14 SHEUZR | ook Nut 1 22 R Baffle Ring !
15 8%  Cylndertube 1 23  WFSIEE washer On Shaft 1
16 T3 Piston 1 24 SHZIRA | ock Nut 1
17 E®E  End cover 1 25  HHERE Adjustable Nut 1

®40 ®50 »63 ®80 ®100 ®125
LIRS Z IR ER B Filtered Ol
ixifE Carbon steel STKM-13c/ Bi#& Stainless tubes SUS 304
O.3—14MPA(3—14Okg/Cm2)

8~300(mm/sec)

-10 ~ + 60 (T )
30 35 35 50 60 70
60 70 70 100 100 120
90 100 100 150 180 200

I PNEUMATIC & HYDRAULIC CLAMPS

A BIEA
ORDERING INDICATION
CROBR D - 63 /35%100 LB + Y

B3 Type

Magnetic
EEEERIT
FLXED
CUSHIONING TYPE
SHETPIFE

Hydraulic cylinder
inside diameter

() Rod

17%2 Stroke

TIREEIE
Accessories

i EER
Accessories

CROA(FER) o — || CROBBE) CROC(CAEY) CROD( ££37Y )
Flat tail type B type CA type Double rods

0N KA
R: Ai#A (&R ©40-0100)

Blank: No magnet ~ AZRZIERE ®40- 100
Z: With magnet aapply to bore®40-® 100

HEROEE -  Blank: No cushion D: #fAI4Ef& cushions on both ends
F: BUZ{AI4E1& cushion on head cover B: EZ{EI4&& cushion on end cover

®©40, ®50, ®63, @80, @100, ®125

1&#E Standard ®20 ©25 ©35 ©40 O50 ©60
B K Max 25 ©30 ®40 ©50 ©70 ©80

MmECIR: SO
Blank: standard rod

/S Steel barrel ( ® 40-® 200 ) BAITIE: 4K Max:4m
F4M%5 Iron barrel ( ® 40-®100 ) BAITIZ: 2.8 K Max:2.8m

FA BIERIEL Front flange LB FIEEEY Foot mount
FB &;%B98 Rear flange TC FRE#AREY MiddleTrunnion E[j:
Y Y BUEEE Y joint PHS fAR#EEE Rod-eye joint
YP Y+Pin Y with pin T T ZYEEE T joint
| BUE598 | joint H JEEHEEE Welding sleeve joint
KG 721558 Floating joint A AJFARNE Adjustable nut

213
214

CATALOGUE 2018 I



215

216
» CROA+FA B1;:EFE. CROA+FA FRONT FLANGE TYPE
» CROB fZ#:ZFY CROB STANDARD TYPE
» CROB+FB 7&£%#5%! CROB+FB AFTER FLANGE TYPE
» CROD #Z#ERY CROD STANDARD TYPE
N » CROD+FA £E#lgi,%E5%Y CROD+FA DOUBLE END FRONT FLANGE TYPE
» CROD-A #£#fn]z3%) CROD-A ADJUSTABLE DOUBLE-END ROD TYPE SERRT AR
Unit:mm Unit:mm
CROB-CROD TYPE A( FJEE1E )TYPE CROA-CROB-CROD TYPE FA-FB TYPE
: Al GAO AL .
®40 M40XP2.0 20 M16XP1.5 28 17 25 50 25 50 15 25 55 86 3/8" 61 235 8 178 107 82 246 216 30| 20 25 40 37 ®40 20 Mi6XP1.5 28 17 50 107 50 25 86 3/8" 61 8 82 13 19| 12 11 93 50 115 72
®50 M50XP2.0 25 M22XP1.5 40 20 25 50 25 60 15 30 65 96 3/8" 66 32 13 191 112 87 267 227 40| 25 35 50 45 ®50 25 M22XPi5 40 20 50 112 60 30 96 38" 66 13 87 146 207 | 14 17 110 56 150 85
®63 M60OXP2.0 35 M30XP1.5 45 20 30 50 30 73 20 35 80 105 3/8" 70 41 13 215 125 95 205 255 40| 25 45 60 45 ®63 35 M30XP15 45 20 60 125 73 35 105 38" 70 13 95 165 235 | 14 17 126 68 155 95
®80 M70XP2.0 40 M30XP1.5 45 20 30 60 30 95 20 40 90 127.51/2" 90 41 13 240 150 120 325 280 45| 30 50 70 50 ®80 40 M30XP15 45 20 60 150 95 40 1275 1/2° 90 13 120 190 260 | 18 20 152 75 190 120
©100 M9OOXP2.0 50 M40XP2.0 55 25 30 60 30 114 20 40 110 147.51/2" 110 55 15 265 180 150 365 320 45| 30 60 90 55 ®100 50 M40XP2.0 55 25 60 180 114 40 1475 12" 110 15 150 210 295 | 20 20 180 100 220 140
©125 M120XP2.0 60 M50XP2.0 70 30 30 70 40 145 20 50 150 172.53/4" 125 65 15 305 210 170 420 370 50| 35 70 100 65 ®125 60 M50XP20 70 30 70 210 145 50 1725 34" 125 15 170 245 340 | 24 30 222 122 280 170
BE: - = 4

1. BROINASAE NS ERRER T, REBARSIREETNT.

2. CRO40 RF4712#8iR 500mm LAEREF, #OSFIIAR M18xP1.5,

3.CRO RPfTIZRIBIA 1499mm i, FERE (PM) (KigFMEE, TiEUBE
1500mm LLERS, iEERE (PM) B2EFIEERE.

4. BUZIRIE (©J) EEECMBIE (W) BREATF MB0 B, EIMSBEE, W, JIBEIME.
5. AST BEFEEZAIHBTE.

PNEUMATIC & HYDRAULIC CLAMPS

1. For rods extending or reducing processing,if the length is not specified,then it should

follow our company's stipulation for processing.

2. Rod thread tooth should be extending into M18*P1.5 for CRO series bore size 40 whose
stroke is more than 500mm.

3. For the CRO series whose stroke is not exceeding 1499mm,the length of piston conforms
to specification table for assembling,For those whose stroke is more than 1500mm,the
length of piston conforms to characteristics table.

4. The external diameter should be round when the size of rod cover nut ( ®J) and rod nut
(®W) is more than M50,W,J refer to its external diameter.

5. AST stands for adjustable stroke designated by customers.

1. BOINA MR ERRER IR, KEARSRESTINT.

2. CRO40 HFI{772i8i8 500mm LLERS, #OFINARE M18xP1.5,

3. CRO RAUFTIZRIBI® 1499mm B, FERE (PM) KiBFRAEE, TROBE
1500mm LAERs, JEERE (PM) 2B IEERE.

4. BUEIRIE (©J) EEh MR8 (W) FRAEATF M5S0 I, HSMEE
5. AST REFIEEZ AT

2, W, JIEESME,

1. For rods extending or reducing processing,if the length is not specified,then it should

follow our company's stipulation for processing.

2. Rod thread tooth should be extending into M18*P1.5 for CRO series bore size 40 whose
stroke is more than 500mm.

3. For theCRO series whose stroke is not exceeding 1499mm,the length of piston conforms
to specification table for assembling,For those whose stroke is more than 1500mm,the
length of piston conforms to characteristics table.

4. The external diameter should be round when the size of rod cover nut ( ®J) and rod nut
(®W) is more than M50,W,J refer to its external diameter.

5. AST stands for the adjustable stroke designated by customers.

CATALOCUE 2018



» CRO+CA BEHIZH CRO+CA SINGLE TRUNNICON TYPE

» CRO+CB #HE1x%Y CRO+CB DOUBLE TRUNNION TYPE

CRO TYPE

40 20 M16XP1.5 28 17 50 50 25 88

®50 25 M22XP1.5 40 20 50 60 30 96

63 35 M30XP1.5 45 20 60 73 35 105

®80 40 M30XP1.5 45 20 60 95 40 127.5

100 50 M40XP2.0 55 25 60 114 40 147.5

®125 60 M50XP2.0 70 30 70 145 50 1725
[=a 4

1. BOINAEAE NI ERRER T, KEBARERERTNT.

2. CRO40 &54712#8i8 500mm LA LR, #OFIIARE M18xP1.5,

3. CRO RATIEFRBIB 1499mm B, [FERE (PM) KIRFHE, TRMEE
1500mm LALRS, EERE (PM) B2 ITERNE.

4. BUZRIRNE (©J) E2Eh/OM20E (W) BIEATF ME0 B, EYMSEEEL, W, JIEEIME.
5. AST BEFEEZAIHBITE.

PNEUMATIC & HYDRAULIC CLAMPS

Unit:mm

CA,CB TYPE

3/8" 61 8 178 26 25 16 18 25 41

3/8" 66 13 201 26 35 20 25 25 46
3/8" 70 13 230 31 45 25 30 30 56
1/2" 90 13 260 36 50 30 30 35 66
12" 110 15 295 41 60 35 35 40 81
3/4" 125 15 345 56 70 50 50 55 106

1. For rods extending or reducing processing,if the length is not specified,then it should

follow our company's stipulation for processing.

2. Rod thread tooth should be extending into M18*P1.5 for CRO series bore size 40 whose
stroke is more than 500mm.

3. For the CRO series whose stroke is not exceeding 1499mm,the length of piston conforms

to specification table for assembling,For those whose stroke is more than 1500mm,the
length of piston conforms to characteristics table.

4. The external diameter should be round when the size of rod cover nut ( ®J) and rod nut
(®W) is more than M50,W,J refer to its external diameter.

5. AST stands for adjustable stroke designated by customers.

217
218

» CROB+LB g1Z2M 2558 CROB+LB COURSE OF A TYPE

» CROA-TC AAfEE#HZY CROA+TC MINDDLE TRUNNION TYPE

CROA-CROB TYPE

®40 20 Mie6xP1.5 28 18 25 25 15 86 3/8" 61 8
®50 25 M22xP1.5 40 18 25 30 15 96 3/8" 66 13
®63 35 M30xP1.5 45 17 30 35 20 105 3/8" 70 13
®80 40 M30xP1.5 45 17 30 40 201275 1/2" 90 13
®100 50 M40xP2.0 55 20 30 40 201475 1/2" 110 15
®125 60 M50xP2.0 70 25 40 50 201725 3/4" 125 15

wE: w

1. BOINREAE NSRRI RER T, KEBAASRERTMI .

2. CRO40 247721813 500mm LA LR, #OFINARE M18xP1.5,

3. CRO REI{TREARIBIA 1499mm B, JEERE (PM) KIRFMELE, TRRNEE
1500mm LALES, JEERE (PM) H2R5IEERE.

4. BIZEA2ME ( ©J) EEhOMRIE (W) BIHERTF M50 B, EUMSREEL, W, JIgESME.
5. AST BREFIEEZAHRITIE.

Unit:mm
LB TYPE TC TYPE

(TR X Ly

12 75 47 45 30 9 60 88 |97.51750 50 55 20 11575 28 20
14 88 57 55 33 9 70 100|103 2050 60 65 25 140 90 33 25
16 101 63 68 33 13 70 124| 115 2060 76 83 32 166102 40 32
18 101 60 68 33 13 80 140| 125 2060 95 102 32 184120 43 32
18 140 80 70 35 15 90 144| 140 2560 114 120 40 220140 53 40
22 190 110 80 40 20 120160 1162.530 70 145 150 50 275175 58 50

1. For rods extending or reducing processing,if the length is not specified,then it should

follow our company's stipulation for processing.

2. Rod thread tooth should be extending into M18*P1.5 for CRO series bore size 40 whose
stroke is more than 500mm.

3. For the CRO series whose stroke is not exceeding 1499mm,the length of piston conforms
to specification table for assembling,For those whose stroke is more than 1500mm,the
length of piston conforms to characteristics table.

4. The external diameter should be round when the size of rod cover nut ( ®J) and rod nut
(®W) is more than M50,W,J refer to its external diameter.

5. AST stands for adjustable stroke designated by customers.

CATALOCUE 2018



219

220
CMO/CHO/CRO/CFO
CMO/CHO/CRO/CFO
HYDRAULIC CYLINDER
AXIS ALEESSORIES W 75 HWELDING JOINT
| L3 _| CONNECTORS I 2HA
TH TJ—2TK
| HK
[
i 1
] | 2 N
Yx &ﬁﬁ | | - ‘ N
8 v T ==
€3] H = -} g
o =
I. | ' 8 o \ |
| % N\ ) TA | \TF
' e M LF B HC
E b-. ] _L ] ﬁ
- ] ‘ 1 T
= 11 R 1R
E | I I ‘L,,i‘ L”i Unit:mm
i I || I IC T BY425EKF T ROD END MOUNTING)
1
LY—C-I YB IA IA T-010 M10xP1.25 20 20 30 10 M6XP1.0 8 40 60 4 8
T-014 M14xP1.5 30 25 40 12 M8XP1.25 10 55 80 4 10
T-016 M16xP1.5 30 25 40 12 M8XP1.25 10 55 80 4 10
T-018 M18xP1.5 30 25 40 12 M8XP1.25 10 55 80 4 10
T-022 M22xP1.5 35 32 50 15 M8XP1.25 15 65 85 4 10
T-026 M26xP1.5 40 32 50 15 M8XP1.25 15 70 90 4 10
T-030 M30xP1.5 55 35 55 20 M8XP1.25 20 75 100 4 12
T-036 M36xP2.0 50 48 55 20 M8XP1.25 20 80 105 4 12
T-040 M40xP2.0 60 48 65 25 M10XP1.5 25 90 115 6 12
T-045 M45xP2.0 70 55 65 25 M10XP1.5 25 100 125 6 12
T-050 M50xP2.0 80 55 75 25 M10XP1.5 25 110 140 6 14
Unit:mm T-060 M60xP2.0 90 55 80 30 M10XP1.5 30 120 150 6 14
Y BUZEEMT PIN ROD CLEVIS(WITH PIN) MATERIAL: FCD45( $55 ) T-070 M70xP2.0 100 65 100 30 M12XP1.75 30 140 180 6 18
T-090 M90xP2.0 140 85 120 40 M12XP1.75 40 180 220 6 18
MY-014 29 27.5 M14xP1.5 12 35 56 21 14 16 44 70 Unit:mm
MY-016 29 27.5 M16xP1.5 12 35 56 21 14 16 44 70 MATERIAL: 5541( )
MY-018 29 27.5 M18xP1.5 12 35 56 21 14 16 44 70
MY-022 46 37 M22xP1.5 20 36 70 34 14 24 52 93 H-010 20 M10xP1.25 20 M6XP1.0 10 30
MY-026 52 42 M26xP1.5 20 35 70 35 15 28 58 9 H-014 35 M14xP1.5 25 MBXP1.25 2 40
MY-030 55 42 M30xP1.5 20 41 80 39 20 32 72 107 H-016 35 M16xP1.5 25 M8XP1.25 12 40
MY-030A 55 47 M30xP1.5 25 41 80 39 22 40 84 107 H-018 35 M18xP1.5 25 M8XP1.25 12 40
Unit:mm H-022 40 M22xP1.5 32 M8XP1.25 15 50
H-026 45 M26xP1.5 32 M8XP1.25 15 50
H-030 50 M30xP1.5 35 M8XP1.25 20 55
H-036 55 M36xP1.5 40 M8XP1.25 20 60
FI-018 32 M18xP1.5 16 23 50 25 25 18 70 8 H-040 60 MA40xP2.0 48 M10XP1.5 25 65
FI-022 40 M22xP1.5 20 23 55 25 30 20 80 10 H04s - V4EXP2.0 . VHOXP1 5 o -
FI-026 50 M26xP1.5 25 28 60 30 30 25 90 10 H-050 8 M50xP2.0 o M OXPA 5 o5 7
FI-030 60 M30xP1.5 30 32 75 35 40 35 110 10 4060 % — o VHOXP1 & % %
FI-040 70 M40xP2.0 35 38 90 40 50 40 130 10 H-070 100 M70xP2.0 o5 MH12XP1 75 % 100
H-090 140 M90xP2.0 85 M12XP1.75 40 120

PNEUMATIC & HYDRAULIC CLAMPS CATALOGUE 2018



221
222

CGO

FY BB BT

CGO SERIES 21MPA
TIE-ROD HYDRAULIC
OIL CYLINDER

» ATEEIRNE

» EERSHBREI4EH8E Inside Structure ORDERING INDICATION
CGOB D -63 /35*100 LB + Y

251 Series CGOB fZ#A CGOD s
Standard type Double Rods type
Ejnarscipii e #BE05R 1 8 Blank: No cushion D: #f8I4&f& cushions on both ends

e . s g :
Fixed Cushioning Type |- AU A& cushion on head cover B: &I cushion on end cover

CGOB CGOD SHETPAE
Hydraulic cylinder ©40, ©50, 63, @80, ®100, ®125, ®140, ®150, ® 160

inside diameter

S Standard  ©25  ©30  ®35 045 050 070  ©80  ©90 fmiZmE. iEmwml

F43 Part name 28 Quantty  NO Z43 Part name #E Quantity NO F43 Part name & Quantity gﬁit’\ Rod \ £ Max - Tl ©40 o o560 056 P A0 S s e
@m0 Tk Standard ©20  ©25  ®35  ©45 050 ©70  ®80  ®90
1 SEZEFT Piston rod 1 9 O BY[E Gasket 2 17 %% End cover 1
2 48 ocking nut 1 10 &1 Cylinder tube 1 18 128 nut 8 12 stroke LTSl (OO R BA(TIE: 4K Maxiam
F$%E5 Galvanized iron barrel ( ® 40-®100 ) BAITIE: 2.8 3K Max:2.8m
3 FEEifES Dustproof seal 1 " O BUFE Gasket 1 19 SEBMEE Spring washer 8
4 EMFEHET Oil seal for shaft 1 12 i¥EELR Wearing ring 1 20 HIFF Tie rod 4
5 [EZ Gland 1 13 SEZEMETS Piston seal 2 21 K18 Half snap ring 2 FA BIEREIRL Front flange type CA BEEBA Single trunnion type :'D:U]’
6 BE Guide sleeve 1 14 JEZE Piston 1 22 B2 Baffle ring 1
N FB 1&XE8 Rear flange type CB EEIZA Double trunnion type
7 O BB Gasket 1 15 9213 Nut 1 23 EMFRER Rod baffle ring 1
8 A% Rod cover 1 16 SEMEEE Spring washer 1 24 AR Adjustable nut 1 T BSEIERIT LB FIEERS Foot mount type CBP CB ff PIN CB with PIN

Accessories

» ERNHEETFHEE R Specification

CAB CA++P+CB 1 |
TC E##% Trunnion type E[D: | | | ﬂ

40 ®50 63 ®80 ®100 ®125 ®140 ®150 ®160

LURBZ 12 #E R B Filtered Ol
I#fE Carbon steel STKM-13C/ B##& Stainless tubes SUS 304
0.3-21MPA(3-210kg/cm?)

Y Y BUEEE Y joint PHS fAR#EEE Rod-eye joint
8~300(mm/sec)
-10 ~ + 60 (C . . _ .
) YP Y+Pin Y with pin T TBEEE T joint
25 25 25 25 30 30 30 30 30 #OEER
. , Accessories | U588 | joint H 1§ E#:88 Welding sleeve joint :[D:D
#EEZERE Length of standard piston ( PM) 20 2 51 57 65 71 74 84 92
STHRITIET 1501-2500mm RIEZEER (PM) KG iZENHETE Floating joint A ATHHLENE Adjustable nut
Piston length when the stroke is between 1501-2500 mm 80 88 100 110 120 140 140 160 170 ! 9l g d

ATHRIfTAZET 2501-4000mm BFEERE (PM) 160 170 200 210 220 250 260 270 270

Customized stroke is 2501-4000mm

I PNEUMATIC & HYDRAULIC CLAMPS CATALOGUE 2018 I



BORE ®A [0} c ]}

40 40 25 M22*1.5 70 50 25
@50 50 30 M26*1.5 85 62 30
D63 55 35 M30*1.5 100 74 35
80 65 45 M39*1.5 125 92 45
®100 80 50 M40*2.0 160 120 55
®125 95 70 M64*2.0 190 145 75
®140 105 80 M72*2.0 215 160 80
®150 120 90 M802.0 230 170 90
®160 125 90 M80*2.0 240 180 90

I DE E

»

BORE OA 0):} c Op
40 40 25 M22*1.5 70 50 25
®50 50 30 M26*1.5 85 62 30
®63 55 35 M30*1.5 100 74 35
®80 65 45 M39*1.5 125 92 45
®100 80 50 M40*2.0 160 120 55
®125 95 70 M64*2.0 190 145 75
®140 105 80 M72*2.0 215 160 80
®150 120 90 M80*2.0 230 170 90
®160 125 90 M80*2.0 240 180 90

1 DE E

(=S 4
1 EOIIRAREBRER T, KRAASREDTINI.

2.CGO HFWTiERiBIB 1500mm B, EERE (PM) 1Mz, FTHI{TI2A0EIR 1500mm B,

EERE (PM) B2 HEERE.

3. ARIWTIRABE 2000 (&) mm B, ENBUiTHRIEREEE .
4. REGIEHCIRIEIRAE ME0mm (&) LLERS, EOMERER .
5.AST BEFIEEZAIHRTE.

PNEUMATIC & HYDRAULIC CLAMPS

» {ZH CGOB #Z#78! Single Rod Type

F G
30 17
30 20
35 24
35 24
40 31
45 37
50 40
55 45
55 45
SAE CGOD 2
F G
30 17
30 20
35 24
35 24
40 31
45 37
50 40
55 45
55 45

Unit:mm
H 1 N P 4] K KE KT S T
47 9 32 98 3/8" M121.5 10 13 64 13
52 9 37 106 1/2" M14*1.5 10 15 68 13
57 9 37 113 12" M16*1.5 10 17 75 13
67 9 42 129 3/4" M18*1.5 10 20 85 15
67 9 42 139 3/4" M22*1.5 10 24 95 18

77 9 52 159 1"
77 10 52 164 1"
80 10 52 174 1"
80 10 52 186 1"

M27*1.5 10 31 105 24
M30*1.5 15 34 110 28
M33*1.5 15 39 120 30
M33*1.5 15 39 132 30

ZEEEHTY  Doubles Rod T ype

Unit:mm
H 1 4 PT K KE KT S T
47 9 100 3/8" M12*1.5 10 13 64 13
52 9 108 12" M14*1.5 10 15 68 13
57 9 117 1/2" M16*1.5 10 17 75 13
67 9 133 3/4" M18*1.5 10 20 85 15
67 9 143 3/4" M22*1.5 10 24 95 18
77 9 165 1" M27*1.5 10 31 105 24
77 10 170 1" M30*1.5 15 34 110 28
80 10 180 1" M33*1.5 15 39 120 30
80 10 192 1" M33*1.5 15 39 132 30

1. For rods extending processing,if the length is not specified,then it should follow our
company's stipulation for processing.

2. For the CGO series whose stroke is less than 1500mm,the length of the piston is
shown in the affiliated table,for those customized CGO whose stroke is more than
1500mm,the length of piston conforms to product specification.

3. Middle rod holder must be installed for those CGO whose stroke is equal to or more
than 2000mm.

4. The external diameter would be round when the size of rod nut is equal to or

more than M50mm.

5. AST stands for adjustable stroke designated by customers.

BORE
40
P50
63
80
®100
125
140
150
160

®40
®50
D63
®80
®100
®125
140
®150
160

40
50
55
65
80
95
105
120
125

®A B
40 25
50 30
55 35
65 45
80 50
95 70
105 80

120 90
125 90

25
30
35
45
50
70
80
90
90

4

M22*1.5
M26*1.5
M30%1.5
M39*1.5
M40*2.0
M642.0
M72*2.0
M80*2.0
M80*2.0

M22*1.5
M26*1.5
M30*1.5
M39*1.5
M40*2.0
M64*2.0
M72*2.0
M80*2.0
M80*2.0

> EE CCGOB+A B 5hAKITT5E1§ Double Rods with Adjustable Nut Type

Ob  CIbE E ¢ H 1 P PT K KE KT S T A AL A0 AE AH
70 50 25 30 17 47 9 100 3/8" Mi2.5 10 13 64 13 30 55 45 25 35
85 62 30 30 20 52 9 108 1/2" Mi415 10 15 68 13 38 60 55 30 40
100 74 35 35 24 57 9 117 12" Mi6.5 10 17 75 13 42 65 65 30 45
125 92 45 35 24 67 9 133 3/4" M1815 10 20 8 15 52 70 75 35 55
160 120 55 40 31 67 9 143 3/4" M22*1.5 10 24 95 18 63 75 90 35 65
190 145 75 45 37 77 9 165 1" M2715 10 31 105 24 78 8 105 40 80
215 160 80 50 40 77 10 170 1" M30"15 15 34 110 28 90 90 120 40 85
230 170 90 55 45 80 10 180 1" M33*1.5 15 39 120 30 100 100 130 45 95
240 180 90 55 45 80 10 192 1" M33*1.5 15 39 132 30 100 100 130 45 95
» {Z#E CGOB+FA #! BJARSEY Front Flange Mounting Type

70
85
100
125
160
190
215
230
240

50
62
74
92
120
145
160
170
180

25
30
35
45
55
75
80
90
90

30
30
35
35
40
45
50
55
55

17
20
24
24
31
37
40
45
45

47
52
57
67
67
77
77
80
80

9 32 98 3/8" Mi12"1.5 10 13 64 13 11 17 98 50 122
9 37 106 1/2" M14*1.5 10 15 68 13 14 20 118 60 145
9 37 113 1/2" M16*1.5 10 17 75 13 18 24 140 73 175
9 42 129 3/4" M18*1.5 10 20 85 15 22 24 175 90 210
9 42 139 3/4" M22*1.5 10 24 95 18 26 31 215 115 260
9 52 159 1" M27%1.5 10 31 105 24 33 37 270 145 330
10 52 164 1" M30%1.5 15 34 110 28 33 40 280 160 335
10 52 174 1" M33*1.5 15 39 120 30 36 45 315 180 375
10 52 186 1" M33*1.5 15 39 132 30 36 45 315 180 375

CATALOCUE 2018

223
224

Unit:mm

G1

26
29
33
33
40
46
50
55
55

Unit:mm

73
88
106
130
165
205
218
243
243



b iZ#% CGOB+FB &

1&/%X%88) Rear Flange Mounting Type

BORE DA OB [H )] CJDE E F G H | N 4 PT K KE KT ) T OF FT FR

®40 40 25 M22"15 70 50 2530 17 47 9 32 98 38" Mi215 10 13 64 13 11 17 98

®50 50 30 M26'15 85 62 30 30 20 52 9 37 106 1/2' Mi415 10 15 68 13 14 20 118
®3 55 35 M30'1.5 100 74 3535 24 57 9 37 113 12" M16"1.5 10 17 75 13 18 24 140
®80 65 45 M3915 125 92 45 35 24 67 9 42 129 34" MI815 10 20 85 15 22 24 175
©100 80 50 M40'20 160 120 55 40 31 67 9 42 139 34" M22"15 10 24 95 18 26 31 215
®125 95 70 M64'20 190 145 75 45 37 77 9 52 159 1" M27115 10 31 105 24 33 37 270
©140 105 80 M7220 215 160 80 50 40 77 10 52 164 1" M30"15 15 34 110 28 33 40 280
®150 120 90 M80'20 230 170 90 55 45 80 10 52 174 1" M33"15 15 39 120 30 36 45 315
®160 125 90 M80'20 240 180 90 55 45 80 10 52 186 1" M33"15 15 39 132 30 36 45 315

» {Z# CGOB+TC & higE#HAEY Middle Trunnion Mounting Type

BORE DA OB [H Op CODE E F G H | N 4 PT K KE KT S T 1) 1T omn 1
®40 40 25 M22"15 70 50 2530 17 47 9 32 98 3/8' Mi2"5 10 13 64 13 33 125 25 123
®50 50 30 M26"15 85 62 30 30 20 52 9 37 106 1/2° M1415 10 15 68 13 33 136 25 138
©®63 55 35 M30'1.5 100 74 3535 24 57 9 37 113 1/2' M16"15 10 17 75 13 43 154 315 169
®80 65 45 M39'15 125 92 45 35 24 67 9 42 129 3/4" Mig'15 10 20 85 15 53 169 40 208
®100 80 50 M4020 160 120 55 40 31 67 9 42 139 3/4" M22"15 10 24 95 18 63 185 50 270
125 95 70 M6420 190 145 75 45 37 77 9 52 159 1" M27*15 10 31 105 24 78 212 63 331
©140 105 80 M72°20 215 160 80 50 40 77 10 52 164 1" M3015 15 34 110 28 88 222 71 367
®150 120 90 M80'20 230 170 90 55 45 80 10 52 174 1" M331.5 15 39 120 30 98 240 80 415
©160 125 90 M80'20 240 180 90 55 45 80 10 52 186 1" M3315 15 39 132 30 98 246 80 415

PNEUMATIC & HYDRAULIC CLAMPS

50
60
73
90
115
145
160
180
180

P

73
88

122
145
175
210
260
330
335
375
375

>

25
25

Unit:mm

7

73
88
106
130
165
205
218
243
243

Unit:mm

25
2.5

106 315 25

128
170
205
225
245
255

40
50
63
71
80
80

A D A D O

BORE
®40
®50
®63
®80
®100
®125
®140
®150
®160

BORE
®40
®50
63
®80
®100
125
140
®150
160

4
DA OB [H my
40 25 M22*1.5 70
50 30 M26*1.5 85
55 35 M30*1.5 100
65 45 M39*1.5 125
80 50 M40*2.0 160
95 70 M642.0 190
105 80 M72*2.0 215
120 90 M80*2.0 230
125 90 M80*2.0 240

»
OA OB [H 0op  ODE
40 25 M22*15 70 50
50 30 M26*1.5 85 62
55 35 M30*1.5 100 74
65 45 M39*1.5 125 92
80 50 M40"2.0 160 120
95 70 M642.0 190 145
105 80 M72*2.0 215 160
120 90 M80*2.0 230 170
125 90 M80*2.0 240 180

&

o~

1 DE

50
62
74
92
120
145
160
170
180

CGOB+TA 2! giE#HEY

25
30
35
45
55
75
80
90
90

F

30
30
35
35
40
45
50
55
55

17
20
24
24
31
37
40
45
45

47
52

67
67

77 9

9
9
57 9
9
9

77 10
80 10
80 10

32
37
37
42
42
52
52
52
52

98
106
113
129
139
159
164
174
186

PT
3/8"
172"
172"
3/4"
3/4"

T

1"

T

1"

Front Trunnion Mounting Type

K

M12*1.5
M14*1.5
M16*1.5
M18*1.5
M22*1.5
M27*1.5
M30*1.5
M33*1.5
M33*1.5

10
10
10
10
10
10
15
15
15

KT

13
15
17

24
31
34
39
39

S

64
68
75
85
95
105
110
120
132

T OM ZZAOT TA TPA TXA
13 33 705 25 123 73 25
13 33 76 25 138 88 25
13 43 875 315 169 106 31.5
15 53 925 40 208 128 40
18 63 1045 50 270 170 50
24 78 1205 63 331 205 63
28 88 1285 71 367 225 71
30 98 140 80 415 245 80
30 98 140 80 415 255 80

TR CGOB+LA B AAARIEERY Right & Left Foot Mounting Type

25
30
35
45
55
75
80
90
90

F

30
30
35
35
40
45
50
55
55

47

PT

32 98 3/8"

37
37
42
42
52
52
52
52

106
113
129
139

12"
1/2"
34"
3/4”

159 1"
164 1"
174 1"
186 1"

K KE
M12*1.5 10
M14*1.5 10
M16*1.5 10
M18*1.5 10
M22*1.5 10
M27*1.5 10
M30*1.5 15
M33*1.5 15
M33*1.5 15

13
15
17
20
24
31
34
39
39

64
68
75
85
95
105
110
120
132

13

111

13 120
13 132
15 152
18 162

24
28
30
30

182
187
200
212

AL AT AN AH  OAD AY
63 15 42 77 11 122
68 20 55 975 14 145
77 25 63 113 18 175
80 30 75 1375 22 210
94 35 85 165 26 260
110 45 105 200 33 330
118 45 112 2195 33 335
131 50 120 235 36 365
131 50 125 245 36 375

CATALOCUE 2018

225
226

Unit:mm

R
25
25
25

A B A D O

Unit:mm

AX

98
118
140
175
215
270
280
300
315



227

228
» 1ZHE CGOB+LB B FifEHIEERY  Front & Rear Foot Mounting Type
» CGO Z7FIB4EEE, Y AUEEE GO Series |, Y type connector
Unit:mm
©40 40 25 M22*15 70 50 25 30 17 47 9 32 98 3/8" Mi12*1.510 13 64 13 14 20 42 244 8 83 23 50 70 48
®50 50 30 M26*15 85 62 30 30 20 52 9 37 106 1/2" Mi4*1.510 15 68 13 16 22 46 269 10 100 265 62 85 57.5
®63 55 35 M30*15 100 74 35 35 24 57 9 37 113 1/2" M16*1.510 17 75 13 18 27 65 323 13 118 31 74 100 68
®80 65 45 M39*1.5 125 92 45 35 24 67 9 42 129 3/4" M18*1.510 20 85 15 20 30 70 358 15 145 365 92 125 825
®100 80 50 M40*2.0 160 120 55 40 31 67 9 42 139 3/4" M22*1.510 24 95 18 24 32 80 395 18 188 48 120 160 108
®125 95 70 M64*2.0 190 145 75 45 37 77 9 52 159 1" M27*1.510 31 105 24 28 35 90 451 20 220 525 145 190 125
®140 105 80 M72*2.0 215 160 80 50 40 77 10 52 164 1" M30*1.5 15 34 110 28 32 40 95 469 25 250 625 160 2151425
®150 120 90 M80*2.0 230 170 90 55 45 80 10 52 174 1" M33*1.515 39 120 30 35 40 100 497 28 268 68 170 230 153
®160 125 90 M80*2.0 240 180 90 55 45 80 10 52 186 1" M33*1.515 39 132 30 35 40 100 509 28 278 68 180 240 158
» 1Z# CGOB+CA B! BEHEZA! Single Trunnion Mounting Type
Unit:mm
BORE A ] ¢ ] E F 6 H I J K L
40 70 50 25 25 M22*1.5 20 32 40 8 16 64 10
®50 85 60 30 30 M26*1.5 25 36 50 10 18 72 12
63 105 70 35 35 M30*1.5 315 40 63 15 20 80 15
- 80 130 90 45 45 M39*1.5 40 50 80 20 25 100 20
Jnit:mm ®100 160 110 55 55 M40*2.0 50 63 100 25 315 126 25
BORE DA »B [H Obp CODE E F G H | N P PT K KE KT S T 4] [0]H)] CR H') ®125 205 142 75 75 M64*2.0 63 75 126 30 40 150 30
®40 40 25 M22*1.5 70 50 25 30 17 47 9 32 98 3/8" Mi12"15 10 13 64 13 25 20 25 32 D140 230 155 80 80 M72*2.0 71 80 142 35 40 160 35
@50 50 30 M26*1.5 85 62 30 30 20 52 9 37 106 1/2" M14*1.5 10 15 68 13 32 25 30 36 »150 255 175 90 90 M80*2.0 80 100 160 40 50 200 40
63 55 35 M30*1.5 100 74 35 35 24 57 9 37 113 1/2" M16*1.5 10 17 75 13 40 31.5 35 40 »160 255 175 90 90 M80*2.0 80 100 160 40 50 200 40
®80 65 45 M39*15 125 92 45 35 24 67 9 42 129 34" M18.5 10 20 85 15 50 40 45 50
®100 80 50 M40*2.0 160 120 55 40 31 67 9 42 139 34" M22115 10 24 95 18 63 50 55 63
©125 95 70 M6420 190 145 75 45 37 77 9 52 159 1"  M27*15 10 31 105 24 79 63 70 80 » GBAR.Y 528884 GB Plate.Y Joint Pin
®140 105 80 M72*20 215 160 80 50 40 77 10 52 164 1" M30"1.5 15 34 110 28 89 71 80 80
®150 120 90  M80*2.0 230 170 90 55 45 80 10 52 174 1" M33"1.5 15 39 120 30 100 80 9 100
®160 125 90  M80*20 240 180 90 55 45 80 10 52 186 1"  M33*1.5 15 39 132 30 100 80 90 100
» 2 CGOB+CB £ #HE%A! Double Trunnion Type
Unit:mm unit:mm
BORE oA OB ¢ D E F H
®40 40 25 M22*15 70 50 25 30 17 47 9 32 98 3/8° M1215 10 13 64 17 25 13 20 25 42 325 64 i:g 2;2 0202722 :;1:9 -02“ :; 32 : iiz Z;
®50 50 30 M26*1.5 85 62 30 30 20 52 9 37 106 1/2' M14*15 10 15 68 20 32 13 25 30 52 365 72 ©63 ©315 0072 ©28.6 ‘;0: 1'3 o1 5 36 o
63 55 35 M30"1.5 100 74 35 35 24 57 9 37 113 1/2" M16*1.5 10 17 75 24 40 13 315 35 64 405 80 80 @4(‘) gg;g ©375 0 1:7 101 . 50 '8
®80 65 45 M39*15 125 92 45 35 24 67 9 42 129 3/4" Mi8*15 10 20 85 24 50 15 40 45 74 505 100 ©100 50 0087 47 7= oo 127 . 060 144
®100 80 50 M40*20 160 120 55 40 31 67 9 42 139 3/4" M22*15 10 24 95 31 63 18 50 55 94 635 126 125 063 — ©60 — o e 0 70 i
®125 95 70 M642.0 190 145 75 45 37 77 9 52 159 1" M27*15 10 31 10537 79 24 63 70 116 805 150 ©140 - ©67 03 oy o1 0 80 183
®140 105 80 M72*2.0 215 160 80 50 40 77 10 52 164 1" M30*1.5 15 34 110 40 89 28 71 80 129 805 160 150 80 =HL ©76.5 *?3 ot 201 0 90 523
®150 120 90 M80*20 230 170 90 55 45 80 10 52 174 1" M33*1.5 15 39 120 45 100 30 80 90 145 1005 200 o160 can @ ©76.5 - oy 201 0 90 o3
©160 125 90  M80*2.0 240 180 90 55 45 80 10 52 186 1" M33*1.5 15 39 132 45 100 30 80 90 145 1005 200 0104 03 :

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



229
230

CHRO

ES Iy NicH:: TSl

CHRO SERIES 21MPA
ROUND HYDRAULIC
CYLINDER

» SIBBIRNE
ORDERING INDICATION
CHROA 125 /60*100 Y + DM

CHROA PT 7E4HAT CET cHRoB PTEAmE
. ] . . PT in front of flange d PT in rear of flange
» ABYHEREI4E48E Inside Structure R K5 Series ? ?
CHROC CA#! . } | CHROD £ah5E _|'_':J_|
CA type = : Double Rods type 1 — |

CHROE ERBfERE(E

Rear flange type

SHTIPITE
Hydraulic cylinder 125, ®150, ® 180, ®200, ®225, ®250, ®280, ®300
inside diameter

NO F43 Part name = Quantty  NO THZ Part name 22 Quantity NO F{43 Part name = Quantity
i Z#E Standard 60 80 ®100 125 140 160 180 200

/> Rod =M
1 BEH Piston rod 1 7 EEHMEZEE Piston Seal 1 13 AR Front flange 1 A Max CEl WY @2y @R @ikl @200 w2l ez

2 FAEEES Dustproof seal 1 8  1&umE End cover 1 14 BEE% Guidance tape 1

3 O ZEE Gasket 1 9 EhAEHES Oil seal for shaft 1 15 #1f& Cylinder tube 1 1752 Stroke /s Steel barrel ( ®125-®300) HBAITIE: 4K Max:i4m

4 O BB Gasket supportring 10 EZEFREREES Rod ladder seal 1 16 LEENEET Lock screw 1

5 O #E Gasket 1 11 R7NAIZET Socket Head cup screw 15

6 & Piston 1 12 g% Rod Cover 1

P Y Ff Pin TW ¥HE TW rod end mounting
OB Y connectors with pin l I
IDNEIEZET .
‘thEr St P ; ) TH ¥HFE +EE THrod end mounting
BSHERTTS SR ROD Accessories
» RESHERFHEER Specification B | conmector
A AIHURNE Adjustable nut

SHELAITE Hydraulic cylinder inside diameter(mm) ®125 ®150 ®180 ®200 ®225 ®250 280 ®300

JRIT Power Fluid LU R Filtered Ol
ME Carbon steel STKM-13A ~ C/ B#& Stainless tubes SUS 304
1-21MPA(10-21kgCM?)
8~500(mm/sec)
-30 ~ +100 ()

#EEehE . OB Blank: Standard
DM: EEZFE DM type

60 60 70 70 70 70 70 90
120 120 140 140 140 140 140 150
ETHI4TF2TF 2501-4000mm R EE (PM)
RIRITAZT 2501-4 SEERE ) 200 200 200 200 200 200 200 200

Customized stroke is 2501-4000mm

I PNEUMATIC & HYDRAULIC CLAMPS CATALOGUE 2018 I



231
YAV

» 1&#E CHROA ZY 1&#E A BY  Single Rod type » 2% CHROB B #Z# B Y Single Rod B type

J<~—— o e

Unit:mm

CHROB TYPE

P 0
125 180 60 45 20 152 30 80 240 210 60 3/4" 6 18 190 60 50 15 15 290
®150 205 8 50 20 180 30 80 280 240 60 I 6 18 200 80 70 15 15 300
180 245 100 60 30 216 30 100 320 280 70 i 6 18 230 9 8 20 20 360
» 1EA CHROD Y 2E8hAU[I o581 Double Rods with Adjustable Nut Type ®200 265 125 65 30 242 35 100 350 310 70 1.1/4" 6 20 250 115 100 25 25 380
225 205 140 70 35 270 35 120 380 340 70 1.4/4" 8 20 260 135 120 25 25 415
250 335 160 75 35 298 40 120 440 380 70 14/4" 8 24 275 155 140 30 30 430
280 365 180 80 40 330 40 150 500 430 70 1.4/2" 10 26 290 175 150 30 30 480
®300 385 200 85 40 350 45 150 550 460 90 1.4/2" 10 28 320 195 170 35 35 510
(=S 4

1.CHRO 47724818 1500mm §, FERE (PM) BT, HIMRRIESFEERE. 1.Piston length proportionally extends if the stroke of CHRO is more than 1500mm,the
2. REHBHOINARS, EABRR TRINALLHIRITHK . extending length conforms to characteristics table.
2.In this hydraulic cylinder series,relevant size of other part proportionally extends when the
rods is extending.

> HNTFRUIBEZZE  Vertical screw of rod

Unit:mm

_ CHROA-CHROD TYPE

1} 4 PM PT Q

»125 175 60 M50XP2.0 25 45 50 152 80 240 210 60 3/4" 6 18 125 100 15 60 50 15 15 255 355|50 35 70 100 60

®150 200 80 M70XP2.0 25 50 50 180 80 280 240 60 1" 6 18 130 100 20 80 70 15 15 260 365|60 40 95 120 65

®180 240 100 MOOXP2.0 30 60 60 216 100 320 280 70 1" 6 18 150 110 30 95 85 25 25 310 430(70 40 120 150 70

®200 260 125 M100XP2.0 30 65 70 242 100 350 310 70 1.1/4" 6 20 155 110 30 115 100 25 25 325 450|70 40 140 180 70

®225 290 140 M120XP3.0 30 70 70 270 120 380 340 70 1.1/4" 8 20 160 110 30 135 120 25 25 350 475|75 45 160 200 75

®250 330 160 M140XP3.0 30 75 75 298 120 440 380 70 1.1/4" 8 24 170 120 35 155 140 30 30 365 505|85 50 190 240 80

®280 360 180 M160XP3.0 30 80 80 330 150 500 430 70 1.1/2" 10 26 175 120 40 175 150 30 30 405 550(90 50 210 260 80 Unit:mm

®300 380 200 M180XP3.0 35 85 90 350 150 550 460 90 1.1/2" 10 28 200 140 40 195 170 35 35 440 605[100 60 230 290 95 — B o . R ) : W
D125 60 M50XP2.0 25 70 95 15 65
»150 80 M70XP2.0 25 80 105 20 95
»180 100 M9OO0XP2.0 30 100 130 30 120

L v 200 125 M100XP2.0 30 120 150 30 140

1.CHRO 4712#8i® 1500mm B, SEERE (PM) BITNE, ENERIESESHT 1.Piston length proportionally extends if the stroke of CHRO is more than 1500mm,the 225 140 M120XP3.0 30 140 170 30 160

aRizE, extending length conforms to characteristics table. ®250 160 M140XP3.0 30 150 180 35 190

2. RRFBOINARS, EAERARRINALLEIBITHK . 2.In this hydraulic cylinder series,relevant size of the other part proportionally extends when ©280 180 M160XP4.0 30 160 190 40 210

3.AST BEFIEEZIHATIZ. the rods is extending. ®300 200 M180XP4.0 35 160 195 40 230

3.AST stands for adjustable stroke designated by customers.

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



233
234

» 1E#E CHROC B! EBSEH#HE! Single Trunnion Mounting Type » 14 CHROE 2! 1&)AR92, Rear Flange Mounting T ype

J<~——

Unit:mm Unit:mm

HROC TYPE : GA wee CHROE TYPE

M : CL  CcR

PT Q
»125 175 60 50 152 45 50 80 60 3/4" 100 60 50 15 15 270 50 70 50 55 ®125 175 60 45 50 152 50 80 240 190 60 3/4" 6 18 100 60 50 15 15 245
»150 200 80 50 180 50 55 80 60 1" 100 80 70 15 15 285 60 80 60 60 D150 200 80 50 50 180 55 80 280 240 60 1" 6 18 100 80 70 15 15 255
»180 240 100 60 216 60 55 100 70 1" 110 95 85 20 20 325 70 100 70 80 »180 240 100 60 60 216 55 100 320 280 70 1" 6 18 110 95 85 20 20 285
®200 260 125 70 242 65 65 100 70 1.1/4" 110 115 100 25 25 355 80 110 80 90 ®200 260 125 65 70 242 65 100 350 310 70 1.1/4" 6 20 110 115 100 25 25 310
»225 290 140 70 270 70 65 120 70 1.1/4" 110 135 120 25 25 365 90 120 90 100 ®225 290 140 70 70 270 65 120 380 340 70 1.1/4" 8 20 110 135 120 25 25 315
®250 330 160 75 298 75 70 120 70 1.1/4" 115 155 140 30 30 410 100 150 100 120 ®250 330 160 75 75 298 70 120 440 380 70 1.1/4" 8 24 115 155 140 30 30 335
280 360 180 80 330 80 80 150 70 1.1/2" 115 175 150 30 30 425 100 150 100 120 280 360 180 80 80 330 80 150 500 430 70 1.1/2" 10 26 115 175 150 30 30 355
®300 380 200 90 350 85 80 150 90 1.1/2" 135 195 170 35 35 465 120 160 120 140 D300 380 200 85 90 350 80 150 550 460 90 1.1/2" 10 28 135 195 170 35 35 390
[N 4 (=3 4
1.CHRO 1712818 1500mm B, ;ZEEE (PM) BTINE, ENERIHESEITEEREE. 1.Piston length proportionally extends if the stroke of CHRO is more than 1500mm,the 1.CHRO 772818 1500mm B, EERE (PM) BiTIE, EMERIHE2BEEESRE. 1.Piston length proportionally extends if the stroke of CHRO is more than 1500mm,the
2. RRFBROINARS, EHERIRTRINALLAIBITHK . extending length conforms to characteristics table. 2. REFBHOINARS, EABRR TR BT TR, extending length conforms to characteristics table.
2.In this hydraulic cylinder series,relevant size of the other part proportionally extends when 2.In this hydraulic cylinder series,relevant size of the other part proportionally extends when
the rods are extending. the rods are extending.
» HNTFRUIBEZZE  Vertical screw of rod > HNTFRUIBEZZE  Vertical screw of rod
Unit:mm Unit:mm
:11]:13 B [H F G L T w BORE B [H F G L T w
D125 60 M50XP2.0 25 70 95 15 65 ®125 60 M50XP2.0 25 70 95 15 65
»150 80 M70XP2.0 25 80 105 20 95 ®150 80 M70XP2.0 25 80 105 20 95
»180 100 M90XP2.0 30 100 130 30 120 »180 100 M90XP2.0 30 100 130 30 120
®200 125 M100XP2.0 30 120 150 30 140 ®200 125 M100XP2.0 30 120 150 30 140
»225 140 M120XP3.0 30 140 170 30 160 »225 140 M120XP3.0 30 140 170 30 160
®250 160 M140XP3.0 30 150 180 35 190 ®250 160 M140XP3.0 30 150 180 35 190
®280 180 M160XP4.0 30 160 190 40 210 »280 180 M160XP4.0 30 160 190 40 210
®300 200 M180XP4.0 35 160 195 40 230 ®300 200 M180XP4.0 35 160 195 40 230

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



235
236

> KESHBRETERECH RSB Accessories For CHRO Series Cylinders

Unit:mm

W #B%E TW Rod end Mounti

WD WE
TW-125 50 60 90 120 15 15 6 12 30
TW-150 70 80 110 140 15 15 6 12 30
TW-180 85 95 140 180 20 20 6 14 40
TW-200 100 115 160 200 25 25 6 14 50
TW-225 120 135 180 220 25 25 8 18 50
TW-250 140 155 210 260 30 30 8 18 60
TW-280 150 175 140 300 30 30 8 22 60
TW-300 170 195 260 320 35 35 8 22 70

Unit:mm

H R TH RO O MOUNING s

HC
TH-125 120 90 30 6 M10xP1.5 40
TH-150 140 110 30 6 M10xP1.5 40
TH-180 180 140 35 6 M12xP1.75 45
TH-200 200 160 35 6 M12xP1.75 45
TH-225 220 180 40 8 M16xP2.0 50
TH-250 260 210 40 8 M16xP2.0 50
TH-280 300 240 45 8 M20xP2.5 55
TH-300 320 260 50 8 M20xP2.5 60

Material:SS41

PNEUMATIC & HYDRAULIC CLAMPS CATALOCGUE 2018



23_7
CHSG
e » X EEMHImEESANRARIE

CHSG Bz Bt TABLE 2 THE PISTON ROD END CONNECTION METHOD AND CODE

CHSC HYDRAULIC
CYLI N D E R FrimIMEA Rod end extemal thread 1

&5 Connecting method 5% clde ¥ Remarks

FimPIERAY Rod end intemal thread 2 fIf€D = 63 Bore size D = 63
FFIRIMBAATEEEIRAHIE Rod end extemal thread and rod head earrings with liner 3
FFIRPAIZATEEEIR4HIE Rod end intemal thread and rod head earrings with liner 4 #If£ D = 63 Boresize D = 63

HFimIMEAFTIEE IR 2ERIEREMHA Rod end extemal thread and rod head eamings with oscillating bearing 5

mAIRAGTIEE IR ZERARNEN/A Rod end intemal thread and rod head eamings with oscillating bearing 6 #If€D = 63 Bore size D = 63
#eaeOESEITEIRASHIE The single-piece piston rod earrings with liner 7 D<638D= 100
e E IR T EIRSERIENENK The single-piece piston rod earrings with oscillating bearing 8 D<638D =100

b R= AREELRACSR
> BRI TABLE 3 BUFFER AREA AND CODE
MODEL DESCRIPTION:

CHSG % 01—D/dE— % X X X £E1EER Buffer area 5% clde & F Remarks

SR PR RS R Name:double-acting single piston cylinder REMEE Without buffer 0
. st e S
TS A Both ends with buffer ’ T8 D < 63 B AFEEEEIRINET 2 B G il Emin s e o

|- 124yiEss (#I1€< 80mm) L-Threaded connection(bore size:<8omm HEEAREEEERE . bore size D < 63,without buffer;both

fIEEEsT N _ e . ; ; :
K- P9-R#ERE (E11&= 80mm),)K-Internal clip key connection(bore size=8omm, fIEE4%E Cylinder head with buffer 2 SIEIS @i € MEIST MBI Wil [ SUST WiTen e SESes 2o
Cylinder head connection: \ is 2;Cylinder head without buffer
(E 80/55 #H#2 ) 80/55 is without clip key connection) FFEE%548(E Rod end with buffer 3
SRETFR Design series number » SMERS
TIBERE (MM) Hydraulic cylinder inside diameter(mm)
EEMER (MM) Rod diameter(mm)
BEHELR E-16MPA H-21MPA Pressure grade:E-16MPA H-21MPA
fIea. fIEmEEs: (REFE—) Cylinder end, cylinder tube connection method:(table 1)
Unit:mm
EEmEELR: (BET) The piston rod end connection method:(table 2)
FAEEd
BEEA: (BRE=) The buffer area:(table 3)
133 146 2

HOEZE ST 1- PIZAY Oil outlet connection method:1-internal thread connection

40 57 20 22 %25 203 GE20ES 25 M14*1.5 M16*1.5 255+S 255+S 30 30
171 Stroke 50 68 25 28 %25 303 GE30ES 35 M18*15 M22*1.5 280+S 243+ 40 35
23RS S Gl T 63 83 32 35 45 30zGE30ES 35 M18*15 M27*1.5 295+ 258+ 40 40

> 260 > 215
80 102 40 45 55 403 GE40ES 45 M22*1.5 M33*1.5 347+S 300+S < 205+S < 162+S 322+S 275+S 50 45 185 125

> 275 > 225
_ N . 90 114 45 50 63 40 GEA0ES 45 M22*1.5 M36*1.5 357+S A 377+  305+S A 325+S <2154 < 165+S 30045 A 35245  280+S A 300+¢S 50 45 200 140
foion <o
» FX— f158. FIEEES MR > 310 > 250

100 127 50 55 70 503 GES0ES 60 M27*2 M42*2  402+S A 422+S 304+S A 360+S < 230+S < 170+S 372+S A 392+S 310+S A 330+S 65 50 230 155

TABLE 1 CYLINDER END, CYLINDER TUBE CONNECTING METHOD AND CODE 110 140 63 80 *oaae o

55 503% GESOES 60 M27*2 M48*2.0 422+S A 422+S  360+S A 380+S < 250+S < 190+S 392+5 A 412+S  330+S A350+S 65 55 245 170
> >2
125 152 63 70 90 50k GESOES 60 M27"2  Ms2:2 452+ 370+S Tooss <2000 42245 340+S 65 60 260 185
{75 Connecting method 3% clde 18+ Remarks 140 168 70 80 100 GO GEGOES 60 M27"2  M60'2 498+S A 518+S  405+S A425+S 000 20 4a3is a4saes  370+S A 390+S 75 65 290 200
i > 305+S
— 150 180 75 85 105 GOEGEGOES 70 M332 M64*2 513+S A533+S 420+5 A440+s 3000 2265 47845 A 498+S  385+S A405+S 75 70 305 215
FISEEISHAE Cylinder head earrings liner 1 > 410 > 310
160 194 80 90 110 6O GEGOES 70 M332 M8+ 533+S 435+ a408S < 24045 498+S 400+ 75 75 320 230
e Tmane . . - > 345
FTRHEIREERAEPIMA Cylinder head earrings with oscillating 2 180 219 90 100 125 70 GE70ES 80 M42*2  M76%3 588+S 480+ R NP 548+S 440+ 85 85 360 255
$538f Hinged shaft 3 200 245 100 110 140 80=%GESOES 90 M42*2  M85%3 628+S 510+S s < 578+S 460+S 95 95 405 285
&RD = _EgmaEtsr
o GIfED > 80( @) 220 273 110 125 160 90 GE9OES 100 M422  M95'3 690+S 560+S G5B, s 633+S 503+8 105 105 455 320
BiifARS Front end flange 4 bore size D = 80 (clipkeyoonnection)
250 299 125 140 180 100 . « > 570 > 430
: 1002 GE100ES110 M42"2  M105%3 754+ 614+S BAI L N 687+ 54745 120 115 500 350
hERi%ES Middle flange . . . o ) )
E L BAERI = 2 BIOERRYT; note: 1. A indicates the connection size when the speed ratio is 2
{EFRAS: 1BET 1SO KEZHEA 1ISO-VG-32 —RR/ER 2.8 HRLE 1.7, 2.% indicates the speed ratio is 1.7

Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

PNEUMATIC & HYDRAULIC CLAMPS CATALOGUE 2018



239

c 240
kY - ~ =T
B B HERGT
EII¢I[<] FE(A)LLJLL"I\S IEYT_TE[E] E R » FA (55548 ) RNI£([E  FA(SPECIAL TYPE)REFERENCE DRAWING
» EmiFE
CHK HEUE RNl BBA S BRI , 55BN BESEEEE , BAMES .
CHK USRI RIS T S L RGR , ol R SImIL T2
CHK HEUR BT ERIEIN 7 B ERE | 18 7 ML REETIZBIENESD .
SAIRIEES: 140 kgflcm?
B/NRIEEEA: 10 kgflom?
» EFEEIR
ST, BUSEAATEH.
» FEATURES
CHK column-type hydraulic cylinder is a medium and high-voltage cylinder which has wide
application. It is especially applicable in the field of die-casting mould.
CHK column-type hydraulic cylinder adds guiding system to controls stroke adequately during
operating. BORE TEEIRE AA BB (HH FB SS
CHII( column—type hydraulic cylinder internal adds buffer device to prolong service life of the 40 18 118 70 94 14 65
cylinder and slide block.
50 22 135 85 108 18 75
Max. operating pressure: 140 kgf/cm? 63 28 160 100 130 18 90
Min. operating pressure: 10 kgf/cm 80 36 185 122 150 25 110
"""""""""""""""""""""""""""""""""""""""""""""""""""""""""" 100 45 220 145 180 26 135
» NOTE 125 56 255 175 210 33 165
. ) . 150 70 305 212 254 33 196
Orders with customized request are available, welcome to contact us.
180 80 365 250 300 39 236
""""""""""""""""""""""""""""""""""""""""""""""""" 200 90 405 280 335 42 265
N s 220 100 470 335 395 45 310
» TEEIERE 250 110 515 355 425 48 330
ORDERING INDICATION
CHK-FA-80 X 100 A + S2 4 1 AABB.CC.FBRZ2%EE, aIiRIEEFERFIE,
Z7 Series CHK
LEBITCFixingtype A RUARSZE
SHETPE ®40, &50, P63, . /_
! = ®80. ®100. D125 AUSIERIGICHIa LRI ECEH LM ©40  ©50  ©63  ®80 @100 @125  ®150 180 200 ©220  $250
Hydraulic cylinder ’ ’ ’
inside diameter ®150, @180, ®200,
©220, D250. fx#fE Carbon steel STKM-13C
17%2 Stroke KEREE
50 50 50 50 80 80 80 100 100 100 100
NN . pEZAY . TR
ERFEEST ATc R B EFL
Piston connection type CE: WFE DX REFFE {EFRE %68 Range of temperature(‘C ) -10 ~ +70 (C)

BB EEIFE FE: SEE

Ti2RRIgE S1: —f@ S2: WifEl S10f1pc, S20f 2 ps

ERREE: HET ISO MEFRN 1ISO-VG-32 — R
Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

A F: BRI R/ NEE TRISTREEES.

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



Unit:mm

BORE EZEIZ/Z EEPT) M N F G J KB ST AA BB cC DD LB $S LD ®FB YB SG PJ B

40 18 3/8 17 13 18 38 28 15 41 118 70 94 40 95 65 125 10 186 83 46 145
50 22 3/8 29 21 20 44 36 15 46 135 85 108 50 110 75 140 14 194 84 54 169
63 28 1/2 27 19 20 44 36 16 46 160 100 130 65 125 90 155 18 207 84 54 170
80 36 1/2 28 22 25 48 42 23 46 185 122 150 80 147 110 177 18 219 84 58 196
100 45 3/4 30 20 30 52 42 25 46 220 145 180 100 170 135 200 22 237 84 70 2185
125 56 3/4 38 28 32 58 48 29 46 255 175 210 125 200 165 230 26 254 84 87 254
150 70 3/4 42 30 37 62 50 34 46 305 212 254 150 237 196 267 33 279 84 93 2755
180 80 1 52 38 45 74 60 39 46 365 250 300 180 275 236 305 33 309 84 106 324
200 90 1 49 33 50 78 62 43 46 405 280 335 210 305 265 335 39 329 84 118 351
220 100 1-1/4 48 36 60 82 70 50 46 470 335 395 230 360 310 390 42 362 84 158 4195
250 110 1-1/4 56 42 65 92 78 51 46 515 355 425 250 380 330 410 45 384 84 138 4235

PNEUMATIC & HYDRAULIC CLAMPS

p CHK MR R D EEREE S AR T E

CONNECTION DRAWING OF SHAFT FOR CHK COLUMN-TYPE HYDRAULIC CYLINDER

AR - TR

B2 - HhFE

E 8 - ZEINFEY

C B - pyFa

F3-5ER

Unit:mm
BORE JEZEIZE PP ONN E D ONA W
D/E Y

40 18 18 13 125 125 M14xP15 18 36 15 17 5 7 30 27 35 40 37 20 50 50 40
50 22 22 16 125 125 Mi6xP1.5 22 42 18 21 10 12 35 28 41 45 38 20 50 55 42
63 28 28 20 125 125 M20xP1.5 28 50 22 26 10 12 35 30 48 45 40 20 50 60 46
80 36 36 25 15 15 M27xP2.0 36 65 30 34 10 12 40 30 51 50 40 20 60 65 54
100 45 45 31 15 15 M33xP2.0 45 70 39 43 10 12 45 35 57 55 45 20 60 80 62
125 56 56 38 20 20 M42xP2.0 56 75 48 56 10 12 50 40 57 60 50 20 80 90 75
150 70 70 46 25 25 M48xP2.0 63 90 62 68 10 12 60 54 57 70 64 20 100 100 94
180 80 80 55 25 25 M56xP2.0 75 115 70 78 10 12 65 60 57 75 70 20 100 106 116
200 90 90 60 30 30 M64xP3.0 85 120 80 88 10 12 70 85 57 80 75 20 120 110 130
220 100 100 66 35 35 M72xP3.0 85 145 90 98 10 12 80 85 57 90 95 20 140 130 140
250 110 110 72 40 40 MB80xP3.0 95 160 100 108 10 12 80 85 57 90 95 20 160 150 150

CATALOCUE 2018

241
242




CP SYNCHRONOUS
CLAMP

2-08H7

MODEL A B B1 C DE®G) F

MAX § MIN
CP-20 215 88 96 53 40 18 4 249 229 75 13 94 76 83.5 M10xP1.5 M10 12 M6xP1 18 20 66 25 22 102 190 60 156 32 110 65 150 22 4
CP-30A 250 88 96 53 40 18 4 295 265 75 13 94 76 96 M10xP1.5 M10 14 M6xP1 20 24 96 25 22 102 190 60 156 20 120 65 156 22 6
CP-30 280 88 96 53 40 22 4 327 297 75 13 94 76 96 M12xP1.75 M10 14 M6xP1 20 24 98 25 22 102 190 60 156 23 110 65 156 22 6
CP-50 300 1101156550 28 5 369 319 90 15 105 - 120 M12xP1.75 M10 16 M8xP1.25 21 28 102 30 32 105 230 85 195 22 140 80 180 30 10

PNEUMATIC & HYDRAULIC CLAMPS

» R

AT BRI | IBRITER .
INEEEIE U RAEEIAE, WEEES .
SISEE | BHEEISRIHE .
BXIRIEEA: 35 kgflom?
B/MRIEES: 10 kgflem?

» FEATURES

It's a CRANK type 2 slider synchronous clamp cylinder with long slider stroke.
Matching surface of all parts hardened,groud and lubricated directly.
Construction of high rigidity and high clamping accuracy.

Max. operating pressure 35 kgf/cm’
Min. operating pressure 10 kgf/cm*

#UEE MODEL CP-20 CP-30A CP-30 CP-50

HERZ REE
EFF.PISTON AREA 28.27 28.27 28.27 38.48
CLAMP (cm®)

BIRITIE
SLIDER STROKE(mm) 20 30 30 50

bR SS )

(35kgf/cm?)
CLAMPING FORCE AT

35kgf/CM*

1653 1806 1806 2071

FRRELE
RANGE OF -10~+70(C)
TEMPERATURE(C )

EAES  HE T 1ISO MESERAY ISO-VG-32 —RRERH
Usable fluid: General Hydraulic Oil Equivalent to ISO-VG-32

Ut U2 v w wi w2 X Y

CATALOCUE 2018

243
244



=Ed)

RS

AUTO BALANCE
SYSTEM

» EmiFE

EEINERS | BIERER.

TEES SRR R T, ERE, NERE ARG,
EMTBRTEEERCRE AR MENED, TR REEEEs.
R,

IEWEERT, EXERIOURE.

» FIBIRNA
ORDERING INDICATION

HPT -30 - 08
HPT K[RFEES (MPa)
30 _E(L)
08 Bl

E: AREKRFTEESN OMPa

ST RIS — R T IARERE

1. BCEEE KG

2. BABRE M/min

3. BRI mm

4. BeEHEIE= pcs

5. HERE mm

6. BeEEhirsas (/= O HEL

7. BREEILHAE O BiENA O BENH

8. MEEGI BRHR I ERKFERHERE AN AR DRSNS, EREHRE
REBESIBANE RO & HO RIIERRY .

*This product be sold temporary in Mailand China.

I PNEUMATIC & HYDRAULIC CLAMPS

BERCEMYG | R ER T BIMIERY (F58E) .

; IERSET SRR, SERE R HREE

S—imEEs. HEH, FRafREaRMEnEE

> EHAH
A RO EEESHEL A
B. BkRE: RESHRIRD, WS EEM, S8R
C. 7. Hiere (EaEeEpE, BR8) 8% HEEE\ HF—LIEO
D. BB AIBERERES,
E.ZmRE BESME, T5E) . —mEEERR,
F.7%&. RO nakMEsEEd,
G. a%ih: FEREHRESR.
H. BB EXSENKTREER, BEOREEHLESR, REERENETRRETEND.
Y B IE
v
BEHFERERE

BHRERRE, FERG LRE—ENRE, EFORREN
KFREERS:

ETERGESINTREER

b N
" b

II
REBHBSSREFENTERMTENE, NFETRE,
BR—FIRGTIIF REE, NE—IRGIE, BkEiesEE
HAE, CSHIEEBORE, FETHNGENE, ERE
IITERREE .

BB
1. BIBERAGEFAEBER 220V 5 DC24V, IRIREEHRIRIRE
18, BNEDFRZEE
2 Bﬁ%fﬁ.ﬁﬂ‘éﬁ BHIREE
TE(EREF 2 B FIRENE

1. e R R RERAARE .

2. BT 7. fiROLZE0E.

3. HERER. HIRM LEIFIREEIRREST . HERRIER TR, HiRH L,
FRFHEE,

4. (EISFETE. HFRRS L2 #IERIRE .

5. 8%, R LTENR, ERNERESENEMTENSEIREIE,
T HERM.

6. BIEEREFRAER. R0, AHEER.

7.7, HFRSIEHEE.

1. S E R R R

2.BUFz. HmO EZR0E.

3. WEER. R HIFRREREEINREES . FRMERRZENRT. fiROL,
FIRFHE,

4. ERTREEREERRIENLT. HERB.

5 FXERIFRE, FHEIEMETE. AR LEER.

6. FR%x. HFRM BN, EENEEASEMFENGKR. ERMERR
TRELERIRARA, EITF. HERR.

7. BERERAER. fiRH, AREERR.

8.7, HERHRIEIHE .

» ERITEEIE

1. REETEREBR AT IS B I8 ( BREESURITRITRRS )

2. RESIRFRILISEHEIBIEEE 45° UERLEE, BFRERE, SRERE
REERIRE .

3. EREHEERNER N BILEETEF TR , (ERiRH HE S 8ER
.

4. HEREERRR AL RIRERR , IR EIRTFAI T ETLEN, BRRRMmEE
BB

mEEEL 5MED
6.3L 525 140
10L 705 152
20L 740 219
30L 1010 219
40L 1350 219
60L 1350 267
80L 1740 267

CATALOGUE 2018 I



PNEUMATIC

PUMPS
FERZI -

CATALOCGUE 2018



AHP

BN

AHP PNEUMATIC
BOOSTER PUMP

» EEmistE

R RERERENEERE , MERED  (FRHBIZER , REAR—AIBERS
8, EETIRE | (FENTEIBE T2 ZBRE .

I RBERRREEER S | EEIE R EHEMF LR , HBEER , RS EEEE,
FRIERIN RISEIRENS | iEReR , TELEMR , KBSE .

AR 25 SO MRIGIMIRIR N BHARS , BT EEsEEIMEERL . R4 HDV K0
WENMERE , (REREIRBERSD .

B2 MECERE P, T L, NS HERFFERGRF .

SRBFFIEETEBIZELL SR BRANRRESEERERIGaE .

HRERETE/) BT, RESS .

BRAIRIEES]: 6 kgflcm?2

» FEATURES

The booster pump is driven by air to output hydraulic pressure. As a power source for hydraulic
cylinder, Its flow rate is bigger than that of a conventional booster.Continuous pressure boosting
and no limitation of booster stroke for the acting cylinder.

Pressure adjustment is made by an air pressure regulation valve. Once pressure reaches the
desired valve,drive stops immediately.In case pressure drops,the pump will compensate pressure
automatically.The series is especially ideal for longtime hydraulic clamping application.Also
features energy saying no oil temperature growth., economical and convenient.

A type:Equipped with ISO approved manifold and solenoid valve,Applicable for single acting or
double acting hydraulic cylinder.

B type:Equipped with pipe block with P.T ports,permitting for connecting to a manual control
valve for operational control.

When double-pump is applied, you can select the boost pressure ratio. It is especially suitable
for jig and fixture which requires high and low pressure operation together.

Reduced oil tank volume for space saving and convenient installation.

Max. operating pressure: 6 kgf/cm2

3L BES
ORDERING INDICATION
AHP - 10 A X AC1i00V

Il =71 Series AHP

IRER(EE]

10 Booster 06,10,25,44
pressure rate
ot il A:1SO #R#&MEEIR Manifold, magnet valve

A Control type B: FcEBM P.TFL  Distributing tube seat P.T port
L=

AC100V ggiﬁ AC10V,AC220V,DC12V,DC24V

Coil type

PNEUMATIC & HYDRAULIC CLAMPS

249
250

(364)

160

250
290

270

4-99

—
o

o o
N

S ®©
NN -
-

RS B HEEE fERRER

BOOSTER PRESSURE RATE

10 1.0 B3k single pump 5L &5k Double pump 7.8L ISO-VG68
25 0.5
44 0.3

SR
PUMP QUANTITY DIMENSION FLXING HOLES AT THE BACK AND BOTTOM
e - _
Single parmp £ (L) 250 & (W) 200x & (H) 160 230x100 ®9 x 4 3L, holes
SRR £ (L) 300x % (W) 250x & (H) 160 280x150 ®9 x 4 7, holes
Double pump : =

CATALOCUE 2018



251
252

ACCESSORIES
HEMHRS .

I PNEUMATIC & HYDRAULIC CLAMPS CATALOGUE 2018 I



HRAE

PTA/PTB/PTC/PTD

CLAMPING SCREW

PTA #hasizkizig

PTA SWIVEL CLAMPING SCREW

ME: 788 S45C  #ilEk SUJ2
B AEEHRC35° ik HRC62°

Material: Body : S45C Steel ball : SUJ2
Hardness: Body: HRC35° Steel ball : HRC62°

Unit:mm

PTA1-0006 PTA1-0108 PTA1-0210 PTA1-0312 PTA1-0416 PTA1-0520 PTA1-0624 PTA1-0730

MODEL PTA2-0006 PTA2-0108 PTA2-0210 PTA2-0312 PTA2-0416 PTA2-0520 PTA2-0624 PTA2-0730

A 21 25 30 35 42 55 65 80
B M6x1.0 M8x1.25 M10x1.5 M12x1.75 M16x2.0 M20x2.5 M24x2.0 M30x2.0
C 10 14 17 22 27 36 36 46
D 6 8 10 12 14 14 18 21
E 10 12 16 22 26 27 32 35
BE(g) 12 15 25 70 140 280 560 880
Unit:mm

PTA3-0108 PTA3-0210 PTA3-0312 PTA3-0416  PTA3-0520 PTA3-0624  PTA3-0730

MODEL  prpg.0108  PTA4-0210 PTA4-0312  PTA4-0416  PTA4-0520  PTA4-0624  PTA4-0730

A 36 45 50 60 87 98 110

B M8x1.25 M10x1.5 M12x1.75  M16x2.0  M20x2.5 M24x2.0 M30x2.0

C 14 17 17 24 36 36 46

D 7 8 10 12 14 18 21

E 25 30 35 40 60 66 75
BE (g) 25 55 55 140 330 595 1030

PNEUMATIC & HYDRAULIC CLAMPS

PTA1

PTA3

253
254

: =
PTB shasmekizie
PTB SWIVEL (SHOULDER) CLAMPING SCREW
W& KBE SCM21 B SUJ2 Material: body : SCM21 steel ball : SUJ2
EE: AN§EHRC32° ~38° ik HRC62° Hardness: body: HRC32°~38° steel ball : HRC62°
Unit:mm
MODEL PTB1-0206  PTB1-0306  PTB1-0408  PTB1-0508  PTB1-0608 PTB1-0710  PTB1-0810  PTB1-0810  PTB1-1012  PTB1-1112  PTB1-1212 PTB1-1312
A 135 23.5 12 20 30 17 27 37 23.2 31.2 41.2 51.2
B Meéx1.0  Méx1.0 M8x1.25  M8x1.25 M8x1.25 Mi0x1.5 M10x1.5  M10x1.5 Mi2x1.75 Mi2x1.75 Mi12x1.75  M12x1.75
C 3 3 4 4 4 5 5 5 6 6 6 6
BE (g) 24 3.8 3.2 5.8 9 6.7 1.2 16.2 12,5 20 30 40
Unit:mm
PTB2-2006  PTB2-2106  PTB2-2208 PTB2-2308 PTB2-2408  PTB2-2510  PTB2-2610
MODEL  PTB1-1416  PTB1-1516  PTB1-1616  PTB1-1716  PTBI-1816  pygy3gqs  pyB3-3006  PTB3-4008 PTB3-4108  PTB3-4208  PTB3-4310  PTB3-4410
A 25.6 35.6 45.6 55.6 65.6 13 23 11.2 19.2 29.2 15 25
B M16x20 Mi6x2.0 M16x2.0  Mi6x2.0 Mi16x2.0  M6x1.0 Méx1.0  M8x1.25 M8x1.25 M8x1.25 M10x1.5  M10x1.5
(¢} 8 8 8 8 8 3 3 4 4 4 5 5
BE (g) 28 40 45 55 65 2.4 3.8 3.2 5.8 9 6.7 1.2
Unit:mm
mopeL  PTB2:2710 PTB2-2812 PTB2-2012  PTB2-3012 PTB2-3112 PTB2-3216 PTB2-3316 PTB2-3416  PTB2-3516 PTB2-3616
PTB3-4510 PTB3-4612 PTB3-4712  PTB3-4812 PTB3-4912 PTB3-5016 PTB3-5116 PTB3-5216  PTB3-5316 PTB3-5416
A 35 22 30 40 50 24 34 44 54 64
B M10x1.5 M12x1.75 M12x1.75 M12x1.75 M12x1.75 M16x2.0 M16x2.0 M16x2.0 M16x2.0 M16x2.0
© 5 6 6 6 6 8 8 8 8 8
BE(g) 162 12,5 20 30 40 28 40 45 55 65

CATALOCUE 2018



255

256
< sead] =
PTB simmigis PTC &g
PTB SWIVEL (SHOULDER) CLAMPING SCREW PTC GRIPPER SCREW
WE. ABESCM21 8%k SUJ2 Material: body : SCM21 steel ball : SUJ2 WE: ABES45C & SKHO Material: body: S45C steel ball : SKHg
TEE. B2 HRC32° ~38°  #ffik HRC6B2° Hardness: body: HRC32°~38" steel ball : HRC62® BE. AFEHRC35° &2 HRC60° Hardness: body: HRC35° steel ball : HRC60°
PTCI
PTC2
Unit:mm
MODEL PTB4-0106 PTB4-0206 PTB4-0306 PTB4-0408 PTB4-0508 PTB4-0608 PTB4-0710 PTB4-0810 PTB4-0910 PTB4-1012 PTB4-1112 PTB4-1212 PTB4-1312 PTB4-1416
A 145 235 335 18.7 287 387 25 40 60 31.2 462 66.2 81.2 40.6
B M6 M6 M6 M8 M8 M8 M10 M10 M0 M12 M12 M12 M12 M16
c 5 5 5 6 6 6 8 8 8 10 10 10 10 14
D 10 10 10 13 13 13 16 16 16 18 18 18 18 24 Unit:mm
E 6 6 6 8 8 8 0 @ @ e L2 L2 12 16 MODEL PTC1-0110 PTC1-0210 PTC1-0312 PTC1-0412 PTC1-0516 PTC1-0616 PTC1-0720 PTC1-0820
BE(g) 53 7.4 95 135 20 24 26 34 46 40 50 70 83 %
A 25 50 25 50 25 50 25 50
Unitrm B M10x1.5 M10x1.5 M12x1.75 M12x1.75 M16x2.0 M16x2.0 M20x2.5 M20x2.5
PTB5-1806 PTB5-1906 PTB5-2006 PTB5-2108 PTB5-2208 PTB5-2308 PTB5-2410 PTB5-2510 PTB5 251 C 5 5 6 6 8 8 10 10
MODEL  PTB4-1516 PTB4-1616 PTB4-1716 prpg3sop  pTBG-3606  PTBG-3706  PTBG-3808  PTB6-3008  PTBG-4008  PTBG-4110  PTBG-4210  PTBG-4310 D 6.5 6.5 8 8 1.5 1.5 13 13
A 506 65.6 90.6 14 23 33 18 28 38 24 39 59 E “ 5 5 & 6 6 ‘ e
B M16 M16 M16 M6 M6 M6 M8 M8 M8 M10 M10 M10 d 2 2 28 B g e & e
c 14 14 14 5 5 5 6 6 6 8 8 BE(g) 15 30 22 45 37 78 58 120
D 24 24 24 10 10 10 13 13 13 16 16 16
E 16 16 16 6 6 6 8 8 8 10 10 10 .
BE (g) 110 130 170 53 74 95 135 20 24 26 34 46 unitmm
MODEL PTC2-0106 PTC2-0208 PTC2-0310 PTC2-0410 PTC2-0512 PTC2-0612 PTC2-0716 PTC2-0816 PTC2-0920 PTC2-1020
A 25 25 25 40 25 40 35 50 40 60
Unit:mm B M6x1.0 M8x1.25 M10x1.5 M10x1.5 M12x1.75 M12x1.75 M16x2.0 M16x2.0 M20x2.5 M20x2.5
PTBS-2712 PTBS-2812 PTBS-2912 PTB5-3012 PTBS5-3116 PTB5-3216 PTB5-3316 PTBS-3416
PTB6-4412 PTBG-4512 PTBG-4612 PTBG-4712 PTBG-4816 PTBG-4916 PTBG-5016 PTBG-5116 & Y = 7 7 2 2 24 24 20 20
D 7.9 95 12.7 12.7 15.9 15.9 19.1 19.1 25.4 254
A 30 45 65 80 39 49 64 89
E 6 7.3 8.4 8.4 95 95 12 12 14.5 14.5
B M12 M12 M12 M12 M16 M16 M16 M16
F 23 3 3 3 3 3 3 3 3 3
c 10 10 10 10 1 1 1 1 BE (g) 8 15 30 35 35 50 85 100 160 205
D 18 18 18 18 24 24 24 24 9
E 12 12 12 12 16 16 16 16
BBE (g) 40 50 70 83 90 110 13 170

PNEUMATIC & HYDRAULIC CLAMPS

CATALOCUE 2018



257
258

PTD a5

PTD GRIPPER NUT

PTD1/PTD2/PTD3 #1E: SKH9 EE HRC60° Material for PTD1/PTD2/PTD3: body : SKHg Hardness: HRC60°
PTD4/PTD5 & SCM440 #EE HRCB0° Material for PTD4/PTDs5: body : SCM440 Hardness: HRC60°
PTDI PTD2
ac
PTD3 PTD4
PTD5

MODEL PTD1-0110 PTD1-0212 PTD1-0320 PTD1-0425 PTD3-0112 PTD3-0216 PTD4-0112 PTD4-0216 PTD5-0112 PTD5-0216
A 10 10 10 10 20 25 20 25 20 25
B M5x0.8 M6x1.0 M6x1.0 M6x1.0 M12x1.75 M16x2.0 M12x1.75 M16x2.0 M12x1.75 M16x2.0
c 10 12 20 25 19 24 19 24 19 24
D 2.3 3 3 3 22 28 22 28 22 28
B (g) 8 10 30 43 43 80 43 76 42 63
MODEL PTD2-0110 PTD2-0212 PTD2-0316 PTD2-0420 PTD2-0525
A 10 12 12 12 12
B M5x0.8 M6x1.0 M6x1.0 M6x1.0 M6x1.0
C 8.1 9.6 13 16.3 19.5
D 10 12 16 20 25
E 3.4 4 4 4 4
F 23 3 3 3 3
BE (9g) 5 8 16 25 40

I PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018 I



259

= 260
BA
e el
CP28 =z=iRaa
CP25 Eix CP28 GOOSE NECK CLAMP
CP25STEPCLAMP
""""""""""""""""""""""""""""""""""""""""""""""""""""""""""" '8 Material: Steel 45
) HEE . o _nQQo
& Material: Steel 45 #ERIE Heat Treatment: HRC 32° ~38
ERIE Heat Treatment: HRC 32° ~38° FmEEEERIE Surface: Black oxidating.
EEEEEE Surface: Black oxidating.
Fi&: 82 SU25 Ei&{#A Application: Used with SU25 together
Unit:mm
MODEL cP27 PT40 PT04 Su24 kg
Unit:mm CP28-ZC-40 16100 16100 1624 12060 15
MODEL A 8 c 0 £ F ko CP-28-ZC-60 16150 16100 1624 16070 2.6
CP25-10063 13 25 63 11 18 19 0.100
CP25-10100 16 25 100 1 27 37 0.215
CP25-10150 19 32 150 11 30 50 0.570
CP25-12063 13 25 63 13 20 14 0.100
CP25-12100 19 32 100 13 29 34 0.320 c P27 EAVEY
CP25-12150 22 32 150 13 32 50 0.650
CP25-14063 13 o5 63 15 20 14 0.100 CP27 THREADED GOOSE NECK CLAMP
CP25-14100 19 32 100 15 29 34 0.315 e
CP25-14150 22 32 150 15 32 50 0.600 F1%E Material: Steel 45
CP25-16063 16 32 63 17 22 12 0.160 #AEZIR Heat Treatment: HRC 32°~38°
CP25-16100 19 38 100 17 31 26 0.400 EEEEZEERIE Surface: Black oxidating
CP25-16150 22 38 150 17 40 47 0.710
CP25-18063 16 32 63 20 22 12 0.140
CP25-18100 19 38 100 20 31 26 0.380
CP25-18150 22 38 150 20 40 47 0.750
CP25-20100 19 38 100 21 31 26 0.360
CP25-20150 25 38 150 21 43 44 0.750 Unitrm
CP25-20200 25 50 200 21 55 65 1.500 :
CP25-24150 32 50 150 26 43 38 1.290 MODEL A B c D E F G H I J K ko
CP25-24200 32 50 200 26 53 57 2.000
CP27-16100 19 35 100 46.5 7 17 14 21 14 10 M12x1.75  0.78
CP25-24250 38 50 250 26 60 64 2.950
CP27-16150 22 45 150 62 26 17 15 24 22 12 M16x2.0 1.7

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



[EREE

BoH R

CLAMPING ARM

A STANDARD
WITH THREAD

A STANDARD
WITHOUT THREAD

A EXTENSION

261
262

Unit:mm

ACCESSORIES CHS-25 74 74 100 16 15 13 - ®18 ®15  Mioxi5 10 50
CHS-32 81 81 110 18 17 14 - ®20 ®17  Mi0x1.5 10 55
CHS-40 86 86 120 18 17 15 - ©224  ©19  Mi0x15 10 60
CHS-50 96 9 130 20 19 16 - 28 ®21  Mi2x1.75 12 65
CHS-63 114 114 150 23 24 18 - ®355 ©25 Miex20 15 75
CHS-25D - 140 200 (119 - 95 o8 - - 9 16 :
CHS-32D - 160 230 022 - 1 o8 . - 10 19 :
CHS-40D - 160 230 [ 22 - 11 @10 : - 10 21 -
CHS-50D - 180 260 []25 - 125 ©12 . - 12 26 :
8 & Single acting %€ &) Double acting CHS-63D - 200 - 132 S 16 015 o = 15 33 S
CLKA =7
#D2:0:01 Gl o
2 #1108} = 8
e S‘ - I f‘
Tk N e
S S
G+((J].03
e T T o0
os ?j———f—‘/—%—i—————f TR
b -1’ I 7‘7 I ﬂr\\
L =L L - =L
P - — | — =
Unit:mm w/
\\,/
¢ 2l C 7
(British system) (Metric system)
030/040/050 ES&) Single acting LS/RS-92 86 30 - Mi0x15 38 35 18 45 16 25 105 9.75 ®25 - - 45 MI0x1.5 » CHA HEEEATIEE R~ CHA HYDRAULIC SWING CLAMP CYINDER ARM DIMEMSIONS
030/040/050 E5% Single acting LS/RS-202 106 36 1/2-13UNC  M12x1.75 48 35 25 60 21 32 14 11 ®32 - - 55 Mi2x1.75
030/040/050 {58 Double acting LD/RD-92 86 30 5 M10x1.5 38 3.5 18 45 16 25 10.5 9.75 ®25 18 ®125 45 M10x1.5 MODEL CHADSS CHAD40 CHADA8 CHAOSS CHADBS CHAO7S5 CHACS0 CHA105
030/040/050 7€Z) Double acting LD/RD-202 106 36 1/2-13UNC  M12x1.75 48 35 25 60 21 32 14 11 ®32 - - 55 Mi2x1.75 B 14 16 19 22 25 31 38 44
D 10.5 10.5 12.5 14.5 16.5 17.5 17.5 20.5
D1 17 19 23 26 29 35 43 50
D2 25 32 40 45 50 58 75 90
CHS gﬁu E 17 20 25 28 34 40 49 60
F 15 17 21 23 29 33 42 51
G 8 9 1.5 13 15.5 18 22.5 28
H 4 4 5 6 6 8 8 10
# =  Double arm % % Singlearm
» CLKA JHEFTAFELEE R~ CLKA HYDRAULIC LEVERAGE-TYPE CYINDER ARM DIMEMSIONS
MODEL A [H c1 c2 c3 [1]] 173 3 G1 G2 G3 G4 H J K 4
CLKAO036 42 10 12.5 6 5 5 5 25.5 37 14.5 5.5 0.5 10 R5 1.5 8.5
CLKA040 45 12 14 8 6 6 6 275 40 16 6 1.5 1 R5 1.5 12
CLKA048 53 12 16 8 6 6 6 32 47 185 6.5 15 13 R5 1.5 13
CLKA055 61.5 16 20 12 8 8 6 37 55 21 8 4 13.5 R6 2 12.5
CLKA0B5 69.5 19 25 17 10 10 8 35 61.5 24.5 9.5 6 18.5 R8 1.5 16
CLKAQ075 82 22 32 24 1 12 10 425 72.5 30 12.5 8 215 R9.5 2 20.5
- CLKA090 95 25 38 30 13 15 12 60.5 82.5 36 14 8.5 27.5 R12.5 25 26
® CLKA105 116 32 45 37 18 18 15 68 100 44 16 6 37 R15 4 32

PNEUMATIC & HYDRAULIC CLAMPS CATALOGUE 2018



263
264

WEIGHTS CHS/HSC SH/ERsE A 5T

CHS/HSC Hydraulic swing clamp

OF PRODUCTS

}7‘_—,_ — EE i% BigE v B M SHESHRE ; y HESTS il
+= AA 8 LINE TYPE MANIFOLD WITH FLOW CONTROL ~ MANIFOLD TYPE FLANGE TYPE FLANGE WITH MANIFOLD THREADED TYPE
BT Mg BT nEiTiE
Standard stroke [lExtension stroke Standard stroke JllExtension stroke
HSC/CHS-25S 1.3 = 1.3 = 1.8 1.3 1.3 1.3
HSC/CHS-25D 1.5 . 15 . 2 15 15 15
HSC/CHS-32S 1.7 1.9 1.7 1.9 2.2 1.7 1.7 1.7
HSC/CHS-32D 2.0 22 2.0 22 25 2.0 2.0 2.0
HSC/CHS-40S 23 P 2.0 22 33 23 24 2.1
C HTB %J-T-I_j QHH E?’EI HSC/CHS-40D 3.2 25 23 2.5 3.6 26 2.7 24
===/ == HSC/CHS-50S 3.5 3.5 3.2 35 43 3.4 35 3.2
CHTB Hydraulic push-pull cylinder FESEHRED O 35 35 38 46 87 38 35
Unitkg HSC/CHS-63S 5.7 55 5.0 5.4 - 52 _ _
HSC/CHS-63D . 6.1 5.6 6.0 - 56 :
BORE/STROKE 5 10 15 20 %5 30 40 50
©20 SD N - 0.63 s 0.74 = 0.85 - =
®20 SD w - 0.68 - 0.79 - 0.9 - -
25 SD N - 0.87 - 1.01 - 1.15 1.29 1.43
25 SD w - 0.92 - 1.06 - 1.2 1.34 1.48
32 SD N 1.61 1.73 1.85 1.97 2.09 2.21 2.45 2.69
®32 SD w 171 1.83 1.95 2,07 219 231 2.55 279 ASC /'AQJE_kEﬁ% EI
032 LA N - 1.71 ; 1.97 ; 2.23 2.49 275 L=+
32 LA w - 1.81 - 207 - 233 259 2.85 ASC Pneumatic swing clamp
40 SD N 2.0 2.15 23 2.45 26 2.75 3.05 3.35
®40 SD w 22 2.35 2.5 2.65 2.8 2.95 3.25 3.55 Unitkg
50 SD N 2.78 2.96 3.14 3.32 3.5 3.68 4.04 4.4 - MANIFOLD WITH MAGNETIC FLANGE THREADED
50 SD w 3.03 3.21 3.39 3.57 3.75 3.93 4.29 4.65 FLOW CONTROL TYPE TYPE TYPE
®50 LA N - 3.24 - 3.68 - 4.12 4.56 5 Stgffjj:ti:oke Extﬁfmﬁfﬁoke
®50 LA w - 3.49 - 3.93 - 437 4.81 5.25 ASC-25S 0.3 = 5 0.4 - -
063 SD N 4.24 4.48 4.72 4.96 5.2 5.44 5.92 6.4 ASC-32S 07 08 06 07 06 0.9
63 SD W 4.69 4.93 517 5.41 5.65 5.89 6.37 6.85 ASC-32D 0.9 1.0 08 0.9 08 1.1
063 LA N - 5.22 - 5.84 = 6.46 7.08 7.7 ASC-40S 0.9 1.0 08 0.9 08 1.1
63 LA w - 5.67 - 6.29 - 6.91 7.53 8.15 ASC-40D 1.1 1.2 1.0 1.1 1.0 1.3
©80 SD N 7.46 7.8 8.14 8.48 8.82 9.16 9.84 10.52 ASC-50S 1.6 1.7 1.4 1.6 1.4 1.7
80 SD W 8.31 8.65 8.99 9.33 9.67 10.01 10.69 11.37 ASC-50D 1.8 1.9 1.6 1.8 1.6 1.9
i AFEREHBBEIHOEES Remark: This form isstandard product with single shalt ASCE3Y 21 22 18 23 18 =
ASC-63D 23 24 2.0 25 2.0 -

@ cTC @) CSV/CPRV/CFCV ® HB @ CALC ® HPS Unitkg N
~
i =8 B g8 Gk 58 : AR 8 RIS o : it LR i) c H Lc 7‘:17H:It/ EE JE;{EI
MODEL ~ WEIGHT(kg) : MODEL WEIGHT(kg) :  MODEL WEIGHT(kg) :  MODEL WEIGHT(kg) MODEL  WEIGHT(kg) ! MODEL NO. Threaded type Flange type CH LC H draulic |evera o Clam

CTC-12A  0.07 csv 0.59 HB-9x6 3.7 CALC-25 0.27 CALC-MS25  0.29 HPS-25 1.15 1.35 y g P Unitkg
CTC-12B  0.08 CLSV 0.35 HB-3.8x45 8.8 CALC-32 0.42 CALC-MS32  0.48 HPS-40 257 3.02
CTC-16A 0.14 CPRV-02 1.2 HB-5x35 8.8 CALC-40 0.55 CALC-MS40 0.63 HPS-50 - 46 BISR =5 MF SHEEHRBTHEER M SHEEHREL FA LIRS FAM £RIES SR

- L CFCV-01  0.08 HB-8x22 d g ! g . - J
CTC-16B  0.15 8x 8.8 CALC-50 0.95 CALC-MS50  1.05 HPS-63 5.8 P MANIFOLD WiTh R CANGE TYPE FLANCE WITH
CTC-20A  0.22 CFCV-02  0.15 - - CALC-63 1.45 CALC-MS63 1.6 - - - FLOW CONTROL MANIFOLD
CTC-20B 024 - - - - - - - - - - - CHLC-25 19 2.1 1.9 1.4 1.4
CTC-25A  0.37 - - - - - - 2 S - - - CHLC-32 2. 2.2 2.1 1.7 1.7
CTC-25B 0.4 - - - - - - - - - - g CHLC-40 3.3 3.6 3.3 25 23

@ | CTCoMBmmBmET CSV/CPRV/CFCV /&R | HB IBEEEm D CALC #TAF=UZ= BT ® HPS =B AL g:tgzs :’: 48 :'i 38 36

| CTC Threaded cylinder @ CSV/CPRV/CFCV Hydraulic valve ©® HB Hydraulic booster { CALC Pneumatic leverage clamp HPS High pressure swing clamp

PNEUMATIC & HYDRAULIC CLAMPS CATALOCUE 2018



CLAMPTEK LEADING
CLAMPTEK BRAND GLOBAL CLAMP TECHNIQUE

=R % s - N -
> FEEIFEEER 525 [{EE BRI B i
» REFHFEH Toggle Clamps > HhiEgEENsksH Pneumatic Toggle Clamps
» JHEEEIZS Hydraulic Clamps Series > KEEEIFS Pneumatic Clamps Series > i&ERik Hydraulic Power Units

CLAMPTEK AGENCY

> F&M 5 KMUIEEM

» {ZE] HALDER BHEMAFE > SAREEEHZS > BIGEETHEES > ERIEEE R
HALDER Spring Plungers HW Coupling Yinsh Lock Nuts TPI Bearing
» HERETER

WLT Spindles






